1928-1929.

NEW ZEALAND.

APPROPRIATIONS

CHARGEABLE ON

THE CONSOLIDATED FUND

AND

OTHER ACCOUNTS

FOR THE YEAR ENDING 31st MARCH, 1929.

@**\$81~8\$**@

NEW SEALAND

LHIORES

CHARGRARDS ON

CONSOLLDALLE LIND.

ETNUOUS

INDEX.

1928-1929.

Accident Insurance Accou				Page			Pag
		. • •		267			25
Advances to Local Authori					Marine Department		15
Advances to Settlers Bran	c h				Marine: Miscellaneous Services		15
Advances to Workers Bran	ch oh ∵∴ .	• •		270	Material and Stores—Education		20
Agriculture				174	Mental Hospitals		11
Agriculture, Miscellaneous	s Services			184	Mercantile Marine, Superintendents of		15
Amortization				23	Messengers, Office-keepers, and Charwomen		9
Assistance towards Mining	 g			88	Meteorological Office		21
Audit Department	••			110	Mines Department		8
Audit Department Aviation				141	Meteorological Office Mines Department Mines: Miscellaneous Services Ministers' Secretaries Miscellaneous Business Branch, State Advan		8
				40	Ministers' Secretaries		9
Bankruptcy Bellamy's	• •	• •	• •	68	Miscellaneous Business Branch, State Advan	ces	
Bellamy's	• •	• •	• •	32	Account		27
Carriage of Mails by Railw	19.V			252	Migaellaneaus Caminas		_•
Canana and Statistics	,	••			Miscellaneous Bervices-		
Child Walfara	••	••		004	Agriculture		18
Civil List	••	••	• •		Customs		14
Clark of Frantise Council	••	••			Education	• •	20
Cold Ctorogo Advances		••	• •	0=0	internal Affairs	• •	10
Converge of Inland Mail	١,	• •	• •		Justice	• •	75
Conveyance of Inland Mail	18	••	• •	~~.	Lands and Survey	٠.	16
Conveyance of Ocean Man	8	• •	• •		Marine		15
Cook Islands	••	••	• •	62	Mines	• 4	8
Coroners	••	• •	• •	I	Native		58
Criminal Prosecutions	• •	••	• •		Police		88
Carriage of Mails by Railw Census and Statistics Child Welfare Civil List Clerk of Executive Council Cold Storage Advances Conveyance of Inland Mail Conveyance of Ocean Mail Cook Islands Criminal Prosecutions Crown Law Office Customs : Miscellaneous Customs Offices and Servic Dairy Division, Department	••	••	• •		Account Miscellaneous Services— Agriculture		25
Customs: Miscellaneous	• •	• •			Treasury		3'
Customs Offices and Service	es	• •	• •	144	Motor Services and Workshops		253
Dairy Division, Departmen	at of Agric	ultura		181	Museum		109
Dality Division, Department	10 Of Agric	uitute		23			
Debt Services	• •	••	• •	_	National Provident and Friendly Societies 1)e-	
Debt Services	••	••	• •		partment National Rifle Association Native Department Native Land Settlement Account		39
Defence Department	···	••		135	National Rifle Association	٠.	148
Depreciation Fund, Post O	mce Accou	ınt	• •	1	Native Department		57
Debt Repayment Debt Services Defence Department Depreciation Fund, Post O Discharged Soldiers Settler Dominion Laboratory Dempion Observatory	nent Accor	ant	• •				22
Dominion Laboratory	• •	• •			Native Land Purchase Expenses		228
Dominion Observatory				215	Native Land Purchase Expenses Native: Miscellaneous Services		58
77.1	T 1 OW			100		· •	197
Education Department: E	read Omce	••	• •	190	Native Schools Native Trustee's Account		259
Education: Miscellaneous	Services	• •	• •	207	Nauru and Ocean Islands Account	• •	218
Education of the Blind	• •	• •	• •	199	Managal Dadamaa	••	132
Electoral	• •				Non Proceeding Commission Defenses	••	
Education Department: Education: Miscellaneous Education of the Blind Electoral Elementary Education Explosives Branch External Affairs	• •					• •	142
Explosives Branch		• •		103	Patent Office Pensions Department Permanent Charges Physical Instruction Police Police: Miscellaneous Services		67
External Affairs			٠.	60	Pensions Department		84
T 11 D' 11 . Domenton		14		100	Permanent Charges		7
Fields Division, Departmen	at of Agric	ulture	• •	182	Physical Instruction		198
Fisheries	••	••	• •	156	Police	••	81
Fishing Industry Promotio	n ·	• •	• •	273	Police: Miscellaneous Services		83
Forestry	••	• •		226	Post and Telegraph: Miscellaneous Services		
Friendly Societies Departn	1ent	• •	٠.	39	Post and Telegraph Salaries	••	_ : :
Fields Division, Department Fisheries Fishing Industry Promotio Forestry Friendly Societies Departm Fruit preserving Industry. General Assembly Library		• •		273	Post and Tolograph moulting and and	••	
					Post Office Account	• •	
General Assembly Library	• •	• •	• •	31	Drima Minister's Department	• •	
General Assembly Library General Expenses, Legislat	ive Depart	ments		32	Drinting and Stationers		34
Geological Survey Branch . Government Accident Insu	••	• •			Districting and Stationery	• •	115
Government Accident Insu:	rance Acco	unt		267	Prisons	• •	74
Government Actuary's Offic	ce			93	Probation Branch (Prisons)	٠.	78
Government Domains			٠.	53	Protection of Fish and Oysters Public Buildings Domains Maintenance of Read		156
Government Insurance Acc				261	Public Buildings, Domains, Maintenance of Road	is	
Government Steamers		••		157	and Irrigation Works		51
				- 1	Publicity Branch, Department of Internal Affai	irs	103
Hansard	• •			32	Public Service Commissioner's Office		113
Harbours	• •			151	Darkii a Gammia a Gammana a 1 1 77 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		264
					Dublic Munchesta A	••	256
Health, Department of		• •		124			
Harbours Health, Department of High Commissioner's Office	• • 1	••	• •	124 101	Pailways Donastment	• •	236
High Commissioner's Office	••	••	••	101		••	
High Commissioner's Office Higher Education	•••	 Agricultr	• •		Rates on Crown Lands		38
High Commissioner's Office Higher Education Horticulture Division, Dep	arrment of	Agricult	 ire	101 195 179	Rates on Crown Lands Rates on Native Lands		38 38
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives	 	··	ire	101 195 179 30	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt	••	38 38 24
High Commissioner's Office Higher Education Horticulture Division, Dep	••••••••••••••••••••••••••••••••••••••	··	 ire	101 195 179 30 272	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt	••	38 38 24 23
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives	••••••••••••••••••••••••••••••••••••••	··	ire	101 195 179 30 272 64	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office	•••	38 38 24 23 98
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery	 	 	re	101 195 179 30 272 64 155	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations	•••	38 38 24 23
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery	 	 	re	101 195 179 30 272 64	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs	•••	38 38 24 23 98
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Ac	cident Acc	·· ·· ·· ount	ire	101 195 179 30 272 64 155	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs	•••	38 38 24 23 98 210
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actionsurance, Government Life	ecident Accord	······································	ire	101 195 179 30 272 64 155 267	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch	•••	38 38 24 23 98 210 143 273
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actionsurance, Government Life	ecident Accord	······································	ire	101 195 179 30 272 64 155 267 261	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation	•••	38 38 24 23 98 210 143 273
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actionsurance, Government Life	ecident Accord	······································	:: :: :: :: ::	101 195 179 30 272 64 155 267 261 265	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites	•••	38 38 24 23 98 210 143 273 167 197
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actinusurance, Government Lift Insurance, State Fire Accommenterst Internal Affairs Departmen	cident Accorde Account	··· ·· ·· ·· ·· ·· ·· ·· ·· ·· ·· ·· ··	 are 	101 195 179 30 272 64 155 267 261 265 7 90	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat	•••	38 38 24 23 98 210 143 273 167 197
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actionsurance, Government Life	cident Accorde Account	··· ·· ·· ·· ·· ·· ·· ·· ·· ·· ·· ·· ··	:: :: :: :: ::	101 195 179 30 272 64 155 267 261 265 7 90 104	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites Schools for the Deaf Schools for the Feeble-minded	•••	38 24 23 98 210 143 273 167 199 200
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Act Insurance, Government Lif Insurance, State Fire Accounterest Internal Affairs Departmen Internal Affairs: Miscelland	cident Account unt	ount	 are 	101 195 179 30 272 64 155 267 261 265 7 90 104 66	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of	··· ·· ·· ·· ·· ·· ·· ·· ·· ·· ··	38 24 23 98 210 143 273 167 197 199 200 209
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actinusurance, Government Lift Insurance, State Fire Accommenterst Internal Affairs Departmen	cident Account unt	ount	 ire 	101 195 179 30 272 64 155 267 261 265 7 90 104	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education		38 38 24 23 98 210 143 273 167 199 200 209 194
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Acinsurance, Government Life Insurance, State Fire Accounterest Internal Affairs Department Internal Affairs: Miscellane Instice Department Instice Miscellaneous Serv	cident Account unt		 ire 	101 195 179 30 272 64 155 267 261 265 7 90 104	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund		38 24 23 98 210 143 273 167 197 199 200 209
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Acinsurance, Government Life Insurance, State Fire Accounterest Internal Affairs Department Internal Affairs: Miscellance Instice Department Instice: Miscellancous Services	cident Account unt			101 195 179 30 272 64 155 267 261 265 7 90 104 66 72	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature		38 24 23 98 210 143 273 167 197 200 209 194
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Internal Affairs: Miscellance Instice Department Instice Department Labour Department Lab	cident Account unt tecous Services	ount		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Riffe Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department		38 38 24 23 98 210 143 273 167 199 200 209 194 23 25
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Commerce Inspection of Machinery Insurance, Government Actionsurance, Government Lifensurance, State Fire Accounterest Internal Affairs Department Institute Department Custice Department Lifensurance Miscellaneous Service Company of Machinery Labour Department Labour Department Labour Department Labour Department Labour Department Land and Deeds Registry Land and Income Tax Department Land Income Lan	cident Account unt tecous Services	ount		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account		38 38 24 23 98 210 143 273 167 199 200 209 194 23 25 45
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Acinsurance, Government Lifensurance, State Fire Accounterest Internal Affairs Departmen Internal Affairs: Miscelland Instice Department Instice: Miscellaneous Services Labour Department Land and Deeds Registry Land and Income Tax Department and Income Tax Department and and Income Tax Department and and Income Tax Department and Income Tax Department and Income Tax Department and Income Tax Department and Services Income Tax Department and Income Tax Department and Services Income Tax Department and Services Income Tax Department and Services Income Tax Department Services Income Tax Departmen	cident Acce Account unt teous Services			101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Riffe Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature State Advances Account State Advances Account		38 38 24 23 98 210 143 273 167 197 199 200 209 194 23 25 45 268
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Acinsurance, Government Life Insurance, State Fire Accounterest Internal Affairs Department Internal Affairs: Miscellance Instice: Miscellancous Services in Miscellance Services Labour Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Accountered Land for Settlements	cident Account teous Services triment Account	ount ess (Discharg		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal mines Account		38 38 24 23 98 210 143 273 167 197 199 200 209 194 23 25 45 268 224
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Instice Department Sustice Department Lustice: Miscellaneous Servication of Miscellaneous Servication of Miscellaneous Servication of Settlements Accounted for Settlements Accounted for Settlements Accounted Soldiers Settlement	cident Acce e Account unt t ecous Services vices artment int Account	ount ees (Discharg		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account	······································	38 38 24 23 98 210 143 273 167 199 200 209 194 23 25 45 268 224 265
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Aci Insurance, Government Lif Insurance, State Fire Accounterest Internal Affairs Departmen Internal Affairs: Miscellance Instice Department Iustice: Miscellancous Serv Labour Department Land and Deeds Registry Land and Income Tax Department Land and Income Tax Department Land for Settlements Accounted Soldiers Settlement Accounted and Survey Department Soldiers Settlement Accounted and Survey Department Land and Survey Department	cident Accordent Accordent Account tecous Services vices artment int Account tecount			101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Riffe Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account		38 38 24 23 98 210 143 273 167 197 200 209 194 23 25 45 268 224 265 226
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Aci Insurance, Government Lif Insurance, State Fire Accounterest Internal Affairs Departmen Internal Affairs: Miscellance Instice Department Iustice: Miscellancous Serv Labour Department Land and Deeds Registry Land and Income Tax Department Land and Income Tax Department Land for Settlements Accounted Soldiers Settlement Accounted and Survey Department Soldiers Settlement Accounted and Survey Department Land and Survey Department	cident Accordent Accordent Account tecous Services vices artment int Account tecount			101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account State Forests Account		38 38 24 23 98 210 143 273 167 199 200 209 194 23 25 45 45 224 265 226 4
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Instruction of Machinery Insurance Compartment Lifinsurance, State Fire Accounterest Internal Affairs Department Instince Department Instince Department Land and Deeds Registry Land and Income Tax Department Commission of Settlements Accounted for Settlements Accounted the Commission of Settlement Accounted the Settlement Accou	cident Account t eous Services triment Account unt eous Services	count ces (Discharg vices		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221 161 165	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Riffe Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account State Forests Account Summary Supreme Court		38 38 24 23 98 210 143 273 167 197 200 209 194 23 25 45 268 224 265 226
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Instruction of Machinery Insurance Compartment Lifinsurance, State Fire Accounterest Internal Affairs Department Instince Department Instince Department Land and Deeds Registry Land and Income Tax Department Commission of Settlements Accounted for Settlements Accounted the Commission of Settlement Accounted the Settlement Accou	cident Account t eous Services triment Account unt eous Services	count ces (Discharg vices		101 195 179 30 272 64 155 267 265 7 90 104 66 72 158 47 41 220 221 161 165 31	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary Supreme Court		38 38 24 23 98 210 143 273 167 199 200 209 194 25 45 268 224 265 226 469
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Instruction of Machinery Insurance Compartment Lifinsurance, State Fire Accounterest Internal Affairs Department Instince Department Instince Department Land and Deeds Registry Land and Income Tax Department Commission of Settlements Accounted for Settlements Accounted the Commission of Settlement Accounted the Settlement Accou	cident Account t eous Services triment Account unt eous Services	count ces (Discharg vices		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221 161 165 31	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Regustrar General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction		38 38 24 23 98 210 143 273 167 199 200 209 194 25 45 268 224 69 195
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing (Industries and Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Internal Affairs: Miscellance (Institute Department Lustice Department Land and Deeds Registry Land and Income Tax Department for Settlements Accounted for Settlements Accounted for Settlements Soldiers Settlement Accounted and Survey Department and and Survey Departments and Survey: Miscellance in Settlement Accounted and Survey: Miscellance Insulative Council Legislative Council Legislative Council	cident Account unt teeous Services cartment int Account unt) ent ent Services			101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221 161 165 31 30 32	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Regustrar General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction		38 38 24 23 98 2143 273 167 199 200 209 194 23 245 224 45 226 469 195 186
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Acinsurance, Government Linsurance, State Fire Accounterest Internal Affairs Department Instice Department Iustice: Miscellaneous Services Miscellaneous Miscell	cident Acce Account unt t ecous Services critical account unt Account unt) ent	Agricultor count ces charge (Discharg charge vices		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221 161 165 31 30 32 153	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resorts Training of Teachers		38 38 24 23 98 210 273 167 199 200 209 194 23 25 45 226 469 195 186 196
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Acinsurance, Government Lifesurance, State Fire Accounterest Internal Affairs Department Instice Department Instice Miscellaneous Services Miscellaneous Miscellaneous Settlement Accounds and Survey Department Accounds and Survey Department Miscellaneous Miscell	cident Account unt teous Services that Account unt) ent aneous Ser			101 195 179 30 272 64 155 267 267 265 7 90 104 66 72 158 47 41 220 221 161 31 30 32 153 176	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Regustrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resorts Training of Teachers Treasury Department		38 38 24 23 210 143 273 167 197 199 200 209 194 23 25 45 226 469 195 186 196 35
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing (Industries and Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Internal Affairs: Miscellance (Institute Department Lustice Department Land and Deeds Registry Land and Income Tax Department for Settlements Accounted for Settlements Accounted for Settlements Soldiers Settlement Accounted and Survey Department and and Survey Departments and Survey: Miscellance in Settlement Accounted and Survey: Miscellance Insulative Council Legislative Council Legislative Council	cident Account unt teous Services that Account unt) ent aneous Ser			101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221 161 165 31 30 32 153	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Regustrar General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Forests Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous		38 38 24 23 98 210 273 167 199 200 209 194 23 25 45 226 469 195 186 196
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Aci Insurance, Government Lif Insurance, State Fire According Interest Internal Affairs Department Instice Department Iustice Department Land and Jeeds Registry Land and Income Tax Department Land and Income Tax Department Land and Survey Department Land settlements Account Land Survey Department Land Surv	cident Accident Accident Account vices artment int Account vint) ent aneous Services ment of Agricus I Account vices			101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221 161 165 31 30 32 153 176 273	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous		38 38 24 23 210 143 273 167 197 199 200 209 194 235 245 226 45 226 469 195 186 196 35
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Liftensurance, State Fire Accounterest Internal Affairs Department Instice Department Iustice: Miscellaneous Serv Insurance Registry Industries Miscellaneous Serv Internal Affairs Department Iustice: Miscellaneous Serv Insurance Registry Industries Miscellaneous Serv Insurance Registry Industries Registry Industries Registry Industries Settlement Accounts Industries General Expenies Industries General Expenies Industries	cident Acce Account unt teous Services artment int Account unt) enneous Ser ment of Agrkers' Dwe	Agriculture		101 195 179 30 272 64 155 267 267 265 7 90 104 66 72 158 47 41 220 221 161 31 30 32 153 176	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Forests Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous Valuation		38 38 24 23 98 210 143 273 167 199 200 209 194 23 245 265 226 49 195 186 196 37
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifensurance, State Fire Accounterest Internal Affairs Department netrnal Affairs: Miscelland Justice Department Justice: Miscellaneous Services of Miscellaneous Office Cegislative Council Legislative Council Legislative General Expensionants of Employers for Wo Magistrates' and Wardens' (Magistrates' and Wardens' (Magistrates' and Wardens' (Main Highways Account (M	cident Acce Account unt teous Services artment int Account unt) enneous Ser ment of Agrkers' Dwe			101 195 179 30 272 64 155 267 265 7 90 104 66 72 158 47 41 220 221 161 165 31 30 32 153 176 273	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Regustrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Forests Account State Forests Account State Forests Account Technical Instruction Tourist and Health Reserts Training of Teachers Treasury Department Treasury: Miscellaneous Valuation Wardens' Courts		38 38 24 23 98 210 143 273 167 197 199 200 209 194 25 268 224 265 469 195 186 196 35 37
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifinsurance, State Fire Accounterest Internal Affairs Department Internal Affairs Department Institute Department Lustice Department Land and Deeds Registry Land and Income Tax Department Land and Income Tax Department Land and Survey Department Land and Survey Departments Soldiers Settlements Account and Survey: Miscellands and Miscellands and Survey: Miscellands and Miscellands and Miscellands and Mis	cident Account unt t ecus Services artment int Account unt) ent aneous Ser ment of Agricults courts ain Highw	discharg Count Count		101 195 179 30 272 64 155 267 261 265 7 90 104 66 72 158 47 41 220 221 161 165 31 165 32 153 176 273 70 222	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayment of Public Debt Registrar-General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resorts Treasury Department Treasury: Miscellaneous Valuation Wardens' Courts Weather Reporting Office		38 38 24 23 98 210 143 273 167 199 200 209 194 23 245 265 226 49 195 186 196 37
High Commissioner's Office Higher Education Horticulture Division, Dep House of Representatives Housing Industries and Commerce Inspection of Machinery Insurance, Government Actinsurance, Government Lifensurance, State Fire Accounterest Internal Affairs Department netrnal Affairs: Miscelland Justice Department Justice: Miscellaneous Services of Miscellaneous Office Cegislative Council Legislative Council Legislative General Expensionants of Employers for Wo Magistrates' and Wardens' (Magistrates' and Wardens' (Magistrates' and Wardens' (Main Highways Account (M	cident Accordent Accordent Account unt tecous Services artment int Account vent ancous Services ment of Agricults and Highw Roads	discharg Count Count		101 195 179 30 272 64 155 267 265 7 90 104 66 72 158 47 41 220 221 161 165 31 30 32 153 176 273	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Regustrar General's Office Research Investigations Rifle Clubs Rural Advances Branch Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Scientific and Industrial Research, Department of Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Forests Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous Valuation Wardens' Courts		38 38 24 23 98 210 143 273 167 199 200 209 194 23 25 45 224 46 9 195 1186 1196 35 37 169 70

1928-1929.

SUMMARY.

age	Summary of Services chargeable on the Con- solidated Fund and other Accounts.	1928	3–29.
	CONSOLIDATED FUND.	Credits-in-aid.	Net Totals.
	ORDINARY REVENUE ACCOUNT.	£	£
6	PERMANENT APPROPRIATIONS— Civil List		31,695
7	T , ,	• •	8,539,134
23	C. 1. II I	• •	2,882
$\frac{23}{23}$	Repayment of Public Debt	• •	1,053,559
$\frac{24}{24}$	Reduction of Funded Debt	• • • • • • • • • • • • • • • • • • • •	385,710
25	Under Special Acts of the Legislature	• •	5,832,584
			15 845 564
	ANNUAL APPROPRIATIONS—	••	15,845,564
30	Vote, Legislative Departments	6,243	93,175
34	" Prime Minister's Department		13,124
35	" Treasury Department	4,075	39,236
39	" National Provident and Friendly Societies	438	25,525
7	Department		
41	" Land and Income Tax Department	1,410	63,347
45	" Stamp Duties Department	16,000	96,801
51	" Public Buildings	103,358	87,600
53	" Government and Other Domains	2,358	6,400
55	" Maintenance and Repairs to Roads	3,150	103,000
56	,, Maintenance of Irrigation Works, &c	386	14,200
57	,, Native Department	9,850	32,374
60	" Department of External Affairs	2,041	38,236
62	" Cook Islands	23,983	42,687
64 66	" Department of Industries and Commerce " Department of Justice	$3,750 \\ 12,255$	31,928 135,906
74	Prigana Danartment	68,450	95,659
79	Crown Low Office	990	5,889
81	Police Department	5,910	450,815
84	Panaiona Danastment	2,832	168,168
87	" Mines Department	1,380	42,747
90	" Department of Internal Affairs	63,018	345,164
10	", Audit Department	25,000	29,617
13	", Public Service Commissioner's Office	$^{\cdot}$ 25	7,270
15	" Printing and Stationery Department	• •	230,487
18	" Mental Hospitals Department	130,000	294,910
24	" Department of Health	101,770	249,046
32	" Naval Defence	40,950	485,861
35	" Defence Department	24,450	464,191
44	,, Customs Department	10,750	119,968
50	" Marine Department	. 5,940	119,382
58	" Department of Labour	1,800	63,787
$\frac{61}{67}$	" Department of Lands and Survey	116,995	188,133
67	" Scenery-preservation	31 12 225	17,203
69 72	" Valuation Department	$\frac{13,235}{2,000}$	55,108 90,767
$72 \mid 74 \mid$,, Electoral Department , Department of Agriculture	$2,000 \\ 97,748$	443,957
36	Department of Tourist and Health Percents	1,003	83,563
90	Department of Education	265,835	3,082,811
09	,, Department of Education ,, Department of Scientific and Industrial	15,414	61,916
	Research	1,184,823	8,019,958
		_,,	
	TOTAL—ORDINARY REVENUE ACCOUNT	1,184,823	23,865,522

Appropriations for Services of Separate Accounts and Accounts outside the Public Account.

SUMMARY-continued.

Page	Summary of Services Chargeable or	n the Con	1-	1928	-29.
	solidated Fund and other Account	s—contd.		Credits-in-aid.	Net Totals.
	OTHER ACCOUNTS.			e	£
218	Nauru and Ocean Islands Account			£	600
				1 3 1	
	Summary of Services chargeable of Accounts and Accounts outside Account.				
	SEPARATE ACCOUNTS.			; d : ;	
219 220 221	Discharged Soldiers Settlement Account Land for Settlements Account (Dischargettlement Account (Dischargettlement Account)		ers	 5 50	40,000 3,465 3, 885
222	Main Highways Account— Main Highways Revenue Fund			20,000	1,017,208
223	Native Land Settlement Account		:	100	7,437
224	State Coal-mines Account		• •	2,350	315,654
226	State Forests Account			1,832	304,303
234	Westport Harbour Account		'	6 7 5	61,995
236	Working Railways Account		••	1,227,000	6,671,337
				į	
	ACCOUNTS OUTSIDE THE PACCOUNT.	UBLIC			
248	Post Office Account			127,700	2,529,969
256	Public Trustee's Account		;		252,113
259	Native Trustee's Account				13,571
261	Government Insurance Account		••	875	113,202
264	Public Service Superannuation Fund	Account .	• •	• •	7,969
265	State Fire Insurance Account	•• •	• •	8,550	40,844
267	Government Accident Insurance Acco	unt .	•• ;	••	18,645
000	State Advances Account—		į	11 450	10 001
$\frac{268}{270}$	Advances to Settlers Branch	••	••	11,450	46,684
$\frac{270}{279}$	Advances to Workers Branch Advances to Local Authorities Bran	 reh	• •	4,350	$10,239 \\ 1,813$
$\begin{array}{c} 272 \\ 272 \end{array}$	Miscellaneous Business Branch	1011 .	• •	1,170	11,989
$\frac{272}{273}$	Rural Advances Branch	••	• •	1,110	22,215
	TANIM INCOME DIGITAL INCOME.		. !		

1928-1929.

CIVIL LIST

	1928–29.				
	Salaries.	Other Charges.	Total.		
	£	£	£		
Civil List Act, 1920 (Part I)—					
His Excellency the Governor-General	5,000	2,500	7,500		
Civil List Act, 1920 (Part II)—					
Establishment of the General Government	15,195	2,000	17,195		
Civil List Act, 1920 (Part V)—					
For Native Purposes	•••	7,000	7,000		
TOTAL—CIVIL LIST	20, 195	11,500	31,695		

PERMANENT CHARGES.

DEBT SERVICES—INTEREST.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
New Zealand Loans Act, 1908— Aid to Public Works and Land Settlement Act, 1896	£ 175,000 25,000	4 6	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	£ 7,000 1,500	£	£
	200,000	·[8,500	••	8,500
Aid to Public Works and Land Settlement Act, 1900	91,300 600	4 5½	1 May and 1 Nov. 1 Jan. and 1 July	3,652 33		
	91,900			3,685		3,685
Aid to Public Works and Land Settlement Act, 1900, and Finance Act, 1915 (Section 106)	54,200	41	1 May and 1 Nov.	2,439		2,439
Aid to Public Works and Land Settlement Act, 1901	104,500	4	1 June and 1 Dec.	4,180		4,180
Aid to Public Works and Land Settlement Act, 1901, and Finance Act, 1915 (Section 106)	1,800	41	1 June and 1 Dec.	81		81
Aid to Public Works and Land Settlement Act, 1902	145,200 300	4 41	1 June and 1 Dec. 1 June and 1 Dec.	5,808 14		
	145,500			5,822	.	5,822
Aid to Public Works and Land Settlement Act, 1902, and Finance Act, 1915 (Section 106)	211,100	41	1 June and 1 Dec.	9,500	 	9,500
Aid to Public Works and Land Settlement Act, 1903	479,065 300 600 16,500 2,000	4 6 41 51 51	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 15 Feb. and 15 Aug.	19,163 18 27 908 105		
	498,465			20,221	••	20,221
Aid to Public Works and Land Settlement Act, 1903, and Finance Act, 1915 (Section 106)	10,800 15,700	41/2	1 Jan. and 1 July 1 Feb. and 1 Aug.	486 707		
, , ,	26,500			1,193	•••	1,193
Aid to Public Works and Land Settlement Act, 1905	153,700 53,500	4 5½	l Jan. and l July l Jan. and l July	6,148 2,943		0.003
A.1 . D.11. TV 7 7 T 7	207,200	41	1 T 1 T-1	9,091	••	9,091
Aid to Public Works and Land Settlement Act, 1905, and Finance Act, 1915 (Section 106)	500,500	4½	1 Jan. and 1 July	22,523	••	22,523
Aid to Public Works and Land Settlement Act, 1906	681,500 600 24,900	4 4½ 6	l Jan. and l July l Jan. and l July l Jan. and l July	27,260 27 1,494		
	707,000	1		28,781		28,781
Aid to Public Works and Land Settlement Act, 1906, and Finance Act, 1915 (Section 106)	28,100	41/2	1 Jan. to 1 July	1,265		1,265
Aid to Public Works and Land Settlement Act, 1907	24,300 200,500 129,700 52,750	6 4 5 1 5 1	l Jan. and l July l Feb. and l Aug. l Feb. and l Aug. l5 Feb. and l5 Aug.	1,458 8,020 7,133 2,769		
	407,250		, 	19,380	••	19,380
Aid to Public Works and Land Settlement Act, 1907, and Finance Act, 1915 (Section 106)	120,800	41/2	1 Jan. and 1 July	5,436		5,436
Aid to Public Works and Land Settlement Act, 1908	50,000	4	1 April and 1 Oct.	2,000	••	2,000
Aid to Public Works and Land Settlement Act, 1911	149,000	4	l Jan. and l July	5,960		5,960
Aid to Public Works and Land Settlement Act, 1912	186,500	4	15 April and 15 Oct.	7,460	••	7,460

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928–29.
Aid to Public Works and Land Settlement Act, 1912, and Finance Act, 1915 (Section 106)	£ 19,500	41/2	15 April and 15 Oct.	£ 877	£	£ 877
Aid to Public Works and Land Settlement Act, 1914		4	1 May and 1 Nov.	98,000	• •	98,000
Aid to Public Works and Land Settle- ment Act, 1921	1,099,670 330 3,700 34,900 103,100	4 4 5 4 5 4 5 6	1 June and 1 Dec. 1 June and 1 Dec. 15 Feb. and 15 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	43,987 15 194 1,920 6,186		
	1,241,700			52,302		52,302
Aid to Water-power Works Act, 1910	244,000 225,000	4 4½	l May and l Nov. l May a nd l Nov.	9,760 10,125		
	469,000			19,885		
Recoverable from Electric Supply Account	••	••		••	19,885	
Appropriation Act, 1912 (Irrigation and Water-supply Account)	15,000	4	l May and l Nov.	600	••	600
Appropriation Act, 1918 (Section 33),	70,000	4	I Mar. and I Sept.	2,800		
(Waimarino Bush Fire Relief) Recoverable from General Purposes Relief Account		••			2,500	300
Coal-mines Act, 1925	175,000	4	1 April and 1 Oct.	7,000		
Recoverable from State Coal- mines Account	••	•	• •	••	7,000	
Deteriorated Lands Act, 1925	22,000	4	1 April and 1 Oct.	880	••	880
Discharged Soldiers Settlement Act, 1915, and Amendment Act, 1916	36,000 64,000	$\begin{array}{c} 4\\4\frac{1}{2}\end{array}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	1,440 2,880		
	100,000			4,320		
Recoverable from the Discharged Soldiers Settlement Account	••		••	••	4,320	
Discharged Soldiers Settlement Act, 1915, and Finance Act, 1917 (Section 82)	170,000 2 3 0,000	$\begin{array}{c} 4\frac{1}{2} \\ 4 \end{array}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	1,708 9,2 0 0		
(20000010 02)	400,000			10,908		
Recoverable from the Discharged Soldiers Settlement Account	••	••	••	• •	10,908	
Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Land for Settlements)	2,876,450 110,550 5,000	$egin{array}{c c} 4 & 4rac{1}{2} \ 5 & \end{array}$	l Mar. and l Sept. l Mar. and l Sept. l Mar. and l Sept.	$^{114,471}_{4,278}_{62}$		
	2,992,000	,		118,811		
Recoverable from Land for Settle- ments Account (Discharged Soldiers Settlement Account)				• •	65,000	53,811
Discharged Soldiers Settlement Loans Act, 1920	50,000 18,500 22,400 1,187,600 60,460 33,000	$ \begin{array}{c} 4 \\ 4\frac{1}{2} \\ 5\frac{1}{4} \\ 5\frac{1}{6} \end{array} $	1 Mar. and 1 Sept. 15 Jan. and 15 July 1 Jan. and 1 July 15 Jan. and 15 July 15 Jan. and 15 July 1 Feb. and 1 Aug.	447 833 1,176 65,318 3,023 1,980		
	1,371,960		-	72,777		
	, ,	i		,	1	

PERMANENT CHAI	RGES.—D	EBT	SERVICES-IN	TEREST-	continue	<i>l</i> .
Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29,
District Railways Purchasing Acts, 1885-86	£ 40,000	4	l Jan. and l July	£ 1,600	£	£ 1,600
Education Purposes Loans Act, 1919	1,535,000 183,550 7,110 600 253,900 94,450 24,500 7,060 89,190	4 4 ½ 5 ½ 5 ½ 5 ¼ 6 4 ½ 5	l Jan. and l July l Feb. and l Aug. l Feb. and l Aug. l April and l Oct. l April and l Oct.	61,400 8,260 355 33 13,330 4,958 1,470 318 4,459		
On further issues, say	169,510 2,364,870	5 <u>1</u>	1 April and 1 Oct.	8,899 8,000 111,482		111,482
Electric Power Works Loans Act, 1919	53,550 212,500 266,050	5 5	15 Jan. and 15 July 1 May and 1 Nov.	2,677 10,625 13,302	i	ŕ
Recoverable from the Electric Supply Account					13,302	
Finance Act, 1909 (Public Works)	46,901	4	l Feb. and I Aug.	1,876	••	1,876
Finance Act 1915, (Section 105), (Public Works)	514,525 59,600 799,205	$\frac{4\frac{1}{2}}{5\frac{1}{2}}$	15 June and 15 Dec. 15 June and 15 Dec. 15 June and 15 Dec.	23,154 3,278 31,968		
	1,373,330			58,400		58,400
Finance Act, 1916 (Section 35), (War Expenses)	46,700 1,600 5,313,950 20,050	6 4 4 1 1 5 1 2	1 Feb. and 1 Aug. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug.	2,802 64 239,128 1,103		
	5,382,300			243,097		243,097
Finance Act, 1916 (Section 49), (Public Works)	950,000	4	1 Feb. and 1 Aug.	38,000	••	38,000
Finance Act, 1916 (Section 50), (State Forests) Recoverable from State Forests	50,000	41/2	1 Feb. and 1 Aug.	2,250	2,250	
Account Finance Act, 1916 (Section 50), and Finance Act, 1920 (Section 16), (State Forests)	27,000 8,000	4 41/2	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,080		
	35,000			1,440		
Recoverable from State Forests Account Finance Act, 1917 (Section 77), (Aid to Public Works)	725,000	4	1 Feb. and 1 Aug.	29,000	1.440	29,000
Finance Act, 1918 (Section 10), (War Expenses)	40,000 32,290 2,006,900 44,850 73,950	41/2 5 4 51/4 51/4	1 June and 1 Dec. 1 Jan and 1 July. 20 April and 20 Oct. 15 Feb. and 15 Aug. 1 Jan. and 1 July	1,800 1,615 80,276 2,355 3,882	·	
	2,197,990			89,928	••	89,928
Finance Act, 1918 (No. 2), (Part IV), (War Expenses)	66,700 2,251,940 560 1,990 31,250	4½ 4½ 5 5 54	1 Jan. and 1 July 20 April and 20 Oct. 1 Jan. and 1 July 20 April and 20 Oct. 1 Jan. and 1 July	3,001 101,338 28 100 1,641		
	2,352,440].	106,108	••	106,108
Finance Act, 1918 (No. 2), (Section 29), (Public Works)	2,500,000	4	1 Feb. and 1 Aug.	100,000	••	100,000
Finance Act, 1918 (No. 2), (Section 30), Cold-storage Advances Account	73,720	4	1 Mar. and 1 Sept.	2,949		
Recoverable from State Advances Office	••	••	••		2,949	

$A \ ppropriations \ for \ Consolidated \ Fund \ Services.$

PERMANENT CHARGES.--DEBT SERVICES-INTEREST-continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
Finance Act, 1918 (No. 2), (Section 31), (Discharged Soldiers Settle-	£ 700,000	4	1 Mar. and 1 Sept.	£ 25,553	£	£
ment) Recoverable from Discharged Soldiers Settlement Account	••			••	25,553	
Finance Act, 1918 (No. 2), (Section 32), (State Forests)	171,000 29,000	4 4 ½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	6,840 1,305		
	200,000			8,145	_	
Recoverable from State Forests Account			••		8,145	
Finance Act, 1919 (Section 5), (Public Works)	500,000	4	1 Feb. and 1 Aug.	20,000	••	20,000
Finance Act, 1920 (Section 15), (Electric-power Works) On further issues, say	30,000 103,900	4 5½	l Feb. and l Aug. l Feb. and l Aug.	1,200 5,715 1,750	-	
	133,900			8,665		
Recoverable from Electric Supply Account	••		••	••	8,665	
Finance Act, 1920 (Section 15), (Public Works)	549,240 8,770 43,500	4 5 5 ₄	1 June and 1 Dec. 1 June and 1 Dec. 15 Feb. and 15 Aug.	21,969 439 2,284		
	601,510	-		24,692		24,692
Finance Act, 1920 (Section 15),	522,120	5	1 June and 1 Dec.	26,106		
(Nauru and Ocean Islands) Recoverable from the Nauru and Ocean Islands Account	**	•••	••	••	26,106	
Finance Act, 1921 (Section 10), (Public Works)	150,000 25,250	4 5 1	l Mar. and l Sept. 15 Feb. and 15 Aug.	6,000 1,326		
	175,250			7,326	••	7,326
Finance Act, 1921-22 (Section 26), (Samoan Loan Account)	100,000	5	1 April and 1 Oct.	5,000	-	5,000
Finance Act, 1924 (Section 2), (Public Works)	4,170 13,150 75,000	5 5 1 5 1	1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug.	209 690 4,125		
	92,320			5,024		5,024
Finance Act, 1925 (Section 4), (Samoan Loan)	32,000	5	1 April and 1 Oct.	1,600	••	1,600
Finance Act, 1927 (No. 2), (Section 2), (Public Works)— On issues, say	The state of the s			7,500		7,500
•					-	,,000
Fishing Industry Promotion Act, 1919	520 2,685 270	4 4½ 5	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	21 121 14		
	3,475			156		
Recoverable from State Advances Office	••		••	••	156	
Forests Act, 1921-22	10,000	41/2	1 Feb. and 1 Aug.	450		
Recoverable from State Forests Account	••				450	
Forests Act, 1921-22, and Finance Act, 1924 (Section 16)	100,000	5	1 Feb. and 1 Aug.	5,000		
Recoverable from State Forests Account	••	••	••	••	5,000	

PERMANENT CH.	ARGES.—DEBT	SERVICES-	$- { m INTEREST} -$	continued.
---------------	-------------	-----------	---------------------	------------

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amou n t.	Recoverable.	1928–29.
Forests Act, 1921-22, and Finance	£			£	£	£
Act, 1927 (Section 6)— On issues, say			••	1,500		
Recoverable from State Forests Account	••	••		••	1,500	
Fruit-preserving Industry Act, 1913, and Finance Act, 1917 (Section	58,590	4	1 April and 1 Oct.	2,344		
80) Recoverable from State Advances Office	••			••	2,344	
			•			
Funded Debt.—Finance Act, 1922 (Section 8)— Aid to Public Works and Land	178,792	*	1 June and 1 Dec.	8,862		
Settlement Act, 1910 Finance Act, 1916 (Section 35),	4,433,840	*	1 June and 1 Dec.	219,770		
(War Expenses) Finance Act, 1918 (Section 10), (War Expenses)	6,177,816	*	1 Tune and 1 Dec.	306,213		
(War Expenses) Land for Settlements Act, 1908 Naval Defence Act, 1909 Public Revenues Amendment Act,	35,361 669,757 1,935,164	*	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	1,753 33,013 95,919		
1914 (Section 8), (War Expenses) Public Revenues Amendment Act,	7,587,474		1 June and 1 Dec.	376,084		
1915 (Section 5), (War Expenses) War Purposes Loan Act, 1917	4,521,038	*	1 June and 1 Dec.	224,092		
(Section 2), and War Purposes Loan Act, 1917 (No. 2)	25,539,242			1,265,706	.	
Recoverable from Land for Settlements Account	••	٠.		• •	1,753	1,263,95
Tovernment Railways Act, 1908— Railways Improvement Authoriza-	193,600	4	1 Jan. and 1 July	7,744		
tion Acts, 1904-7	19,900	6	1 Jan. and 1 July	1,194		
	213,500			8,938	••	8,93
Novernment Railways Act, 1908, Railways Improvement Authoriza-	600 1,600	4½ 4½	1 Jan. and 1 July 1 Mar. and 1 Sept.	27 72		
tion Acts, 1904-7, and Finance Act, 1915 (Section 106)	2,200			99	• •	99
Fovernment Railways Act, 1908, and Finance Act, 1909	55, 5 00 1, 0 00	4 4½	1 Jan. and 1 July 1 Feb. and 1 Aug.	2,220 45		
	56,500	_		2,265	• •	2,26
tovernment Railways Act, 1908, Fi- nance Act, 1909, and Finance Act, 1915 (Section 106)	15,100 1,200	4½ 4½	1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	679 54		
	16,300			733	••	73
overnment Railways Amendment Act, 1910	162,670 1,160 3,000	4 4½ 4½	l Jan. and l July l Jan. and l July l Feb. and l Aug.	6,507 52 135		
	166,830			6,694	••	6,69
overnment Railways Amendment Act, 1910, and Finance Act, 1915 (Section 106)	1,500	41/2	1 Jan. and 1 July	68	••	68

^{*£4 19}s. 5'88d. per cent. on reducing balance of outstanding debt.

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
Hauraki Plains Act, 1926 On further issues, say	£ 372,000 263,000 20,000 60,000 25,000	4 4½ 5 3½ 3¾	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Oct. 1 April and 1 Oct.	£ 14,880 11,835 1,000 2,100 937 875	£	£
On further issues, say	740,000		••	31,627	-	
Recoverable from Hauraki Plains Settlement Account	••	••	••	••	10,000	21,627
Housing Act, 1919 (Section 30), (Housing Account)	345,000 47,820	4 4½	1 Jan. and 1 July 1 Jan. and 1 July	13,800 2,152		
	392,820			15,952		
Recoverable from State Advances Office	••		••	••	15,952	
Housing Act, 1919 (Section 46), (Loans to Employers for Workers' Dwellings Account)	3,975	4	1 Jan. and 1 July	159		
Recoverable from State Advances Office	••	••	••		159	
Hutt Railway and Road Improvement Acts, 1903, 1905, 1907, and 1910	284,180 15,700 5,200	4 4½ 4½ 4½	1 May and 1 Nov. 1 Jan. and 1 July 1 Feb. and 1 Aug.	11,367 707 2 3 4		
	305,080			12,308	·•	12,308
Irrigation and Water-supply Act, 1913	40,100 59,900	4	1 April and 1 Oct. 1 May and 1 Nov.	1,604 2,396	-	
	100,000			4,000	••	4,000
Kauri-gum Industry Amendment Act, 1914	50,000	4	1 May and 1 Nov.	2,000	-	2,000
Kauri-gum Industry Amendment Act, 1914, and Appropriation Act, 1918 (Section 45)	10,500 14,500	4 4 <u>4</u> <u>1</u> <u>1</u>	l May and l Nov. l May and l Nov.	420 653		
	25,000			1,073	. ••	1,078
Lands Improvement and Native Lands Acquisition Act, 1894	400,000	4	I Feb. and I Aug.	16,000		16,000
Land for Settlements Act, 1908	650,645 481,425 13,600 7,600 141,100 29,600 5,700 37,000 800	4 4 5 6 4 4 5 6 5 4 2 6 5 4 2 6 4 2 6 4 2 6 4 2 6 4 2 6 6 6 4 4 2 6 4 4 4 2 6 4 4 4 4	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Sept. 31 Mar. and 30 Sept.	26,026 21,664 748 456 6,350 1,628 342 1,850 36		
	1,367,470			59,100		
Recoverable from the Land for Settlements Account	••	••	•• 		59,100	
Land for Settlements Act, 1908, and Finance Act, 1915 (Section 106)	124,525 105,500 127,500 71,700 100,000	4½ 4½ 4½ 4½ 4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug. 31 Mar. and 30 Sept. 1 April and 1 Oct. 1 May and 1 Nov.	5,604 4,748 5,737 3,226 4,500		
	529,225			23,815]	
Recoverable from the Land for		1			23,815	. •

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
Land for Settlements Act, 1925 On further issues, say	£ 941,066 13,000 8,400	4 5 <u>1</u> 5 <u>1</u>	1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 15 Feb. and 15 Aug.	\$ 37,643 682 441 400	£	£
	962,466			39,166		
Recoverable from the Land for Settlements Account			••		39,166	-
Land Laws Amendment Ac!, 1913	244,800 196,000 764,050 180,000	4½ 5 4 4½	1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 April and 1 Oct. 1 April and 1 Oct.	11,016 9,800 30,562 8,100		
	1,384,850			59,478		
Recoverable from the Land for Settlements Account	••	••	••	••	59,478	
Land Laws Amendment Act, 1913, and Appropriation Act, 1918 (Section 42)	606,100 7,000 8,000	4 4½ 4½ 4½	1 April and 1 Oct. 1 Jan. and 1 July 1 April and 1 Oct.	24,244 315 360		
	621,100			24,919		
Recoverable from the Land for Settlements Account	••	••	••	••	24,919	,
Land Laws Amendment Act, 1913, and Finance Act, 1915 (Section 106)	9,300	4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug.	9 4 19		
,	9,500			428		
Recoverable from the Land for Settlements Account	••		••	••	428	
Local Bodies' Loans Act, 1908— Government Loans to Local Bodies' Act, 1886	250,225	4	l Mar. and l Sept	10,009	••	10,009
Local Bodies' Loans Act, 1908	1,870,000	4	1 Feb. and 1 Aug.	74,800	••	74,800
Main Highways Act, 1922 On further issues, say	100,000	4	1 June and 1 Dec.	4,000 10,000		
	100,000			14,000		
Recoverable from the Main Highways Account	••	••	••	••	14,000	
Maori Land Settlement Act, 1905	500 181,175	5 <u>1</u> 4	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	26 7,247		
	181,675			7,273	••	7,27
Maori Land Settlement Act, 1905, and Finan ce Act, 1915 (Section 106)	14,475	41/2	1 Jan. and 1 July	651	••	651
Maori Land Settlement Act Amend- ment Act, 1907	50,000	4	1 Feb. and 1 Aug.	2,000	••	2,000
Mining Amendment Act, 1913	11,500	4	1 May and 1 Nov.	460	••	460
Mining Amendment Act, 1913, and Amendment Act, 1919	12,000 10,550	4 4½	l May and l Nov. l May and l Nov.	480 475		
	22,550			955		
Recoverable from Mining Advance Account	••	••	••	••	900	55
Native Land Amendment Act, 1913	100,000 1,662,400 445,000 25,000	51 4 41 5	15 Feb. and 15 Aug. 1 April and 1 Oct. 1 April and 1 Oct. 1 April and 1 Oct.	5,250 66,496 20,025 1,250		
On further issues, say	3,000	4½ 	5 June and 5 Dec.	135 5,000		
	2,235,400			98,156		98,150

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal,	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928–29,
Native Land Purchases Act, 1892	£ 125,000	4	30 April and 31 Oct.	5,000	£	£ 5,000
New Zealand Loans Act, 1908— Consolidated Loan Act, 1867	13,000	4	15 April and 15 Oct.	520		520
Consolidated Stock Act, 1884	744,700	4	1 Feb. and 1 Aug.	29,788	••	29,788
Defence and other Purposes Loan Act, 1870	100,000	4	1 Feb. and 1 Aug.	4,000	• •	4,000
General Purposes Loan Act, 1873	59,900 800	4 5	28 May and 28 Nov. 28 May and 28 Nov.	2,396 40		
	60,700			2,436		2,436
Immigration and Public Works Loan Act, 1870	27,900	4	1 Feb. and 1 Aug.	1,116	••	1,116
New Zealand Consolidated Inscribed Stock (London issue)— New Zealand Loan Act, 1882 New Zealand Loan Act, 1884 New Zealand Loan Act, 1886 North Island Main Trunk Railway	3,000,000 1,500,000 1,408,461 1,000,000	4 4 4 4	1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	120,000 60,000 56,338 40,000		
Loan Act, 1882 New Zealand Loan Act, 1888	1,000,000	4	1 May and 1 Nov.	40,000		
Sixth series of Conversions Expenses of Conversions and Rais-	5,021,200 6,263,600 4,688,444 4,557,047 619,500	4 4 4 4	1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	200,848 250,544 187,538 182,282 24,780		,
ing Loans For Redemptions For Naval Defence For Redemptions	230,500 2,100 200,000	4 4 4	i May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	9,220 84 8,000		
	29,490,852			1,179,634		
Recoverable from— Land for Settlements Account State Coal-mines Account State Advances Office	•••		 		951 21 9,559	
				[10,531	. 100 1-2
£3,000,000 Loan, 1912 Additional to £3,000,000 Loan, 1912 Conversions £3,500,000 Loan, October, 1913	3,000,000 600,000 1,951,825	4 4 4	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	120,000 24,000 78,073		1,169,103
Conversions £4,500,000 Loan, January, 1914	4,590,000	4	1 Feb. and I Aug.	183,600		
Bank of New Zealand Act, 1913 Part Charges and Expenses £3,000,000 Loan, 1913	375,000 100,000	4	I Feb. and I Aug. I Feb. and I Aug.	15,000 4,000		
For Redemption Expenses For Conversions, Aid to Public Works and Land Settlement Act,	5,000 262,803	4	l Feb. and l Aug. l Feb. and l Aug.	200 10,512		
1914 (scrip)	10,884,628			435,385		
Recoverable from— Land for Settlements Account State Coal-mines Account State Advances Office		••	·· ··	••	34,346 2,067 113,381	
					149,794	
Fourth series of Conversions Fifth series of Conversions Seventh series of Conversions For Conversions Expenses of Conversions and Raising Loans	2,768,000 624,668 1,036,000 12,647,541 85,323	31/2 32/1 32/1 32/1 32/1 32/1 32/1 32/1	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	96,880 21,863 36,260 442,664 2,986		285,591
Naval Defence Act, 1909	15,000	31/2	1 Jan. and 1 July	525		
= 40.000, -000	17,176,532	-2	, and a bully	601,178	ļ	
Recoverable from— Land for Settlements Account State Coal-mines Account	••				35,610 14	
Cheviot Estate Account State Advances Office	••		••	••	5,632 36,133	
					77,389	

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
New Zealand Consolidated Inscribed	£			£	£	£
	2,750,000	3	1 April and 1 Oct.	82,500		
Loan Government Advances to Settlers	240,000	3	1 April and 1 Oct.	7,200		
Loan Aid to Public Works and Land	2,500,000	3	1 April and 1 Oct.	75,000		
Settlement Loan For Conversion, Aid to Public Works	759,000	3	1 April and 1 Oct.	22,770		
For Conversions For Expenses	3,368,617 42,364	3	1 April and 1 Oct. 1 April and 1 Oct.	101,058 1,271	!	
	9,659,981			289,799		
Recoverable from— Land for Settlements Account State Advances Office			::		2,075 90,261	
					92,336	
New Zealand Consolidated Stock, 1933-43-						197,463
Aid to Public Works and Land Settlement Act, 1922	3,000.000	4	l Jan. and l July	120,000		
New Zealand State-guaranteed Advances Acts, 1909-10—						
Land for SettlementsBranch Advances to Settlers Branch	210,000 40,000	4	l Jan. and 1 July l Jan. and 1 July	8,400 1,600		
Advances to Workers Branch	750,000	4	l Jan. and l July	30,000		
Recoverable from—	1,000,000			160,000		
Land for Settlements Account State Advances Office			 		8,400 31,600	
					40,000	100 000
New Zealand Consolidated Stock, 1935-45	00.000	_				120,000
Aid to Public Works and Land Settlement Act, 1902	30,083	5	1 Jan. and 1 July	1,504		
Aid to Public Works and Land Settlement Act, 1921		5	1 Jan. and 1 July	143,078		
Discharged Soldiers Settlement Loans Act, 1920	255,496	5	1 Jan. and 1 July	12,775		
Education Purposes Loans Act, 1919	510,992	5	l Jan. and I July	25,550		
Electric-power Works Loan Act, 1919	510,991	5	1 Jan, and 1 July	25,549		
Forest Act, 1921-22 Native Land Amendment Act, 1913	204,397 255,496	5 5	l Jan. and l July l Jan. and l July	10,220 12,775		
War Purposes Loan Act, 1917	510,992	5	l Jan. and l July	25,549		
Dogwood Later	5,140,000			257,000		
Recoverable from— State Forests Account Discharged Soldiers Settlement			••	•••	10,220 12,775	
Account Electric Supply Account	••			••	25,549	
New Zealand Consolidated Stock,					48,544	208,456
1936-51— Electric-power Works Loan Act,	1,076,938	6	l Feb. and l Aug.	64,616		·
1919 Finance Act, 1916 (Section 50), and Finance Act, 1920 (Section	1,775	6	1 Feb. and 1 Aug.	107		
16), (State Forests) Finance Act, 1918 (No. 2), (Part	512,533	6	l Feb. and l Aug.	30,752		
IV), (War Expenses) Finance Act, 1920 (Section 15),	807,704	6	l Feb. and l Aug.	48,462		
(Electric Power-works) Finance Act, 1921 (Section 10), (Public Works)	2,423,112	6	l Feb. and l Aug.	145,387		
(Public Works) Railways Improvement Authoriza	1,076,938	6	1 Feb. and 1 Aug.	64,616		
tion Act, 1914	5,899,000			353,940		
Recoverable from— State Forests Account			• ,		107	
Electric Supply Account	••		• •	• •	113,078	
	İ				113,185	240,755

A that a viction of A a A	Dutu da al	Rate	Wald warning Aug Dates	Gross	Pagarara bla	1928-29
Authorizing Act.	Principal.	per Cent.	Half-yearly due Dates.	Amount.	Recoverable.	1920-29.
ew Zealand Consolidated Stock,	£			£	£	£
1944— Aid to Public Works and Land Settlement Act, 1922	324,852	41/2	l Mar. and 1 Sept.	14,618		
Education Purposes Loans Act, 1919 Finance Act, 1923 (Section 2),		$4\frac{1}{2}$ $4\frac{1}{2}$	l Mar. and l Sept. l Mar. and l Sept.	11,250 145,017		
(Public Works) Native Land Amendment Act, 1913 New Zealand State Guaranteed Advances Acts, 1909-10—	200,000	$4\frac{1}{2}$	l Mar. and I Sept.	9,000		
Advances to Settlers Branch Advances to Workers Branch	4,331 81,213	$\frac{4\frac{1}{2}}{4\frac{1}{2}}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	195 3,655		
Land for Settlements Branch State Advances Act, 1913—	22,740	41/2	l Mar. and l Sept.	1,023		
Advances to Settlers Branch Advances to Workers Branch Swamp Drainage Act, 1915, and	1,603,132 1,603,132 50,000	$4\frac{1}{2}$ $4\frac{1}{2}$ $4\frac{1}{3}$	1 Mar. and 1 Sept.1 Mar. and 1 Sept.1 Mar. and 1 Sept.	72,141 $72,141$ $2,250$		
Appropriation Act, 1918 (Section 46)	7,362,000	-2	- Law man 1 Sops	331,290		
Recoverable from— State Advances Office				*************************************	140 190	
Land for Settlements Account	••		 	••	148,132	
ew Zealand Consolidated Stock,					149,155	182,13
1945— Aid to Public Works and Land Settlement Act, 1922	1,084,009	41/2	1 Mar. and 1 Sept.	48,780		
Electric-power Works Loan Act, 1919	542,004	41/2	1 Mar. and 1 Sept.	24,39 0		
Finance Act, 1923 (Section 2), (Public Works)		41/2	l Mar. and 1 Sept.	48,78 0		
Finance Act, 1924 (Section 2), (Public Works)		41	1 Mar. and 1 Sept.	73,171		
Main Highways Act, 1922 Railways Improvement Authoriza-	542,005 542,005	4½ 4½	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	24,390 24,390		
tion Act, 1914 State Advances Act, 1913—	1,084,009	41	1 Mar. and 1 Sept.	48,781		
Advances to Workers Branch	1,084,009	41/2	l Mar. and l Sept.	48,781		
Recoverable from—	7,588,064			341,463		
Electric Supply Account Main Highways Account	••			••	24,390 24,390	
State Advances Office	••		••	••	97,562	
ew Zealand Consolidated Stock, 1951—					146,342	195,12
State Advances Act, 1913— Advances to Settlers Branch	1,250,000	51/2	l Feb. and l Aug.	68,750		
Recoverable from State Advances Office	••		••	••	68,750	
ew Zealand Consolidated Stock, 1946					į	
Electric-power Works Loan Act, 1919 Finance Act, 1920 (Section 15), (Public Works)	2,066,661 500,000	5 5	l Jan. and l July l Jan. and l July	$103,333 \\ 25,000$		
Finance Act, 1925 (Section 2), (Public Works)	4,151,451	5	l Jan. and l July	207,573		
Finance Act, 1926 (Section 2), (Public Works)		5	1 Jan. and 1 July	179,863		
Railways Improvement Authoriza- tion Act, 1914 Railways Improvement Authorization	934,076	5 5	I Jan. and I July	46,704 82,223		
Act, 1914, and Finance Act, 1926 (Section 3)	12,893,925		I Jan, and I July	644,696		
Recoverable from Electric Supply Account					103,333	541,36
ew Zealand Consolidated Stock						
Electric-power Works Loan Act, 1919 Finance Act, 1926 (Section 2),		$\frac{4\frac{1}{2}}{4\frac{1}{2}}$	1 May and 1 Nov. 1 May and 1 Nov.	$\frac{22,500}{33,750}$).	

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
New Zealand Consolidated Stock	£	<u>'</u>	1	£	£	£
(1928 issue)—continued. Finance Act 1927 (No. 2), Sec-	$\frac{1}{1,500,000}$	$4\frac{1}{2}$	1 May and 1 Nov.	33,750		
tion 2), (Public Works) Railways Improvement Authorization Act, 1914, and Finance Act, 1927 (No. 2), (Sec-	1,000,000	$4\frac{1}{2}$	1 May and 1 Nov.	22,500		
tion 3)— Conversion issue (difference between 4 per cent. and $4\frac{1}{2}$ per cent. on £5,000,000)			1 May and 1 Nov.	17,500		
cone. on 20,000,000)	5,000,000			130,000		
Recoverable from Electric Supply Account	••	••	••	••	22,500	107,500
New Zealand Inscribed Stock Act, 1917—						
Aid to Public Works and Land Settlement Act, 1900	600	5 <u>1</u>	1 Mar. and 1 Sept.	32		32
Aid to Public Works and Land Settlement Act, 1902	38,700	5 1	1 Mar. and 1 Sept.	2,032		2,032
Aid to Public Works and Land Settlement Act, 1903	4,430 1,000 200 183,800	5½ 5¼ 5 5	1 Jan. and 1 July 15 Feb. and 15 Aug. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	244 53 10 9,649		
	189,430	•	•	9,956	• •	9,956
Aid to Public Works and Land Settlement Act, 1906	100	6 5 <u>1</u>	l Jan. and l July l Mar. and l Sept.	6 53		
	1,100			59	••	59
Aid to Public Works and Land Settlement Act, 1907	900 209,900 23,250 1,700	6 5½ 5½ 5½ 5½	I Jan. and I July I Feb. and I Aug. I5 Feb. and I5 Aug. I Mar. and I Sept.	54 11,545 1,221 89		
	235,750			12,909		12,909
Aid to Public Works and Land Settlement Act, 1911	25,000	51	1 Mar. and 1 Sept.	1,313	••	1,313
Aid to Public Works and Land Settlement Act, 1914	60,000 40,000	5½ 5½	1 Jan. and 1 July 30 June and 31 Dec.	3,150 2,200		
	100,000			5,350	••	5,350
Aid to Public Works and Land Settlement Act, 1921	39,660 73,510 183,640	5½ 6 5¼	l Feb. and I Aug. l Feb. and I Aug. l5 Feb. and l5 Aug.	2,181 4,411 9,640		
	296,810			16,232	••	16,232
Discharged Soldiers Settlement Loans Act, 1919 (Section 4)	50,050 80,000	51 51	1 Mar. and 1 Sept. 1 Feb. and 1 Aug.	2,627 4,400		
	130,050			7,027	••	7,027
Discharged Soldiers Settlement Loans Act, 1920	101,760 2,962,740	51 51	1 Jan. and 1 July 15 Jan. and 15 July	5,342 162,909		
	3,064,500			168,251	180 051	
Recoverable from Discharged Soldiers Settlement Account	••	••	••	• •	168,251	
Education Purposes Loans Act, 1919	7,000 100,000 60,810	6 51 51	l Feb. and l Aug. l Jan. and l July l5 Feb. and l5 Aug.	420 5,250 3,192		
	167,810			8,862	••	8,862
Electric-power Works Loan Act, 1919	806,560 160,000	5 5 1	15 Jan. and 15 July 15 Feb. and 15 Aug.	40,328 8,400	i i	
:	966,560			48,728		
Recoverable from Electric Supply Account		••	••	••	48,728	
Finance Act, 1915 (Section 105), (Public Works)	11,550 131,570 84,970	4½ 5½ 5¼	15 June and 15 Dec. 15 June and 15 Dec. 1 Mar. and 1 Sept.	520 7,236 4,461		
	228,090		<u> </u>	12,217	• •	12,217

					1	
Authorizing Act.	Principal.	Rate per Cent	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
ew Zealand Inscribed Stock Act,	£			£	£	£
1917—continued. Finance Act, 1916 (Section 35), (War Expenses)	262,830 225,520 2,532,080 229,050 553,550 7,850	6 5½ 4½ 4½ 5¼ 5¼	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 15 May and 15 Nov. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	15,770 12,404 113,943 10,307 29,061 392		
	3,810,880			181,877		181,87
Finance Act, 1918 (Section 10), (War Expenses)	4,636,100 8,000 3,396,830 436,040 53,420 264,980 155,760 205,910 346,620	4½ 5 4½ 5 5 5 5 5 5 4½ 5	15 May and 15 Nov. 1 May and 1 Nov. 20 April and 20 Oct. 20 April and 20 Oct. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 15 Feb. and 15 Aug. 1 Jan. and 1 July 1 Jan. and 1 July	208,625 400 152,857 21,802 2,671 13,911 8,177 10,296 18,197		
	9,503,660			436,936		436,936
Finance Act, 1918 (No. 2), (Part IV), (War Expenses)	26,960 19,000 2,175,070 97,900 3,500 154,300	5 4½ 4½ 5¼ 5 5 5 5	20 April and 20 Oct. 1 Mar. and 1 Sept. 20 April and 20 Oct. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Jan. and 1 July	1,348 855 97,878 5,140 175 8,101		
	2,476,730			113,497	••	113,49
Finance Act, 1919 (Section 5), (Public Works)	228,300 11,500	5 5 1	15 Jan. and 15 July 15 Feb. and 15 Aug.	11,415 604	- 8	
	239,800			12,019		12,01
Finance Act, 1920 (Section 15), (Electric Power Works)	294,100	5 1	l Feb. and l Aug.	16,175	-	
Recoverable from Electric Supply Account			••		16,175	
Finance Act, 1920 (Section 15), (Public Works)	286,330	51	15 Feb. and 15 Aug.	15,032		15,03
Finance Act, 1921 (Section 10), (Public Works)	74,750	51	15 Feb. and 15 Aug.	3,924	-	3,924
Finance Act. 1924 (Section 2), (Public Works)	72,550 275,000	$5\frac{1}{2}$	1 Jan. and 1 July 1 Feb. and 1 Aug.	3,809 15,125		
T	347,550			18,934		18,93
Forests Act, 1921–22, and Finance Act, 1926 (Section 6) On further issues, say	115,000	51	15 Feb. and 15 Aug.	6,037 3,500		
	115,000			9,537		
Recoveries from State Forests Accounts	••		••	••	9,537	
Government Railways Act, 1908— Finance Act, 1909	300	5 1	I Mar. and 1 Sept.	16		10
Railways Improvement Authorization Acts, 1904–07	500	6	l Jan. and l July	30		30
Government Railways Amendment Act, 1910	500	51	1 Mar. and 1 Sept.	26	••	20
Land for Settlements Act, 1908	2,300 5,500 5,500 40,750 42,750 1,000	5½ 6 6 5½ 5½ 5¼	1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Mar. and 1 Sept. 15 Feb. and 15 Aug	127 330 330 2,241 2,244 53		
	97,800	.i		5,325		
Recoverable from Land for Settlements Account					5,325	
Land for Settlements Act, 1925	3,500	51	15 Feb. and 15 Aug.	184		
Recoverable from Land for		١	·		184	

${\tt PERMANENT~CHARGES.--DEBT~SERVICES--INTEREST--} continued.$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
New Zealand Inscribed Stock Act,	£			£	£	£
1917—continued. Land Laws Amendment Act, 1913	18,000 5,500	5½ 5½	15 Feb. and 15 Aug. 1 Mar. and 1 Sept.	9 45 289		
	23,500			1,234		
Recoverable from Land for Settlements Account			••	• •	1,234	
Main Highways Act, 1922	50,000	51	15 Feb. and 15 Aug.	2,625		
Recoverable from Main Highways Account		••	••	••	2,625	
Maor: Land Settlement Act, 1905	900	51	I Mar. and I Sept.	47		47
Native Land Amendment Act, 1913	40,000	4 1/2	l Jan. and l July	1,800		1,800
New Zealand State-guaranteed Advances Acts, 1909-10— Guaranteed Mining Advances Branch	2,000	5 1	l Mar. and l Sept.	105	• •	105
Land for Settlements Branch	52,500	51	1 Mar. and 1 Sept.	2,756		
Recoverable from Land for Settlements Account			••		2,756	
Railways Improvement Authoriza- tion Act, 1914	12,490 58,310	5 5 ½	15 Jan. and 15 July 1 Feb. and 1 Aug.	625 3, 20 7		
	70,800			3,832	••	3,83
Railways Improvement Authoriza- tion Act, 1914, and Finance Act, 1926 (Section 3)	50,000	51	15 Feb. and 15 Aug.	2.625	••	2,62
State Advances Act, 1913 (Settlers Branch)	684,400 3,166,350 51,000	5½ 5½ 5½	9 April and 9 Oct. 1 Feb. and 1 Aug. 30 June and 31 Dec.	35,931 174,149 2,805		
	3,901,750	_		212,885		
Recoverable from State Advances Office				·	212,885	••
State Advances Act, 1913 (Workers Branch)	8,000 1,219,590 150,000	51 51 51 51	15 Feb. and 15 Aug. 30 June and 31 Dec. 1 Feb. and 1 Aug. 9 April and 9 Oct.	60,251 420 67,077 7,875 15,000		
On further issues, say	2,525,230		••	150,623	-	·
Recoverable from State Ad-					150,623	• •
vances Office Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Sec-	14,000	5	l May and l Nov.	700		700
tion 46) War Purposes Loan Act, 1917	2,810 10,312,449 954,360 1,679,330 73,850 79,390	3 4 5 5 4 5 4 4 4	15 May and 15 Nov. 15 May and 15 Nov. 16 Feb. and 15 Aug. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	84 464,060 50,104 88,165 3,693 3,573	-	
	13,102,189			609,679	••	609,679
Vew Zealand State-guaranteed Advances Act, 1909— Land for Settlements Branch	25,000	31/2	1 April and 1 Oct.	875		
	470,000	3 3	1 April and 1 Oct.	17,625		
	495,000	_		18,500		
Recoverable from Land for Settlements Account	•••			••	18,500	

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
New Zealand State-guaranteed Ad-	£		1	£	£	£
vances Act, 1909—continued. Native Land Settlement Branch	381,600	31/2	1 April and 1 Oct.	13,356		
	54,500 30,000	3 ¾ 4	1 April and 1 Oct. 1 April and 1 Oct.	2,044 1,200		
	80,000	41/2	1 April and 1 Oct	3,600		
	546,100			20,200	.,	20,200
Guaranteed Mining Advances Branch	5,000	33	1 April and 1 Oct.	187		187
Advances to Local Authorities	140,515	31	1 April and 1 Oct.	4,918		
Branch	70,425 8,800	33	1 April and 1 Oct. 1 April and 1 Oct.	$\frac{2,641}{352}$		
	38,000	$4\frac{1}{2}$	l April and l Oct.	1,710		
	257,740			9,621		9,621
New Zealand State-guaranteed Ad-						
vances Acts, 1909-10— Land for Settlements Branch	400,165	4	1 Jan. and 1 July	16,007		
24.00 / 00 / 00.000 / 00.000 / 00.000	50	41/2	l Jan. and l July	2		
	147,100 100	4.½ 5	1 April and 1 Oct. 1 Feb. and 1 Aug.	6,620 5		
	547,415			22,634		
Recoverable from the Land for Settlements Account	••				22,634	
Native Land Settlement Branch	30,000	33	1 April and 1 Oct.	1,125		
	50,000	4	1 April and 1 Oct.	2,000		
	80,000	!		3,125		3,125
Vew Zealand State-guaranteed Advances Acts, 1909-10, and Finance Act, 1915 (Section 106)—		, ,				
Land for Settlements Branch	21,000 10,000	4½ 4½	l Jan. and l July l Feb. and l Aug.	945 450		
	4,000	41/2	1 Mar. and 1 Sept.	180		
	35,000			1,5 75		
Recoverable from the Land for Settlements Account	••	••	••	••	1,575	
Guaranteed Mining Advances	8,000	41/2	l Jan. and 1 July	360		360
Post and Telegraph Act, 1908	200,000	4	1 Jan. and 1 July	8,000		8,000
Public Revenues Amendment Act, 1915 (Section 5), (War Expenses)— Public Revenues Amendment Act, 1915 (No. 2), (Section 2)	2,09 3,75 0	4	1 Feb. and 1 Aug.	83,750		83,750
Public Revenues Act, 1926 (Section 41)						
10000 100000000 1100, 1000 (Necostoto #1)	••	••	••	••	'	••
ailways Improvement Authorization Act, 1914	720,000 9,200	4 41	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	28,800 414		
	729,200			29,214		29,214
Railways Improvement Authorization Act, 1914, and Finance Act, 1927 (No. 2), (Section 3)—	-					
On issues, say	••		••	3,000		3,000
tangitaiki Land Drainage Amend- ment Act, 1913 and Amendments	153,000 52,000	4 4½	l Mar. and l Sept. l Mar. and l Sept.	6,120		
ment Aw, 1919 una Amenamento	5,000	51	1 Mar. and 1 Sept.	2,340 262		
	210,000			8,722		
Recoverable from Rangitaiki Land Drainage Account	••	••		• •	3,000	5,722
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1920	45,000 55,000	4 4 <u>1</u>	1 June and 1 Dec. 1 June and 1 Dec.	1,800 2,475		
(Section 16)	100,000	•		4,275		A 97F
				7,210	•••	4,275

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1921 -22 (Section 23)	£ 22,900 59,100	4 4½	1 June and 1 Dec. 1 June and 1 Dec.	£ 916 2,660	£	
-22 (Section 23)	82,000			3,576		3,576
Rangitaiki Land Drainage Amend- ment Act, 1913, and Finance Act, 1923 (Section 5)	39,100 10,900	4 4½	1 June and 1 Dec. 1 June and 1 Dec.	1,564 490		
	50,000			2,054		2,054
Rangitaiki Land Drainage Amend- ment Act, 1913, and Finance Act, 1924 (Section 5)	10,000	4	1 June and 1 Dec.	400	1	
On further issues, say			••	200		
	10,000			600		600
State Advances Act, 1913— Advances to Settlers Branch	573,200 1,300,000 3,250 440,600 587,350	4 4½ 5 5 5½ 5½	1 June and 1 Dec. 1 June and 1 Dec. 1 Feb. and 1 Aug. 9 April and 9 Oct. 1 Feb. and 1 Aug.	22,928 58,500 163 23,131 32,304		
	2,904,400			137,026		
Recoverable from State Advances Office	••	••			137,026	•-•
Advances to Workers Branch	50,000 569,000 14,650 64,720 269,150 3,100 324,960	4 4½ 4½ 5 5 5 5	1 June and 1 Dec. 1 June and 1 Dec. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 15 Aug. 15 Feb. and 15 Aug.	2,000 25,605 659 3,236 14,803 155 17,060		
On further issues, say			··	5,000		
	1,295,580			68,518		
Recoverable from State Advances Office					68,518	••
Local Authorities Branch	200,000	4 5 1	l June and 1 Dec. 1 June and 1 Dec.	8,000 513		
	210,000			8,513		
Recoverable from the State Advances Office	••	••		••	8,513	
Rural Advances Branch On further issues, say	550,150	5	15 Mar. and 15 Sept.	27,507 30,000		
	550,150			57,507		
Recoverable from State Advances Office		••		••	57,507	
Swamp Drainage Act, 1915	26,000 20,000	4 41/2	1 May and 1 Nov. 1 May and 1 Nov.	1,040 900		
	46,000			1,940	••	1,940
Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Section 16) On further issues, say	358,000 48,000 20,000	4 4½ 6	1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	14,320 2,160 1,200 800		
on records rooms, any	426,000			18,480	••	18,480
Waihou and Ohinemuri Rivers Improvement Act, 1910	50,000 100,000	4 4 <u>1</u>	1 Feb. and 1 Aug 1 Feb. and 1 Aug.	2,000 4,500	5	
	150,000			6,500		
Recoverable from the Waihou and Ohinemuri Rivers Im- provement Account	•••	••		• •	2,300	4,200

PERMANENT CHAP	RGES.—D	EBT	SERVICES—IN	TEREST-	—continued	J.
Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928–29.
Waihou and Ohinemuri Rivers Improvement Act, 1910, and Finance	£ 60,000 90,000	4 4½	l Feb. and l Aug. l Feb. and l Aug.	£ 2,400 4,050	£	£
Act, 1919 (Section 6)	150,000	· -		6,450	• •	6,450
Waihou and Ohinemuri Rivers Im- provement Act, 1910, and Fin- ance Act, 1922 (Section 16)	99,000 51,000	4 4½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	3,9 6 0 2,295		
unco 1200, 1000 (200000 10)	150,000			6,255	••	6,255
Waihou and Ohinemuri Rivers Im- provement Act, 1910, and Finance Act, 1924 (Section 6)	115,000 35,000	4 5½	1 Feb. and 1 Aug. 1 Feb. and I Aug.	4,600 1,837		
	150,000			6,437		6,437
Waihou and Ohinemuri Rivers Im- provement Act, 1910, and Finance Act, 1926 (Section 7)	10,000	.4	1 Feb. and 1 Aug.	400		
On further issues, say	10,000		••	1,600		9 000
War Purposes Loan Act, 1917, and	4,618,600	41/2	15 May and 15 Nov.	2,000	. ••	2,000
War Purposes Loan Act, 1917 (No. 2), (New Zealand Loans Act, 1908, and Amendment Act, 1915) and Finance Act, 1917	137,530 13,000 555,300	5 1 6 4	15 Feb. and 15 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	$7,220 \\ 780 \\ 22,212$		
1915), and Finance Act, 1917 (Section 68)	5,324,430	-		238,049		238,049
Wellington and Manawatu Railway Purchase Act, 1908	500,000	4	1 Mar. and 1 Sept.	20,000		20,000
Westport Harbour Act, 1920— Westport Harbour Board Act, 1884 Westport Harbour Board Act, 1884, and Loan Acts, 1896, 1897, and 1900	500,000	4	1 Jan. and 1 July	20,000		••
Westport Harbour Board Loan Act, 1908	200,000	5	15 Feb. and 15 Aug.	10,000	-	
	700,000			30,000	-	•
Recoverable from the Westport Harbour Account	••	••	••	• •	17,647	12,353
To provide for increase in rate of in- terest for renewal of loans falling due during the year	••	••	••	10,000		10,000
State Advances Debt— Government 1008						
Act, 1908— Advances to Settlers	117,900 100,000	44	l Jan. and l July l Feb. and l Aug.	4,716 4,000		
	217,900			8,716		
Recoverable from the State Advances Office					8,716	
Advances to Workers	25,000	4	1 Feb. and 1 Aug.	1,000		
Recoverable from the State Advances Office	••	•••	••	••	1,000	
Government Advances to Settlers Act, 1908, and Finance Act, 1915 (Sec- tion 106)— Advances to Workers	10,000	41	1 Jan. and 1 July	450		
Recoverable from the State Advances Office		-2	••		450	

${\tt PERMANENT~CHARGES.-DEBT~SERVICES-INTEREST-} continued.$

Aut horizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-29.
New Zealand State-guaranteed Ad-	£			£	£	£
vances Acts, 1909 and 1910 Advances to Settlers	1,967,626 752,094	$4\frac{1}{2}$ $4\frac{1}{2}$	l June and 1 Dec. l Feb. and 1 Aug.	88,543 33,844		
	2,719,720	!		122,387		
Recoverable from the State Advances Office			••		122,387	
Advances to Workers	200,000 5,406 328,283	4 4 <u>1</u> 4 <u>1</u> 4 <u>1</u>	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 June and 1 Dec.	8,000 243 14,773		
	533,689			23,016		
Recoverable from the State Advances Office	• •	••	• •		23,016	
Total Principal	253,693,649		•	i		
TOTAL INTEREST			••	11,202,025	2,662,891	8,539,134

Reconciliation of Public Debt with total of Principal as shown in		_	_
Principal column above—	£	£	£
Gross Public Debt at 31st March, 1928	• •	251,396,252	
Add amounts not included in Public Debt at 31st March, 1928—			
New loan issued	5,000,000		
Rural Advances Bonds	550,15 0		
		5,550,150	
			256,946,402
Deduct amounts included in Public Debt but not included in Principal column above—			, ,
Unpresented securities	49,170		
Loans raised by Superintendent State Advances (interest paid	•		
direct)	2,124,260		
Debenture issued under Urewera Lands Act, 1921-22 (Section 10),	-,1,		
(interest paid out of Native Land Settlement Account)	29,323		
m ` 7511	1,050,000		
Treasury Bills	1,000,000		9 959 759
·		• •	3,252,753
			253,693,649

PERMANENT CHARGES.—DEBT SERVICES—AMORTIZATION.

Authorizing Act.	Principal.	Rate per Cent.	Gross Amount.	Recoverable.	1928-29.
Sinking Funds—	£		£	£	£
Westport Harbour Act, 1920— Westport Harbour Board Act, 1884, and Loan Acts, 1896, 1897, and 1900	500,000	1	5,000		
Westport Harbour Board Loan Act, 1908	200,000	l	2,000		
1908	700,000		7,000		
Recoverable from Westport Harbour Account	•• .			4,118	2,882
Debt Repayment— Repayment of the Public Debt Act, 1925				••	1,053,559
TOTAL					1,056,441

PERMANENT CHARGES.—DEBT SERVICES—AMORTIZATION—REDUCTION OF FUNDED DEBT.

Authorizing Act.	Original Debt funded.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928–29.
Finance Act, 1922 (Section 8)—	£			£	£	£
Aid to Public Works and Land	191,010	١	1 June and 1 Dec	2,599	l	2,599
Settlement Act, 1910				•		-
Finance Act, 1916 (Section 35),	4,736,842	J 1	,,	64,441	l	64,441
(War Expenses)					*	
Finance Act, 1918 (Section 10)	6,600,000		,,	89,787		89,787
Land for Settlements Act, 1908	37,778		,,	514	514	
Naval Defence Act, 1909	963,131		,,	24,775		24,775
Public Revenues Amendment Act, 1914 (Section 8), (War Ex- penses)	2,067,411		"	28,125	••	28,125
Public Révenues Amendment Act, 1915 (Section 5), (War Ex- penses)	8,105,992	••	>>	110,275	••	110,275
War Purposes Loan Act, 1917 (Section 2), War Purposes Loan Act, 1917 (No. 2)	4,830,000	••	,,	65,708		65,708
TOTAL	27,532,164	*		386,224	514	885,710

^{*} The rate is 6 per cent. on the original debt, £27,532,163 17s. 10d., less interest at the average rate of £4 19s. 5'88d. on the amount remaining unpaid.

ANALYSIS OF PERMANENT CHARGES.—DEBT SERVICES.

						Gross.	Recoveries from respective Accounts.	1928-29.
Interest—						£	£	£
War Expenses		••				3,381,361		3,381,361
Discharged Soldier		(includ	ling pure	chase of I	(Istates		359,584	60,838
Land for Settleme	ents	• •	• •	• •	• •	343,272	343,272	
State Advances	• •	• •	• •	• •	• •	1,407,579	1,407,579	
Naval Defence	• •	• •	• •	• •	• •	64,604	005 005	64,604
Electric Supply		• •	• •	••	• •	395,605	395,605	12.353
Westport Harbour Public Works and	r Missellanssa	••	• •	• •	• •	30,000	17,647	
Public Works and	Miscellaneou	S	• •	• •	• •	5,159,182	139,204	5,019,978
Total Int	terest			••		11,202,025	2,662,891	8,539,134
NET INT	EREST (charge	eable to	o Consoli	dated Fu	nd)			8,539,134
MORTIZATION,-								
SINKING FUND-								
Westport Har	rbo ur	• •	• •			7,000	4,118	2,882
Total Sin	nking Fund	••	•• .			7,000	4,118	2,882
DEBT REPAYMENT		1.4 4 .4						
Repayment of t Amount trans from Consol		blic De		yment Ac	ecount	1,053,559		1,053,559
Amount trans from Consol	sferable to Pu lidated Fund	blic De	bt Repa	••	••	1,053,559		1,053,559
Amount trans from Consol	sferable to Pu lidated Fund DETIZATION C	blic De	bt Repa	••	••	1,053,559		
Amount trans from Consol NET Amo	sferable to Pu lidated Fund prization Ca Fund)	blic De	ebt Repa ·· (chargea	ble to Co	onsoli-			1,056,441
Amount trans from Consol NET Amo dated I	sferable to Pulidated Fund DETIZATION Co Fund) EST AND AMO	blic De HARGE ORTIZAT	ebt Repa ·· (chargea	ble to Co	onsoli-			1,056,441 9,595,575
Amount trans from Consol NET Amo dated I TOTAL INTERS REDUCTION OF FU	sferable to Pulidated Fund DETIZATION Co Fund) EST AND AMO	blic De HARGE ORTIZAT	chargea con Cha	ble to Co	onsoli-			1,053,559 1,056,441 9,595,575 385,710
Amount trans from Consol NET AMO dated I TOTAL INTERI REDUCTION OF FU NET REC	sferable to Pulidated Fund DETIZATION Configuration Config	blic De HARGE ORTIZAT CUNDED	chargea con Cha	ble to Co	onsoli-			1,056,441 9,595,575

PERMANENT CHA	RGES—cont	inued.		
				1928-29.
UNDER SPECIAL ACTS OF THE	E LEGISLA	TURE.		
Animals' Protection and Game Act, 1921-22 (Se Fees, royalties, &c., on opossum-skins to Accl		Societies	š	£ 4,500
Appropriation Act, 1916 (Section 9)— Subsidies to County Councils, Road and Town rates	n Boards in 1	respect o	f general	186,000
Appropriation Act, 1925 (Section 15)— Maintenance of overseas war graves and war	memorials			30,750
Appropriation Act, 1926 (Section 13)— Cost of remittances of cash to and from Lond	lon		•••	5,000
Appropriation Act, 1926 (Section 24 (2))— Salary of Minister for Cook Islands			•••	180
Auckland University College Act, 1882 (Section S Grant-in-aid	26) 		•••	4,000
Canterbury College and the Canterbury Agricul 1927—	tural College	Amendn	nent Act,	
Subsidy on voluntary contributions Civil List Act, 1920 (Section 16)—	•••	•••	•••	500
Legislative Council— Speaker Chairman of Committees	•••	•••	•••	720 450
House of Representatives— Speaker Chairman of Committees			•••	900 675 ·
Civil List Act, 1920 (Section 17)— Honoraria of members of the Legislative Cou Honoraria of members of the House of Repres	ncil sentatives		£ 11,970 30,600	40.570
Civil List Act, 1920 (Section 22), and Finance A Legislative Council—	1ct, 1926 (Se	ection 19)—	42,570
Ölerk Clerk Assistant House of Representatives—	•••	•••	•••	800 600
Clerk Clerk Assistant	•••	•••		800 600
Civil Service Act, 1908 (Sections 28–30)— Pensions, Compensation, and Gratuities unde	er Civil Servi	ce Act, 1	L908	12,000
Defence Act, 1909 (Sections 75-86)— Pensions and allowances	•••	•••	•••	2,700
Education Act, 1914— Education Boards— Subsidies on bequests and voluntary of Public Primary and District High School		on acc	count of	20,000
Technical Instruction— Subsidies on bequests and voluntary contri	butions	•••	•••	1,600
National Scholarships— Grants to Education Boards for junior and	senior schol	arships	•	12,000
Secondary Schools— Subsidies on bequests and voluntary contril	butions		•••	2,000
Education Reserves Amendment Act, 1913 (Section Compensation for improvements	(on 3)	•••		100
Family Allowances Act, 1926 (Section 18)—Allowances towards maintenance of children	•••			60,000

${\tt PERMANENT~CHARGES--} continued.$

	1928-29.
UNDER SPECIAL ACTS OF THE LEGISLATURE—continued.	£
Finance Act, 1920 (Section 43)— Canterbury College (additional to statutory grant)	1,562
Finance Act, 1923 (Section 13)— Annuity of £150 per annum to Miss Ida Fraser, daughter of the late Sir William Fraser, Member of the Executive Council and of the Legis- lative Council	150
Finance Act, 1924 (Section 30)— Annuity of £200 per annum to Lady Salmond, widow of the late Sir John Salmond, Judge of the Supreme Court	200
Finance Act, 1925 (Section 7)— General expenses of New Zealand Institute	1,500
Finance Act, 1925 (Section 8)— Refunds in respect of totalizator-tax	26,000
Finance Act, 1926 (Section 23 (3))— Stamp duty on transfers of New Zealand stock	2,000
Finance Act, 1926 (Section 34)— Pensions for ex-members of New Zealand Defence and Naval Forces	750
Fire Brigades Act, 1926 (Section 26 (1))— Subsidies to Fire Boards	3,850
Finance Act, 1927 (No. 2), Section 24— Subsection (1)— Fees, fines, &c., payable to Main Highways Revenue Fund 200,000 Amount of duties on tires, tubes, &c., payable to Main Highways Revenue Fund 160,000	
Subsection (2)— Amount of duties on tires, tubes, &c., attached to motor-vehicles, &c	360,000
Finance Act, 1927, (Section 11)— Allowance to Speaker of House of Representatives	100
Finance Act, 1927 (No. 2), (Section 5)— Contribution towards cost of Naval Base at Singapore	125,000
Government Railways Amendment Act, 1926 (Section 37, Subsection (1) (b))—Losses on operation of branch lines and isolated sections of railways	485,000
Greymouth Harbour Board Amendment Act, 1920 (Sections 5 and 7) — Subsidy for interest, sinking fund, and other loan charges	15,000
High Commissioner Act, 1908 (Section 6)— Salary of High Commissioner	2,000
Hospitals and Charitable Institutions Act, 1926— Subsidies to Hospital Boards Subsidy to Jubilee Institute for the Blind (administered by Department of Education)	695,000
Industrial Conciliation and Arbitration Act, 1925 (Sections 64 and 73)— Salaries of Judge and Members of the Arbitration Court	3,500
Judicature Act, 1908 (Sections 12-14), and Judicature Amendment Act, 1920 (Section 2)—	
Superannuation to retired Judges	3,430
Judicature Amendment Act, 1920 (Section 3)— Salaries of Judges of the Supreme Court	18,250

PERMANENT CHARGES—continued.	
UNDER SPECIAL ACTS OF THE LEGISLATURE—continued.	1928-29.
Land Act, 1924 (Sections 139 and 358)—	£
Payments to Receivers of Land Revenue, Local Bodies' Deposit Accounts, for payment to local authorities in respect of rents, royalties, &c	
Land and Income Tax Amendment Act, 1925 (Section 6)— Interest on income-tax paid in advance	4,240
Land Settlement Finance. Act, 1909 (Section 13)— Deficiencies in principal or interest due on debentures guaranteed by the Government	100
Local Bodies' Loans Amendment Act, 1908 (Section 10)— Sinking funds of guaranteed loans payable to Public Trustee	600
Local Bodies' Loans Act, 1926 (Subsections 1 and 2 of Section 76)— Sinking funds payable to State Advances Office	230
Magistrates' Courts Amendment Act, 1926 (Section 2)— Salaries of Magistrates	27,400
Marlborough High School Act, 1899 (Section 17)— Grant-in-aid	400
Massey Agricultural College Act, 1926 (Section 23)— Grant for maintenance of College	15,000
Massey Agricultural College Act, 1926 (Section 22), and Massey Agricultural College Act, 1927 (Section 8, Subsection (1))— Subsidies on voluntary contributions	500
Motor Spirits Taxation Act, 1927 (Sections 6-10)— Expenditure under Act	750,000
Municipal Corporations Act, 1920 (Section 72)— Subsidies to Borough Councils in respect of general rates	30,000
National Provident Fund Act, 1926—	33,433
Section 74 (2)— £ Subsidies on contributions 57,011	
Section 70— Maternity allowances 7,500	
Section 42 (2)— Maternity allowances for Friendly Societies 36,000 Section 52— 36,000	
Subsidy on total contributions from approved Friendly Societies for the year ended 31st December, 1927 856	101,367
Native Land Amendment and Native Land Claims Adjustment Act, 1922 (Section 27), and Native Land Amendment and Native Land Claims Adjustment Act, 1923 (Section 13)—	
Annual payment on account of Arawa District Lakes	6,000
Native Land Amendment and Native Land Claims Adjustment Act, 1925 (Section 13)—	
Payments for purposes of higher education and advancement of Natives	
Native Land Amendment Act and New Zealand Claims Adjustment Act, 1926 (Section 15 (1))— Payment of annual sum to Tuwharetoa Trust Board	3,000
New Plymouth Harbour Board Endowment Act, 1874 (Section 2)— One-fourth of proceeds of sales, &c., payable to Harbour Board to 31st December, 1927	3,000
New Zealand Loans Act, 1908— New Zealand Consolidated Stock— £	
Charges and expenses of management 33,500 Less recoverable from other accounts 7,000	96 500
	26,500

PERMANENT CHARG	GES—contin	nued.		
				1928-29.
UNDER SPECIAL ACTS OF THE LEG	ISLATUR	E—conti	inued.	£
New Zealand University Act, 1908 (Section 30)— Contribution to University				3,845
New Zealand University Amendment Act, 1914,	and Amend	lment		
Act, 1919 (Sections 3 and 4)— University National Scholarships				3,000
University bursaries		•••		15,000
Grants-in-aid to— Auckland University College			£ 7,100	
Victoria University College	•••		7,100	
Canterbury College University of Otago		•••	$4,100 \\ 8,700$	
University Colleges—	•••	•••		27,000
Subsidies on bequests and voluntary contribu	utions	•••	•••	15,000
Pensions Act, 1926—			£	
Pensions and allowances—			46,000	
Miners pensions Less credits from gold duty under sect:	ion 455, M	ining	40,000	
Act, 1926	•••		2,600	40, 400
Military pensions (Maori War)				43,400 14,000
Old-age pensions	• • •		030,000	
Less amount charged to National Endown	ment Accou	.nt	41,000	989,000
Pensions for the Blind	•••	•••		13,000
Widows' pensions	•••	•••	•••	308,000
Police Offences Act, 1927 (Section 15)— Fines due Societies for Prevention of Cruelty t	o Animals			100
Public Revenues Act, 1926—			£	
Section 6—				
Salary of Controller and Auditor-General Sections 30 and 96—	•••	•••	1,300	
Claims repayable under Sections 30 and 96	•••	•••	300	
Section 133 (1)— Fire Insurance Fund				1,600
rne insulance rund	•••	•••	•••	10,000
Public Revenues Act, 1926 (Section 134 (7))— Government Stores Marine Insurance Fund				100
Government Stores Marine Insurance Fund	•••	•••	•••	100
Public Revenues Act, 1926 (Section 151)— Free issue of official postage-stamps to membe	rs of both I	Iouses	•••	2,200
Public Service Act, 1912, and Appropriation A	tct, 1920 (A	Section	16, Sub-	
section (1), and Appropriation Act, 1925 (Sec	etion 20 (1)	(a))—		
Salary of Public Service Commissioner	•••	•••	•••	1,500
Public Service Superannuation Act, 1927 (Section Pensions in respect of Police Officers	<i>i</i> 62)—-	•••		450
Public Service Superannuation Act, 1927 (Section Increased superannuation allowances to widow		ren	£ 17,274	
Less credits	•••	•••	4,278	12,996
Public Service Superannuation Act, 1927—		_		12,000
Annual subsidies— Public Service Superannuation Fund		£ 86,000	£	
Less credits	•••	39,080)	
Teachers' Superannuation Fund			46,920	
reachers puperannuation rund	•••	•••	43,000	89,920
Reserves and other Lands Disposal and Public B (Section 67)— Compensation to Mrs. Ann Noble, of Alexandr	-	wering 1	1ct, 1916	
Componential to main min monte, or micaellur	, Juago	•••	•••	78

PERMANENT CHARGES—continued.

				
				1928-29.
UNDER SPECIAL ACTS OF THE LEGI	SLATU:	RE—contin	nued.	
Rotorua Borough Act, 1922 (Section 6)— Payment to Rotorua Borough of portion of fee ment Sanatorium	es receiv	ved at the	Govern-	£ 1,300
Rural Intermediate Credit Act, 1927 (Section 19)— Grant towards expenses of administration	- 			6,000
Slaughtering and Inspection Act, 1908 (Section 60), a Compensation to owners of stock condemned	ınd Ame 	$ndment\ Act$, 1910— 	15,500
Stock Act, 1908 (Section 45)— Compensation for diseased stock destroyed			•••	14,000
Valuation of Land Act, 1925 (Section 47)— Acquisition of land under Sections 44 and 45	•••	•••	•••	100
Victoria College Act, 1905 (Section 37)— Grant-in-aid		•••		4,000
Waihou and Ohinemuri Rivers Improvement Act, 1 Section 17 (d) and Amendment Act, 1912, an (Section 27), (Crown's proportion of interest raised under the Act)	d Appro	priation A king fund 	ct, 1916 on loan 	1,200
War Pensions Act, 1915— Pensions and allowances		•••	•••	1,140,000
Less— Amount transferred from Advances to oth Account in terms of Section 137 Revenues Act, 1926 Amount repaid to Consolidated Fund Harbour Account in terms of Sectio Westport Harbour Amendment Act Finance Act, 1921, Section 4)	of the from W n 4 (3)	Public Vestport of the	£ 20,000 30,000	5,882,584
TOTAL UNDER SPECIAL	ACTS	•••	•••	5,832,584
		•		

ANALYSIS.

						1928–29.
The Sin Dames						£
Education Purposes	• • •	•••	• • • •	• • •		126,628
Pensions	•••	***				2,587,158
Salaries and Honoraria		•••				102,345
Subsidies to Hospital Boards	3	• • • • • • • • • • • • • • • • • • • •				695,000
Subsidies to Local Authorities	es or	rates	•••			216,000
Subsidies to Superannuation	and	l National	Provident F			160,783
Territorial Revenue						8,000
Miscellaneous			•••		•••	
Transfer to Working Railw		Account:	Losses on	operation	of branch	179,670
lines, &c	• • •		•••			485,000
Main Highways Account	• • •	•••				1,147,000
Naval Base at Singapore	•••	•••	•••		•••	125,000
TOTAL	•••		•••	•••	•••	5,832,584

LEGISLATIVE DEPARTMENTS.

						1928–29.				
		-				Salarie	з.	Other	Charges.	Total.
Vote No. 1.	Leg	gislative De	epartments-			£			£	£
Subdivisi	ion 1	L-Legislat:	ive Council			0.1	240			9 040
,,			f Represent			10,	9 4 9		1,351	$2,949 \ 11,736$
,,			afting Office				355		627	3,982
,,			Assembly I	ibrary	• •		188		1,500	4,688
,,		.—Hansare		• •	••		117		7,000	13,417
,,	V I	I.—Bellamy I.—General	Ermonses	• •	••		223	,	$\begin{bmatrix} 1,250 \\ 50,990 \end{bmatrix}$	$7,473 \ 55,173$
**	, 11	L. General	11 apenses	••	••	±,.	183			
G	ROSS	Total	••	••	••	36,	700	ϵ	32,718	99 ,41 8
Cı	REDIT	S-IN-AID	• •	••		:	100		6,143	6,243
N	ет т	OTAL	•••	••	••	36,6	3 0 0	E	66,575	93,175
Number of Persons,	Item.								1928	3–29.
		VOTE 1	No. 1 .—LE	EGISLATI	VE DEI	PARTMI	ENTS	3.		
1928-29.		Si	ubdivision	No. I — Le	gistative	Council.			0	
	i	SALARIES	s AND OTH	er Charge	s				£	£
4 1	$\begin{bmatrix} 1 \\ 2 \end{bmatrix}$			er Charges leading Le		 Council			$\substack{2,690\\259}$	
5		E	Public I Departme Part sa	redits-in-ai Revenues A nt of Inter lary of typ er of Legisl	ct, 1926 nal Affair ist in offi	(addition :s— ce of	al)	£		
			Tot	tal—Subdiv	ision No	. I			1	2,949
		Subdiv	vision No.	II.—House	of Repr	csentativ	es.			
	3	SALARIE								
$1 \\ 1$			d Clerk Ass		•••				520	
$\stackrel{1}{1}$	¦ !		ant-at-Arms	s c of Bills ar	 d Donore	•••		•••	300 420	
1		Accou		t of Dills at	id rapers	· · · ·			345	
î			k and Typi	st	•••	•••			300	
1			to Mr. Spe						230	
4		\mathbf{Comm}	ittee Clerk	ks: 1 at £2	50, 2 at	£230, 1	at £2	20^{-1}	930	
1			Messenger	•	•••	•••		•••	350	
1 1			ant Chief I nger (to M	dessenger r. Speaker)	•••	•••			$\begin{bmatrix} 330 \\ 320 \end{bmatrix}$	
13	!		N	ON-PERMAN	ENTS.		£	3		
10		Extra	Clerks				1, 16			
		$\mathbf{E}\mathbf{x}\mathbf{t}\mathbf{r}\mathbf{a}$	Committee	e Reporting	•••	•••	7	75		
			Messenger		•••	•••	5,1	15	0.000	
									6,340	
	i 1									
						•			10,385	

NOTE.—Scale salaries or wages include cost-of-living increase.

^{*} Also receives £175 16s. per annum superannuation.

${\bf LEGISLATIVE\ DEPARTMENTS} - continued.$

Number of Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1928-	29.
1928–29.	 	Subdivision No. II.—House of Representatives—contd.		
		OTHER CHARGES FOR AND INCIDENTAL TO-	£	£
	4	Office requisites	20	
	5	Printing and stationery	950	
	6	Telephone services, including installation, extensions,		
		maintenance, rent, and calls	371	
	7	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		cidental to the other items of this subdivision		
			1,351	
		Total—Subdivision No. II		11,78
		Subdivision No. III.—Law Drafting Office.		
	8	Salaries—		
		Bill Drafting Department—		
1		Law Draftsman	1,100	
2		Assistant Law Draftsmen—	1 000	
4	i	2 at £640 Compilation Department—	1,280	
1		Compiler of Statutes	700	
		Clerical and General—		
$\frac{1}{1}$		Typiste and Office Assistant	225	
		Temporary Typiste	50	
6			3,355	
	9	OTHER CHARGES FOR AND INCIDENTAL TO—		
	9	Annual certificates under the Law Practitioners Act,	12	
	10	Compilation and printing "Index to the Laws of	12	
		New Zealand'' (recoverable)	450	
	11	Motor hire	60	
	$\mid 12 \mid$	Office requisites, printing and stationery, postage, and contingencies	25	
	13	Purchase of law reports and other publications	25	
	14	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	55	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Sale of "Index to the Laws of New £		
		Zealand '' 5		
		ļ -		
		Total—Subdivision No. III	627	2 08
		10tat—Sucarotiston No. 111		3,98
		Subdivision No. IV.—General Assembly Library.		
	15	Salaries—		
		Library—		
1		Chief Librarian (also £200 Controller Dominion Archives, and £50 Advisory Director Turnbull		
		Library)	550	
1		First Assistant	500	
5		Assistants: 1 at £350, 1 at £325, 1 at £250, 2 at		
1		£220	1,365	
$\frac{1}{1}$		Binder Messenger	325 208	
î		Cleaner	240	
		-	2 100	
10		OTHER CHARGES FOR AND INCIDENTAL TO-	3,188	
	16	Binding books	400	
	17	Grant to Library Fund	900	
	3.4		000	
	18	Newspapers and carriage of books	200	
		Newspapers and carriage of books	$\frac{200}{1,500}$	

	· ·	LEGISLATIVE DEPARTMENTS—continued.		
Number of Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1928-	29.
1928-29.		Subdivision No. V.—Hansard.		,
	19	Salaries—	£	£
		Hansard—		
1		Chief Reporter	550	
10		Reporters: 2 at £450*, 1 at £430, 1 at £410, 1 at £390, 3 at £380, 1 at £360, 1 at £350	3,980	
1		Supervisor	450	
1		Supervisor's Assistant	387	
$\frac{1}{1}$		Clerk to Supervisor Indexer	$egin{array}{c c} 250 \ 210 \end{array}$	
2		Committee Reporters: 2 at £270	540	
17		Extra assistance	50	
	-		6,417	
	20	OTHER CHARGES FOR AND INCIDENTAL TO— Printing of Hansard	7,000	
			7,000	
		Total-Subdivision No.V		13,41
		Subdivision No. VI.—Bellamy's.		
	21	Salaries—		
1		Managed Andrews in Change of Darling at Darling		
1		Manager (also Officer in Charge of Parliament Buildings)	600	
1		Chef	400	
$1 \\ 1$		Head Waiter Clerk	300 310	
5		Attendants, Manager's Staff: 1 at £300, 3 at £275	310	
9	-	per annum, 1 at 15s. 10d. per day	1,413	
	-	Extra Attendants, Manager's staff, during session Extra Attendants, Manager's staff, during recess	$\begin{bmatrix} 2,350 \\ 850 \end{bmatrix}$	
		-		
		OTHER CHARGES FOR AND INCIDENTAL TO—	6,223	
	22	Linen, glassware, china, cutlery, plateware, towels, kitchen utensils, uniforms, furniture, &c., for use		
		of members in Bellamy's and Parliamentary		
	23	Buildings	450 600	
	24	Washing linen, &c	200	
		-	1,250	
		Total—Subdivision No VI	1,200	7,47
		Subdivision No. VII.—General Expenses.		
		Salaries—		
1	25	Electrician in charge of lighting, bells, and telephones		
•		during session	120	
1		Furnace Attendant during session	250	
6		Gardeners in grounds: 1 at £252, 2 at £239, 2 at £230, 1 at £198	1,388	
9		Night-watchmen: 7 at £240, 1 at £235, 1 at £230	2,145	
17	-	Relieving Watchmen	280	
	-	OTHER CHARGES FOR AND INCIDENTAL TO—	4,183	
	26	Advertising	15	
	27	Bonus for employees whose salaries do not exceed £350 per annum	505	
	28	Charwomen	$\begin{array}{c c} 565 \\ 2,900 \end{array}$	
	00	Department of Internal Affairs—		
	30	Annotating Statutes Supply of statistical publications to Members of	260	
		the Legislature by the Census and Statistics		
		Office	310	

^{*1} at £450 also receives £225 from Department of Justice.

Number of Persons.	Item.	VOTE No. 1.—	1928–29.				
1928–29.		Subdivision No	. VII.—G e neral	Expenses—co	ntinued.	3	£
		OTHER CHARGE			ontinued.	2	£
	31	Fuel, light, po	ower, and water		la linon	2,700	
	32		ooms, brushwar ools, coal-buckets				
		and repairs)		•••	2,000	
	33	Grant of the	ree months' pa	y in lieu of	leave of		
		retirement	W. Johnson,	Library Atter	idant, on	79	
	34	Hire of motor	r-cars for Speak	ters of both H	louses for		
	95	official purp	ooses k for Legislative	Donartmont	•••	50	
	35 36		sengers on late-			116 100	
	37	Office equipm	ent, &c., for Mir	nisters' offices		200	
	38	Parliamentar	y photographic	shield	ing Com	30	
	3 9	mittee	expenses of w	unesses aueno	ing Com-	10	
	40	Passages of-			£	10	
		Members of Members' v	f both Houses		1,200 250		
		Members V	¥1¥C0	• • • • • • • • • • • • • • • • • • • •		1,450	
	41	Postage and to	elegrams, includi	ng parliaments	ary papers	1,000	
	42		Statutes, Journ rs, &c. (part rec		es, Bills,	11 500	
	43		tary to the Lead		osition	$\begin{array}{c c} 11,500 \\ 100 \end{array}$	
	44	Railway pass	es and concession	ons to member	s and ex-	100	
		members of cost of	f the Legislature	e, families, rela	tions, &c.,	04 500	
	45	Railway pass	es to officers of	the Legislatu	re	$\begin{array}{c c}24,522\\270\end{array}$	
	46	Railway sleep	ing-berths for M	lembers of Pa	rliament	350	
	47	Refund to Pos	st Office being di ry rates for tel	Herence betwe legrams from	en special Members		
		of the Gene	eral Assembly			1,200	
	48		s, installation o		•••	134	
	50	Travelling and Typewriters—	owances and exp -	oenses	£	25	
		Purchase of			153		
		Repairs			70	222	
	51	Uniforms for	messengers			$\begin{array}{c c} 223 \\ 250 \end{array}$	
	52	Upkeep of par	rliamentary grou	ınds		150	
	53		repairing clocks ning, rubbish-re		chimney-	66	
	54	sweeping	nng, rubbish-re	· · · · · · · · · · · · · · · · · · ·	chimney-	390	
	55	Contingencies	, including unfo				
		dental to th	ie other items of	this subdivis	on	25	
		•				50,990	
			d credits-in-aid			<i>'</i>	
			ic Revenues Act, light, power,		or vote) —		
		gene	ral attendance s	upplied other			
			artments occup	•	£		
			t Buildings . Statutes, Journ	 als, &c	1,088 5,000		
			typewriters .		50		
					6,138		
			Total—Subdivis	ion No. VII			55,17
		Gnor	ss Total			-	
			OITS-IN-AID (a)		•••	•••	99,418
			()				6,248
			TOTAL—VOI	.E. No. 1			93, 17
(a)	Cred	ts-in-aid:—	Salaries.	Other	4.0-	0.00	
			£	Charges. £		8–29 . €	
	Sı	ıbdivision I	100	••		100	
		" III " VII		6,138	ß ·	5 138	
		,,					
		Totals	100	6,143	6.4	243	

PRIME MINISTER'S DEPARTMENT.

							19	28–29.	
						Salaries.	Othe	er Charges.	Total.
Vote No. 2.—Prime Minister's Department—						£		£	£
Gre	oss '	Total				2,575		10,549	13,124
CREDITS-IN-AID									
				***			···		
NE	T T	OTAL	•••	•••	•••	2,575		10,549	13, 12
Number of Persons.	tem.	VOTE No. 2.—PRIME MINISTER'S DEPART- MENT.					1928–29.		
1928–29.	1	*Salarie	s	2,2,2,1,2	•			£	£
1		Cou	ncil and S	ecretary to (Cabinet)			1,150	
1				erial Affairs f External <i>A</i>		also Secre	tary	825	
1				te Secretary		e Minister)	•••	600	
3							ļ	2,575	
	2	Adver othe		ions		To— ewspapers, 	and 	100	
	$\begin{bmatrix} 3 \\ 4 \end{bmatrix}$	Exp Nev	penses of develand	elegate to G lofficial p		 ons supplied	 to	500	
	5	L	eague at (Geneva	 . of goar	 etarial expe		50	
	$\begin{bmatrix} 6 \\ 7 \end{bmatrix}$	fo Office	r year end fittings an	ing 31st De d requisites	cember,			9,304 100	
	1	offic	ial wireles	s news		op non or Dri	UISII	100	
	8			ns, and ren	t of boxe	s		-150	
	$\frac{9}{10}$		ng and sta none servi		 ing inst	allation, ex	ten-	150	
		sion	ıs, mainter	ance, rent,	and calls	s)		60	
	$\frac{11}{12}$			ances and e ncluding un		expenditure	 in-	100	
		cide	ental to the	other items	s of the v	ote		25	
		,	Gross	Total				10,549	13,124
	! !			S-IN-AID	•••	•••			
			NET I	OTAL-VO	TE No.	2			13, 124

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase,

TREASURY DEPARTMENT.

						1928–29.			
						Salari	es. O	ther Charges.	Total.
Vote No. 3.—Treasury Department—						£		£	£
Subdivision I.—Salaries					28,488			28,488	
" II.—Miscellaneous Services							14,803	14,808	
III Pates on Channa and Nationa Lands					.,,		20	20	
Choose Town									
			••	28,488		14 ,823	43,311		
CREDITS-IN-AID .			• •	• •			975	3,100	4, 075
NI	ет то	TAL	• •	••	••	27	, 513	11,723	39, 236
Number of Persons.	Item.	NOTE No. 3.—TREASURY DEPARTMENT.							8–29.
1928–29.		Subdivision No. I.—Salaries.					£	£	
	1	*Salarii	es—						
				NISTRATIVE I					
1		Pay Zea inte 1 at £ cour	master-Ge land Insci ndent, Na 1,200 (Ass ntant, and	retary, Receiveral, Registibed Stock, bional Provides istant Secretal Deputy Regibed Stock)	strar also S nt Fur ary and	New uper- id) I Ac-	£ 1,45 1,20		
				LERICAL DIVI	SION.			2,000	
2		1 at	Special— £765 £665	•••			76 66		
1		$Class \ 1 \ { m at}$	<i>I</i> — £590	•••		•••	•••	1, 48 0 590	
2		$Class \ 2 \ { m at}$	<i>II-</i> — £ 515					. 1,030	•
1		Class 1 at	<i>III</i> — £47 0	•••				. 470	
6		1 at 1 at 1 at	£425 £425 (7± £425 (7 m £400	 months) nonths), £380 nonths), £380		•••	850 260 400 400 399	3 3)	
	1		`	• •	•	,		2,314	l

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

TREASURY DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 3.—TREASURY DEPARTMEN	1928–29.		
928–29.	-] <u>-</u> [$continu{m ed}.$			
	1 1	Subdivision No. ISalaries—continued.		£	£
	1	Salaries—continued.			
		CLERICAL DIVISION—continued. Class V—	£		
		6 at £380	2,280		
		1 at £380 (2 months) 1 at £380 (10 months), £355 (2 months)	64 ± 376		
		1 at £380 (6 months), £355 (6 months)	368		
		2 at £355	710^{-1}		
13		1 at £355 (11 months) 1 at £355 (10 months), £335 (2 months)	$\frac{325}{352}$		
		Class VI—		4,475	
. 11		10 at £335 1 at £315 (7 months), £275 (5 months)	3,350 299	!	
		Class VII—		3,649	
		4 at £295	1,180		
		1 at £275 1 at £275 (5 months), £250 (7 months)	$egin{array}{c c} 275 \ 261 \end{array}$	i	
		1 at £275 (2 months), £250 (10 months)	255		
		1 at £275 (1 month), £250 (11 months)	253		
		1 at £250 (5 months), £230 (7 months) 1 at £250 (3 months), £230 (9 months)	$ \begin{array}{c c} 239 \\ 235 \end{array} $		
		1 at £250 (2 months), £230 (10 months)	$\frac{234}{234}$:		
		2 at £230 (11 months), £210 (1 month)	457	į.	
		2 at £230 (7 months), £210 (5 months) 1 at £230 (5 months), £210 (7 months)	$\begin{array}{c} 444 \\ 219 \end{array}$		
		1 at £210	$\frac{210}{210}$:	
		1 at £210 (9 months), £190 (3 months)	205		
		1 at £210 (4 months), £190 (8 months) 1 at £210 (1 month), £190 (11 months)	$egin{array}{c c} 197 & \\ 192 & \\ \end{array}$:	
		1 at £190	190		
		3 at £190 (11 months), £155 (1 month)	562		
		1 at £190 (3 months), £155 (9 months) 3 at £190 (2 months), £155 (10 months)	$\begin{bmatrix} 164 \\ 483 \end{bmatrix}$		
	i	3 at £190 (1 month), £155 (11 months)	474		
		2 at £155 1 at £155 (7 months), £135 (5 months)	310 147		
		2 at £155 (3 months), £135 (9 months)	280		
		1 at £135 (10 months), £115 (2 months)	132	!	
		1 at £135 (7 months), £115 (5 months) 1 at £135 (5 months), £115 (7 months)	$egin{array}{c c} 127 & \\ 124 & \end{array}$		
		2 at £135 (3 months), £115 (9 months)	240		
		1 at £115 (6 months), £95 (6 months)	105		
		1 at £115 (3 months), £95 (9 months) 1 at £95 (10 months), £80 (2 months)	$\begin{array}{c c} 100 \\ 93 \end{array}$		
		1 at £95 (7 months), £80 (5 months)	89		
48		2 at £95 (5 months), £80 (7 months) 1 at £80 (11 months)	$egin{array}{c c} 173 & \hline 74 & \hline \end{array}$		
1		,		8,723	
	!	Cadets' lodging-allowances	•••	115	
		GENERAL DIVISION.	200		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{c c} 260 \\ 225 \end{array}$		
		1 at £205	205		
7		1 at £185	185	<u>'</u>	
1		3 at £160	480	1,355	
		Non-permanents.	201		
	1	$1 \text{ at } £201 \qquad \dots \qquad \dots \qquad 1 \text{ at } £174 \qquad \dots \qquad \dots$	$\begin{array}{c} 201 \\ 174 \end{array}$		
		1 at £164	164		
	i	3 at £156	468		

TREASURY DEPARTMENT—continued.

Number Persons.	m.	1928-	29.
928 –2 9.	VOTE No. 3.—TREASURY DEPARTMENT—		
	continued.		
	Subdivision No. I.—Salaries—continued.	£	£
	1 Salaries—continued.		
	Non-permanents—continued.		
	1 at £122 122		
	1 at £107 \dots 107		
	1 at £104 104		
	2 at £99 198		
į	1 at £96 96		
	1 at £81 81		
15	1 at £77 77		
		1,937	
108			
	Estimated credits-in-aid under Section 51 of the		
	Public Revenues Act, 1926 (see end of vote)—		
	Salaries of Officers		
	Naval Defence 160		
	State Forests Account 515		
	Services rendered other Depart-		
	ments—		
İ	Department of Justice 50	1	
	Government Insurance Depart-	İ	
	ment 250	1	
1	975		
	Less amount provided but not now required	$\begin{array}{c}28,738\\250\end{array}$	
		200	00.4
	Total—Subdivision No. I		28,48
	·		
	Subdivision No. II—Miscellaneous Services.		
	CHARGES FOR AND INCIDENTAL TO-		
	Advertising, photographs, books, newspapers, and		
		50	
1	Bank exchange, commission, discount, and stamp	00	
	duty (part recoverable)	1,100	
	Law-costs	100	
	Local Government Loans Board: Fees, travelling	10	
	allowances and expenses of members	700	
	Office fittings and requisites	400	
	7 Omenting and most allowerses	2 7 5	
	Payments by High Commissioner for other than	410	
	(December 1)	50 0	
1			
. 1		2,300	
' 1		4,500	
1		50	
	I O	50	
1		731	
1		195	
- 4		2 100	
1			
1		3,100	
1	Telephone services (including installation, extensions,		
1	Telephone services (including installation, extensions, maintenance, rent, and calls)	225 150	

TREASURY DEPARTMENT—continued.

Number of Persons.	Item.		1928-	29 .
1928–29.	<u> </u>	VOTE No. 3.—TREASURY DEPARTMENT— continued.		
		Subdivision No. II.—Miscellaneous Services—continued.	£	£
	19	Charges for and incidental to—continued. Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Exchange £100		
		Recovery of amounts paid by High Commissioner 500 Telegrams beyond the Dominion 2,000 Miscellaneous 500		
		3,100		
		Total -Subdivision No. II		14,8
		Subdivision No. III.—Rates on Crown and Native Lands.		
	20	Payable under section 100 of the Rating Act, 1925— Special rates on Crown Lands, payable in respect of security given by local bodies for certain loans	10	
	21	Special rates on Native Lands, payable in respect	10	
	22	of security given by local bodies for certain loans Payment of special rates on lands acquired by the Crown, as provided by section 123 of the Local	5	
		Bodies' Loans Act, 1926	5	
		Total—Subdivision No. III		!
		Gross Total		43,3
		Credits-in-aid (a)		4,0
	:	NET TOTAL-VOTE No. 3		39, 2

(a) Credits-in-aid—	-				Other	
0.1.1.1.				Salaries.	$\begin{array}{c} \text{Charges.} \\ \mathbf{f} \end{array}$	1928–29. £
Subdivision	1	• •	• •	975	••	975
,,	П	• •		• •	3,100	3,100
, , , , , , , , , , , , , , , , , , ,	Γ otals	• •	• •	975	3,100	4,075

NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT.

					!		19	28-29.	
		-			!- 	Salaries.	Oth	er Charges.	Total.
Vote No. 4		tional Prov Departmen		Friendly S	ocieties	£		£	£
Gr	oss 7	OTAL			••	11,434	4	14,529	25,96
CR	EDITS	-IN-AID		• •	!	428	3	10	43
NI	et te	OTAL	• •		•• !	11,000	3	14,519	25,52
Number of Persons.	Item.							1928	3–2 9.
		 「VOTE	No. 4.—N	NATIONAI	L PRO	VIDENT	AND		
1928–29.						RTMENT.		£	£
	1	*Salarie		NISTRATIVE	Division	٧.			
		Super				easury, &c			
			C:	LERICAL D	IVISION.				
			Special-						
1		1 at Class	£665		• • •	•••		665	
1	į :	1 at			•••	•••		515	
1			III £470					470	
1		Class				•••		410	
3			£425					1,275	
3	!	Class 3 at	v— t £380					1,140	
		Class	. –						!
3	1		t £ 335 <i>VII-</i>		• • •	•••	 £	1,005	i
			£295				885		
			£295 (10 :				292		:
			£230 (7 m	ionths), £2	10 (5 moi	nths)	222		
			£210			 4 ln\	420		
		Lat	£190 (10 1	montns), £	199 (2 mc	ontns)	184	:	
		1.8.0	£190 (9 m £155 (1 m	ionins), £13	5 (11 mai	nthe)	$\frac{182}{410}$!
			£135 (2 m				117	į	I
			£115	101111115), 201.		31101113)	230		
		1 at	£115 (2 m	onths), £98	5 (10 mor	iths)	98		1
		1 at	£95 (11 m	ionths), £80	0 (1 mont)	h)	94		
		2 at	£95 (7 mc	onths), £80	(5 month	າຮ)່	177	: •	
			£95 (5 mc				87	İ	
0.0			£95 (1 mos)		(11 month	ns)	81	İ	
22		1 at	£80 (9 mc	ontus)	•••	•••	60	3,539	
		Cadet	s' lodging-a	llowances	•••	•••		147	
			G	ENERAL DI	VISION.				
1		1 at £						185	

Note,-Scale salaries or wages include cost-of-living increase.

${\tt NATIONAL\ PROVIDENT\ AND\ FRIENDLY\ SOCIETIES\ DEPARTMENT--} continued.$

Number Persons.	Item.	VOTE No. 4.—NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT—	1928-	-29.
928–29.	1	continued.		
			£	£
	1	Salaries—continued.		
		Non-permanents.		
	1	1 at £208 208		
		2 at £182 364		
	i	$5 \text{ at } £156 \qquad \dots \qquad \qquad \dots \qquad 780$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £126 252	!	
		3 at £99 297		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
20		1 at £65 65		
	-1 1		2,493	
55				-
		0	11,434	
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Assistance to Sick and Funeral Funds of Friendly		
	21	Societies on account of deficiencies due to the war		
		and of excess after-discharge sickness	10	
	3	Audit fees for inspection of Accounts	75	
	4	Commission, allowances, and agency expenses	5,900	
	5	Commission on money-orders for approved Friendly	,	
		Societies maternity claims	65	
	6	Fees for certificates of birth, &c	50	
	7	Fuel, light, power, and water	65	
	8 9	Office fittings and requisites	150	
	"	Officers of Friendly Societies for statistical returns of sickness and mortality	1 150	
	10	O	$\begin{bmatrix} 1,150 \\ 40 \end{bmatrix}$	
	11	Postage, telegrams, and rent of boxes	550	
	12	Printing and stationery	600	
	13	Rent	1,445	
		Services rendered by other Departments—	_,	
	14	Department of Internal Affairs: Government		
		Actuary's office	2,934	
	15	Government Insurance Department	125	
	16	Post and Telegraph Department	600	
	17	Telephone services (including installation, extensions,	100	
	18	maintenance, rent, and calls) Travelling allowances and expenses	130 600	
	19	Contingencies, including unforeseen expenditure in-	800	
	-0	cidental to the other items of the vote	40	
			1	
	1	Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
	i	Miscellaneous $\pounds 438$:	
			14,529	
	i l	Gross Total		25,9
		CREDITS IN AID (a)		4
			•••	
		NET TOTAL—VOTE No. 4		25,5

(a) Credits-in-aid-

		Other	
	Salaries.	Charges.	1928-29.
	£	£	£
	42 8	10	43 8
	and seconds	******	
Totals	428	10	438
	₩ ====		4

LAND AND INCOME TAX DEPARTMENT.

							1928–29.	
					Salari	es. O	ther Charges.	Total.
Vote No. 5	.—Land and l	Income Tax D	epartment-	_	j	E	£	£
Gı	ROSS TOTAL	• •			40	,810	23,947	64,75'
Сь	REDITS-IN-AID					140	1,270	1,410
N	ET TOTAL		••		40,	670	22,677	63,34
				I		l		
Number of Persons.	Item. V	OTE- No. 5	_LAND A	ND INC	COME T	'AX	192	28-29.
1928–29.	-		DEPARTM					
	1 SALARI	ŒS—					£	£
		Admi	INISTRATIVE	Divisio	N.			:
1	1 a	t £1,000 (Con	nmissioner (of Taxes)	•	. 1,000	
		C	LERICAL DI	VISION.				
		ss Special-				£	_	
2		at £765 at £715 (10 r	nonths). £60	65 (2 mc	nths	76 8 707		
	Cla	ss I—	ŕ	,	,		1,472	
4		at £615 (8 m at £565	ionths), £51	5 (4 mo	nths)	582 1,695		
•	Cla	ss II—	•	•••	•••		2,277	
5		at £515 at £490		•••	•••	2,060)	
0		88 III—	•	•••	•••	490	2,550	
2		at £470 (3 m	onths), £44	5 (9 mo	$_{ m nths})$	451	- 1	
△		at £445 ss IV—		•••	•••	448	896	
		at £425	(1) 040			3,825	; ;	
12	$\frac{1}{2}$	at £525 (4 m at £400	iontns), £40	0 (8 mo	ntns)	408 800		
	Cla	ss V					5,033	
2		at £355 (9 m at £355 (8 m				350 349	i	
_	Clas	ss VI— `	oniono), 2 00	o (1 11101	, (1115)		- 699	
		at £335 at £335 (8 m	onthal £390) (4 mon	 the)	1,340 330		
	, 1	at £335 (5 m	onths), £32	0 (7 mor)	$_{ m ths}$)	326		
9	1	at £335 (1 m	nonth), £320	(11 mo)	nths)	321		
9		at £320 (8 m s <i>s VII</i> —	ionins), £29	о (4 шо	nuns)	624	$\begin{bmatrix} 2,941 \end{bmatrix}$	
	10	0 at £295	.1 \ 00			2,950	•	
		at £295 (5 m at £295 (4 m				$\frac{283}{282}$		
		at £295 (1 m				554	İ	
		at £275 at £275 (11 n	nonthe) £9#	 50 (1 ma	 ath)	$\frac{275}{273}$		
	2	at £275 (9 m	ionths), £25	0 (3 mos)	nths)	538		
	1	at £275 (8 m	onths), £ 25	0 (4 mor)	$_{ m ths})$	267		
!		at £275 (7 m at £275 (2 m				$\frac{265}{254}$		
	1	at £275 (1 m				252		
i	1 3	at £250	• •	•		750		1

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

LAND AND INCOME TAX DEPARTMENT—continued.

Number of Persons.	Item.			1928-	-29.
.928–29.	 	VOTE No. 5—LAND AND IN DEPARTMENT—contin			
	1	SALARIES—continued.		£	£
		CLERICAL DIVISION—con	tinued.		
		Class VII—continued.	£		
		1 at £250 (7 months), £230 (5 m 1 at £250 (6 months), £230 (6 m			
		2 at £250 (3 months), £230 (9 m	onths) 470		
		1 at £250 (2 months), £230 (10 m 1 at £250 (1 month), £230 (11 m		•	
		1 at £230 (11 months), £230 (11 m	,	-	
		1 at £230 (11 months), £190 (1 a	month) 227		
		2 at £230 (10 months), £210 (2 i			
		1 at £230 (8 months), £210 (4 m 1 at £230 (7 months), £210 (5 m			
		3 at £230 (6 months), £210 (6 m	nonths) 660		
	İ	3 at £230 (4 months), £210 (8 m			
	! 	1 at £230 (1 month), £210 (11 m 3 at £210	nonths) 212 630		
		1 at £210 (11 months), £190 (1 months)			
		1 at £210 (10 months), £190 (2 m			
		2 at £210 (9 months), £190 (3 m 1 at £210 (1 month), £190 (11 m			
		1 at £190 (11 months), £155 (1 n			
		3 at £190 (10 months), £155 (2 n	nonths) 552		
		1 at £190 (1 month), £155 (11 m 1 at £155	nonths) 158 155		
		1 at £155 (8 months), £135 (4 m			
		2 at £155 (3 months), £135 (9 m	ionths) 280		
		1 at £155 (2 months), £135 (10 m			
		9 at £155 (1 month), £135 (11 m 2 at £135	nonths) 1,233 270		
		1 at £135 (7 months), £115 (5 m			
		1 at £135 (6 months), £115 (6 m	nonths) 123		
		2 at £135 (3 months), £115 (9 m 7 at £135 (2 months), £115 (10 m			
		3 at £115	345	-	
		1 at £115 (8 months), £95 (4 mo	onths) 108		
		2 at £115 (2 months), £95 (10 mo			
		9 at £95 (11 months), £80 (1 mo 2 at £95 (10 months), £80 (2 mo			
		2 at £95 (9 months), £80 (3 mon			
		1 at £95 (8 months), £80 (4 mon		-	
		1 at £95 (1 month), £80 (11 mor 2 at £80	82 160		
		2 at £80 (11 months)	146		
		2 at £80 (10 months)	134		
114		1 at £80 (9 months) 2 at £80 (8 months)	60		
	-	z w zoo (o monus)		19,959	
		Cadets' lodging-allowances	•••	632	
		GENERAL DIVISION.			
		4 at £255	1,020		
		3 at £245 (3 months), £235 (9 mor 1 at £205	$1 \text{ths} \dots 714$ $\dots 205$		
9		1 at £175	175		
				2,114	
		Non-permanents.			
		1 at £335 1 at £208	335 208		
		1 at £143	143		
	1 .	1 at £130	130		

LAND AND INCOME TAX DEPARTMENT—continued.

Number of Persons.	Item.	NOME N. F. TAND AND MICROSCO.	1928-	-29.
1928–29.	- 	VOTE No. 5—LAND AND INCOME TAX DEPARTMENT—continued.		
	1	Salaries—continued.	£	£
		Non-permanents—continued. £ 2 at £117 234		
19		2 at £117 1 at £117 (10 months), £104 (2 months) 1 at £117 (9 months), £104 (3 months) 114 4 at £104 1 at £104 (9 months), £91 (3 months) 101 1 at £104 (8 months) 1 at £91 1 at £91 1 at £91 (10 months), £65 (2 months) 1 at £78 (8 months), 1 at £78 (10 months), £65 (2 months) 1 at £65 65	2,237	
		Estimated amount of salaries which may not be required on account of leave of absence on reduced pay, resignations, &c	1,000	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Amount recoverable from other Departments— Defence Department: Pay of £ officers in military camps 50 Stamp Duties Department: In respect of services of Inspectors 90		
		140		
			40,810	
. ,		Other Charges for and incidental to-		
	3 4	Advertising, photographs, books, newspapers, and other publications	550 20	
	5 6 7 8	tions Law-costs (part recoverable) Office equipment (furniture, fittings, and machines) Overtime and meal allowances Postage, telegrams, and rent of boxes	500 2,000 100 10 2,200	
	9 10 11	Printing and stationery Rent of offices Repairs and renewals to office equipment Services rendered by other Departments— Customs Department: Collecting deposits from	2,300 62 300	
	13	travelling-agents for non-resident traders Department of Internal Affairs (Census and Statistics Office): Amount payable for cards and	200	
	14	Post and Telegraph Department: Receiving land- tax and income-tax	1,800	
	15	Public Works Department: Window-cleaning and removal of rubbish	60	
į	16	Valuation Department: Valuations of land for tax purposes	11,470	

LAND AND INCOME TAX DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 5.—LAND AND INCOME TAX	1928-	29.
1928–29.	17 18 19	DEPARTMENT—continued. OTHER CHARGES FOR AND INCIDENTAL TOcontinued. Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Law-costs £1,250 Travelling allowances and expenses recoverable from Stamp Duties Department in respect of services of Inspectors 20	£ 175 1,700 100	£
		Gross Total	23,947	64,757 1,410 63,347
	(a) (Salaries	1928-29. £ 140 1,270 	-

STAMP DUTIES DEPARTMENT.

								19	28-29.	
						Salar	ies.	Oth	er Charges.	Total.
Vote No. 6	.—Stan	ap Dutie	s Departme	ent—		f	B		£	£
Subdivisio	on I	-Stamp I	Duties	••		22	,907		20,592	43,499
32	II	_Land ar	nd Deeds Re	qistry.			,962	į	23,340	69,302
	Ross To		·			`-	,869		43,932	112,801
			• •	••			•	ĺ		
UR	EDITS-1	IN-AID	• •	• •	••		,000		13,000	16,000
NI	ET TO	TAL	••	• •	••	65	, 869		30,932	96, 801
Number of Persons.	Item.								1928	3–2 9.
1000 00		VOTE	No. 6.—S7	CAMP DU	TIES D	EPART	MEN	Т.		
1928–29.			$Subdivision \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \$	on No. I.—	-Stamp	Duties.			£	£
	1	*Salarii		INISTRATIVE	Drygge					
1		1 at (АВМІ E1,000 (Com				nd So	ara		
1			y for Lands				na se		1,000	
			C	LERICAL DI	VISION.					
4			Special-						000	
1	.	l a Class	t £ 800 <i>I</i> —		•••	•••		£	800	
4			t £615 t £565		• • •			$\begin{array}{c c} 230 \\ 130 \end{array}$		
_		Arı	ears from				-,			
		Class	31st March, <i>II</i> —	, 1928, at £	25	•••		7	2,367	
1			t £515 : <i>IV</i>		•••	•••			515	
4		4 a	t £425		•••				1,700	
4		Class	· <i>V</i> — it £380		•••				1,520	
_		Class	VI—			•		1		
		1 a	t £335 t £335 (1 m	onth)			، , د	345 28		
10		2 a	t £320 (1 m	conth), £29	5 (11 mo	nths)		594	0.005	
			<i>VII</i> — t £ 295				1,4	175	2 ,967	
		1 a	t £295 (9 m				9	290		
			t £295 (1 m t £275 (6 m					$277 \mid 263 \mid$:	
			t £275 (4 m					259		
		3 a	t £2 75 (1 m				ſ	759		
			t £250 t £250 (7 m	onthel cos	 20 (5 may	ntha)		$\begin{bmatrix} 250 \\ 242 \end{bmatrix}$		
			t £250 (3 m					235		
		1 a	t £250 (2 m	ionths), £2 3	$80~(10~{ m mc}$	onths)	9	234		
			t £230 (8 m					224		
		1 a	t £210 (9 m t £210 (1 m	ionins), ±19 ionth). £196	o (2 moi) (11 moi	nths)		$205 \mid 192 \mid$	İ	
		1 a	t £190 (11 1	months), £1	$.55~(1~{ m m})$	onth)		187		
	'	2 a	t £ 190 (10 :	months), £:	$155~(2~\mathrm{m})$	onths)	;	368	,	

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

Number	Item.		1000	
of Persons.	200111	VOTE No. 6.—STAMP DUTIES DEPARTMENT—	1928-	29.
1928–29.		continued.		·
		Subdivision No. I.—Stamp Duties—continued.	£	£
	1	Salaries—continued.		
		Class VII—continued. £ 1 at £190 (2 months), £155 (10 months) 161		
		1 at £155 (4 months), £135 (8 months) 143		
		3 at £155 (2 months), £135 (10 months) 417		
		3 at £155 (1 month), £135 (11 months) 411		
		2 at £135 270 1 at £135 (3 months), £125 (9 months) 128		
	j	1 at £135 (3 months), £125 (9 months) 1 at £135 (3 months), £115 (9 months)		
		2 at £125 250		
		1 at £125 (2 months), £120 (10 months) 121		
		1 at £120 120		
		1 at £120 (1 month), £115 (11 months) 116		
		1 at £115 (6 months), £95 (6 months) 105 1 at £115 (1 month), £95 (11 months) 97		
		1 at £95 (5 months), £80 (7 months)		
		1 at £95 (1 month), £80 (11 months) 82		
44	1 1	1 at £80 (11 months) 74	6 100	
		GENERAL DIVISION.	8,162	
		1 at £270 270		
		4 at £255 1,020		
		1 at £255 (4 months) £250 (8 months) 252	· · · · · · · · · · · · · · · · · · ·	
10		4 at £185 740	0.000	
		Non-permanents.	2,282	
		1 at £240 240		
		1 at £169 169		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £143 (10 months), £117 (2 months) 278		
		2 at £130 260		
		1 at £117 117		
11		1 at £117 (11 months), £104 (1 month) 116		
11	_	1 at £117 (10 months), £104 (2 months) 115	1,594	
90			1,001	
	-		22,907	
	2	OTHER CHARGES FOR AND INCIDENTAL TO—		
	2	Advertising, books, photographs, newspapers, and other publications	150	
	3	Freight, cartage, and transport charges	150	
	4	Fuel, light, power, and water	150	
	5	Law-costs	950	
	6 7	Office-cleaning	25	
	8	Office equipment Postage, telegrams, and rent of boxes	$\frac{250}{1,100}$	
	9	Printing and stationery	1,200	
	10	Refund to C. H. Illston and L. Illston of amount of	,	
		conveyance duty paid by them in respect of agree-		
	11	ment of sale entered into with M. Coleman	64	
	$\begin{vmatrix} 11 \\ 12 \end{vmatrix}$	Relieving-allowances Remission of—	50	
	14	Penal interest accrued on duty paid by Te Kuiti		
		Racing Club under Part XI of the Stamp Duties		
		Act, 1923, in respect of its meeting held on 5th		
	10	and 7th February, 1927	939	
	$egin{array}{c c} 13 & \\ 14 & \\ \end{array}$	Rent of offices Services rendered by Department of Internal Affairs :	2,450	
	14	Part cost of inspection of totalizators	986	

Number of Persons.	Item.		1928-	29.
19 2 8–29.	.	VOTE No. 6.—STAMP DUTIES DEPARTMENT— continued.	£	£
		Subdivision No. 1.—Stamp Duties—continued.		
	15	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Stamp-printing (part recoverable)—	11,200	
	16	Succession duty in estate of Frederick Joseph King (deceased)	93	
	18 19 20	Telephone services (including installation, extensions, maintenance, rent, and calls) Transfer and removal expenses Travelling expenses and allowances Typewriters— £ Purchase of 35	260 100 150	
	21 22 23	Valuation fees Valuator's services Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50 50 200 25	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Law-costs and miscellaneous 60 Postage on parcels of stamped forms 300 Stamp-printing 12,500 Total—Subdivision No. I	20,592	43,499
	24	Subdivision No. II.—Land and Deeds Registry. SALARIES— PROFESSIONAL DIVISION.		·
		Class A—		
6		2 at £715 1,430 4 at £615 2,460 Class B— 1 at £590 590	3,890	
4	ŧ	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	2,285	
8	3 .	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1,450	
(3	5 at £400 2,000	2,425	

Number of Persons.	Item.	VOTE No. 6—STAM	IP DUTIES D continued.	EPARTM	ENT—	1928-9	29.
928–29.		~ · · · · · · · · · · · · · · · · · · ·					
		Subdivision No. II	continued.	eeds Regi	stry—	£	£
	24	SALARIES—continued					
		Стт	RICAL DIVISION.				
		Class III—	MICAL DIVISION.				
2		2 at £470	•••	•••	•••	940	
9		Class~IV— 9 at £425				3,825	
•		Class V-					
6		6 at £380 Class VI—	•••	•••	£.	2,280	
		5 at £335	•••	•••	1,675		
6		1 at £320 (9 mor	nths), £295 (3 m	on ths)	314	1 000	
		$Class\ VII$ 11 at £295			${3,245}$	1,989	
		2 at £295 (11 mc	onths), £275 (1 1	month)	588		
		1 at £295 (10 mc	onths), £275 (2 n	nonths)	292		
	i	1 at £295 (9 mor			290 287		
		1 at £295 (7 mor 1 at £295 (6 mor			285		
		1 at £275 (9 mor			269		
		3 at £275 (7 mor			795		
		1 at £275 (6 mor 1 at £275 (3 mor			$\begin{array}{c c} 263 \\ 257 \end{array}$		
		1 at £275 (3 mor	oths), £250 (9 in	months)	255		
		2 at £275 (1 mor	nth), £250 (11 n	nonths)	506		
		1 at £250	/1 \ 0000 /1		250		
	Ì	1 at £250 (11 mo 1 at £250 (9 mo			$\begin{array}{c c} 249 \\ 245 \end{array}$	İ	
		1 at £250 (8 mor			$\begin{array}{c} 240 \\ 244 \end{array}$		
		3 at £250 (7 mo	nths), £230 (5 m	ionths)	726		
	ĺ	2 at £250 (3 mor	nths), £230 (9 m	ionths)	470		
		2 at £250 (2 mor 1 at £230 (9 mor			$egin{array}{c} 468 \ 225 \end{array}$		
		1 at £210 (9 mor			205		
		1 at £210 (3 mor	nths), £190 (9 m	ionths)	195		
		2 at £190 (11 me	onths), £155 (1)	month)	376		
		1 at £190 (10 mc 1 at £190 (9 mo			$\begin{array}{c c} 185 \\ 182 \end{array}$		
		1 at £190 (7 mor			176	,	
		2 at £155 (9 mor			300		
		1 at £155 (8 mor 2 at £155 (6 mor			149		
		2 at £155 (4 mor			$ \begin{array}{c c} 290 \\ 284 \end{array} $		
		2 at £155 (3 mor	nths), £135 (9 m	onths)	280		
		3 at £155 (2 mor			417		
		6 at £155 (1 mor 3 at £135	ntn), £135 (11 n	iontns)	$\begin{array}{c} 822 \\ 405 \end{array}$		
		1 at £135 (2 mor	oths), £125 (10 r	$\frac{\dots}{\text{nonths}}$	127		
		3 at £135 (11 mc	onths), £115 (1 i	nonth)	402		
		2 at £135 (6 mor			250		
		1 at £135 (3 mor 2 at £135 (2 mor			120 238		
		1 at £125		•••	125		
		1 at £125 (3 mor	nths), £120 (9 m	onths)	122		
		1 at £115	othe) 605/2	mthal	115	į	
80		1 at £115 (9 moi 1 at £115 (4 moi			$\begin{array}{c c} 110 \\ 102 \end{array}$	i ř	
- 0				,		16,186	
	I		REBAL DIVISION.		070		
	1	1 at £270 2 at £255	•••	•••	270 510		
		2 at £205	***		410		
13		8 at £185			1,480		

Number of Persons.	Item.	VOTE No. 6—STAMP DUTIES DEPARTMENT—	1928–	29.
1928–29.		continuea.		
		Subdivision No. II.—Land and Deeds Registry— continued.	£	£
	24	Salaries—continued.		
		Non-permanents. £		
		2 at £295 590		
		2 at £290 580		
		1 at £280 280		
	İ	2 at £265 530		
		4 at £255 1,020		
	+	1 at £250 250		
		1 at £225 225		
		1 at £219 219		
		5 at £169 845	_ '	
		2 at £156 312	-	
		1 at £156 (8 months), £143 (4 months) 152 2 at £145 290		
		1 at £145 (11 months) £135 (1 month) 145		
		2 at £143 286		
	1	2 at £135 (10 months), £115 (2 months) 264		
		1 at £135 (9 months), £115 (3 months) 131	-	
		1 at £130 130		
		1 at £130 (9 months) £117 (3 months) 127		
		7 at £117 819		
		1 at £117 (11 months), £104 (1 month) 116		
		1 at £117 (9 months), 104 (3 months) 114		
		4 at £115 \ 460		
		2 at £104 208		
	1	1 at £104 (11 months), £91 (1 month) 103		
		1 at £91 91		
		1 at £80 80		
52	1	2 at £80 (10 months), £65 (2 months) 155		
	-		8,522	
187			OF THE	
	-	Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)— Amount recoverable from Land Assurance Fund		
		for salaries, &c., incurred under Land Transfer		
		Act, 1924, (see Section 18, Finance Act,		
		1924) £3,000		
		Law-costs and miscellaneous 140		
		3,140		
	1	T	46,462	
		Less amount provided but not required	500	
			45,962	
		OTHER CHARGES FOR AND INCIDENTAL TO	40,502	
	25	Advertising, photographs, books, newspapers, and		
	20	other publications	700	
	26	Annual certificates under the Law Practitioners Act,	100	
		1908	25	
	27	Binding	500	
	28	Fireproof fittings, shelving, &c	750	
	29	Freight, cartage, and transport charges	25	
	30	Fuel, light, power, and water	400	
	31	Department of Lands and Survey: Draughtmen's		
		work performed	15,000	
	32	Law-costs	25	
	33	Office-cleaning	50	
	34	Office equipment	300	
	1			
	35 36	Postage, telegrams, and rent of boxes Printing and stationery	500 1,500	

STAMP DUTIES DEPARTMENT—continued.

Number of Persons.	Item.		1928-	-29.
1928-29.		VOTE No. 6—STAMP DUTIES DEPARTMENT— continued. Subdivision No. 11.—Land and Deeds Registry— continued.	£	£
	37 38 39 40 41 42	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Relieving allowances Rent Telephone services (including installation, extensions, maintenance, rent, and calls) Transfer and removal expenses Travelling expenses and allowances Typewriters— £ Purchase of 100 Maintenance of 50 Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	25 3,000 180 100 100 150 10	
		Total—Subdivision No. II	23,340	69,302
		Gross Total		112,801
		Credits-in-aid (a) $\dots \dots \dots$		16,000
		NET TOTAL—VOTE No. 6		96,801

(a) Credits-in-aid—

				Other	
			Salaries.	Charges.	1928-29.
			£	£	£
Subdivision	Ι			12,860	13,000
,,	II		3,000	140	3,000
Totals		• •	3,000	13,000	16,000
				=	

PUBLIC BUILDINGS, DOMAINS, MAINTENANCE, ETC., OF ROADS, AND IRRIGATION WORKS.

			,		1928–29.	
				Salaries.	Other Charges.	Total.
Vote No. 7.—Public Bui	ldings—			£	£	£
GROSS TOTAL	•••			6,145	184,813	190,958
CREDITS-IN-AID		• • •			103,358	103,358
NET TOTAL	•••	•••		6,145	81,455	87,600
Vote No. 8.—Governme	nt and othe	r Domains-	_			
GROSS TOTAL	•••	•••	•••	6,758	2,000	8,758
CREDITS-IN-AID		• • •		2,358		2,358
NET TOTAL	•••	•••		4,400	2,000	6,400
Vote No. 9.—Maintenar	nce and Rep	airs to Road	ds—			
GROSS TOTAL	•••	•••		•••	106,150	106,150
CREDITS-IN-AID	•••	•••			3,150	3,150
NET TOTAL		•••			103,000	103,000
	ance of Irr liver-protecti Works—					
GROSS TOTAL			•••	•••	14,586	14,586
CREDITS-IN-AID			•••	•••	386	386
NET TOTAL				• • •	14,200	14, 200
TOTALS—CRI	EDITS-IN-A	AID		2,358	106,894	109, 252
TOTALS—NET	г	•••		10,545	200,655	211,200

Number of Persons.	Item.	VOTE :	1928–29.				
1928–29.		Expenses incli Buildings Fittings,	£	£			
	1	*Salaries—			!		
		1	Professional Div	ISION.	,		
1		1 at £900	•••	• • •	•••	900	
2		Class D 2 at £380		• , •	•••	760	
			CLERICAL DIVISI	ON.			
1		Class I— 1 at £615 Class III—	. •••	•••	• • •	615	
1	1	1 at £470	•••		•••	470	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

$A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

		NOADS, ETO.—commueu.		
Number of Persons.	Item.	VOTE No. 7.—PUBLIC BUILDINGS—continued.	1928	-29.
1928–29.	$\begin{vmatrix} \\ 1 \end{vmatrix}$	Salaries—continued.		
		CLERICAL DIVISION—continued.	£	£
		Class V—		
2		$2 \text{ at } \pounds 380$ $Class VI$ —	760	
2		2 at £335	670	
		Class VII—	000	
1		1 at £230	230	
		General Division. $\mathfrak L$		
		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	÷	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
4		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
4		1 &0 2100	1,170	
		Non-permanents.	,	
		1 at £320 320		
2		1 at £250 250	570	
16	·		570	
	-		6,145	
		Other Charges for and incidental to—		
	2	Accident compensation, sick-pay, holiday pay, and	700	
	3	special leave to workmen	700	
	"	other publications	25	
	4	Auckland Metropolitan Transport Commission Contributions to—	4,100	
	5	Chatham Islands Steamer Service subsidy Drainage Boards for drainage, public buildings—	113	
	6	Christchurch	150	
	7 8	Dunedin Electrical Appliances Act, 1928 (cost of administra-	150	
	0	tion, including allowances and fees to members of Board)	100	
	9	Electrical Wiremen's Registration Act, 1925 (cost of administration, including fees of members of the	100	
		Registration Board)	1,600	
•	10	Engineers Registration Act, 1924 (cost of adminis-		
		tration, including allowance to Registrar, fees, &c., of members of the Registration Board)	300	
		Expenses in addition to or in excess of amount pro-	000	
		vided under the Civil List Act, 1920: Govern-		
	44	ment Houses, Auckland and Wellington—		
		Fuel, light, water, and cleaning, also outbuildings and grounds	900	
	12	Telephone services (including installation, ex-	500	
		tensions, maintenance, rent, and calls)	150	
	13	Freight, cartage, and transport charges (£12,000 re-	14 000	
		coverable) Government Buildings throughout the Dominion—	14,000	
	14	Office requisites, fuel, light, power, water, cleaning,		
		scavenging, and other annual services	2,500	
	15	Courthouses	6,000	
	16	Customhouses	200	
	17	Departmental Buildings	18,350	
	18 19	Gaols	2,700	
	20	Police stations	23,000 10,000	
	21	Public Works Workshops (maintenance and work-	10,000	
		ing expenses), (£40,000 recoverable)	42,500	
	22	Quarantine Stations	300	
	23	Other Government Buildings	1,800	
	24	Rents (£10,000 recoverable)	14,000	
	25 26	Government House, Auckland (maintenance) Government House, Auckland: Temporary accom-	500	
	20	modetion and other miggellaneous emanage	50	
	, ,	modation and other miscenaneous expenses	90	

Number of Persons.	Item.	VOTE No. 7.—PUBLIC BUILDINGS—continued.	192 8-	-29.
1928-29.	- -	MAINTENANCE, ETC.—continued.	<u> </u>	
		Other Charges for and incidental to—continued.	£	£
	27	Government House, Wellington (maintenance)	1,200	
	28	Government Houses, Auckland and Wellington: Household furnishings, &c	450	
	29	High Commissioner's Office: Interest on unpaid	400	
		balance of purchase-money	3,100	
	30	Lyttelton Borough Council, for extra water supplied	100	
	31	to Government Departments (recoverable) Parliamentary Buildings	$\frac{100}{4,000}$	
	32	Postages, telegrams, and telephone services (including	1,000	
	00	installation, extensions, maintenance, rent, and calls)	250	
	33	Provincial buildings, Christchurch (maintenance	50	
	34	and repairs) Services and supplies for other Departments (£27,000	30	
		recoverable)	27,000	
	35	Special and other rates on Government properties	125	
	36	Tramways and motor-buses: Expenses re inquiries, appointments to Appeal Boards, &c	500	
	37	Travelling allowances (£300) and expenses (£500)	800	
	38	Wages of overseers and staff workmen (£3,000 re-		
	20	coverable)	3,000	
	39	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
		eldental to the other hems of the vote	30	
	'	Estimated credits-in-aid under Section 51 of the	ì	
		Public Revenues Act, 1926 (see end of vote)—		
		Freight, &c £12,000 Public Works Workshops 40,000		
		Rents 10,000		
	! :	Services, &c., for other Departments 27,000		
		Wages of overseers, &c 2,750		
		Miscellaneous items 11,608		
	!	103,358		
			184,813	
		Gross Total		190,958
		Credits-in-aid		103,358
		NET TOTAL—VOTE No. 7		
		MEI TOTAL—VOIE No. 7		87,600
		•		
		VOTE No. 8GOVERNMENT AND OTHER		
		DOMAINS.		
		GOVERNMENT DOMAINS-		
	1	Salaries—		
ļ		GENERAL DIVISION. £ 1 at £270 270		
3		2 at £252 504		
			774	
,		Non-permanents.		
		1 Gardener at £270 270		
		3 Gardeners at £250 750 7 Gardeners at £239 1,673		
		3 Gardeners at £234 702		
		8 Gardeners at £229 1,832		
		1 Gardener at £219 219		

Number of Persons.	Item.	VOTE No. 8.—GOVERNMENT AND OTHER DOMAINS—continued.	192 8–	29.
1928–29.		DOMAINS—continuea.		
		GOVERNMENT DOMAINS—continued.	£	£
	1	Salaries—continued.		
		Non-permanents—continued.		
		1 Gardener at £205 205		
		1 Gardener at £198 198		
26	1	1 Gardener at £135 135		
	1		5,984	
		Estimated credits-in-aid under Section 51 of the Public Revenves Act, 1926 (see end of vote)— Miscellaneous £2,358		
		-	6,758	
		Other Charges for and incidental to—		
	$\begin{vmatrix} 2 \\ 3 \end{vmatrix}$	Coal, coke, &c	100	
	4	Flower seeds, bulbs, plants, &c	150	
	5	Garden implements, manures, &c Contingencies, including unforeseen expenditure in-	275	
		cidental to the other items of the vote	75	
		- Statistic to the other reality of the your		
			600	
		OTHER DOMAINS AND WORKS AS UNDER-		
	6	Fencing and improvement: Recreation-grounds and	50	
		domains	50	
	7	Grants: Purchase and Improvements— Burwood Domain (towards purchase of)	200	
	8	Grahamtown Domain (improvements)	25	
	9	Hukerenui (improvements)	55	
	10	Kaihere Domain	50	
	11	Leithfield (improvements)	50	
	12	Matiere Cemetery	75	
	13	Ohai Recreation Ground (purchase)	100	
	14	Orewa Beach Recreation Reserve (improvements)	70	
	15	Papamoa (improvements)	25	
	16	Rangiora Recreation-grounds (towards purchase)	250	
	17 18	Rhodes Park (improvements) Rotokare Reserve (tree-planting)	300 100	
	19	Rotorua-Atiamuri Road Recreation Reserve (improve-	100	
		ments)	35	
	20	Waiake Domain (improvements)	50	
	21	Waitakaruru (improvements)	50	
		Subsidies—		
	22	Cave Domain (improvements), (£1 for £1)	25	
	2 3	Fairlie Domain (improvements, extension and pro-	150	
	24	tection of Domain), (£1 for £1)	150	
	25	Gannets' Reserve, Cape Kidnappers (£1 for £1) Geraldine Domain (improvements), (£1 for £2)	15 50	
	26	Hannan Damain (improvements) (ch for ch)	50	
	27	Kimbolton Domain (improvements), (£1 for £1)	50	
	28	Kynnersley Domain, Waimarie (£1 for £1)	50	
	29	Omau Domain (improvements), (£1 for £1)	25	
	30	Otoko Domain (improvements), (£1 for £1)	50	
	31	Pahi Domain (improvements), (£3 for £1)	75	
	32	Paihia (improvements), (£1 for £1)	100	
	33	Panmure Domain (improvements to Domain), (£1 for	=0	
	34	£1) Papanui Domain (improvements), (£1 for £1)	50	
	35	Runanga Domain (improvements) (C1 for C1)	$\begin{bmatrix} 200 \\ 45 \end{bmatrix}$	
	36	St. Helens Domain (improvements), (£1 for £1)	20	
	37	Tahuna Domain (improvements), (£1 for £1)	25	
	38	Tapu Flat (purchase of land), (£1 for £1)	350	
	39	Tokaroa Domain (improvements), (£1 for £1)	20	

Number of Persons.	Item.		1928-	-29.
19 2 8–29.		VOTE No. 8.—GOVERNMENT AND OTHER DOMAINS—continued.	£	£
	40 41 42 43 44 45 46 47 48 49	OTHER DOMAINS AND WORKS AS UNDER—continued. Urenui Domain (improvements), (£1 for £1) Waiau Domain (fencing), (£1 for £1) Waihou Domain (improvements), (£1 for £1) Waimatenui Domain (fencing), (£1 for £1) Waione Domain (improvements), (£1 for £1) Waiuta Domain (£1 for £2) Wanaka Islands Domain (improvements), (£1 for £1) Whakatane Domain (improvements), (£1 for £1) Whangateau Domain (£1 for £1) Domains not specified Less amount provided but not required	20 20 300 15 25 41 50 25 100 250 3,681 2,281	
	:	Gross Total		8,75
		CREDITS-IN-AID		2,35
		NET TOTAL—VOTE No. 8	•	6,40
	1 2 3 4 5 6 7	VOTE No. 9.—MAINTENANCE AND REPAIRS TO ROADS. CHARGES FOR AND INCIDENTAL TO— Expenses incidental to the maintenance and repairs to roads	15,000 3,000 15,000 35,000 2,150 35,000	
		Public Revenues Act, 1926 (see end of vote)— Surplus funds of Waikato-West Coast Railway Board 1,000 Miscellaneous 2,150 3,150		
		Gross Total		106,150
		CREDITS-IN-AID		3,150
		NET TOTAL—VOTE No. 9		103,00

Number of Persons.	Item.		1928-29.		
1928-29.	- 	VOTE No. 10.—MAINTENANCE OF IRRIGATION, DRAINAGE, AND RIVER PROTECTION AND IMPROVEMENT WORKS	£	£	
		Charges for and incidental to-	!		
	1 2	Ex gratia payments on account of hardship to settlers from tailings, Waihou and Ohinemuri Rivers improvement schemes Expenses incidental to maintenance of dams, headworks, races, weirs, &c., Central Otago Irrigation	636		
		Works	10,700		
	3	Maintenance of river-improvement works at Waihou and Ohinemuri Protection of Crown property from river-erosion	2,000 750		
	5	Subsidy: Weatherstone's Creek (Lawrence Borough), (widening and deepening), (£1 for £1)	500		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Rent £100 Miscellaneous 286			
		GROSS TOTAL		14,586	
		Credits-in-aid	•••	386	
		NET TOTAL—VOTE No. 10		14, 200	

NATIVE DEPARTMENT.

			1928–29.	
•	-	Salaries.	Other Charges.	Total.
Vote No. 11.—Native Department—		£	£	£
Subdivision I.—Native Department	.	27,814		27,814
" II.—Miscellaneous Services		•••	14,410	14,410
GROSS TOTAL		27,814	14,410	42,224
Credits-in-aid		8,550	1,300	9,850
NET TOTAL	.	19,264	13,110	32,374

Number of Persons.	Item.	VOTE No. 11	-NATIVE DEF	PARTME	NT.	1928-	29.
1928-29	·	Subdivis	sion No. I.—Sale	aries.	· -		
	1	*Salaries— Admini	STRATIVE DIVISI	ON.	1	£	£
		1 (Under-Secretar	y) at £80 (also C	hief Judge	, £970)	80	
		CLI	erical Division.				
3		$Class\ I-3 \ ext{at}\ \pounds 565$	•••			1,695	
1	:	Class II— 1 at £515		•••	•••	515	
5		Class IV— 5 at £425		•••		2,125	
3		Class V— 3 at £380		•••		1,140	
. 17		2 at £320 (9 mo Class VII— 13 at £295 1 at £295 (11 me 1 at £295 (5 mo 1 at £275 (1 mo 1 at £250 (9 mo 1 at £230 1 at £230 (1 mo 1 at £210 (1 mo 3 at £195 (1 mo 4 at £135 (11 m 2 at £135 (2 mo 1 at £125 (9 mo 1 at £125 (8 mo 1 at £125 (8 mo 1 at £125 (8 mo	months, approximaths), £295 (3 meanths), £275 (1 meanths), £275 (1 meanth), £250 (11 meanth), £210 (11 meanth), £155 (11 meanth), £155 (11 meanths), £115 (10 meanths), £120 (3 meanths), £120 (4 meanth), £120 (11 meanth), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths), £120 (11 meanths)	conths) conths) conths) conths) conths) conths) conths) conths) conths) conths) conths) conths)	\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	5,622	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

NATIVE DEPARTMENT—continued. Number Item. 1928-29.of Persons. VOTE No. 11.—NATIVE DEPARTMENT—contd. 1928-29. Subdivision No. I.—Salaries—continued. £ £ 1 SALARIES—continued. CLERICAL DIVISION—continued. Class VII—continued. 1 at £120 (11 months), £115 (1 month) 119 1 at £120 (5 months), £115 (7 months) 117 1 at £120 (1 month), £115 (11 months) 1 at £115 (4 months), £95 (8 months) 1 at £115 (8 months) 115 102 34 79 7,293GENERAL DIVISION. 2 2 at £185 370 JUDGES OF NATIVE LAND COURT. 1 (Chief Judge) at £970 (also Under-Secretary, Native Department, £80) 1 at £800 970 800 3,825 7 5 at £765 5,595 NON-PERMANENTS. 1 at £338 338 2 at £260 5201 at £260 (11 $\frac{3}{4}$ months approximately) ... 257 267 1 at £267 1 at £230 2301 at £182 182 338 2 at £169 2 at £156 312٠., 1 at £117 117 . . . 2 at £104 208 5 at £91 455. 1 at £91 (9 months) 63 211 at £65 (11 months) 57 3,344 93 Allowances to officers temporarily performing special or higher duties under Public Service Regulations 35 24A and 209 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)-Administration expenses of Maori £ 7,675 Land Boards ... Department of Internal Affairs: Salary of Private Secretary to Native Minister 515 Services for other Departments ... 300 Translations 60 8,550 Total—Subdivision No. 1 27,814 Subdivision No. II.-Miscellaneous Services. CHARGES FOR AND INCIDENTAL TO- 2 Clearing Native lands of noxious weeds, under section

12 of Noxious Weeds Act, 1908

3

Confiscated Lands Commission, expenses of

500

1,100

NATIVE DEPARTMENT—continued.

Number of Persons.	Item.		1928-	29.
1000 00		VOTE No. 11NATIVE DEPARTMENT—contd.		
1928–29		Subdivision No. II.—Miscellaneous Services—contd.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
		Contributions towards cost of memorials to—		
	4	Pouawha Meihana	50	
	5	Ihaka Whaanga	50	
	6	Destruction of rabbits on Native lands: Wages and		
	7	other expenses Fees to Supervisors, Native Interpreters' examinations	$\begin{array}{c} 3,500 \\ 25 \end{array}$	
	8	Freight, cartage, and transport charges	200	
	9	Fuel, light, power, water, and cleaning	100	
	10	Law-costs: Practising and admission fees	10	
	11	Office fittings, &c.—		
		Purchase of 125		
		Maintenance and repairs of 75		
		·	200	
	12	Postage, telegrams, rent of boxes, and telephones	750	
	13	Printing and publication of Kahiti	1,700	
	14	Printing and stationery (part recoverable)	900	
	15	Rent	125	
	16	Settlement of the claims of the Ngati-Mutunga and		
	1	Mrs. Jane Brown in respect of the area of land		
	1 .	set apart for absentee members of the Ngati-	2,000	
	17	Mutunga Hapu in Taranaki Transfer and removal expenses	200	
	18	Travelling allowances and expenses (part recoverable)	2,900	
	19	Water supplied by Ohinemuri County to Native	_,000	
		settlements on the banks of the Ohinemuri River	50	
	20	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of this subdivision	50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of		
	:	vote)— £ Administration expenses of Maori	1	
		Land Boards 1,000		
		Printing and stationery 200	i	
		Miscellaneous 100		
		1,300		
				14 416
	į	Total—Subdivision No. II		14,410
		Gross Total ,	•••	42,224
!		Credits-in-aid (a)		9,850
į		NET TOTAL—VOTE No. 11		32,374
(a) Cree	dits-in-	aid— Other		
(6) 0100	111	Charges.	1928-29.	
c	ubdivi	£ £	£ 8 550	
S		1 900	$8,550 \\ 1,300$	
	**	11 1,300	1,500	
		Totals 8,550 1,300	9,850	

DEPARTMENT OF EXTERNAL AFFAIRS.

			_			1928–29.				
	-					Salaries.	Otl	ner Charges.	Total.	
Vote No. 12	2.—D	epartment of l	External	Affairs—		£		£	£	
G_{R}	oss T	l'otal	••			1,8	66	38,411	40,27	
Cr	EDITS	-IN-AID	• •	• •	••	•••		2,041	2,04	
NI	ET T	OTAL	* *	• •	••	1,8	66	36,370	38,23	
Number of Persons.							1928	8- 29.		
1928-29.	- -	VOTE No.	. 12.—D	EPARTN AFFAI		F EXTE	RNAL			
	1	*Salaries-	_					£	£	
•••		Secretar Minist		Imperia artment)	l Affairs 	Officer,	Prime			
		Class II-		LERICAL I	Division.					
1		1 at £			•••			515		
1		Class VI				•••		335		
		Class VI	295		•••		£ 295			
		1 at £	250 115 (8 <u>1</u> r	nonths)		•••	250 77	622		
1		1 at £20		eneral I	Division.			205		
• •				Non-perm	IANENT.					
$\frac{1}{7}$		1 at £18 Cadet's l	2			$8\frac{1}{2}$ months) ⁽	182 7		
	-		•					1,866		
	2	OTHER CH Advertisi		ks, photo		ne wspap ei	rs, and	35		
	3	Amount	misappro	opriated b	y officer	of Departn	nent	257		
	5	Fuel, lig	ht, water	on retire: r, attenda		···	•••	300 49		
	6 7	Samoa	u of Tro an Admii	pical Dise nistration Educatio			£ 6,000	100		
			eless ser			···	2,000			

^{*} For particulars of salaries see "Public Service Classification List."

DEPARTMENT OF EXTERNAL AFFAIRS—continued.

Number of Persons.	Item.		1928-	29.
1928–29.		VOTE No. 12—DEPARTMENT OF EXTERNAL AFFAIRS—continued. OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	8 9 10	Motor-vessel for Island service— Purchase of (balance) Office fittings and requisites Pay and expenses of General Richardson whilst attending meeting of Permanent Mandates Com-	26,500 50	
	11 12 13	mission (League of Nations) at Geneva Postage, telegrams, and rent of boxes Printing and stationery Royal Commission to inquire into Samoan matters,	2,000 350 300	
	14 15 16	expenses of Telephone services, including installation, extensions, maintenance, rent, and calls Travelling allowances and expenses Contingencies, including unforeseen expenditure in-	35 100	
		cidental to the other items of the vote	35	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Miscellaneous 100 Motor-vessel for Island services 1,941	38,411	
	- 1	2,041		
		Gross Total		40,27
	:	Credits-in-aid	•••	2,04
		NET TOTAL—VOTE No. 12		38, 23

COOK ISLANDS.

					7.7		19	928-29.	
						Salaries.	Oth	er Charges.	Total.
Vote No. 1	13.—C	ook Islands	S		!	£		£	£
Gi	ROSS '	lotal		• •		13,895	i	52,775	66,670
Cr	REDITS	-IN-AID	• •			•••		23,983	23,98 3
N]	ET T	OTAL		••	••	13,895		28, 792	42,68
Number of Persons.	Item.				0.77		1.00 Acc (0.00)	1928	3–29.
1928-29.	 		VOTE No	o. 13.—CO	OK ISL	ANDS.			
	1	SALARIES						£	£
	ļ		Co	ok – Niue	Islands.			-	
65		2 Me 1 Fr 1 Po 2 W 20 Sel 38 Stu	sident Comedical Office uit Inspect lice Officer Treless Openths), £35 (3 monthool-teacher dent Teacher Communication)	ers: 1 at sor erators: 1 0 (7 month hs) ers	£800, 1 a (in cha	 t £716 urge) at £37 £295 (9 mont 		1,000 1,516 205 325 650 5,331 2,085.	
12		1 As Of 2 Sel 7 Sta	sident Com	Resident (rs hers	 Commissi 	 oner and Po 	 olice 	650 315 500 518 800	
77								13,895	
		OTHER	Charges f	OR AND IN	CIDENTAL	то—			
	2		tising, pho er publicati		books,	newspapers,	and	30	
	3 4	Comp frui Cook	ensation to t on motor-	Niue Islan vessel Islands Ac	 Iministra	rowers for los		288	
	5 6 7 8 9 10	Cook Ere Mai Ren Cost o Freigh	Island Lep	ers— commodati t Makogai om Cook I ato loss of and transp	on at Ma slands fruit ship port char			2,081 2,920 2,500 60 10 49	

COOK ISLANDS—continued.

Number of Persons.	Item.	ļ.	1928-	29.
		VOTE No. 13—COOK ISLANDS—continued.		
1928-29		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
		Grants-		
	11	Bureau of Tropical Diseases, London	50	_
	12	Education: Niue Island	500	
	13	Education: Northern Cook Islands	500	
	14	Maintenance of students at Training College,	300	
		Rarotonga	320	
	15	Medical service, Niue	250	
	16	Medical services, Rarotonga	1,000	
	17	Medical students, Native, cost of training at Fiji	160	
	18	Towards purchase of fruit-graders for Cook Islands	1,000	
	10	N.Z.G.S. "Hinemoa"—	1,000	
	19	Working-expenses, including annual overhaul	5,000	
	20		2,500	
		Salaries and wages Salaries and wages £	2,000	
	21	Working expenses 22,500		
	22			
	23	Insurance 1,600 Storage shed 92		
	24	Salaries and wages 6,000		
	21		30,192	
	25	Postage, telegrams, and rent of boxes	175	
	26	Printing and stationery	50	
	27	School Journal, Cook Islands, cost of printing	75	
	28	Telephone services (including installation, extensions,	10	
	20	maintenance, rent, and calls)	90	
	29	nn 11: 11: 7 <u>-</u> '	100	
	30	m · 1 11		
	31	Windless Station Manley Coat of southing	$\frac{2,050}{200}$	
	32	Contingencies, including unforeseen expenditure in-	200	
	32		25	
		cidental to the other items of the vote	20	
	1 1		52,775	
		Estimated credits-in-aid under Section 51 of the	54,775	
		Public Revenues Act, 1926 (see end of vote)—		
		N.Z.G.S. "Hinemoa"—		
		1171-i i t		
		N.Z.G.M.V. "Maui Pomare"—		
	1 1			
		Miscellaneous 100		
		23,983		
		Gross Total		66,67
		Credits-in-aid	•••	23,98
	i	NET TOTAL-VOTE No. 13		42,68

DEPARTMENT OF INDUSTRIES AND COMMERCE.

						19	928-29.	
*		-			Salarie	. Oth	er Charges.	Total.
Vote No. 1	4.—D	Department of Indu	stries and Com	merce	£		£	£
GF	ROSS !	Готаl			6,	158	29,520	35,678
Cn	n Talmo	3-IN-AID					3,750	3,750
			•	••		150		
NI	ET TO	OTAL	• •		ο,	158	25,770	31,928
Number of Persons.	Item.	VOTE No. 14.—	DEPARTME	NT OF	INDIIS	TRIES	1928	3–29.
1928-29.			AND COMM		111200	1111110		
	1	Salaries—					£	£
		I	PROFESSIONAL	Division	Ι.			
1		Class A— 1 at £615					615	
		Class B-		•••	•••	•••		
1		1 at £565 Class C—		•••	•••	•••	565	
3		3 at £470		•••		•••	1,410	
			CLERICAL DIVIS	SION.				
1		Class Special					665	
1		Class V-	71 th a\ ' 00	95 /41				
		Class VII—	$7\frac{1}{2}$ months), £3	` -	•	•••	348	
1		1 at £115 (lodging-allowai	nce, £10)	•••	125	
		0 - 4 0005	GENERAL DI	VISION.		£		
4		2 at £205 2 at £185	•			$\frac{410}{370}$		
		·	RADE REPRESE	NTATIVE.	S.		780	
		£365)	o Tourist Agen	t, Melbo	ourne,	300		
		1 at £100 (al	so Tourist Age), and	100		
3		1 at £100 (gent, £50, Sydı also Tourist	Agent,	Van-	100		
		couver, £10	. (00)	••	•••	100	500	
	[[1 4 00 5 5	Non-perman	ENTS.		055		
		1 at £255 1 at £215			•••	$egin{array}{c} 255 \ 215 \ \end{array}$		
4		2 at £130		••	•••	260	790	
		Salaries of Office	ers on loan from	n other I	Departmer	ıts—	730	
			CLERICAL DIV		- Specification			
_		Class IV—						
1		1 at £420		• • •	•••	•••	420	

6,158

$\label{lem:appropriations} \textit{Appropriations for Consolidated Fund Services}.$

DEPARTMENT OF INDUSTRIES AND COMMERCE—continued.

Number of Persons.	Item.	VOTE No. 14—DEPARTMENT OF INDUSTRIES	1928	-29.
1928-29.	·	AND COMMERCE—continued.		
-		OTHER CHARGES FOR AND INCIDENTAL TO-	£	£
	2	Advertising, photographs, books, newspapers, and other publications	250	-
	3	Compensation for damage to parcel returned from Imperial Institute	10	
	4	Freight, cartage, and transport charges	10	
	5	Fuel, light, and heating power	50	
	6	Gas regulations: Expenses of administration (recoverable)	3,750	
	7	Honorary Trade Representative overseas: Provision	j	
		for office expenses	200	
	8	Industrial Exhibitions	200	
	9	Law-costs	50	
	10	Membership subscriptions to Chambers of Commerce	15	
	11	Office-cleaning	45	
	12	Office furniture, fittings, and other requisites	125	
	13	Postage, telegrams, and rent of boxes, &c	250	
	14	Printing and stationery	150	
	15	Railway passes issued to H.M. Trade Commissioners,	100	
	10	Canadian and other Government Trade Commis-		
		canadian and other Government trade commis-		
		sioners and representatives; Consuls and repre-	950	
	. 10	sentatives of other countries	350	
	16	Rent of offices—		
	İ	Auckland 120		
		Christchurch 190		
	İ	Dunedin 70		
	1	Wellington 495	0.00	
			875	
		Subsidies to steamer services—		
	17	New Zealand - Vancouver (half)	10,000	
	18	New Zealand – San Francisco (half)	12,500	
	19	Telephone services (including installation, extensions,		
	-	maintenance, rent, and calls)	110	
	20	Transfer and removal expenses of officers	25	
	21	Travelling allowances and expenses	400	1
	22	Travelling-expenses manufacturer members of Joint		
		Footwear Committee	100	
	23	Typewriters—		
		Purchase of 20		
		Maintenance of 10		
	İ	Amenicans	30	
	24	Contingencies, including unforeseen expenditure incidental to the other items of the vote	25	
	1	es ·	29,520	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
		Gas regulations £3,750		
		Gross Total		35,678
		Credits-in-aid	•••	3,750
			j.	
		NET TOTAL—VOTE No. 14 -		31,928
	1	1		-

DEPARTMENT OF JUSTICE.

						1928	-29.	
		_		-	Salaries.	Other C	harges.	Total.
Vote No. 15	Department o	f Justice—			£		£	£
Subdivision	IJustice	: Head Offic	ce		4,004			4,004
	II.—Patent				3,798		2,130	5,928
"	III.—Bankru				5,667		6,095	11,762
,,	IV.—Coroner						3,700	3,700
,,	V.—Suprem				10,902		5,100	16,002
,,	VI.—Magistr		ardens' Cou	rts	53,435		9,325	72,760
,,	VII.—Crimine				•••		2,151	12,151
,,	VIII.—Justice			1	•••		1,854	21,854
,,	7 111.—0 usike	. 111 0300000071	cous percu	-				
Gros	s Total	• •	• •		77,806	7	0,355	148,161
CREI	OITS-IN-AID	• •			1,655	, 1	0,600	12,255
NET	TOTAL	••	••		76, 151	5	9,755	135, 906
Number of Persons.	Su	bdivision N			F JUSTICI	E	£	8–29.
	1 *Salarie		ISTRATIVE	Dimens				<u> </u>
		ADMIN	IISTRATIVE	DISIMICE)N.			İ
1	l at £	850 (Under	-Secretary	for Just	tice)	•••	850	!
			erical Di	VISION.				
1	Class 1 at	£515		•••	,		5 15	
-		T7						!
1	Class 1 at	£380 (6 m	ionths), £3	55 (6 m	onths)		368	
	Class						- 005	i
3	3 a	£335		•••	•••	•••	1,005	
3	1 a 1 a	VII— t £275 (5 m t £155 (3 m t £120				£ 261 140 120		
						•	521	
			ENERAL D	ivision.				
1	1 at 4	£205		•••	•••		205	1

^{*} For particulars of salaries see "Public Service Classification List."
Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF JUSTICE—continued.

Number of Persons.	Item.	VOTE No. 15.—DEPARTMENT OF JUSTICE— continued.	1928-	·2 9.
1928-29.		Subdivision No. I.—Justice—Head Office—continued.	£	£
	1	SALARIES—continued.	*	ž.
		Non-permanents.		
		1 at £215 215 1 at £169 169		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
			540	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Cost copying inquest proceedings £25		
		Total—Subdivision No. I		4,00
		Subdivision No II.—Patent Office.		
	2	SALARIES-		
		CLERICAL DIVISION.		
1		Class Special— 1 at £665	CCE	
_		Class IV—	665	
1		1 at £425	425	
		Class VII— £ 1 at £295 295		
		1 at £295 (6 months), £275 (6 months) 285	1	
		1 at £275 (3 months), £250 (9 months) 256		
		1 at £190 (11 months), £155 (1 month) 187 1 at £155 (3 months), £135 (9 months) 140		
		1 at £135 (3 months), £125 (9 months) 128		
<i>e</i> .		1 at £135 (2 months), £115 (10 months) 119		
8		1 at £125 (2 months), £120 (10 months) 121	1 501	
		GENERAL DIVISION.	1,531	
		1 at £320 320		
3		1 at £295 295 1 at £185 185		
อ		1 at £185 185	800	
		Non-permanents.		
		1 at £169 169		
3		1 at £130 130 1 at £78 78		
		1 00 010	377	
16			0.700	
		OTHER CHARGES FOR AND INCIDENTAL TO-	3,798	
	3	Advertising, photographs, books, newspapers, and	ļ.	
		other publications	30	
	4	Expenses re International Copyrights Conference, Rome	338	
	5	Fuel, light, power, and water	80	
	6	Office fittings and requisites	25	
	7	Postage, telegrams, rent of boxes, and telephones	100	
İ	8	Printing and stationery Typewriters and office appliances—	1,500	
	9	Purchase of	17	
	10	Maintenance of	10	
	11	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	30	
!		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
		Sale of Journals, Acts, &c £100		
			2,130	
		Total—Subdivision No. II	-,100	5,928

DEPARTMENT OF JUSTICE —continued.

Number (Persons	Item.		1928-	-29.
	-	VOTE No. 15.—DEPARTMENT OF JUSTICE—		
928–29.		continued.	£	£
		Subdivision No. III.—Bankruptcy.	~	~
	12	Salaries—		
		CLERICAL DIVISION.		
		1 at £565 565		
	1	1 at £70 (also £495 as Clerk of Court) 70		
3	İ	1 at £50 (also £565 as Registrar, Supreme Court) 50	205	
		Class II—	685	
2		2 at £515	1,030	
	1	Class III—	_,	
		1 at £470 (4 months), £445 (8 months) 452		
		1 at £45 (also £470 as Clerk of Court) 45 2 at £45 (also £425 as Clerk of Court) 90		
5		2 at £45 (also £425 as Clerk of Court) 90 1 at £20 (also £450 as Clerk of Court) 20		
Ť		Class VI—	607	
		3 at £335 1,005		
5		1 at £45 (also £335 as Clerk of Court) 45 1 at £20 (also £335 as Clerk of Court) 20		
θ		1 at £20 (also £335 as Clerk of Court) 20 Class VII—	1,070	
		1 at £295 295	2,0,0	
		1 at £250 250		
		1 at £230 (11 months), £210 (1 month) 229		
		1 at £210 (5 months), £190 (7 months) 1 at £190 (11 months), £155 (1 month)		
		2 at £120 240	į	
9		2 at £115 (7 months) 134		
			1,534	
		Non-permanents. 1 at £260 260	•	
		1 at £156 156		
		1 at £130 130		
_		1 at £104 104		
5		1 at £91 91	::. 741	
29		**	141	
	.		5,667	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	13	Advertising, photographs, books, newspapers, and	900	
	14	other publications	300 60	
	**	office equipment and maintenance	50	
	15	Law-costs	225	
	16	Office fittings, furniture and requisites	350	
	$\begin{bmatrix} 17 \\ 18 \end{bmatrix}$	Postage, telegrams, and rent of boxes and telephones Printing and stationery	300 4,000	
	19	Remuneration to Deputy Assignees	35	
	20	Renewal of fidelity-guarantee premiums (recoverable)	520	
	21	Rents	50	
	22 23	Transfer and removal expenses Treasury Department for services of officers	50 100	
	24	Travelling allowances and expenses	100	
		Typewriters—		
	25	Purchase of	30	
	26 27	Repairs	10	
	41	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	15	
			*	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of		
		vote)—	i	
		Fidelity-guarantee premiums 35		
	1 1			
			6,095	

${\bf DEPARTMENT\ OF\ JUSTICE-} continued.$

Number of Persons.	Item.	VOTE No. 15.—DEPARTMENT OF JUSTICE— continued.	1928-	1928–29.	
1928-29.	İ	Subdivision No. IV.—Coroners.	£		
			~		
	28	CHARGES FOR AND INCIDENTAL TO— Fees and expenses on inquests	. 3,000		
	29	Jurors, payment of	200		
	30	Witnesses, expenses of	400		
		Total—Subdivision No. IV		3,700	
		·			
		Subdivision No. V.—Supreme Court.			
3		Salaries—			
		CLERICAL DIVISION.			
		Class Special— £	Tacharia.		
3		$egin{array}{cccccccccccccccccccccccccccccccccccc$			
3		2 at £665 1,330	$\begin{bmatrix} 2,045 \end{bmatrix}$		
1		1 at £565 (also £50 as Official Assignee) Class III—	ECE		
1		1 at £470 \dots	. 470		
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$. 425		
3		3 at £380	. 1,140		
4		4 at £335	. 1,340		
		2 at £295 590			
		1 at £250 (1 month), £230 (11 months) 232			
		1 at £210 (6 months), £190 (6 months) 1 at £210 (1 month), £190 (11 months)			
		1 at £190 (4 months), £155 (8 months)			
		1 at £135 (10 months), £115 (2 months) 132	3		
0		1 at £135 (2 months), £115 (10 months) 118			
9		1 at £120 (2 months), £115 (10 months)			
		GENERAL DIVISION.	_ 1,747	·	
		1 at £295 295	5		
4		3 at £270 810			
		TT	- 1,105		
		Unclassified. 1 Deposition Typist at £225 223			
10		9 Clerks to Judges at £200 1,800			
	-		2,025		
36		Allowances under Public Service Regulation 24A	. 40		
			10,902		
		OTHER CHARGES FOR AND INCIDENTAL TO-			
	32	Commuted allowance for typing notes of evidence—			
		9 Clerks to Judges, at £100	. 900		
	33	Travelling allowances and expenses of Judges and			
	34	Clerks Other expenses of Circuit Courts and Court o	4,000		
	01	Appeal	900		
		Estimated credits-in-aid under Section 51 o			
	<u> </u>	the Public Revenues Act, 1926 (see end			
		of vote)— \pounds Miscellaneous 20			
		Miscellaneous 20	'		
			5,100		
		Total—Subdivision No. V	.	16,002	

DEPARTMENT OF JUSTICE—continued.

Number of Persons 1928-29.			DEFAILMENT OF JOSTICH—com	mueu.		
Subdivision No. VI.—Magistrates' and Wardens' Courts. E			VOTE No. 15.—DEPARTMENT OF JUSTICE—		1928–29.	
Class I	1928-29.		Subdivision No. VI.—Magistrates' and Wa	rdens'	£	£
Class I		35	SALARIES-			
1 at 2615 1 at 2495 (also £70 as Official Assignee) 3 at £315 1,110 1,545			1	e		
1 at £495 (also £70 as Official Assignee)					Ì	
3 at \$616 Class III	2					
Class III		ļ				
6 at £470 1 at £450 (also £20 as Official Assignee) 2 at £425 (also £45 as Official Assignee) 850 Class IV— 3 at £425 1 at £425 1 at £425 (amonths), £400 (8 months) 1 at £425 (2 months), £400 (10 months) 404 Class V— 32 at £335 1 at £380 Class III months), £320 (1 month) 334 1 at £335 (10 months), £320 (1 month) 335 1 at £335 (10 months), £320 (2 months) 336 1 at £335 (10 months), £320 (3 months) 337 1 at £335 (6 months), £320 (6 months) 338 1 at £335 (10 months), £320 (6 months) 339 37 2 at £295 3 at £275 3 at £275 (1 months), £275 (1 month) 2 at £295 (1 months), £275 (1 month) 2 at £275 (1 months), £250 (1 months) 3 at £275 (3 at £275 (1 months), £250 (1 months) 3 at £275 (6 months), £250 (1 months) 3 at £275 (1 months), £250 (1 months) 3 at £275 (1 months), £250 (1 months) 3 at £275 (1 months), £250 (1 months) 4 at £230 3 at £275 (1 months), £250 (1 months) 4 at £230 (2 months), £250 (1 months) 4 at £230 (2 months), £250 (1 months) 4 at £275 (2 months), £250 (1 months) 4 at £275 (2 months), £250 (1 months) 4 at £275 (2 months), £250 (1 months) 4 at £275 (2 months), £250 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (2 months) 4 at £275 (2 months), £275 (2 months) 4 at £275 (2 months), £275 (2 months) 4 at £275 (2 months), £275 (2 months) 4 at £275 (2 months), £275 (2 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 months) 4 at £275 (2 months), £275 (1 mon	3			• • •	1,040	
9 2 at \$425 (also £45 as Official Assignee) 850 (Class YV— 3 at \$425 (a months), £400 (8 months) 404 (2 months) 1 at £425 (2 months), £400 (10 months) 404 (2 months) 1 at £425 (2 months), £400 (10 months) 404 (2 months) 2 months) 2 months 334 (3 months) 1 at £335 (11 months), £320 (1 month) 334 (3 months) 1 at £335 (10 months), £320 (3 months) 333 (3 months) 1 at £335 (6 months), £320 (6 months) 329 (2 months) 331 (3 months) 2 months) 2 months 332 (2 months) 332 (2 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 332 (3 months) 2 months 329 (3 months)			6 at £470	2,820		
Class IV						
3 at \$4425 (4 months), £400 (8 months) 1 at \$4425 (2 months), £400 (10 months) 404 Class VI— 32 at £335 11 at £3380 Class VII 32 at £335 (11 months), £320 (1 month) 334 1 at £335 (10 months), £320 (3 months) 333 1 at £335 (10 months), £320 (3 months) 333 1 at £335 (10 months), £320 (6 months) 331 3 at £335 (9 months), £320 (6 months) 329 37 20 at £335 (10 months), £320 (6 months) 329 331 34 £335 (6 months), £320 (6 months) 329 34 £335 (8 months), £320 (6 months) 329 34 £335 (11 months), £320 (1 month) 329 34 £3295 34 £275 (1 month), £275 (1 month) 320 34 £275 (1 month), £250 (1 month) 321 34 £275 (1 month), £250 (1 months) 328 32 £275 (1 month), £250 (1 months) 320 34 £275 (1 month), £250 (1 months) 320 34 £275 (1 month), £250 (1 months) 320 34 £275 (1 month), £250 (1 months) 320 34 £230 (8 months), £210 (4 months) 34 £230 (8 months), £210 (4 months) 35 £250 (1 month), £250 (1 months) 36 £250 (1 month), £250 (1 months) 37 38 £210 (1 month), £210 (8 months) 38 £210 (9 months), £210 (8 months) 390 30 £210 (10 months), £210 (8 months) 301 301 301 301 301 301 301 301 301 301	9			890	4.120	
5 1 at £435 (2 months), £400 (10 months) 404 21,088 VI			3 at £425	1,275	1,120	
Class V =	_		1 at £425 (4 months), £400 (8 months)			
11 at £380	5			404	2.088	
Class VI	11					
1 at £335 (11 months), £320 (2 months) 1 at £335 (3 months), £320 (3 months) 1 at £335 (9 months), £320 (6 months) 331 1 at £335 (6 months), £320 (6 months) 328 1 at £335 (6 months), £320 (6 months) 288 Class VII— 9 at £295 1 at £295 (11 months), £375 (1 month) 294 1 at £295 (11 months), £275 (4 months) 289 1 at £275 (1 months), £275 (1 month) 294 2 at £275 (7 months), £250 (1 month) 31 at £275 (6 months), £250 (6 months) 326 2 at £275 (1 month), £250 (1 month) 3 at £275 (1 month), £250 (1 months) 4 at £275 (6 months), £250 (6 months) 5 at £250 (6 months), £230 (6 months) 5 at £250 (6 months), £230 (6 months) 3 at £250 (1 month), £230 (1 months) 4 at £230 (8 months), £230 (6 months) 5 at £250 (6 months), £230 (6 months) 294 3 at £230 (8 months), £210 (7 months) 6 45 3 at £230 (4 months), £210 (8 months) 217 21 at £230 (4 months), £210 (8 months) 217 21 at £210 (10 months), £190 (2 months) 621 21 at £210 (10 months), £190 (2 months) 621 21 at £210 (6 months), £190 (8 months) 200 21 at £210 (6 months), £190 (8 months) 214 215 at £210 (10 months), £190 (8 months) 216 at £210 (8 months), £190 (8 months) 217 218 at £210 (3 months), £190 (9 months) 219 210 210 210 210 210 210 210 210 210 210			Class VI—		-	
1 at £335 (10 months), £320 (3 months) 1 at £335 (9 months), £320 (5 months) 232 1 at £335 (6 months), £320 (6 months) 232 2						
1 at £335 (9 months), £320 (8 months) 1 at £335 (7 months), £320 (6 months) 238 Class VII— 9 at £395 1 at £295 (11 months), £275 (1 month) 289 1 at £295 (8 months), £275 (1 month) 294 1 at £295 (8 months), £275 (1 month) 295 2 at £275 (7 months), £275 (1 month) 296 2 at £275 (7 months), £250 (1 month) 297 3 at £275 (6 months), £250 (6 months) 3 at £275 (1 month), £250 (1 month) 290 2 at £275 (1 month), £250 (1 month) 3 at £275 (1 month), £250 (1 months) 3 at £275 (1 month), £250 (1 months) 3 at £275 (1 month), £250 (1 months) 4 at £275 (6 months), £250 (1 months) 3 at £250 (6 months), £230 (6 months) 4 at £250 (6 months), £230 (1 months) 4 at £250 (1 month), £230 (11 months) 3 at £250 (1 month), £230 (11 months) 4 at £230 (3 months), £210 (7 months) 4 at £230 (3 months), £210 (7 months) 4 at £210 (10 months), £190 (2 months) 4 at £210 (10 months), £190 (2 months) 4 at £210 (10 months), £190 (6 months) 4 at £210 (6 months), £190 (6 months) 4 at £210 (3 months), £190 (9 months) 5 at £210 (10 months), £190 (9 months) 5 at £210 (10 months), £190 (9 months) 5 at £210 (10 months), £195 (1 months) 5 at £190 (11 months), £155 (2 months) 5 at £190 (11 months), £155 (2 months) 5 at £155 (1 months), £155 (1 months) 5 at £155 (1 months), £155 (1 months) 5 at £155 (1 months), £155 (1 months) 5 at £155 (1 months), £155 (1 months) 5 at £155 (1 months), £155 (1 months) 5 at £155 (1 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (3 months), £155 (1 months) 5 at £155 (1 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £155 (1 months) 5 at £155 (2 months), £			1 at £335 (11 months), £320 (1 months)			
1 at £335 (6 months), £320 (6 months) 238 12,375 9 at £295 1 at £295 (11 months), £275 (1 month) 294 1 at £295 (8 months), £275 (1 month) 295 1 at £275 (1 months), £250 (1 month) 819 2 at £275 (7 months), £250 (1 months) 530 1 at £275 (1 months), £250 (6 months) 530 1 at £275 (1 month), £250 (1 months) 505 1 at £275 (1 month), £250 (1 months) 505 1 at £275 (1 month), £250 (1 months) 505 1 at £250 (6 months), £230 (6 months) 240 3 at £275 (1 month), £230 (11 months) 695 1 at £230 (1 months), £210 (4 months) 234 3 at £230 (5 months), £210 (7 months) 657 1 at £230 (4 months), £210 (8 months) 217 1 at £210 (7 months), £190 (2 months) 621 1 at £210 (7 months), £190 (2 months) 621 1 at £210 (5 months), £190 (6 months) 200 1 at £210 (5 months), £190 (6 months) 200 1 at £210 (3 months), £190 (8 months) 198 1 at £210 (3 months), £190 (8 months) 197 1 at £210 (3 months), £155 (1 month) 187 1 at £190 (11 months), £155 (1 month) 187 1 at £190 (10 months), £155 (10 months) 188 1 at £190 (10 months), £155 (10 months) 164 1 at £155 (8 months), £135 (1 months) 168 1 at £155 (1 months), £135 (1 months) 168 1 at £155 (1 months), £135 (1 months) 168 1 at £155 (1 months), £135 (1 months) 168 1 at £155 (1 months), £135 (1 months) 168 1 at £155 (1 months), £135 (1 months) 288 2 at £155 (2 months), £135 (1 months) 277 2 at £155 (1 months), £135 (1 months) 277 2 at £155 (1 months), £135 (1 months) 277 2 at £155 (1 months), £135 (1 months) 278 2 at £135 (1 months), £135 (1 months) 127 1 at £135 (2 months), £135 (1 months) 128 1 at £135 (2 months), £135 (1 months) 288 1 at £135 (2 months), £135 (1 months) 127 1 at £135 (2 months), £135 (1 months) 128 1 at £135 (2 months), £135 (1 months) 128 1 at £135 (2 months), £135 (1 months) 128			1 at £335 (9 months), £320 (3 months)	331	!	
12,375 2,655 1 at £295 (11 months), £275 (1 month) 294 1 at £295 (11 months), £275 (4 months) 294 1 at £295 (11 months), £275 (4 months) 289 1 at £275 (11 months), £250 (1 month) 819 2 at £275 (7 months), £250 (5 months) 530 1 at £275 (6 months), £250 (6 months) 530 1 at £275 (6 months), £250 (6 months) 505 1 at £250 (1 month), £250 (11 months) 505 1 at £250 (1 month), £230 (1 months) 695 1 at £230 (8 months), £210 (4 months) 224 3 at £230 (8 months), £210 (4 months) 224 3 at £230 (4 months), £210 (8 months) 217 1 at £210 (10 months), £190 (2 months) 621 1 at £210 (6 months), £190 (6 months) 202 1 at £210 (6 months), £190 (6 months) 200 1 at £210 (6 months), £190 (7 months) 197 1 at £210 (3 months), £190 (8 months) 197 1 at £210 (3 months), £190 (9 months) 197 1 at £210 (3 months), £155 (1 month) 187 1 at £190 (11 months), £155 (2 months) 184 1 at £190 (9 months), £155 (2 months) 184 1 at £190 (9 months), £155 (1 month) 187 1 at £190 (1 months), £155 (1 months) 184 1 at £190 (1 months), £155 (1 months) 164 1 at £195 (1 months), £155 (1 months) 164 1 at £195 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 165 1 at £155 (1 months), £155 (1 months) 177 2 at £155 (1 months), £135 (1 months) 288 2 at £155 (1 months), £135 (1 months) 288 2 at £155 (1 months), £135 (1 months) 288 2 at £155 (1 months), £135 (1 months) 288 2 at £155 (1 months), £135 (1 months) 127 2 at £155 (1 months), £135 (1 months) 127 2 at £155 (1 months), £125 (1 months) 127 2 at £155 (1 months), £125 (1 months) 128 12	97					
9 at £295 1 at £295 (11 months), £275 (1 month) 2 at £295 (8 months), £275 (4 months) 2 at £275 (11 months), £250 (1 months) 2 at £275 (11 months), £250 (1 months) 3 at £275 (7 months), £250 (5 months) 5 at £275 (7 months), £250 (6 months) 4 at £275 (6 months), £250 (6 months) 5 at £275 (1 month), £250 (11 months) 5 at £275 (1 month), £250 (11 months) 5 at £250 (6 months), £230 (6 months) 3 at £250 (6 months), £230 (6 months) 4 at £230 (months), £230 (11 months) 5 at £230 (months), £210 (4 months) 5 at £230 (8 months), £210 (4 months) 5 at £230 (8 months), £210 (7 months) 5 at £230 (8 months), £210 (8 months) 5 at £210 (10 months), £190 (9 months) 5 at £210 (10 months), £190 (9 months) 6 at £210 (6 months), £190 (9 months) 6 at £210 (6 months), £190 (7 months) 6 at £210 (6 months), £190 (7 months) 6 at £210 (11 months), £190 (8 months) 7 at £210 (11 months), £190 (9 months) 7 at £210 (3 months), £195 (1 month) 7 at £190 (10 months), £195 (2 months) 7 at £190 (10 months), £155 (2 months) 7 at £190 (2 months), £155 (2 months) 7 at £190 (2 months), £155 (3 months) 7 at £190 (2 months), £155 (10 months) 7 at £190 (2 months), £155 (10 months) 7 at £195 (3 months), £135 (1 month) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £155 (1 months), £135 (1 months) 7 at £135 (2 months), £135 (1 months) 7 at £135 (2 months), £135 (1 months) 7 at £135 (2 months), £135 (1 months) 7 at £135 (2 months), £135 (1 months) 7 at £135 (2 months), £135 (1 months) 7 at £135 (2 months), £135 (1 months) 7 at £135 (2 months), £135 (1 months) 7 at £135 (2 mont	31				12,375	
1 at £295 (8 months), £275 (4 months) 289 1 at £275 3 at £275 (11 months), £250 (1 month) 2 at £275 (7 months), £250 (6 months) 4 at £275 (6 months), £250 (6 months) 530 1 at £275 (6 months), £250 (1 months) 505 1 at £275 (1 month), £250 (11 months) 505 1 at £250 (6 months), £230 (6 months) 240 3 at £250 (1 month), £230 (11 months) 505 1 at £230 (1 month), £230 (11 months) 695 1 at £230 (8 months), £210 (4 months) 224 3 at £230 (8 months), £210 (7 months) 657 1 at £230 (4 months), £210 (8 months) 1 at £210 (10 months), £190 (2 months) 621 1 at £210 (10 months), £190 (5 months) 202 1 at £210 (6 months), £190 (6 months) 1 at £210 (6 months), £190 (8 months) 1 at £210 (3 months), £190 (8 months) 1 at £210 (10 months), £190 (9 months) 1 at £210 (10 months), £195 (1 month) 1 at £100 (1 months), £195 (1 month) 1 at £190 (10 months), £155 (1 month) 1 at £190 (10 months), £155 (1 month) 1 at £190 (10 months), £155 (1 month) 1 at £190 (2 months), £155 (1 month) 1 at £190 (3 months), £155 (9 months) 1 at £155 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £135 (1 months) 3 at			9 at £295		,	
1 at £275 (11 months), £250 (1 month) 819 2 at £275 (7 months), £250 (5 months) 530 1 at £275 (6 months), £250 (6 months) 263 2 at £275 (1 month), £250 (11 months) 505 1 at £250 (6 months), £230 (6 months) 240 3 at £250 (6 months), £230 (6 months) 240 3 at £250 (1 month), £230 (11 months) 695 1 at £230 (8 months), £210 (4 months) 224 3 at £230 (8 months), £210 (4 months) 224 3 at £230 (5 months), £210 (8 months) 217 1 at £210 (2 months), £210 (8 months) 217 1 at £210 (3 months), £210 (2 months) 621 1 at £210 (7 months), £190 (5 months) 202 1 at £210 (6 months), £190 (6 months) 200 1 at £210 (6 months), £190 (7 months) 200 1 at £210 (3 months), £190 (8 months) 197 1 at £210 (1 months), £190 (8 months) 198 1 at £190 (10 months), £155 (1 month) 187 1 at £190 (10 months), £155 (2 months) 184 1 at £190 (9 months), £155 (3 months) 184 1 at £190 (9 months), £155 (10 months) 184 1 at £190 (2 months), £155 (10 months) 164 1 at £190 (2 months), £155 (1 months) 164 1 at £155 (8 months), £135 (1 months) 158 1 at £155 (1 month), £155 (1 months) 158 2 at £155 (3 months), £135 (4 months) 148 1 at £155 (8 months), £135 (5 months) 147 2 at £155 (5 months), £135 (1 months) 288 2 at £155 (3 months), £135 (1 months) 289 2 at £155 (3 months), £135 (1 months) 277 2 at £155 (1 month), £135 (10 months) 277 2 at £155 (1 month), £135 (10 months) 277 2 at £155 (1 months), £135 (1 months) 274 1 at £135 (2 months), £125 (1 months) 131 1 at £135 (2 months), £125 (1 months) 127 1 at £135 (1 months), £125 (1 months) 127 1 at £135 (2 months), £125 (1 months) 127 1 at £135 (2 months), £125 (1 months) 127 1 at £135 (2 months), £125 (1 months) 127 1 at £135 (2 months), £125 (1 months) 127 1 at £135 (8 months), £125 (1 months) 128					!	
3 at £275 (11 months), £250 (1 months) 2 at £275 (7 months), £250 (6 months) 1 at £275 (6 months), £250 (6 months) 2 at £2375 (1 month), £250 (11 months) 3 at £250 (1 month), £250 (11 months) 3 at £250 (1 month), £230 (11 months) 4 at £250 (6 months), £230 (10 months) 4 at £230 (1 month), £230 (11 months) 6 65 1 at £230 (2 months), £210 (4 months) 2 24 3 at £230 (8 months), £210 (7 months) 6 667 1 at £230 (3 months), £210 (8 months) 2 17 1 at £230 (4 months), £210 (8 months) 2 17 2 18 2 19 2 19 2 19 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2					!	
1 at £275 (6 months), £250 (6 months) 2 at £275 (1 month), £250 (11 months) 3 at £250 (1 month), £230 (6 months) 3 at £250 (1 month), £230 (11 months) 4 at £230 3 at £230 (1 months), £210 (4 months) 4 at £230 (2 months), £210 (7 months) 5 at £230 (3 months), £210 (7 months) 5 at £230 (4 months), £210 (8 months) 5 at £230 (4 months), £210 (8 months) 5 at £210 (10 months), £190 (2 months) 6 at £210 (10 months), £190 (2 months) 6 at £210 (6 months), £190 (5 months) 6 at £210 (6 months), £190 (6 months) 1 at £210 (6 months), £190 (7 months) 1 at £210 (3 months), £190 (8 months) 1 at £210 (3 months), £190 (9 months) 1 at £210 (3 months), £190 (9 months) 1 at £210 (10 months), £155 (1 month) 1 at £190 (10 months), £155 (3 months) 1 at £190 (3 months), £155 (3 months) 1 at £190 (3 months), £155 (1 months) 1 at £190 (1 months), £155 (1 months) 1 at £190 (1 months), £155 (1 months) 1 at £190 (1 months), £155 (1 months) 1 at £190 (2 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £155 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 2 at £155 (3 months), £135 (7 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 4 at £135 (3 months)			3 at £275 (11 months), £250 (1 month)	819		
2 at £275 (1 month), £250 (11 months) 1 at £250 (6 months), £230 (6 months) 240 3 at £250 (1 month), £230 (11 months) 1 at £230 1 at £230 (8 months), £210 (4 months) 224 3 at £230 (8 months), £210 (7 months) 224 3 at £230 (5 months), £210 (7 months) 1 at £210 217 1 at £210 210 3 at £210 (10 months), £190 (2 months) 1 at £210 (7 months), £190 (5 months) 202 1 at £210 (6 months), £190 (6 months) 203 1 at £210 (6 months), £190 (7 months) 204 1 at £210 (6 months), £190 (7 months) 205 1 at £210 (3 months), £190 (8 months) 207 1 at £210 (3 months), £190 (9 months) 208 1 at £210 (3 months), £190 (9 months) 209 1 at £210 (3 months), £190 (8 months) 200 1 at £210 (3 months), £190 (9 months) 201 201 201 201 201 201 201 201 201 201						
1 at £250 (6 months), £230 (1 months) 3 at £250 (1 month), £230 (11 months) 695 1 at £230 1 at £230 (8 months), £210 (4 months) 224 3 at £230 (8 months), £210 (7 months) 657 1 at £230 (4 months), £210 (8 months) 217 1 at £210 3 at £210 (10 months), £190 (2 months) 621 1 at £210 (7 months), £190 (5 months) 202 1 at £210 (6 months), £190 (8 months) 200 1 at £210 (6 months), £190 (8 months) 1 at £210 (6 months), £190 (8 months) 1 at £210 (6 months), £190 (8 months) 1 at £210 (3 months), £190 (8 months) 1 at £210 (10 months), £190 (9 months) 1 at £210 (10 months), £195 (10 months) 1 at £190 (10 months), £155 (10 months) 1 at £190 (10 months), £155 (9 months) 1 at £190 (2 months), £155 (10 months) 1 at £190 (1 months), £155 (10 months) 1 at £195 (1 months) 1 at £195 (1 months) 1 at £155 (1 months) 1 at £155 (1 months) 1 at £155 (1 months) 1 at £155 (1 months) 1 at £155 (1 months) 1 at £155 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £125 (5 months) 3 at £135 (1 months), £125 (5 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £135 (10 months) 3 at £135 (2 months), £135 (10 months) 4 at £135 (8 months), £135 (10 months) 4 at £135 (8 months), £135 (10 months) 4 at £135 (8 months), £135 (10 months) 5 at £135 (10 months), £135 (10 months) 5 at £135 (10 months), £135					1 0 0 0 0	
1 at £230 (8 months), £210 (4 months) 224 3 at £230 (5 months), £210 (7 months) 657 1 at £230 (4 months), £210 (8 months) 217 1 at £210 210 3 at £210 (10 months), £190 (2 months) 621 1 at £210 (6 months), £190 (6 months) 202 1 at £210 (5 months), £190 (7 months) 198 1 at £210 (5 months), £190 (7 months) 198 1 at £210 (3 months), £190 (8 months) 197 1 at £210 (3 months), £190 (8 months) 195 1 at £210 (10 months), £190 (9 months) 195 1 at £190 (11 months), £155 (1 month) 187 1 at £190 (10 months), £155 (2 months) 184 1 at £190 (3 months), £155 (9 months) 164 1 at £190 (3 months), £155 (10 months) 164 1 at £190 (1 months), £155 (10 months) 165 1 at £155 (11 months), £155 (11 months) 164 1 at £190 (1 months), £155 (10 months) 164 1 at £155 (11 months), £155 (10 months) 164 1 at £155 (15 months), £135 (1 months) 158 2 at £155 (15 months), £135 (1 months) 148 1 at £155 (17 months), £135 (1 months) 148 1 at £155 (1 months), £135 (1 months) 148 1 at £155 (7 months), £135 (1 months) 147 2 at £155 (2 months), £135 (1 months) 288 2 at £155 (2 months), £135 (1 months) 288 2 at £155 (2 months), £135 (1 months) 277 2 at £155 (1 months), £135 (1 months) 277 2 at £155 (1 months), £135 (1 months) 277 2 at £155 (1 months), £135 (1 months) 277 1 at £135 (1 months), £125 (1 months) 127 1 at £135 (8 months), £125 (1 months) 127 1 at £135 (8 months), £125 (1 months) 127 1 at £135 (8 months), £125 (1 months) 128			1 at £250 (6 months), £230 (6 months)	240		
1 at £230 (8 months), £210 (4 months) 3 at £230 (5 months), £210 (7 months) 1 at £230 (4 months), £210 (8 months) 217 1 at £210 3 at £210 (10 months), £190 (2 months) 621 1 at £210 (7 months), £190 (5 months) 202 1 at £210 (6 months), £190 (6 months) 200 1 at £210 (6 months), £190 (7 months) 1 at £210 (3 months), £190 (7 months) 1 at £210 (3 months), £190 (9 months) 1 at £210 (10 months), £190 (9 months) 1 at £190 (11 months), £155 (1 month) 1 at £190 (10 months), £155 (2 months) 1 at £190 (3 months), £155 (9 months) 1 at £190 (10 months), £155 (10 months) 1 at £190 (10 months), £155 (10 months) 1 at £190 (1 month), £155 (11 months) 1 at £155 (11 months), £135 (1 months) 1 at £155 (17 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 1 at £155 (1 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (2 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (1 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £135 (1 months), £135 (10 months) 2 at £135 (1 months), £135 (10 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months) 3 at £135 (1 months), £125 (1 months)						
3 at £230 (5 months), £210 (7 months) 1 at £230 (4 months), £210 (8 months) 217 1 at £210 3 at £210 (10 months), £190 (2 months) 621 1 at £210 (7 months), £190 (5 months) 202 1 at £210 (6 months), £190 (6 months) 200 1 at £210 (6 months), £190 (7 months) 198 1 at £210 (4 months), £190 (8 months) 197 1 at £210 (3 months), £190 (9 months) 197 1 at £210 (3 months), £190 (9 months) 1 at £190 (11 months), £155 (10 months) 187 1 at £190 (10 months), £155 (2 months) 184 1 at £190 (3 months), £155 (9 months) 184 1 at £190 (3 months), £155 (10 months) 164 1 at £190 (2 months), £155 (10 months) 165 1 at £155 1 months), £155 (11 months) 158 1 at £155 (11 months), £155 (10 months) 147 2 at £155 (8 months), £135 (1 month) 154 1 at £155 (8 months), £135 (7 months) 147 2 at £155 (3 months), £135 (7 months) 288 2 at £155 (3 months), £135 (10 months) 277 2 at £155 (1 months), £135 (10 months) 274 1 at £135 2 at £135 (1 months), £135 (1 month) 268 1 at £135 (1 months), £135 (1 month) 274 1 at £135 (2 months), £125 (5 months) 131 1 at £135 (8 months), £125 (1 months) 127 1 at £135 (8 months), £125 (1 months) 127						
1 at £210 3 at £210 (10 months), £190 (2 months) 621 1 at £210 (7 months), £190 (5 months) 202 1 at £210 (6 months), £190 (6 months) 200 1 at £210 (5 months), £190 (7 months) 1 at £210 (4 months), £190 (8 months) 1 at £210 (3 months), £190 (9 months) 1 at £190 (11 months), £155 (1 month) 1 at £190 (10 months), £155 (2 months) 1 at £190 (9 months), £155 (2 months) 1 at £190 (9 months), £155 (10 months) 1 at £190 (10 months), £155 (10 months) 1 at £190 (10 months), £155 (10 months) 1 at £190 (10 months), £155 (10 months) 1 at £150 (11 months), £155 (11 months) 1 at £155 (11 months), £155 (11 months) 1 at £155 (11 months), £135 (1 month) 1 at £155 (8 months), £135 (1 months) 1 at £155 (8 months), £135 (7 months) 2 at £155 (3 months), £135 (7 months) 2 at £155 (3 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £135 (10 months), £135 (10 months) 2 at £135 (10 months), £135 (10 months) 2 at £135 (10 months), £135 (10 months) 2 at £135 (10 months), £135 (10 months) 2 at £135 (10 months), £135 (10 months) 2 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 3 at £135 (10 months), £135 (10 months) 4 at £135 (10 months), £135 (10 months) 5 at £135 (10 months), £135 (10 months) 5 at £135 (10 months), £135 (10 months) 5 at £135 (10 months), £135 (10 months) 5 at £135 (10 months), £135 (10 months) 5 at £135 (10 months), £135 (10 months)			3 at £230 (5 months), £210 (7 months)	657		
3 at £210 (10 months), £190 (2 months) 1 at £210 (7 months), £190 (5 months) 202 1 at £210 (6 months), £190 (6 months) 200 1 at £210 (5 months), £190 (7 months) 1 at £210 (4 months), £190 (8 months) 1 at £210 (3 months), £190 (9 months) 1 at £190 (11 months), £155 (1 month) 1 at £190 (10 months), £155 (2 months) 1 at £190 (9 months), £155 (3 months) 1 at £190 (9 months), £155 (3 months) 1 at £190 (9 months), £155 (9 months) 1 at £190 (2 months), £155 (10 months) 1 at £190 (1 month), £155 (11 months) 1 at £155 1 at £155 (11 months), £135 (1 months) 1 at £155 (17 months), £135 (1 months) 1 at £155 (8 months), £135 (1 months) 1 at £155 (7 months), £135 (7 months) 2 at £155 (5 months), £135 (7 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (10 months) 2 at £135 (2 months), £135 (10 months) 2 at £135 (2 months), £125 (1 months) 3 at £135 (2 months), £125 (5 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 4 at £135 (2 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months) 5 at £135 (10 months), £125 (10 months)						
1 at £210 (7 months), £190 (5 months) 200 1 at £210 (6 months), £190 (6 months) 200 1 at £210 (5 months), £190 (7 months) 198 1 at £210 (4 months), £190 (8 months) 197 1 at £210 (3 months), £190 (9 months) 195 1 at £190 (11 months), £155 (1 month) 187 1 at £190 (10 months), £155 (2 months) 184 1 at £190 (9 months), £155 (3 months) 182 1 at £190 (3 months), £155 (9 months) 164 1 at £190 (2 months), £155 (10 months) 161 1 at £190 (1 month), £155 (11 months) 158 1 at £155 155 1 at £155 (11 month), £135 (1 month) 154 1 at £155 (8 months), £135 (4 months) 148 1 at £155 (7 months), £135 (7 months) 147 2 at £155 (5 months), £135 (9 months) 288 2 at £155 (3 months), £135 (9 months) 280 2 at £155 (5 months), £135 (10 months) 277 2 at £155 (1 month), £135 (11 months) 274 1 at £135 (11 months), £135 (11 months) 274 1 at £135 (11 months), £125 (1 months) 268 1 at £135 (1 months), £125 (1 months) 131 1 at £135 (2 months), £125 (10 months) 127 1 at £135 (2 months), £125 (10 months) 127						
1 at £210 (5 months), £190 (7 months) 1 at £210 (4 months), £190 (8 months) 1 at £210 (3 months), £190 (9 months) 1 at £210 (11 months), £155 (1 month) 1 at £190 (10 months), £155 (2 months) 1 at £190 (9 months), £155 (3 months) 1 at £190 (9 months), £155 (3 months) 1 at £190 (3 months), £155 (10 months) 1 at £190 (2 months), £155 (10 months) 1 at £190 (2 months), £155 (10 months) 1 at £190 (1 month), £155 (11 months) 1 at £155 1 at £155 (11 months), £135 (1 months) 1 at £155 (8 months), £135 (4 months) 1 at £155 (7 months), £135 (5 months) 1 at £155 (5 months), £135 (7 months) 2 at £155 (3 months), £135 (9 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (1 month), £135 (11 months) 2 at £155 (1 month), £135 (11 months) 2 at £155 (1 months), £135 (1 months) 2 at £155 (1 months), £135 (1 months) 2 at £135 (1 months), £135 (1 months) 2 at £135 (1 months), £125 (1 months) 2 at £135 (1 months), £125 (1 months) 2 at £135 (2 months), £125 (1 months) 2 at £135 (2 months), £125 (1 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months)				202		
1 at £210 (4 months), £190 (8 months) 1 at £210 (3 months), £190 (9 months) 1 at £190 (11 months), £155 (1 month) 1 at £190 (10 months), £155 (2 months) 1 at £190 (9 months), £155 (3 months) 1 at £190 (9 months), £155 (9 months) 1 at £190 (2 months), £155 (10 months) 1 at £190 (1 month), £155 (10 months) 1 at £155 1 at £155 (11 month), £155 (11 months) 1 at £155 (10 months) 1 at £135 (10 months) 1 at £135 (10 months) 1 at £135 (10 months) 1 at £135 (10 months) 1 at £135 (10 months) 1 at £135 (2 months), £125 (10 months) 1 at £135 (2 months), £125 (10 months) 1 at £135 (8 months), £125 (10 months) 1 at £135 (8 months), £115 (4 months) 1 at £135 (8 months), £115 (4 months)						
1 at £210 (3 months), £190 (9 months) 1 at £190 (11 months), £155 (1 month) 1 at £190 (10 months), £155 (2 months) 1 at £190 (9 months), £155 (3 months) 1 at £190 (9 months), £155 (3 months) 1 at £190 (3 months), £155 (3 months) 1 at £190 (2 months), £155 (10 months) 1 at £190 (2 months), £155 (10 months) 1 at £190 (1 month), £155 (11 months) 1 at £155 1 at £155 (11 months), £135 (1 month) 1 at £155 (8 months), £135 (1 month) 1 at £155 (7 months), £135 (7 months) 1 at £155 (5 months), £135 (7 months) 2 at £155 (3 months), £135 (9 months) 2 at £155 (1 months), £135 (10 months) 2 at £155 (1 month), £135 (10 months) 2 at £155 (1 month), £135 (10 months) 2 at £155 (1 months), £135 (10 months) 2 at £135 (11 months), £125 (1 month) 2 at £135 (10 months), £125 (1 month) 2 at £135 (10 months), £125 (1 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 3 at £135 (2 months), £125 (10 months) 3 at £135 (8 months), £125 (10 months) 3 at £135 (8 months), £125 (10 months) 3 at £135 (8 months), £125 (10 months) 3 at £135 (8 months), £125 (10 months)						
1 at £190 (10 months), £155 (2 months) 184 1 at £190 (9 months), £155 (3 months) 182 1 at £190 (3 months), £155 (9 months) 164 1 at £190 (2 months), £155 (10 months) 161 1 at £190 (1 month), £155 (11 months) 158 1 at £155 155 1 at £155 (11 months), £135 (1 month) 154 1 at £155 (8 months), £135 (4 months) 148 1 at £155 (7 months), £135 (5 months) 147 2 at £155 (5 months), £135 (7 months) 2 at £155 (3 months), £135 (9 months) 2 at £155 (1 months), £135 (10 months) 2 at £155 (1 month), £135 (10 months) 2 at £155 (1 month), £135 (10 months) 2 at £155 (1 month), £135 (11 months) 2 at £135 (11 months), £125 (1 month) 2 at £135 (11 months), £125 (1 month) 2 at £135 (2 months), £125 (1 month) 2 at £135 (2 months), £125 (10 months) 2 at £135 (2 months), £125 (10 months) 1 at £135 (2 months), £125 (10 months) 1 at £135 (8 months), £125 (10 months) 1 127 1 at £135 (8 months), £115 (4 months) 1 128			1 at £210 (3 months), £190 (9 months)	195		•
1 at £190 (9 months), £155 (3 months) 182 1 at £190 (3 months), £155 (9 months) 164 1 at £190 (2 months), £155 (10 months) 161 1 at £190 (1 month), £155 (11 months) 158 1 at £155 1 at £155 (11 months), £135 (1 month) 154 1 at £155 (8 months), £135 (4 months) 148 1 at £155 (8 months), £135 (5 months) 147 2 at £155 (5 months), £135 (7 months) 2 at £155 (3 months), £135 (9 months) 2 at £155 (3 months), £135 (10 months) 2 at £155 (1 month), £135 (10 months) 2 at £155 (1 month), £135 (10 months) 2 at £155 (1 month), £135 (11 months) 2 at £135 (11 months), £125 (1 month) 2 at £135 (2 months), £125 (1 month) 2 at £135 (2 months), £125 (10 months) 131 1 at £135 (2 months), £125 (10 months) 127 1 at £135 (8 months), £125 (10 months) 128						
1 at £190 (3 months), £155 (9 months) 164 1 at £190 (2 months), £155 (10 months) 161 1 at £190 (1 month), £155 (11 months) 158 1 at £155 1 at £155 (11 months), £135 (1 month) 154 1 at £155 (8 months), £135 (4 months) 1 at £155 (7 months), £135 (5 months) 1 at £155 (5 months), £135 (7 months) 2 at £155 (3 months), £135 (9 months) 2 at £155 (3 months), £135 (10 months) 2 at £155 (1 month), £135 (10 months) 2 at £155 (1 month), £135 (11 months) 2 at £155 (1 month), £135 (11 months) 2 at £135 (11 months), £125 (1 month) 2 at £135 (2 months), £125 (1 month) 2 at £135 (2 months), £125 (10 months) 131 1 at £135 (2 months), £125 (10 months) 127 1 at £135 (8 months), £115 (4 months) 128						
1 at £190 (1 month), £155 (11 months) 1 at £155 1 at £155 (11 months), £135 (1 month) 1 at £155 (8 months), £135 (1 months) 1 at £155 (8 months), £135 (5 months) 1 at £155 (7 months), £135 (7 months) 2 at £155 (5 months), £135 (7 months) 2 at £155 (3 months), £135 (9 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (1 month), £135 (11 months) 2 at £135 (11 month), £135 (11 months) 2 at £135 (11 months), £125 (1 month) 2 at £135 (11 months), £125 (1 month) 2 at £135 (2 months), £125 (10 months) 1 at £135 (2 months), £125 (10 months) 1 at £135 (8 months), £125 (10 months) 1 at £135 (8 months), £125 (10 months) 1 at £135 (8 months), £125 (10 months) 1 at £135 (8 months), £115 (4 months)			1 at £190 (3 months), £155 (9 months)	164		
1 at £155 155 1 at £155 (11 months), £135 (1 month) 154 1 at £155 (8 months), £135 (4 months) 148 1 at £155 (7 months), £135 (5 months) 147 2 at £155 (5 months), £135 (7 months) 288 2 at £155 (3 months), £135 (9 months) 280 2 at £155 (2 months), £135 (10 months) 277 2 at £155 (1 month), £135 (11 months) 274 1 at £135 135 2 at £135 (11 months), £125 (1 month) 268 1 at £135 (7 months), £125 (5 months) 131 1 at £135 (8 months), £125 (10 months) 127 1 at £135 (8 months), £125 (10 months) 128						
1 at £155 (11 months), £135 (1 month) 154 1 at £155 (8 months), £135 (4 months) 148 1 at £155 (7 months), £135 (5 months) 147 2 at £155 (5 months), £135 (7 months) 288 2 at £155 (3 months), £135 (9 months) 280 2 at £155 (2 months), £135 (10 months) 277 2 at £155 (1 month), £135 (11 months) 274 1 at £135 2 at £135 (11 months), £125 (1 month) 268 1 at £135 (7 months), £125 (5 months) 131 1 at £135 (8 months), £125 (10 months) 127 1 at £135 (8 months), £115 (4 months) 128						
1 at £155 (8 months), £135 (4 months) 148 1 at £155 (7 months), £135 (5 months) 147 2 at £155 (5 months), £135 (7 months) 288 2 at £155 (3 months), £135 (9 months) 280 2 at £155 (2 months), £135 (10 months) 277 2 at £155 (1 month), £135 (11 months) 274 1 at £135 2 at £135 (11 months), £125 (1 month) 268 1 at £135 (7 months), £125 (5 months) 131 1 at £135 (8 months), £125 (10 months) 127 1 at £135 (8 months), £115 (4 months) 128			1 at £155 (11 months), £135 (1 month)	154		
2 at £155 (5 months), £135 (7 months) 2 at £155 (3 months), £135 (9 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (2 months), £135 (11 months) 2 at £155 (1 month), £135 (11 months) 2 at £135 2 at £135 (11 months), £125 (1 month) 2 at £135 (7 months), £125 (5 months) 1 at £135 (2 months), £125 (10 months) 1 at £135 (8 months), £115 (4 months) 1 28			1 at £155 (8 months), £135 (4 months)			
2 at £155 (3 months), £135 (9 months) 2 at £155 (2 months), £135 (10 months) 2 at £155 (1 month), £135 (11 months) 2 at £155 (1 month), £135 (11 months) 2 at £135 2 at £135 (11 months), £125 (1 month) 2 at £135 (7 months), £125 (5 months) 1 at £135 (2 months), £125 (10 months) 1 at £135 (8 months), £115 (4 months) 1 at £135 (8 months), £115 (4 months)					:	
2 at £155 (2 months), £135 (10 months) 277 2 at £155 (1 month), £135 (11 months) 274 1 at £135 135 2 at £135 (11 months), £125 (1 month) 268 1 at £135 (7 months), £125 (5 months) 131 1 at £135 (2 months), £125 (10 months) 127 1 at £135 (8 months), £115 (4 months) 128			2 at £155 (3 months), £135 (9 months)	280	•	
1 at £135 135 2 at £135 (11 months), £125 (1 month) 268 1 at £135 (7 months), £125 (5 months) 131 1 at £135 (2 months), £125 (10 months) 127 1 at £135 (8 months), £115 (4 months) 128			2 at £155 (2 months), £135 (10 months)			
2 at £135 (11 months), £125 (1 month) 268 1 at £135 (7 months), £125 (5 months) 131 1 at £135 (2 months), £125 (10 months) 127 1 at £135 (8 months), £115 (4 months) 128						
1 at £135 (7 months), £125 (5 months) 1 at £135 (2 months), £125 (10 months) 1 at £135 (8 months), £115 (4 months) 128					İ	
1 at £135 (8 months), £115 (4 months) 128			1 at £135 (7 months), £125 (5 months)	131		
	4					

DEPARTMENT OF JUSTICE—continued. Number Item 1928–2**9**. of Persons. VOTE No. 15.—DEPARTMENT OF JUSTICE continued. 1928-29.Subdivision No. VI.—Magistrates' and Wardens' Courts £ £ --continued. 35 Salaries—continued. CLERICAL DIVISION—continued. Class VII-continued. 1 at £135 (6 months), £115 (6 months) 1251 at £135 (3 months), £115 (9 months) 120 1 at £135 (2 months), £115 (10 months) 119 1 at £135 (1 month), £115 (11 months) 117 1 at £125 125 2 at £125 (11 months), £120 (1 month) 2 at £125 (9 months), £120 (3 months) 249 248 2 at £125 (7 months), £120 (5 months) 2 at £125 (6 months), £120 (6 months) 1 at £125 (5 months), £120 (7 months) 3 at £120 (10 months), £115 (2 months) 246 245 122358 1 at £120 (2 months), £115 (10 months) 116 230 2 at £115 1 at £115 (11 months), £95 (1 month) 1 at £115 (6 months), £95 (6 months) 1 at £115 (5 months), £95 (7 months) 114 105 104 1 at £115 (2 months), £95 (10 months) 1 at £95 (10 months), £80 (2 months) 99 93 1 at £95 (5 months), £80 (7 months)... 87 91 80 16,493 GENERAL DIVISION. 1 at £295 295 4 at £290 1,160 . . . 2 at £270 540 6,750 27 at £250 1 at £240 240 230 1 at £230 5 at £215 1,075 43 2 at £185 370 10,660 Non-permanents. 1 at £205 205 1 at £195 195 . . . - • • 338 4 2 at £169 Others not specified 281205 1,019 Allowances under Public Service Regulation 24A 160 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)-Salaries as Clerks Licensing Com-1,000 mittees Salaries of Cadets engaged on work of Registration of Births, Deaths, and Marriages: 6 at £95 570 Salaries of Officers acting as Clerks 60 of Awards 1.630 53,750 Less amount provided but not required 31553,435 OTHER CHARGES FOR AND INCIDENTAL TO-Allowances to-36 Chief Bailiffs acting as Maintenance Officers: 1 at £60, 2 at £50, 8 at £30, 9 at £20 ... 580 37 Officers acting as Inspectors of Factories: 1 at £35, 6 at £25 Police Constables acting as Clerks of Courts 38 1,720

DEPARTMENT OF JUSTICE—continued.

Number of Persons.	Item.	VOTE No. 15—DEPARTMENT OF JUSTICE— continued. Subdivision No. VI.—Magistrates' and Wardens' Courts —continued.	1928–29.	
1928-29			£	£
	39 40 41 42	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Mileage fees paid to Bailiffs (recoverable) Office-cleaners Postage on civil and criminal summonses (recoverable) Relieving allowances in connection with election	7,500 1,900 500	
	43	work	500 540	
	44 45	Transfer and removal expenses Travelling allowances and expenses	1,000 4,900	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Allowances to officers acting as £ Inspectors of Factories 185 Mileage fees 7,500 Miscellaneous 60 Postage on civil and criminal summonses 500 Vote "Electoral Department": Relieving allowances in connection with election work 500		
		$\overline{8,745}$		
			19,325	
		Total—Subdivision No. VI		72,76
	46	Subdivision No. VII—Criminal Prosecutions. CHARGES FOR AND INCIDENTAL TO— Expenses in connection with the defence of prisoners under the Justices of the Peace Amendment Act, 1912 Fees to Crown Solicitors and Prosecutors	150 2,400	
	48 49 50	Misappropriation by officers Jurors, payment of, under the Juries Act, 1908 Witnesses, expenses of	1 4,000 5,600	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Refund of costs of prosecution £600		
		Total—Subdivision No. VII		12,15
		Subdivision No. VIII.—Justice: Miscellaneous Services.		
	51	CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	150	
	52	Commission on money-orders for transmission of		
	53	Compassionate allowance to Lady Sim, widow of late Sir William Sim, Judge Supreme Court	3,000	
	54	Expenses re Conference of Justices of the Peace Expenses under—	24	
	55 56	Juries Act, 1908 (part recoverable) Reformatory Institutions Act; 1909 (part recover-	800	
		able)	3,750	

${\tt DEPARTMENT\ OF\ JUSTICE--} convinued.$

Number of Persons.	Item.		1928-	-29.
		VOTE No. 15.—DEPARTMENT OF JUSTICE—		
1928-29.		continued.	1	
			£	£
		Subdivision No. VIII.—Justice: Miscellanecus Services	ļ	
	'	—continued.		
		CHARGES FOR AND INCIDENTAL TO—continued.		
	58	Fuel, light, water, cleaning, freight, cartage, and		
	90	maintenance of Court grounds and offices	3,450	
	59	Office fittings, furniture, and requisites	300	
	60	Postage, telegrams, and rent of boxes	2,400	
	61	Printing and stationery	4,600	
	62	Proportion of cost of administering licensing laws in		
		districts where the Counties Act is not in operation	50	
	63	Refund of fines	100	
	64	Reimbursement to T. E. Maunsell, S.M., of amount		
		paid by way of damages and costs in conviction of	2.5	
	0.5	R. Mulvaney	65	
	65	Subsidy to Chatham Islands Steamer Service—	105	
	CC	Twelve months to 31st March, 1929	125	
	66	Telephone services (including installation, extensions,	2,200	
	67	maintenance, rent, and calls) Transfer and removal expenses	100	
	68	Transfer and removal expenses Travelling allowances and expenses	200	
	00	Typewriters—	200	
	69	Purchase of	240	
	70	Maintenance of	90	
	71	Contingencies, including unforeseen expenditure in-	-	
		cidental to the other items of this subdivision	60	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
		Jury fees £300		
		Refunds under Reformatory Institu-		
		tions Act 700		
		Miscellaneous 100		
		1,100		
		Total—Subdivision No. VIII -		21,85
		Gross Total	•••	148,16
		Credits-in-aid (a)		12,25
		NET TOTAL—VOIE No. 15		135,90

(a)	${\bf Credits\text{-}in\text{-}aid}$
-----	--------------------------------------

			Other	
		Salaries.	Charges.	19 28-29.
		£	£	£
Subdivision	I	 25	• •	25
,,	H	 	100	100
,,	Ш	 	35	35
,,	V	 	20	20
,,	VI	 1,630	8,745	10,375
,,	VII	 	600	6 00
**	VIII	 • •	1,100	1,100
<i>m</i>		. 055	10,000	10.055
Totals		 1,655	10,600	12,255

PRISONS DEPARTMENT.

						-		19	28–29.	
						Salari	es.	Othe	r Charges.	Total.
Vote No. 16	5.—Pr	risons Depa	artment—		e meneral managara, person de e	i	3		£	£
GR	oss T	ОТАТ				73	449		90,660	164,10
			••	• •						
Cri	EDITS-	IN-AID	• •	• •		1,	500		66,950	68,45
NE	т то	TAL	, .	• •		71	949		23,710	95,65
Number of Persons.	Item.	NOD		DDIGOM	o par	A DOWN IN	NT(D		1928	3–29.
1928-29.		VOT	E No. 10.	.—PRISON	S DEF	ARTME	NT.			
1020-20.	1	* Salari		NISTRATIVE	Divier	ON.			£	£
			ADMI	NISTRATIVE	171 1151	JN.				
1			troller-Gen cer, at £90	eral of Pris	ons and	d Chief I	Probati	on 	900	
			_	LERICAL DI	vision.					
1		Class	11— 5 £515						5 15	
1	i i	Class			•••	•••		•••	910	
1		1 at	£425		•••	•••			425	
4		Class	<i>V</i> 5 £380						900	
1		Class			•••	•••	£	;	3 80	
		3 at	£335			•••	$1,\tilde{0}$			
5			£320		•••	• • •	6	40	7 045	
		Class						00	1,645	
			: £295 : £230		• • •	•••		90 30		
	i i				• • •	•••		10		
	1		£155		•••	• • • •				
			£135		• • •			35		
^			£115		•••	• • •		15°		-
8		1 at	£80		• • •	•••		80	1 400	1
			C-	heneral Di	TVISION			_	1,460	
		Proba	tion Office		TIBIOIT.					
			£360				1,0	80		
4	1 1		t £310			•••		10		
1	i i		intendents						1, 3 90	
	Ì		t £515				5	15	1,000	
			t £500		•••			00		
			t £470		•••	• • •		70		
	1		t £450		•••	• • • •		50		
			t £430		•••	• • •				
0					•••	•••	1,2			
8			t £275		•••	•••	2	175	9 500	
		Gaole						60	3,500	
	!!!		t £360		• • •			60		1
		1 at	t £345		•••			45		
			£325		•••	• • •		25		
5			t £305			. •••	6	10		
			ty Superin	tendents—					1,640	1
1		1 at	t £ 215		• • •			• • •	215	

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

PRISONS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 16.—PRISONS	DEPART	MENT-	-contd.	1928-	29.
9 2 8–29.	1	Salaries—continued			-		
		GENERAL DIVISION	\mathbf{v} — $continu$	ied.		£	£
		Officers in Charge—					
1		1 at £380	•••	•••		380	
		Chief Warders— 1 at £380			£ 380	į ·	
		4 at £360	•••	•••	1,440		
6	!	1 at £335			335		
U		Principal Warders—				2,155	
		8 at £325			2,600	_,200	
		4 at £310	• •		1,240		
	! !	1 at £320		• • •	320	'	
15		2 at £290	•••	•••	580	4 740	
		Acting Principal Warders— 4 at £295	-		1,180	4,740	
		1 at £290			290		
6		1 at £275	•••	•••	275		
v		Warder Instructors-				1,745	
	·	7 at £305	•••		2,135	•	
		4 at £300	•••		1,200		
		1 at £295	• • •	• • •	295		
		1 at £290 1 at £285	•••	•••	290 285		
	l i	6 at £280	•••		1,680	1	
		2 at £275			550		
		4 at £270	•••		1,080	!	
	1	1 at £265			265		
	i	2 at £260	• • •		520		
		1 at £235	•••	•••	235		
32		2 at £255	•••	• • • •	510	0.045	
		Warders— 19 at £285			5,415	9,045	
		1 at £280	•••		280		
	į .	22 at £275		• • •	6,050		
		4 at £270			1,080		
	1 1	8 at £265			2,120		
		7 at £260			1,820		
	1	6 at £255	• • •	•••	1,530		
		4 at £250 15 at £245			1,000 3,675		
		2 at £240	•		480		
		4 at £235			940		
108	1	16 at £225			3,600		
200	1	Night-watch Warders—				27,990	
		$ ilde{4}$ at £255			1,020	•	
	.	2 at £250	•••		500	1	
		1 at £245	• • •	•••	245		
10		3 at £235	• • •	•••	705	2,470	
1		Matron— 1 at £225				225	
1	! !	Assistant Matrons—	•••		•••	220	
		1 at £195			195	1	
		1 at £185	• • •	• • •	185	•	
	!	1 at £180			180		
		1 at £175	•••	•••	175	1	
		1 at £165	• • •	•••	$165 \mid 150 \mid$	÷	
		1 at £150 2 at £145	•••	• • •	290		
10		2 at £140			280		
10		₩ WY WIIV				1,620	
1		Office Assistant				225	
1		Quarry Engineer, Auckland	l	•••	•••	350	
					-		
		Less—		011000		63,015	
		Amount deducted for	r use of no	Juses	2,980		
	1 4 4	and quarters Transfer to lodging-a	 Illowance		$2,980 \\ 2,170$:	
		Transfer to touging-a		•••	_, _,	5,150	
					-		
						57,865	

PRISONS DEPARTMENT—continued.

Number of Persons.	Item.	-contd.	1928-	2 9.			
1928–29.	1	Salaries—continued.			1	£	£
	i	Non-cl	ASSIFIED.			*	æ
1		Agricultural Adviser				199	
1		Police-gaoler	•••	•••		$egin{array}{c c} 133 & \\ 245 & \\ \end{array}$	
		Medical Officers—			£		
	i	4 at £200	•••	•••	800		
		1 at £175	•••	•••	175		
		2 at £100 1 at £85	•••	•••	200 85		
9		1 at £50	•••	•••	50		
						1,310	
	·	Institutional Schoolmas	ters—		100	ĺ	
		1 at £120 3 at £70	•••	••	$\begin{array}{c} 120 \\ 210 \end{array}$	Í	
	i İ	1 at £40	•••	•••	40		
6		1 at £36		•••	36		
1	1	To atmost and in order of the	.14.			406	
$\frac{1}{1}$. [Instructor in physical co	uiture			55 - 78	
1	.	Supervisor of Association	n Classes		•••	36	
0.46		.					
246					. •	2,263	
		Nov pro	MANENTS.			60,128	
				-1		0.001	
	. 1	Farm managers, experts Warders and matrons				2,991	
	·	Lodging-allowances		•••	•••	$\begin{bmatrix} 6,325 \\ 2,700 \end{bmatrix}$	
		Allowances to instructing		officers		600	
	i	Extra assistance (Probat	ion Officers	s, &c.)	•••	705	
					-	13,321	
					-	79 440	
1		Less proportion of s	alaries tran	sferred to	Proba-	2,900	
; 		Til	,	(1i: £1	. ()	_,	
	!	Estimated credits-in Public Revenues					
!		Salaries of officer			£		
		public works	•••	•••	1,500		
!						70. 540	
		Other Charges for and in	NCIDENTAL	то		$\frac{70,549}{}$	
		Prisons and Institutional U	pkeep-				
i	2	Advertising, photographs		newspaper	s, and		
		other publications	<i>,</i> • • •	•••		300	
i :	3 4	Assistance to discharged		•••	•••	20	
1	4. 5 i	Burial of deceased prison Clothing, bedding, furniti		•••		$\begin{bmatrix} 50 \\ 1,650 \end{bmatrix}$	
	6	Equipment and instruction		•••		150	
	7	Forage		•••		25	
	8	Fuel, light, power, and w			•••	4,750	
!	9	Grants to Prisoners' Aid : Gratuities to prisoners on		societies		$egin{array}{c c} 200 & \\ 175 & \\ \end{array}$	
	11	Locality allowances		•••		580	
!	12	Maintenance of prison bu			•••	400	
	13	Maintenance of prisoners			e	1,200	
1	14	Medical expenses of offic ance of duties	ers injured	auring pe	riorm-	10	
	15	Medicines and medical co	mforts	•••	•••	$\begin{array}{c c} 10 \\ 650 \end{array}$	
	16	Office fittings and requisit	es		•••	200	
į	17	Postage, telegrams, and re	ent of boxes	š		600	

PRISONS DEPARTMENT—continued.

Number f Persons.	Item.	HOWEN A TO DELCONG NEED DOWNSTON	1928-	29 .
928-29.		VOTE No. 16—PRISONS DEPARTMENT.—contd.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	18	Prisons and Institutional Upkeep—continued. Printing and stationery	800	
	19	Rations	18,000	
	20	Sanitary services, cleaning, and disinfectants	1,000	
	21	Telephone services (including installation, extensions,	•	
		maintenance, rent, and calls)	500	
	22	Uniforms and accoutrements for prison officers	250	
	23	Vehicles— Purchase of	000	
	$\frac{25}{24}$	Maintenance of, hire charges, &c	900 1,300	
		Transport Charges, Travelling Allowances, and Ex-	1,000	
		penses—		
	25	Travelling allowances and expenses of officers	600	
	26	Conveyance of prisoners on release	1,000	
	27	Freight, cartage, &c. (part recoverable)	100	
	28	Transfer of prisoners	2,000	
	29 30	Transfer and removal expenses of officers Contingencies, including unforeseen expenditure in-	250^{+}	
	30	cidental to the other items of the vote	25	
	1 :	or will be the coner member of the following the first		
			37,685	
		Crimes Amendment and Borstal Institutions Acts—		
	31	Administration expenses	500	
	32	Contributions towards expenses of after-care societies		
	!	formed in terms of Section 18, Borstal Institutions	ĺ	
		Establishment Act, 1924	50	
	33	Payment to prisoners' dependants	9,500	
	34	Prisoners industry earnings	6,200	
		·	16,250	
		General Prison Industries, Farms, Works, &c.: Materials, Equipment, Rents, Royalties, and other expenses in connection with—		
	35	Block and tile making	150	
	36	Bootmaking, boot repairs and satchel repairs	5,000	
	37	Brickmaking and brickworks	200	
	3 8	Farms, gardens, &c.: Development	16,000	
	39	Mail-bags	600	
	40	Quarries and gravel pits Road construction, tree-planting, and contracts	4,000	
	42	(T) 11	6,000 3,150	
	43	Miscellaneous industries, works, &c	900	
		Estimated credits-in-aid under Section 51 of the	36,000	
		Public Revenues Act, 1926 (see and of vote)—		
		Block and tile making £350		
	!	Bootmaking 4,000	į	
		Brickworks 1,500	ļ	
		Farms, gardens, &c 18,000		
	. :	Mail-bags and general repairs 1,600	1	
		Quarries and gravel pits 22,000 Road construction, sawmills, and		
		contracts 15,000		
		Tailoring 500		
		Miscellaneous 4,000		
		66,950	;	
			00.00*	
			89,935	
			160,484	

PRISON DEPARTMENT—continued.

192 8–29 .	!	Item.							
£	£	-contd.	RTMENT—	D н —	VOTE No. 16.—PRI PROBATION BRANCH—		1928–29.		
,450 50 50 75	50 50 tensions,		n expenses and adva rams, &c	Postage, telegrams Printing and static Telephone services	44 45 46 47				
,625 164,10	3,625			s Total	Gross To				
. 68,45	•••	•••		ITS-IN-AID (a)	Credits-i				
95,65			o. 16	TOTAL-VOTE N	NET TO				

(a) Credits-in-aid—

				1928–29. £
				 1,500
				 350
				 4,000
				 1,500
				 18,000
				 1,600
				 22,000
contracts				 15,000
				 500
and credits	• •			 4,000
	• •			 68,450
	contracts	contracts	contracts	

CROWN LAW OFFICE.

								192	8-29.	
						Salaries	з.	Other	Charges.	Total.
ote No. 1	7.—Cı	rown Law	Office—			£			£	£
Gi	ross T	OTAL		••		6,	185		694	6,87
Cr	EDITS.	-IN-AID				į	590		400	99
NI	et to	TA L	• •	••		5,8	595		294	5,88
Number of Persons.	Item.								1928	-29.
1928–29.	-	VO'	TE No. 17	.—CROWN	LAW	OFFIC	E.	_		
	1	*Salarie	s						£	£
1	İ	Solici	tor-General			•••			1,350	i
			Pro	fessional I	Oivisioi	₹.				:
3			wn Solicitor wn Solicitor	at £950 rs at £900 .		•••	1,8	£ 950 800	2,750	
1		Class 1 at	A— £615						615	
		i	Cı	LERICAL DIV	ision.			i		
1		Class 1 a	<i>I</i> — t £ 590		••			•••	590	
1	į	Class 1 at	VI £335			. 🔅			335	<u> </u> -
1	!		VII— £155			•••		•••	155	
			N	on-perman	ENTS.					
2	!	2 at £	195						390	
10	-	T	Public I Departme Salary	eredits-in-aid Revenues Acent of Inte of Private r of Interna	t, 1926 rnal A Secreta	(see end o ffairs : iry to	f vote			
	5							-	6,185	
	2		tising, boo	or and inc ks, newspaj			publ	ica-	25	
	3		al certificat	es under th	e Law	Practition	ers A	Act,	30	
	4			recoverable)		•••		'	100	

CROWN	T.AW	OFFICE-	continued
CUTACO AA TA	L/A VV	OFFICE	continueu.

Number of Persons.	Item.		1928-2	29.
1928–29.	- 	VOTE No. 17.—CROWN LAW OFFICE—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-continued.		
	5	Office fittings and requisites	50	
	6	Postage, telegrams, and rent of boxes	50	
	7	Printing and stationery	150	
	$^{-8}$	Purchase of Law Reports and Treatises and other		
		publications	150	
	9	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	94	
	10	Travelling allowances and expenses	20	
	11	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	25	
	į :	-	694	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	034	
	!	Law-costs $\frac{200}{100}$		
	İ	Gross Total		6,879
	1 :	Credits-in-aid (a)	•••	990
		NET TOTALVOTE No 17		5,889
	11	(a) Credits in-aid— 1928–29.		
		\$ Salaries 590		

£990

Total ..

POLICE DEPARTMENT.

		1928–29.				
		Salaries.	Other Charges.	Total.		
Vote No. 18.—Police Department—		£	£	£		
Subdivision I.—Police Department	••	 363,626	92,600	456,226		
" II.—Miscellaneous	• •	 •••	499	499		
Gross Total		 363,626	93,099	456,725		
Credits-in-aid	• •	 10	5,900	5,910		
NET TOTAL		 363,616	87,199	450,815		

						<u> </u>		
Number of Persons.	Item.	VOTE No. 18	י ז∩מ	CE DET	O A DOWN TAN	T	1928-	29.
1928-29.	- [-	VOLE NO. 16		משת מיי	TUTMEN	T.		
1320-23.		Subdivision	No. I.—	Police D	epartment.		£	£
	1	Salaries						
		Head Office—						
1		1 at £950 (Comm	issioner)	•••	•••		950	
		*Cr.	ERICAL D)ivision				
		Class I—	emoni i	VIVIDION.			į	
1		1 at £565					565	
	1 1	Class VI						
1		1 at £335			•••		335	
		Class VII—				£		
		1 at £295		•••	•••	295		
9	1	1 at £275 1 at £155		•••	•••	$\begin{array}{c c} 275 \\ 155 \end{array}$		
3		1 80 2000		•••	•••	100	725	
		*G	ENERAL	Division			120	
1		1 at £295		•••	•••		295	
		P	OLICE O	FFICERS.				
3		3 Senior Sergean	ts · 1 a.t ·	22s 1 at	21s 6d 1	at 21s		
9		per day	us. 1 au		215. 04., 1	210.	1,177	
3		3 Sergeants: 1 a	t 20s., 1	at 19s. 6d	., 1 at 19s.	per dav	1,068	
3		3 Constables: 1				•••	885	
		Districts—						
4		4 Superintendent	ts: 2 at 1	€625, 1 at	£600, 1 at	£595	2,445	
$1\overline{5}$	i l	15 Inspectors:	6 at £560), 2 at £5	45, 3 at £5	30, 3 at	8,085	
		£515, 1 at £50						
4		4 Sub-Inspectors				<u></u>	1,810	
98		28 Senior Serges	ants: 16	at 22s.,	7 at 21s. 6	d., 5 at	11 007	
		21s. per day	4 -4 00:	0 -1 10	 63 10	- 10-	11,087	
94		94 Sergeants: 7	4 at 20s.	, o at 19	s. oa., 12	at 198.	34,017	
	1 1	per day		• • •	• • •	•••	04,011 i	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

POLICE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 18.—POLICE DEPARTMENT—continued.	1928-	-29.
1928-29.		Subdivision No. I.—Police Department—continued.	£	£
	1	Salaries—continued.	~	~
		Police Officers—continued.		
		Districts—continued.		
930		930 Constables: 130 at 17s. 6d., 160 at 17s., 80 at 16s. 6d., 160 at 16s., 180 at 15s. 6d., 220 at 15s. per day	079 111	
5		5 Senior Detectives: 3 at 22s., 1 at 21s. 6d., 1 at	273,111	
9		21s. per day 9 Detective-Sergeants: 3 at 20s., 4 at 19s. 6d., 2 at	1,980	
46		19s. per day 46 Detectives: 3 at 20s. 6d., 1 at 17s. 6d., 8 at	3,212	
		17s., 10 at 16s. 6d., 13 at 16s., 11 at 15s. 6d. per day	13,843	
3		3 Native Constables 7 District Constables	220	
7 8		8 Matrons: 4 at £180, 2 at £170, 1 at £160, 1 at £150	$\begin{bmatrix} 775 \\ 1,370 \end{bmatrix}$	
$1\overset{\circ}{2}$		12 Surgeons: 4 at £150, 8 at £25	800	
	.]	Probationary Constables	5,500	
1,181		Female Searchers	140	
		Allowances to members of Force for detective, clerical, and special duty	4,200	
		Allowance to officer performing higher duties	31	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Contributions from other Departments 10		
			260, 606	
		Less amount provided but not required	368,626 5,000	
			363,626	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, photographs, books, newspapers, and other publications	800	
	$\begin{vmatrix} 3 \\ 4 \end{vmatrix}$	Bicycle allowances: Purchase and upkeep of bicycles Clothing (free issue), including repairs, allowance for	1,300	
	-	making up uniforms, and boot allowance	9,000	
	5	Freight, cartage, insurance, and transport charges	200	
	6 7	Fuel, light, power, and water Horse allowances, purchase, forage, bedding, shoeing,	4,250	
	'	clipping, and grazing of horses, including com-		
		pensation for loss of private horses	3,400	
	8	House allowances to officers and men unprovided	00.000	
	9 +	with quarters Medical, dental, and veterinary services, medicines	23,200	
	,	and medical stores, ambulance instruction and		
	1	hire, and hospital charges for police disabled	:	
	:	through duty	500	
	10	Motor-vehicles— Purchase of	600	
	11	Maintenance of	4,500	
	12	Office fittings and requisites (including typewriter	-,	
		allowances)	850	
	13 14	Police examinations, expenses of Police prosecutions and inquests, legal and medical advice, interpreting, payments for special services, and expenses of Departmental inquiries (part	150	
		and expenses of Departmental inquiries (part recoverable)	3,000	
	15	Postage, telegrams, and rent of boxes	4,300	
	16	Printing and stationery	4,100	
	17	Rations	1,000	
	18	Rent of stations, quarters, and paddocks, and rates		

${\tt POLICE\ DEPARTMENT-} continued.$

Number of Persons.	Item.	VOTE No. 18.—POLICE DEPARTMENT—continued.	1928-	29.
1928–29.	 	Subdivision No. I.—Police Department—continued.	£	£
	19 20	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Repairing, painting, and improving police premises Rewards and expenses for the suppression of sly-grog	200	٣
	21	selling and the introduction of liquor into prohibited districts Rewards to members of the Force for meritorious	150	
į	22 23	conduct Saddlery, horse-covers, &c Scavenging, chimney-sweeping, cleaning stations and	$\begin{bmatrix} 50 \\ 50 \end{bmatrix}$	
	24	windows, sanitary services and washing Stores, supplies, accoutrements, and expenses inci-	550	
	25	dental thereto Telephone services (including installation, extensions, maintenance, rent, and calls)	6,300	
	$\begin{array}{c c} 26 \\ 27 \end{array}$	Transfer and removal expenses Travelling - expenses of police and transport of	3,500	
	28	prisoners Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	16,500	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)		
		Clothing deductions, &c 100 Payments for special services of		
	:	police 500 Recoveries of— Costs of prosecutions 1,800		
		Travelling-expenses, &c. 650 Sick deductions 150 Subsidies from local bodies 2,600 Miscellaneous recoveries 100		
	!	5,900		
		Total—Subdivision No. I	92,600	456,226
		Subdivision No. II.—Police: Miscellaneous Services.		
!	29	Charges for and incidental to— Compassionate allowances— Widow of late Inspector T. S. C. Kemp	125	
	$\frac{30}{31}$	Widow of late Constable G. W. Wales Widow of late Constable W. Mahoney Legal expenses of Constable G. Johnston, defending	150 150	
	33	action for damages for alleged assault Purchase of artificial limb for ex-Constable E. Driscoll, injured on duty	33	
		Total—Subdivision No. II		499
	i	Gross Total		456,725
	:	Credits-in-aid	•••	5,910
}	!	NET TOTAL—VOTE No. 18		450,815

PENSIONS DEPARTMENT.

]	1928-29.	
						Salaries.	Oth	er Charges.	Total.
Vote No. 1	9.—Pensio	ns Departme	ent			£		£	£
· GF	ROSS TOTAL					40,57	2	130,428	171,000
Св	EDITS-IN-A	TD.				2,50		332	2,832
	ET TOTAL		•		}-	38,07	—¦—	130,096	168,168
			•		••		_	100,000	100,100
Number of Persons.	Item.	NOTE No.	10	DENGIO	MC DE	o A DamMar N	TAV	1928	8–29.
1928–29	1 *SA	VOTE No.			Divisio		NI.	£	£
1		1 at £950 Deputy C				; Membe Board, £10			
		Class I—	CLE	ERICAL D	IVISION.				
1	1	1 at £665	i				•••	665	
1		Class II— 1 at £515	í			•••		515	
4		Class III— 2 at £470 1 at £470 1 at £445)) (3 mo	$_{ m nths})$			£ 940 118 445	1,503	
3		Class IV— 2 at £426 1 at £420	5		•••	•••	850 420	ļ	
	:	Class V— 3 at £380)				1,140	1,270	
5		2 at £350)				700		
6		Class VI— 5 at £338 1 at £338	ŏ	onths), £	320 (1 m	nonth)	$\substack{1,675\\334}$		
		1 at £29 1 at £29 1 at £29 1 at £29 4 at £27 1 at £25 1 at £25 2 at £25	95 5 (11 m 5 (10 m 5 (8 m 5 (5 m 5 (2 m 6 (2 m 6 (11 m 0 (4 m 6 (3 m 6 (3 m 6 (11 m	onths), £2 onths), £2 onths), £2 onths), £2 onths), £2	3275 (1 m 3275 (2 m 275 (4 mc 275 (7 mc 75 (10 mc 3250 (1 m 230 (6 mc 230 (8 mc 230 (9 mc	nonths) onths) onths) onths) nonth) onths) onths)	5,310 293 292 288 283 278 1,100 273 250 240 473 235 230		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

PENSIONS DEPARTMENT—continued.

Number Persons.	Item.	NOME II 10 PRINCES	MC E	D & 1021***	NT/IP	1928-	-29.
928-29.	-	VOTE No. 19.—PENSIC contin		PARTME	NT		
	1	SATIARIES—continued.			ļ	£	£
		CLERICAL DIVIS	ion—cont	inued.			
		Class VII—continued.			£		
		1 at £230 (11 months),			228		
		2 at £230 (10 months), 2 at £210 (10 months),	£210 (2 1	nonths)	$\begin{array}{c c} 453 \\ 413 \end{array}$		
		1 at £210 (9 months), £	2190 (2 m	onths)	205		
		1 at £210 (8 months), £	3190 (4 m	onths)	203		
		2 at £190 (10 months), 3 at £190 (2 months), £			$\begin{array}{c} 368 \\ 482 \end{array}$		
		1 at £190 (1 month), £			158		
		3 at £155	 195 /11		465		
		3 at £155 (1 month), £ 1 at £135 (7 months), £			$\begin{array}{c c} 410 & \\ 127 & \end{array}$		
		3 at £115 `	•••		345		
	i	3 at £115 (11 months), 1 at £115 (8 months), £			$\begin{array}{c c} 340 \\ 108 \end{array}$		
		1 at £115 (7 months), £			107		
		2 at £115 (5 months), £			207		
		1 at £115 (4 months), £ 5 at £115 (3 months), £			$\frac{102}{500}$		
		3 at £95 `	•••	•••	285		
		1 at £95 (11 months), £ 2 at £95 (10 months), £			94 185		
		1 at £95 (9 months), £8			91		
		1 at £95 (8 months), £8	0 (4 mon)	$ ext{ths}) \dots$	90		
82		2 at £95 (6 months), £8 2 at £95 (5 months), £8			$\begin{array}{c} 175 \\ 172 \end{array}$!	
		GENERAL 3	•	,		15,858	
		1 at £295			295	ļ	
	;	7 at £185		· · · · · · · · · · · · · · · · · · ·	1,295	:	
9		1 at £185 (2 months), £17	5 (10 mo	111115)		1,767	
		Non-perm Medical Officers—	IANENTS.			! !	
_		1 at £950	•••		950		
5	!	4 at £400 (part time) Clerks—	•••		1,600	2,550	
	İ	1 at £375		•••	375	2,000	
		2 at £292	•••	• • •	584		
		1 at £286 4 at £260		•••	286 1,040		
		8 at £234	•••	•••	1,872		
20		2 at £228 2 at £208	•••	•••	$egin{array}{c c} 456 & & \\ 416 & & \\ \hline \end{array}$		
20		Typists—	••			5,029	
		2 at £182			364		
	: : I	2 at £156 1 at £143	•••	•••	$\begin{array}{c} 312 \\ 143 \end{array}$		
		2 at £130			260		
		1 at £117	•••		117		
16		1 at £91 7 at £78	• • •		91 546		
		Office Assistants—				1,833	
		1 at £156 5 at £104	•••	•••	$egin{array}{c c} 156 \ 520 \end{array}$		
		6 at £91			546		
22		6 at £78			468		
	i i	2 at £65	• • •	•••	130	4 000	
20	_					1,820	

PENSIONS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 19.—PENSIONS DEPARTMENT—	1928-	-29.
1928-29.	1	Salaries—continued. Cadets' lodging-allowances Salaries and honoraria of members of War Pensions Board	£ 413 2,550	£
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contribution from Imperial Government for services rendered in payment of Imperial pensioners £ residing in New Zealand 2,500		
		OTHER CHARGES FOR AND INCIDENTAL TO—	40,572	
	2	Advertising, photographs, books, newspapers, and	20	
	3	other publications Cartage	$egin{array}{c} 20 \ 20 \end{array}$	
	4	Clothing allowance to wearers of mechanical ap-	20	
		pliances other than artificial limbs	170	
	$\frac{5}{6}$	Exchange and commission on money-orders	150	
	$\begin{array}{ c c c c }\hline 6 & \\ 7 & \\ \end{array}$	Fuel, light, power, and water Grants to recipients of New Zealand Cross	200 30	
	8	Loading on life-insurance premiums on account of	30 ;	
		impaired health occasioned by war service	240	
	9	Medical fees	5,500	
	10	Medical treatment and expenses incidental thereto— Returned soldiers	80,000	
	11	South African War veterans	$\frac{80,000}{20}$	
	$\overline{12}$	Office-cleaning	10	
	13	Office fittings and requisites	100	
	14	Overtime	100	
	$\begin{array}{c c} 15 \\ 16 \end{array}$	Pensions to epidemic widows and their dependants Post and Telegraph Department for services of	8,000	
	10	officers	14,656	
	17	Postage, telegrams, and rent of boxes	2,500	
	18	Printing and stationery	2,500	
	19	Railway concessions to disabled ex-soldiers	2,000	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Smarial amountains	1,571 5,096	•
	22	Telephone services (including installation, extensions,	0,000	
		maintenance, rent, and calls)	275	
	23	Transfer and removal expenses	200	
	24	Travelling allowances and expenses	3,500	
	25	War Pensions Appeal Board— & Salaries and fees 2,000		
		Travelling-expenses 1,400		
		Other expenses 100		
	2.0		3,500	
	26	Contingencies, including unforeseen expenditure incidental to the other items of the vote Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Grants to supplement superannuation,	70	
		Post and Telegraph Department 232 Miscellaneous 100	•	
		332		
		i i	130,428	
		Gross Total		171,000
		Credits-in-aid (a)	•••	2,832
		NET TOTAL—VOTE No. 19 -	-	168, 168
		Credits-in-aid—	1928-29.	····
	` '		£	
		$egin{array}{cccccccccccccccccccccccccccccccccccc$	$\frac{2,500}{332}$	
		<u>-</u>		
		Total	2,832	

MINES DEPARTMENT.

							1928–29.	
					Salarie	es. O	ther Charges.	Total.
Vote No. 2	0.— M	ines Departr	nent-		1	;	£	£
$Subdivision \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \$	on I.	—Administra	ation		9,	319	•••	9,318
,,	II.	-Assistance	towards Mining				30,699	30,69
,,	III.	Miscellane	ous Services				4,109	4,10
Gr	oss T	OTAL			9,	319	34,808	44,12
$C_{\mathbf{R}}$	EDITS-	-IN-AID				750	630	1,380
NI	ет тс	TAL			8,	569	34, 178	42,747
Number of Persons.	Item.	VOT	E No. 20.—MI	NES DEP	ARTMEN	[T	1928	8–29.
1928–29.			Subdivision No.			11.	£	£
1	1	*Salaries	Administrates (Under-Secre		on. 		. 925	
1		1 at £79	Profession	NAL DIVISION	N. 	••	. 791	
7			590 (6 months) 540 (6 months) 540			£ 296 270 1,620 1,546	0)	
1		Class D					405	
	İ		Clericai	Division.				
1	i	$Class\ II \ 1 \ { m at}\ {rac{4}{3}}$		•••		***	470	
1		Class V. 1 at £				•••	. 335	
7		1 at £ 1 at £	295 275	, £135 (10 m £95 (6 mont	nonths) hs)	295 275 250 181 139 105	5	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

1,338

MINES DEPARTMENT—continued.

Number of Persons.	Item.		1928-	29.
1928–29.	-	VOTE No. 20.—MINES DEPARTMENT—continued.	1	
	.	Subdivision No. I.—Administration—continued.	£	£
	1	Salaries—continued.]	
		GENERAL DIVISION.	:	
	İ	1 at £425 425		
3		1 at £205 (8 months) £195 (4 months) 201 1 at £185 (6 months) £175 (6 months) 180	000	
	1	Non-permanents.	806	
		1 at £143 143	l l	
		1 at £130 130		
4		1 at £117 117		
4		1 at £91 91	481	
26		Cadet's lodging-allowance	18	
		Estimated credits-in-aid under Section 51 of the		
	,	Public Revenues Act, 1926 (see end of vote)— Recovery from State Coal-mines £	!	
	-	Account 750		
		100		
		$ extit{Total-Subdivision No. I} -$		9,319
			; 	
		Subdivision No. II—Assistance towards Mining.		
		Charges for and incidental to— Assistance towards—		
	2	Maintenance of roads and works	1,500	
	3	Prospecting for gold	14,384	
	5	Rising Sun Public Battery (on account)	1,000	
	9	Bonus of £2,000 for the successful manufacture of briquettes, or of coke, and any other by-products		
		from sub-bituminous or brown-coal slack, for		
	l i	commercial purposes (on account)	1	
	6	Bounty payable to Onakaka Iron and Steel Com-		
		pany (Limited), under the Iron and Steel	0.000	
	7	Industries Act, 1914 Diamond and other drills and appliances (partly	8,000	
	. !	recoverable) appliances (parting	600	
	8	Drill-store, Dunollie	320	
		Grants—		
	9	Garston to Nevis Road	100	
	10 .	Gimmerburn Creek Dam repairs	200	
	$\frac{11}{12}$	Libraries in mining townships Nevis Valley Road (maintenance), (subsidy £100,	25 \mid	
	12	£1 for £1), (balance)	218	
	13	Schools of Mines	3,800	
		Subsidies—		
	14	Drybread Sludge Channel (£3 for £2)	300	
	$\begin{vmatrix} 15 \\ 16 \end{vmatrix}$	Muddy Terrace Bridge repairs (£1 for £1)	50	
	16	Nightcap ambulance wagon (£2 for £1) Systematic prospecting for minerals under Govern-	200	
	, ** : 	ment direction	1	
		Estimated credits-in-aid under Section 51 of the		
	İ	Public Revenues Act, 1926 (see end of vote)—	,	
		Drilling-expenses £500		
			į	
		Total—Subdivision No. II		30,699

89

MINES DEPARTMENT—continued.

Number of Persons.	Item.		1928-	-29.
1000 00	<u> </u>	VOTE No. 20.—MINES DEPARTMENT—continued.		
1928–29.		Subdivision No. III.—Miscellaneous Services.	£	£
		CHARGES FOR AND INCIDENTAL TO-		
	18	Advertising, photographs, books, newspapers, and		
	İ İ	other publications	70	
	19	Collecting goldfields revenue (partly recoverable)	300	
	20	Examinations, Mining and Coal-mines Acts	110	
	21	Freight, cartage, and transport charges	20	
	22	Fuel, light, water, and cleaning	75	
	23	Instruments and apparatus	10	
	24	Instrument and outfit allowance for Chief Inspector of		
	ĺ ĺ	Mines	26	
	25	Law-costs	15	
•	26	Motor-cars, maintenance of	200	
	27	Office fittings and requisites (including typewriters)	50	
	28	Postage, telegrams, and rent of boxes	250	
	29	Printing and stationery	600	
	30	Refunds of revenue under section 155(3) of the Mining	20	
	-	Act, 1926 (recoverable)	60	
	31	Rents	450	
	32	Repairs to cottage, Kumara	55	
	33	Telephone services (including installation, extensions,	000	
		maintenance, rent, and calls)	200	
	34	Travelling allowances and expenses	1,600	
	35	Contingencies, including unforeseen expenditure in-	10	
		cidental to the other items of this subdivision	18	
		Estimated credits-in-aid under Section 51 of the		
	-	Public Revenues Act, 1926 (see end of vote)—		
	İ	Collecting goldfields revenue £20		
	. !	Printing and stationery, publica-		
	i	tions, &c 50		
		Refunds of revenue 60		
		190		
		130		
		Total-Subdivision No. III		4,109
		Gross Total	•••	44,127
!		Credits-in-aid (a)	•••	1,380
		NET TOTAL—VOTE No. 20		42,747

(a) Credits-in-aid-	Salaries. £	Other Charges.	1928–29.
G 1 11-1-1 T	750	L	750
Subdivision I	190	• •	
,, II		500	500
" III	••	130	130
			
Totals .	750	630	1,380

DEPARTMENT OF INTERNAL AFFAIRS.

		1928–29.				
		Salaries.	Other Charges.	Total.		
Vote No. 21.—Department of Internal Affairs—		£	£	£		
Subdivision I.—Head Office	!	25,302	30,427	55,729		
,, II.—Government Actuary's Office	!	4,302	780	5,082		
" III.—Ministers' Secretaries		8,955		8,955		
,, IV.—Messengers, Office-keepers, an	d Char-	83,423	3,907	87,330		
women	i	,				
,, $V.$ — $Registrar$ - $General$'s O ffice		12,210	6,640	18,850		
,, VI.—Census and Statistics		20,065	18,948	<i>39,013</i>		
,, VII.—High Commissioner's Office		27,686	17,300	44,986		
,, VIII.—Museum		3,367	4,198	7,565		
,, IX.—Explosives Branch		3,018	3,725	6,743		
,, X.—Publicity Branch		3,338	35,440	38,778		
" XI — Miscellaneous Services	••	18,204	76,947	95,151		
Gross Total		209,870	198,312	408,182		
CREDITS-IN-AID		42,306	20,712	63,018		
NET TOTAL		167, 564	177,600	345,164		

Number of Persons.	Item.	NOTE NO 1 DEPARTMENT OF INTERNAL	1928	–29.
1928–29.	-	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS. Subdivision No. I.—Head Office.	£	£
	1	*Salaries—		
		Administrative Division.		
1		1 at £950 (Under-Secretary)	950	
		PROFESSIONAL DIVISION.		
		Class B—		
1		1 at £590	590	
	İ	CLERICAL DIVISION.		
		Class Special—		1.
		1 at £850 85	0	
		1 at £715 (8 months), (£565 4 months) 66		
4		2 at £665 1,33		
		Class I—	2,845	
1		1 at £600 (10 months, (£550 2 months)	. 592	
1		Class II— 1 at £490 (8 months), £425 (4 months)	. 469	
1		Class III—	100	
		2 at £470 94	0	
3	1	1 at £445 (8 months), £125 (4 months) 43	3	
		Class IV—	1, 379	
	1	1 at £425 42	-	
2		1 at £425 (4½ months), £400 ($7\frac{1}{2}$ months) 40		
		Class V— 1 at £380 38	834	
		$\frac{1}{2}$ at £380 (3 $\frac{1}{2}$ months), £355 (8 $\frac{1}{2}$ months) 72		
4		1 at £355 \cdots 35		
-			1,459	

^{*} For particulars of salaries see "Public Service Classification List."

Norg.—Scale salaries or wages include cost-of-living increase,

Number of Persons.	Item.	VOTE No. 21.—DEPART	MENT Of	F INTE	RNAL	1928–2	29.
1928-29.							
		Subdivision No. I.—E	lead Office—	-continue	d.	£	£
	1	Salaries—continued.					
		CLERICAL DIVI	sion—contin	ued.			
		Class VI—			£		
		4 at £335	•••	•••	1,340		
5		1 at £335 (3 months),	£320 (9 mo	$_{ m nths})$	324	1 004	
		$Class\ VII$ — $3\ { m at}\ \pounds 295$			885	1,664	
		1 at £295 (11 months)			293		
		1 at £295 (9 months),	£275 (3 mo	nths)	290		
		1 at £275 1 at £275 (4 months),	£250 (8 mo	nths)	$\begin{array}{c c} 275 \\ 258 \end{array}$		
		1 at £250 (10 $\frac{1}{2}$ months			248		
		2 at £250 (3 months), £	230 (9 mont	hs)	470		
		1 at £230 (3 $\frac{1}{2}$ months)			$\begin{array}{c c} 216 \\ 213 \end{array}$		
		1 at £230 (2 months), 2 at £210 (9 months),			410		
		1 at £155 (11 months)	, £1 35 (1 m	onth)	153		
		1 at £155 ($10\frac{1}{2}$ months			152		
		1 at £155 (2 months), 1 at £135	£135 (10 m	ontns	$egin{array}{c c} 138 & \\ 135 & \end{array}$	-	
		1 at £135 (10 months),	£115 (2 mc	nths)	132		
		1 at £135 (5½ months)	, £115 (6½ n	nonths)	124		
		1 at £115 (7 months),			107		
		1 at £115 (6 months), 1 at £115 (5 months),			105 103	M. C. V. M. M. M. M. M. M. M. M. M. M. M. M. M.	
		1 at £95 (11 months),			94		
		1 at £95 $(10\frac{1}{2} \text{ months})$			93		
		1 at £95 (9½ months), 1 at £80 (11 months)	£80 (2½ mo	nths)	92 73		
		1 at £80 (9 months)	•••	•••	62		
29		1 at £80 (1 month)	•••	. •••	7	F 400	
1		Official Secretary to His	Evcellene	v the G	OVernor-	5,128	
1		General				615	
		Allowances to officers te					
		or higher duties und tions 24A and 209	ler Public	Service	Regula-	190	
		mons 24x and 203	•••	•••	• • •	150	
			Division.		£		
	1	1 at £440 (3½ months) 1 at £340	•••	•••	129 340		
	1	1 at £275	•••	•••			
			• • •	•••	275	i	
		1 at £255	•••	•••	255		
		1 at £225		•••	255 225		
		1 at £225 1 at £215			255 225 215		
		1 at £225			255 225		
		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190			255 225 215 1,025 195 190		
90		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185			255 225 215 1,025 195 190 1,110		
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190			255 225 215 1,025 195 190	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160			255 225 215 1,025 195 190 1,110 160	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160 Non-person	MANENTS.		255 225 215 1,025 195 190 1,110 160	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160 Non-personal Augustus (1) at £380 1 at £313	MANENTS.		255 225 215 1,025 195 190 1,110 160	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160 Non-person	MANENTS.		255 225 215 1,025 195 190 1,110 160 380 313 250 296	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160 Non-per 1 at £380 1 at £313 1 at £298 (10 months) 1 at £296 1 at £248	MANENTS.		255 225 215 1,025 195 190 1,110 160 380 313 250 296 248	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160 Non-per: 1 at £380 1 at £313 1 at £298 (10 months) 1 at £248 1 at £248 1 at £248 1 at £220 (3 months)	MANENTS.		255 225 215 1,025 195 190 1,110 160 380 313 250 296 248 55	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160 Non-person at £313 1 at £298 (10 months) 1 at £248 1 at £248 1 at £220 (3 months) 1 at £218	MANENTS		255 225 215 1,025 195 190 1,110 160 380 313 250 296 248	4,119	
20		1 at £225 1 at £215 5 at £205 1 at £195 1 at £190 6 at £185 1 at £160 Non-per: 1 at £380 1 at £313 1 at £298 (10 months) 1 at £248 1 at £248 1 at £248 1 at £220 (3 months)			255 225 215 1,025 195 190 1,110 160 380 313 250 296 248 55 218	4,119	

$\label{eq:department} \textbf{DEPARTMENT OF INTERNAL AFFAIRS--} \textit{continued}.$

Number of Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1928-	2 9.
928–29.		Subdivision No. I.—Head Office—continued.	£	£
				•
	1	Salaries—continued.		
		Non-permanents—continued.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £130 (10 months), £117 (2 months) 256		
		1 at £117 (8 months), £104 (4 months) 112		
		2 at £91 (10 months), £78 (2 months) 178		
21		1 at £91 (3 months) 23 1 at £52 (8 months) 34		
		- I w 202 (6 months)	3,478	
93	İ	Lodging-allowances (cadets)	174	
		Payment to Tourist Department for passport work, Christchurch	25	
		Salary of Lady Medical Referee (part recoverable)	470	
		Special allowances to shorthand writers and typistes		
		employed in Ministers' offices	321	
	i	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Amount to be recovered from—		
		Public Service Superannuation Fund 2,694		
		Salary of Lady Medical Referee 305		
		2,999		
		-	25,302	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	$\begin{bmatrix} 2 \\ 3 \end{bmatrix}$	Advertising	150	
	0	Animals Protection Act, expenses in connection with administration of	515	
	4	Cinematograph-films, expenses in connection with		
	_	the censorship of	50	
	5 6	Commissions of Inquiry (part recoverable) Freight, cartage, and transport charges	$egin{array}{c c} 1,150 \\ 500 \\ \end{array}$	
		Fresh-water fisheries and game—	330	
	7	Access to Tongariro River: Cost of road	300	
	8	Commission on sale of fishing-licenses	100	
	9	Expenses in connection with, including wages of workmen, purchase of land, and erection of		
		buildings	3,350	
	10	Motor-vehicles—		
		Purchase of 580 Maintenance of 150		
	}		730	
	11	Taupo Fisheries, purchase of land in connection with	475	
	$\begin{vmatrix} 12 \\ 13 \end{vmatrix}$	Fuel for Government offices Grant to officer on retirement, equivalent to salary	2,200	
	19	in lieu of leave, in terms of Public Service	İ	
ĺ		Regulations	492	
	14	Light, power, and water for Government buildings.	5,500	
İ	15	New Zealand Academy of Fine Arts, Wellington— Payment to, for part services of		
j		custodian, National Picture Gallery,		
		and other charges in connection £	ļ	
		therewith 172		
		For freight on works of art to Imperial Gallery of Art 25		
			197	
	16	Office fittings and requisites	400	
	$\begin{vmatrix} 17 \\ 18 \end{vmatrix}$	Overtime and meal allowances Postage, telegrams, and rent of boxes (part recoverable)	50 700	
ļ		Printing and Stationery—		
	19	Head office	1,380	

Number of Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL	1928-	29.
1928–29.	_ 	AFFAIRS—continued.		
		Subdivision No. I.—Head Office—continued,	£	£
	21	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Publications (including newspapers and books)	700	
	22	Rent	63	
	23	Telephone services (including installation, extensions,	1 100	
		maintenance, rent, and calls) Travelling allowances and expenses of—	1,400	
	24	Ministers (allowances only as authorized by the	-	
	25	Civil List Act, 1920)	2,000	
	26	Ministers' expenses Private Secretaries to Ministers	3,500 2,750	
	27	Officers of the Department	1,000	•
	28	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	25	
			1	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Commissions of Inquiry £800		
		Postage 20		
		Miscellaneous 400		
	1	1,220		
	.		30,427	
		Total—Subdivision No. I		55,72
		Subdivision No. II.—Government Actuary's Office.	: 	
1	29	Subdivision No. II.—Government Actuary's Office. SALARIES— PROFESSIONAL DIVISION. £ 1 at £1,100 1,100 Arrears from 10th June, 1927, to 14th January, 1928, of increase to salary of officer since transferred: 1 at £50 30	1.100	
1	29	PROFESSIONAL DIVISION. 1 at £1,100 1,100 Arrears from 10th June, 1927, to 14th January, 1928, of increase to salary of officer since transferred: 1 at £50 30 CLERICAL DIVISION.	1,130	
	29	PROFESSIONAL DIVISION. 1 at £1,100 1,100 Arrears from 10th June, 1927, to 14th January, 1928, of increase to salary of officer since transferred: 1 at £50 CLERICAL DIVISION. Class V—		
1	29	PROFESSIONAL DIVISION. 1 at £1,100 1,100 Arrears from 10th June, 1927, to 14th January, 1928, of increase to salary of officer since transferred: 1 at £50 30 CLERICAL DIVISION.	1,130	
	29	Professional Division. £		
	29	Professional Division. £ 1 at £1,100 1,100		
	29	Professional Division. £		
	29	Professional Division. £		
	29	Professional Division. £		
	29	SALARIES— PROFESSIONAL DIVISION. £ 1 at £1,100 Arrears from 10th June, 1927, to 14th	380	
1	29	SALARIES— PROFESSIONAL DIVISION. £ 1 at £1,100 1,100 Arrears from 10th June, 1927, to 14th	380 1,581	
1	29	Professional Division. £	1,581 23	
1	29	Professional Division. \$\frac{1}{2}\$	380 1,581	
8	29	Professional Division. £	1,581 23 212	
1	29	Professional Division. \$\frac{1}{2}\$ at \$\pmu 1,100\$	1,581 23	
8	29	Professional Division. \$\frac{1}{2}\$ 1 at \$\pmu1,100\$	1,581 23 212	
8	29	Professional Division. \$\frac{1}{2}\$ at \$\pmu 1,100\$	1,581 23 212	
1 8	29	Professional Division. £	1,581 23 212	

Number Persons.	Item.	VOTE No. 21.—DEPARTI AFFAIRS—a	MENT O	F INTE	RNAL	1928–	29.
928–29.		Subdivision No. II.—Gove		ctuaru's (Office	£	£
		-contin		, , , , , , , , , , , , , , , , , , ,	3,000		-
	20	OTHER CHARGES FOR AND IN		то	1	20	
	30	Fuel, light, power, and wa		• • • •	•••	30	
	31	Office fittings		•••	•••	50	
	$\begin{vmatrix} 32 \\ 33 \end{vmatrix}$	Office requisites		• • •		30 10	
	34	Overtime and meal allowar		•••	••••	5	
	35	Postage and telegrams	•••	•••	•••	100	
	36	Printing and stationery Rent		•••	•••	500	
	37	Telephone services	•••	•••	•••	40	
	38	Travelling allowances and		•••	•••	10 :	
	39	Contingencies	expenses	•••	••• ;	5	
	35	Contingencies	•••	•••			
		Estimated credits-in-a	id under	Section 5	1 of the	780	
		Public Revenues A					
		Contributions towar				,	
		for services rene		01 01110	£ ,	ļ	
		Government Supe		n Funds	1,100	i	
	1	National Provide	nt and I	riendly	_,		
		Societies Depar			2,934		
		Miscellaneous	•••	•••	21	į	
					4,055		
		Total— Sub	dininia 1	To 11			5,08
	40	Subdivision No. III.—M	inisters' L	Secretarie	s.		
	40	Subdivision No. III.—M SALARIES— CLERICAL D		Secretarie	s.		
	40	SALARIES— CLERICAL D Class I—		Secretarie	s		
1	40	SALARIES— Clerical D Class I— 1 at £590		Secretarie	s	590	
_	40	SALARIES— Class I— 1 at £590 Class II—		Secretarie 	s		
1 2	40	SALARIES— Class I— 1 at £590 Class II— 2 at £515		Secretarie 	s	590 1,030	
2	40	SALARIES— Class I— 1 at £590 Class II— 2 at £515 Class III—		Secretarie 		1,030	
_	40	SALARIES— Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470		Secretarie 			
2	40	SALARIES— Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV—		Secretarie 		1,030	
2	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425		Secretarie		1,030	
2 1 3	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI—		Secretarie		1,030 470 1,275	
2	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335		Secretarie		1,030	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII—		Secretarie		1,030 470 1,275 335	
2 1 3	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £395				1,030 470 1,275	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII—	vivision	 		1,030 470 1,275 335	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to compare the compared to th		 		1,030 470 1,275 335 295	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to consider the secretaries to		 	 	1,030 470 1,275 335 295	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to consider the secretaries to Extra classification alloware		 	 ach	1,030 470 1,275 335 295	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to consider the secretaries to Extra classification alloward at £210		 	 ach £	1,030 470 1,275 335 295	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to ce 16 Private Secretaries to Extra classification alloward at £210 3 at £100		 	 ach £ 210 300	1,030 470 1,275 335 295 800	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to ce 16 Private Secretaries to Extra classification allowar 1 at £210 3 at £100 5 at £90 1 at £45 Payment to other Department of officers acting as		 on— at £50 ea	 ach £ 210 300 450	1,030 470 1,275 335 295	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to compare the secretaries to the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the	ivision	 on—— at £50 ea aries ecre-	 ach £ 210 300 450 45	1,030 470 1,275 335 295 800	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to compare the secretaries to the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the		 on— at £50 ea	 ach £ 210 300 450 45	1,030 470 1,275 335 295 800	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to compare the secretaries to the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the secretaries the		 on—— at £50 ea aries ecre-	 210 300 450 45 45	1,030 470 1,275 335 295 800	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to a few services and alloward at £210 3 at £100 5 at £90 1 at £45 Payment to other Department of officers acting as taries— Crown Law Department Customs Department Native Department	orvision	 on—— at £50 ea aries ecre-	 210 300 450 45 45 590 515 515	1,030 470 1,275 335 295 800	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to construct the secretaries to Extra classification alloward at £210 3 at £100 5 at £90 1 at £45 Payment to other Department of officers acting as taries— Crown Law Department Native Department Public Works Department	orvision	 on—— at £50 ea aries ecre-	 210 300 450 45 45 515 515 380	1,030 470 1,275 335 295 800	
2 1 3 1	40	Class I— 1 at £590 Class II— 2 at £515 Class III— 1 at £470 Class IV— 3 at £425 Class VI— 1 at £335 Class VII— 1 at £295 Allowances in addition to a few services and alloward at £210 3 at £100 5 at £90 1 at £45 Payment to other Department of officers acting as taries— Crown Law Department Customs Department Native Department	orvision	on— at £50 ea aries ecre	 210 300 450 45 45 590 515 515	1,030 470 1,275 335 295 800	

lumber Persons.	Item.	VOTE No. 21.—DEPARTMEN AFFAIRS—conti		RNAL	1928-	29.
928-29.		AFFAIRS—conti	nuea.	-		
		Subdivision No. IV.—Messenger. Charwomen.		rs, and	£	£
	41	Salaries—				
		General Divis	ION.			
		Messengers, &c.—		£		
	1	1 at £380	•••	380		
		1 at £302	•••	302		
		5 at £295	•••	1,475		
		2 at £280	•••	560		
		1 at £276 18 at £270	•••	276		
		18 at £270 (5 months), £265	(7 months)	$rac{4,860}{267}$		
		1 at £270 (3 months), £265 1 at £270 ($3\frac{1}{2}$ months), £265		266		
		1 at £265 (11 months), £255		264		
		2 at £260	(I month)	520		
		4 at £250	•••	1,000		
		1 at £245	•••	245		
		74 at £240	•••	17,760		
	l į	1 at £240 (9 months), £230 ((3 months)	237		
		1 at £240 (5½ months), £235	(6½ months)	237		
		1 at £240 (5 months), £230	(7 months)	234		
		1 at £240 (3 months), £235 ((9 months)	236		
		1 at £240 (2 months), £235	(10 months)	236		
		1 at £240 (1 month)		17	j	
	i	1 at £235 (8½ months), £225		232		
		1 at £235 ($7\frac{1}{2}$ months), £225		232		
		1 at £235 (7 months), £225 (231		
	1	1 at £235 (4 months), £225 ($egin{array}{c} 228 \ 226 \ \end{array}$		
		1 at £231 (1 month), £225 (1 1 at £225 (10 months), £221	(2 months)	$\frac{220}{224}$	i	
		2 at £225 (8 months), £221 (4 months)	446		
		1 at £225 (4 months), £221		222		
		2 at £225 (2 months), £221 (10 months)	444		
		1 at £221	•••	221		
		1 at £183	•••	183		
		1 at £176	•••	176		
133		1 at £155 (10 months), £145	(2 months)	153		
		Charwomen—			32,590	
	1	1 at £175		175		
		1 at £130	•••	130		
3		1 at £125		125	400	
		Payment to other Departments		246	430	
		Post and Telegraph Departm Public Works Department		60		
		-			306	
		Non-permanen Charwomen—	TS.			
	j İ	1 at £182	•••	182		
		2 at £156	***	312		
		1 at £145 \cdots	•••	145		
		1 at £145 (1 month)	•••	$\frac{12}{140}$		
		1 at £140	•••	140		
		3 at £130	. •••	390		
	1	2 at £127	***	254 195		
	1	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	* * *	$egin{array}{c c} 125 \ 120 \ \end{array}$		
		1 . 4 0100 (111 4) - \	•••	118		
	İ	121 at £117	•••	14,157		
		1 at £117 (11 months), £105	(1 month)	116	1	
		1 at £117 (11 months)	(1 111011111)	107	1	
		2 at £117 (10 months)	•••	190		
	l i	2 at £117 (9 months)	•••	172		
		2 au æ111 (3 monus)	• • •			

Number of Persons.	Item.	VOTE No. 21.—DEPARTM AFFAIRS—			ERNAL	1928-	-29.
1928–29.		Subdivision No. IV.—Messe Charwomen-	ngers, (Office-keep	ers, and	£	£
	4.1	Salaries—continued.	-convin	uou.			
	41		4.	: 			
		Non-permanent	s-contr	inuea.			
		Charwomen—continued. 1 at £117 (7 months)		•••	£ 68		
	!	11 at £115		•••	1,265		
		1 at £115 (8 months), £. 2 at £115 (3 months)		nonths)	112 58		
	1	116 at £105	•••		12,180		
		1 at £105 (11 months)			96		
		1 at £105 (9 months), £ 1 at £105 (7½ months)	101 (3 r	nontns)	104 65		
		3 at £104	••	•••	312		
	i i	1 at £104 (8 months), £1	15 (4 mc	-	74		
		1 at £101 1 at £100	•••	•••	101		
		1 at £93		•••	93	ļ	
		2 at £91 1 at £90	• • ,	•••	182 90		
		1 at £89		•••	89		
		1 at £87		•••	87		
	1	4 at £83 2 at £75	• • •	•••	$\begin{array}{c c} 332 \\ 150 \end{array}$		
		2 at £72		· · ·	144		
		1 at £71	• • • •		71		
	ļ ,	3 at £70 1 at £67	• • •	•••	$\begin{array}{c c}210\\67\end{array}$		
		2 at £65	•••	•••	130		
		1 at £58 1 at £54	•••	•••	58 54		
		1 at £54 (3 months)	•••	•••	14		
		2 at £53	•••	•••	106		
		2 at £52 1 at £50			104 50		
		1 at £47		•••	47		
		1 at £42 1 at £40	• • •	•••	42 40	İ	
		1 at £39	•••		39		
		1 at £36	•••	•••	36		
		3 at £34 4 at £26		•••	$\begin{array}{c} 102 \\ 104 \end{array}$		
	1	1 at £26 ($10\frac{1}{2}$ months), :	£15 (1½		24		
		3 at £25 2 at £23	•••	•••	$\begin{bmatrix} 75 \\ 46 \end{bmatrix}$		
		1 at £22		•••	22		
		1 at £21		•••	21		
	.	2 at £20 1 at £19	•••		40 19		
		1 at £18	•••		18		
		1 at £16 4 at £15	•••	•••	16 60		
		1 at £13		•••	13		
		3 at £9	•••		27		
348		4 at £5 Messengers—	•••	•••	20	33,995	
		4 at £240	•••		960	00,000	
		1 at £234 (8 months), £	172 (4 n	nonths)	213		
		1 at £230 1 at £225		•••	230 2 25		
		3 at £221	•••	•••	663		
		48 at £208 1 at £208 (10½ months)	•••	•••	9,984 182		
		1 at £208 (10 months)	•••	•••	174		

DEPARTMENT OF II	NTERNAL	AFFAIRS	continued.
------------------	---------	---------	------------

nber sons. Item.		1928-	29.
 -29.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		
	Subdivision No. IV.—Messengers, Office-keepers, and Charwomen—continued.	£	£
41	Salaries—continued.		
	General Division—continued.		
	Messengers—continued.		
	1 at £208 (9 months), £107 (3 months) 182		
1	2 at £208 (8 months) 278	İ	
	1 at £208 $(7\frac{1}{2} \text{ months})$ 132		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1 at £130 130		
i	1 at £120 120		
	$egin{array}{cccccccccccccccccccccccccccccccccccc$		
1	$\begin{array}{cccccccccccccccccccccccccccccccccccc$,	
ļ	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1 at £30 30		
	$2 \text{ at } \pounds 26$ 52		
:	3 at £12 · 36		
į	1 at £10 10		
81	2 at £3 6	}	
565		13,932	
300		81,253	
	Payment to messengers for Saturday, Sunday, and	,	
	holiday duty	1,300	
	Special allowances to messengers, (including allow-		
	ances to Ministerial messengers)	870	
ļ	Estimated credits-in-aid under Section 51 of the	-	
į	Public Revenues Act, 1926 (see end of vote)—		
'	Salaries, &c £15,480		
		83,423	
:			
	OTHER CHARGES FOR AND INCIDENTAL TO		
42	Grant to widow, equivalent to leave due to officer		
1	(deceased)	20	
43	Medical attendance for messengers and charwomen,		
	&c., injured on duty	25	
44	Motor cars, cycles, and accessories, maintenance of	[
i 1	(part recoverable)	75	
45	Office-cleaning (including upkeep of grounds outside	0 550	
10	main centres)	2,750	
46	Rent	52 50	
47 48	Transfer and removal expenses Travelling allowances and expenses	300	
48	II will a word on a company of an image on going	625	
50	Contingencies, including unforeseen expenditure in-	020	
. 50	cidental to the other items of this subdivision	10	
		3,907	
	Estimated credits-in-aid under Section 51 of the	•	
	Public Revenues Act, 1926 (see end of vote)—		
	Motor cars, cycles, and accessories £15		
	Office-cleaning 300		
	Miscellaneous 10		
:	325		
	325	1	
	520		

Number of Persons.	Item.		1928	29.
9 2 8–29.	-! ! 	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		
		Subdivision No. V.—Registrar-General's Office.	£	£
	51	SALARIES— CLERICAL DIVISION.		
		Class I—		
1		1 at £615	615	
		Class IV—		
4		4 at £425	1,700	
		Class V—		
1		1 at £380	380	
		Class VI— £		
		9 at £335 3,015	:	
	İ	1 at £335 (5 months), £320 (7 months) 327		
11	1	1 at £320 320	0.660	
		Class VII-	3,662	
		3 at £295 885		
	i	1 at £295 (3 months), £275 (9 months) 280	}	
	1	1 at £275 (11 months), £250 (1 month) 273		
	1 1	1 at £250 250		
		1 at £230 ($4\frac{1}{2}$ months), £210 ($7\frac{1}{2}$ months) 218	i	
		1 at £210 210		
		1 at £190 (10½ months), £155 (1½ months) 186		
	İ	1 at £155 155 1 at £155 ($7\frac{1}{3}$ months), £135 ($4\frac{1}{3}$ months) 148	i	
		$1 \text{ at £155 } (1\frac{1}{2} \text{ months}), £135 (10\frac{1}{2} \text{ months})$ 138 months		
		1 at £135 (11 months), £115 (1 month) 134	i	
		1 at £135 ($10\frac{1}{2}$ months), £115 ($1\frac{1}{2}$ months) 132		
		1 at £135 ($2\frac{1}{2}$ months), £115 ($9\frac{1}{2}$ months) 131		
	1	1 at £135 (1 month), £115 (11 months) 117		
		1 at £115 (10 months), £95 (2 months) 112 1 at £95 (10½ months), £80 (1½ months) 93	į	
19		1 at £95 (9 months), £80 (3 months) 91		
13		1 at 200 (5 months), 200 (8 months)	3,553	
		Lodging-allowance	51	
		General Division.	1	
		1 at £295 295	į	
	!	1 at £195 195		
	· i	2 at £185 370		
5	;	1 at £185 (6 months) 93	050 :	
	. 1	Non-permanents.	953	
		1 at £130 (10 months), £117 (2 months) 128	•	
		2 at £104 208		
		2 at £91 182		
6		1 at £91 (9 months), £78 (3 months) 88	coc	
47		Allowances to Clerks of Court and others acting as	606	
71		Registrars of Births, Deaths, and Marriages:		
		12 at £10	120	
		Payment to Justice Department for services of		
	i	officers as Registrars of Births, Deaths, and	750	
		Marriages		
			12,210	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
		Births, deaths, and marriages, registration of—	į	
	52	Non-permanent officers	1,500	
	53	Post Office for services of postmasters	2,200	

· · · · · · · · · · · · · · · · · · ·		The state of the s		
Number of Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1928-	29.
1928–29.		Subdivision No. V.—Registrar-General's Office—continued.	£	£
	54 55 56 57 58 59 60 61	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Office-cleaning, firing, lighting, freight, and cartage Office fittings and requisites Postage, telegrams, and rent of boxes Printing and stationery Rent of offices Telephone services (including installation, extensions, maintenance, rent, and calls) Transfer and removal expenses Travelling allowances and expenses	100 150 600 1,000 800 130 50 100	
	62	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Miscellaneous £15	10	
		Misconwicous	6,640	
	1	Total—Subdivision No. V —	0,640	18,850
		Subdivision No VI.—Census and Statistics.	£	£
	63	Salaries— Clerical Division.		
4		Class Special—	000	
1		1 at £800 £	800	
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
3		Class IV— —————————————————————————————————	$\begin{bmatrix} 1,005 \\ 1,275 \end{bmatrix}$	
3		Class V—	1,210	
5		4 at £380 1,520 1 at £355 355		
		Class VI— 2 at £335 670	1,875	
3	!	1 at £320 320 Class VII—	990	
		2 at £295 590 1 at £275 275	990	
		1 at £275 (9 months), £250 (3 months) 269 1 at £275 (2 months), £250 (10 months) 254 6 at £250 1,500		
	i	1 at £250 (11 months), £230 (1 month) 1 at £230 (10 months), £210 (2 months) 1 at £230 (4½ months), £210 (7½ months) 218	:	
		3 at £210 630 1 at £210 (9 months), £190 (3 months) 205		
	i	1 at £190 ($10\frac{1}{2}$ months), £155 ($1\frac{1}{2}$ months) 187		
		1 at £155 155 2 at £155 (1 month), £135 (11 months) 274		
		1 at £135 (11 months), £115 (1 month) 134 5 at £115 575	i	
		1 at £115 (10 months), £95 (2 months) 1 at £115 (8 months), £95 (4 months) 109	:	
		1 at £115 ($2\frac{1}{2}$ months), £95 ($9\frac{1}{2}$ months) 99		
		2 at £95 190 2 at £95 (11 months), £80 (1 month) 188	i	
		2 at £95 (5 months), £80 (7 months) 174 1 at £95 (3 months), £80 (9 months) 84	İ	
4.1		2 at £95 (2 months), £80 (10 months) 164		
41		1 at £80 ($4\frac{1}{2}$ months) 33	6,894	

Number of Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1928-	-29.
1928–29.				
		Subdivision No. VI.—Census and Statistics—continued.	£	£
	63	Salaries—continued.	•	
		GENERAL DIVISION £		
		1 at £320 320		
		1 at £295 (6 months), £275 (6 months) 285 1 at £275 275	!	
		1 at £270 (5 months), £260, (7 months) 265		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
11		1 at £205 (9 months), £195 (3 months) 202	0 507	
		Non-permanents.	2,597	
		3 at £156 468		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £130 (9½ months), £117 (2½ months) 127	:	
		5 at £117 585 114 114 114 115 114 115 114 115 115 115 116	<u> </u>	
		1 at £117 (8 months), £104 (4 months) 113		
		17 at £104 1,768	İ	
	İ	1 at £104 (9 months), £91 (3 months) 101 5 at £91 455	1	
40	.	1 at £91 (11 months), £78 (1 month) 89	•	
40		2 at £78 <u>156</u>	4,379	
106		Cadets' lodging-allowances	250	
		-	20,065	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	64	Census, 1926: Cost of taking and printing results Freight, cartage, and transport charges	$egin{array}{c c} 1,250 & \\ 25 & \end{array}$	
	66	Fuel, light, power, and water	150	
	67	Mechanical appliances—	50	
	67 68	Purchase of	50 200	
	69	Office fittings and requisites	150	
	$\begin{array}{c c}70\\71\end{array}$	Postage, telegrams, and rent of boxes	950 1,500	
	72	Printing statistical publications (part recoverable)	7,000	
	73 74	Rent of offices	1,100	
	14	collection of	6,450	
	75	Telephone services (including installation, extensions,		
	76	maintenance, rent, and calls) Travelling allowances and expenses	$rac{63}{50}$.	
	77	Contingencies, including unforeseen expenditure		
		incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)————————————————————————————————————		
		Work done on Powers machines	i 	
		for— & Land and Income Tax Department 200		
		Post and Telegraph Department 500		
	1	State Fire Insurance Department 500	:	
		Fire Underwriters' Association 900 Miscellaneous 284	!	
		2,384	:	
		Miscellaneous 20		
	:	3,054		
			18,948	
ļ		$Total-Subdivision \ No. \ VI $		39,0

${\tt DEPARTMENT~OF~INTERNAL~AFFAIRS} - continued.$

umber Persons	Item.		TE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.			1928-	29.
28–29.	!	Subdivision No. VII.—High		sioner's	Office.	£	£
	78	Salaries					
	Ì	Secretary				1,055	
		Finance Officer and Accoun	tant			900	
		Clerks and Messengers				21,459	
		Miscellaneous wages	•••			1,372	
		Emigration Officer	• • •		•••	900	
	i	Trade and Produce Officer		•••	•••	900	
	-	Publicity Officer	•••	• • •	•••	900	
		Non-permanents— Miscellaneous		•••	·	200	-
		Estimated credits-in-ai Public Revenues A					
	ļ	Amounts recoverable			£		
	į		•••		5,200	!	
		Government Insur		• • •	450		
		Post and Telegraph Printing and Station	n noncert	• • •	650		
	!	TO 1.1' /II)	onery 	•••	200 1, 0 00		
		Public Trust, enem			200	1	
		D 111 TT 1			1,100		
Į		State Fire Office	•••		100	1	
	İ	Working Railways			1,150		
					10,050		
						27,686	
		OTHER CHARGES FOR AND INC	IDENTAL	то—			
	79 i	Advertising, photographs,			ers. and		
		411-1-1				300	
-	80	Freight, cartage, and transp		ges		50	
	81	Fuel, light, power, and water		•••		1,000	
	82	House-allowance for High C	ommissi	oner		1,000	
	83	Income-tax payable in Engl	and and I	New Zea	land, re-	900	
	84	fund to officers of different Motor-vehicles, maintenance		en the ar	nount of	300 250	
	85	National Insurance Act, 19 employed in the High Co	911, in r	espect c ner's offi	of clerks ce, con-	250	
	00	tributions due under				50	
	86	Office-cleaning		• • •	•••	350	
	87	Office fittings and requisites		· • •	•••	500	
	88 [†] 89	Official entertainments, expe		•••		600	
	90 :	The 19 '19 '19 '19 '19 '19 '19 '19 '19 '19	•••			1,800 1,000	,
	91	Rent, rates, taxes, insurance				8,700	
	92	Repairs to offices	···			800	
	93	Subscriptions to various soc	ieties and	l associa	tions	50	
	94	Travelling allowances and ex		•••		400	
	95	Contingencies, including un cidental to the other item				150	
		Estimated credits-in-aid Public Revenues Ac				,	
		Shipping charges of			£		
		Government Depar		~ 101	130		
		Rent, &c.	•••		3,650		
	İ	Postage, telegrams, &		• • •	235		
	-	Printing and statione		• • •	235		
1		Miscellaneous	•••	•••	50		
İ					4,300		
						17,300	

Number of Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1928–29.	
928–29.		Subdivision No. VIII.—Museum.		
			£	£
	96	SALARIES—		
	İ	Professional Division.		
		Class A—		
0		1 at £765 (Director) 765		
2		1 at £615 (11 months), £490 (1 month) 603	1 000	
			1,368	
		GENERAL DIVISION.		
		1 at £370 (9 $\frac{1}{2}$ months), £350 (2 $\frac{1}{2}$ months) 366		
		1 at £300 300		
		1 at £295 295		
4		1 at £275 275	1 000	
			1,236	
		Non-permanents.		
		1 at £475 475		
	,	1 at £208 208	·	
		1 at £182 (11 months) 167		
4		1 at £68 \dots 68	010	
		A11	918	
10		Allowances to officers performing special or higher	1	
	Į	duties under Public Service Regulations, No. 24A		
	į	or 209	110	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)		
		Salaries £50		
] [·	2 222	
			3,632	
		Less amount provided but not required	265	
			2 2 2 2	
			3,367	
	_	OTHER CHARGES FOR AND INCIDENTAL TO-		
	97	Advertising, photographs, books, newspapers, and	1 70	
i	/	other publications	150	
\	. !	Board of Science and Art, expenses incidental to,		
		including publications (part recoverable)—		
	98	Butterflies and moths of New Zealand (recoverable)	1,500	
	99	General expenses	40	
	100	"New Zealand Plants and their Story" (third		
		edition)	20	
	101	"Waikaremoana": Republication	73	
	102	Freight, cartage, and transport charges	50	
	103	Fuel, light, power, and water	180	
	104	International Exchange Services: Freight and postage	20	
	105	Maori Race and early history of New Zealand, collec-		
		tion and establishment of historical and other	·	
		matter relating to the	10	
	106	Museum fittings	300	
	107	Museum publications, printing of (part recoverable)	300	
	108	National Historical Collection, purchase of pictures	60	
	109	Office fittings and requisites	65	
	110	Photographic and phonographic supplies	70	
	111	Postage, telegrams, and rent of boxes	50	
	112	Printing and stationery	100	
	113	Rent (floor space occupied by exhibits in Dominion		
		Farmers' Institute)	845	
	114	Specimens and pictures, purchase and preparation of	150	
	115	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	45	
	116	Travelling allowances and expenses	150	
	117	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of this subdivision	20	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
		Board of Science and Art publi-		
		cations, &c 200		
		Museum publications 100		
		Miscellaneous 50		
		350		
İ		I=		
			4,198	

		DEPARTMENT OF IN	NTERNAL	AFFAIRS	-continue	ed.		
Number of Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.				1928–29.		
1928-29.		Subdivision No. 12				£	£	
	110		•					
	118	SALARIES— PROFESSIO	nal Divisio	N				
		Class B	21,1010					
1		1 at £590				590		
1		Class E_{-}				320		
1		1 at £320 Genera	L Division.	•••	£	520		
		2 at £380			760			
		1 at £355	•••	•••	355			
4		1 at £220	•••	•••	220	1,335		
		Non-pe	RMANENTS.			1,550		
	İ	1 at £273			273			
		1 at £156		•••	156			
4		1 at £130	•••	•••	$\frac{130}{90}$	ļ		
4		1 at £39	•••	•••	39	598		
10		Payments to other	Department	s for serv	vices as	000		
	-	magazine-keepers		•••		175		
	1					3,018		
	İ	OTHER CHARGES FOR AND Explosives Act, expens			able)—			
	119	ā , -	to under (pe			150		
	120	Magazines: Expense			recover-			
		able)		•••		2,000		
	$\begin{array}{c c} 121 \\ 122 \end{array}$	Postage, telegrams, a Printing and statione	and telephon	ie services	T I	$\begin{vmatrix} 100 \\ 275 \end{vmatrix}$		
	123	Travelling allowance	\mathbf{s} and expen	ses	•••	1,200		
		_	_		i			
		Estimated credits-						
		Public Revenu Explosives Act,	les Act, 1926	o (see end of	vote)—			
		Expenses in	connection	with	£			
	!	magazines		•••	1,800	İ		
		Miscellaneous	•••	•••	20	İ		
					1,820			
					1,020			
						3,725		
		Total-	-Subdivision	No. 1X	-		6,7	
	İ	Subdivision No. 2	Z.—Publicit	u Branch.				
	124	SALARIES-	- D					
	,	Clerica Class III—	L Division.					
1		1 at £470				470		
1		Class VI—	•••	•••				
1		1 at £335				335		
^		Class VII	£100 /9 ·	ontha)	1	410		
2		2 at £210 (9 months)	, æ130 (9 M	ommis)	•••	410		
			ERMANENTS.		£			
		1 at £326	• • •	•••	326			
		3 at £287			861 235			
		1 at £262 (11 months) 1 at £209 (10 months)			176	. 1		
		1 at £209 (1 month)	•••		17	i		
		1 at £169 \			169			
		1 at £156 (9 $\frac{1}{2}$ months)	•••		105	I		
9		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	•••	•••	130 104			
		1 at £104	•••	•••		2,123		
13					}-			
	-					3,338		

${\tt DEPARTMENT\ OF\ INTERNAL\ AFFAIRS-} continued.$

h—continuolicity velo		£	£
TO— ublicity e)— sun ys at icity nal eents	work in £ 5,000 7,000 1,000 11,000 200 500 1,000 200 1,000 500		~
sun- ys at icity nal ents	5,000 7,000 1,000 1,000 11,000 200 500 1,000 200 1,000 500		
ys at icity nal eents	1,000 11,000 200 500 1,000 200 1,000 500		
ys at icity nal eents	11,000 200 500 1,000 200 1,000 500		
ys at icity nal eents	200 500 1,000 200 1,000 500		
ys at icity nal 	500 1,000 200 1,000 500		
icity nal nents	1,000 200 1,000 500		
icity nal nents	200 1,000 500		
nal ents	1,000 500		
ents	500		
	1,800		
\mathbf{New}			
	1 000		
iona			
		32,440	
n in con	nection	9,000	
 ment for	gnacial	2,000	
	special	1,000	
	end of		
	1,000		
	1,000		
•••	1,000		
	3,000		
		25 440	
No. X	-	30,440	38,778
			,,,,
s Servic	es.		
		515	
	.,,	010	
•••	•••	840	
		380	
•••	£	800	
	670		
•••	320	999	
	1,180	330	
ths)	216		
 +ba\	210	:	
ths)			
ths)	137	· · · · · · · · · · · · · · · · · · ·	
ths)	236		
	ions in in con ment for section 5 26 (see	1,000 ions 1,240 1,000 in in connection ment for special dection 51 of the 26 (see end of £ 1,000	1,000 32,440 1,000 32,440 1,000

${\tt DEPARTMENT\ OF\ INTERNAL\ AFFAIRS-} {\it continued}.$

Number f Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.			1928–29.		
928-29.							
	ŀ	$Subdivision\ No.\ XIMiscella$	neous Se	rvic e s—c	continued.	£	£
	141	SALARIES (Relieving Staff)—c	ontinued				
		Clerical Divisio	n—contin	nued.			
		Class VII—continued.			£		
		1 at £115 ($\frac{1}{2}$ month), £95	(11 1 mo	nths)	96		
		1 at £95 ($5\frac{1}{2}$ months), £8	0 (6 mon	ths)	87		
		1 at £80	•••	• • •	80		
		1 at £80 (11 months)	•••	• • •	73		
		1 at £80 ($10\frac{1}{2}$ months) 1 at £80 (9 months)	• • •	•••	$\begin{bmatrix} 70 \\ 60 \end{bmatrix}$		
20		2 at £80 (8 months)	•••	•••	106		
20						2,968	
		GENERAL D	IVISION.		000		
		1 at £320	• • •	•••	$egin{array}{c} 320 \ 295 \end{array}$		
		1 at £295 1 at £285	•••	•••	$\begin{bmatrix} 295 \\ 285 \end{bmatrix}$		
		2 at £245	•••	•••	490		
		1 at £235			235		
		4 at £225			900		
		1 at £220 (8 months), £208	(4 mont	hs)	216		
		5 at £215	•••	•••	1,075		
		1 at £215 (5 months)	•••	•••	90		
•		2 at £205 1 at £195	•••	•••	410 195		
		2 at £185			370		
		2 at £185 (9 months)		•••	278		
		1 at £180			180		
26		1 at £160	•••		160	7 400	
		Non-perma	NUMBE			5,499	
		1 at £287	MENIS.		287	a de	
		1 at £208			208	!	
		1 at £185			185		
		3 at £182			546		
		2 at £169			338	<u> </u>	
		1 at £169 (9 months), £156		hs)	165	Ì	
		1 at £156	•••	• • •	156 110		
		1 at £156 (8 $\frac{1}{2}$ months) 1 at £156 (8 months)	•••	***	104		
		1 at £156 (4 months)			52	İ	
		2 at £143	•••	•••	286		
		1 at £143 ($1\frac{1}{2}$ months)			18	-	
		1 at £130		• • •	130		
		1 at £117	 4.71		117		
		1 at £117 (11 months), £10			$\begin{bmatrix} 115 \\ 69 \end{bmatrix}$		
		1 at £117 (7 months) 1 at £104 (11 months), £91	 (1 mont	h)	103		
		1 at £104 (11 months), £51 1 at £104 ($9\frac{1}{2}$ months)	/* mon		82		
		1 at £104 (2 months)			17		
		1 at £91			91		
		2 at £91 (9 months), £78 (3	months)		174		
		1 at £91 (8 months), £78 (2	2½ month	s)	76	İ	
		10 at £78	 /1 41:		780	!	
		1 at £78 (11 months), £65 ($\begin{array}{c c} 76 \\ 146 \end{array}$:	
		2 at £78 (11 months)	• • •	•••	68	ļ	
	!	1 at £78 ($10\frac{1}{2}$ months) 1 at £78 ($9\frac{1}{2}$ months)			62		
		3 at £78 (8 months)		•••	159		
		1 at £78 (5 months)			. 33		
		1 at £78 (4 months)	•••	•••	26		
	1				2 2		
	ì	1 at £78 (3 $\frac{1}{2}$ months) 1 at £78 (3 months)	•••	•••	19	l l	

${\tt DEPARTMENT\ OF\ INTERNAL\ AFFAIRS--} continued.$

Number of Persons.	Item.		1928-	29.
1928-29.	-	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	0	
		Subdivision No. XI.—Miscellaneous Services—continued.	£	£
	141	SALARIES (Relieving Staff)—continued.		
	İ	Non-permanents $-continued$.		
		1 at £78 (2 months) 13		
		1 at £78 ($1\frac{1}{2}$ months) 10		
		1 at £65 (11 months) 60		
53		1 at £65 (8 months) 43	4 046	•
1		Town-planner	4,946 1,000	
	-	Lodging-allowances (cadets)	255	
107	i	Allowances to officers performing special or higher		
	-	duties (under Public Service Regulations Nos. 24A	!	
	1	and 209)	175	
		Payment to other Departments for services of	į	
	1	officers— £ Legislative 100		
		Legislative 100 Native Trust 65		
		Post and Telegraph 380		
		Printing and Stationery 91		
			636	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Salaries of officers relieving in £ other Departments 5,621 Pay of non-permanents relieving in other Departments 4,072 9,693		
			18,204	
	142 143	OTHER CHARGES FOR AND INCIDENTAL TO— Cost-of-living bonus to annuitants under the Public Service, and Teachers' Superannuation Funds and Civil Service Act, 1908, and to other persons in receipt of retiring-allowances (part recoverable) Deer herds, reduction of, in certain acclimatization	5,000	
	140	districts, bonus to assist in Dominion Archives—	1,000	
	144	Allowance to Controller	200	
	145	Binding	50	
	146	Entertaining visitors to the Dominion and official functions, cost of	3,100	
	147	Erection of memorial to the memory of Edward Gibbon Wakefield and Colonel William Hayward		
	148	Wakefield (on account)	50	
	149	through enemy action during the war Ex gratia payment to Mrs. A. J. Cheater, widow late	50	
	150	Government employee Exhibits for Museums, railage on	$\begin{array}{c c} 250 \\ 10 \end{array}$	
	151	Expenses in connection with search for missing airmen (Captain Hood and Lieutenant Moncrief)	673	
	152	Fire Hose: Purchased on account of Fire Brigades	1 000	
	150	(recoverable) Funeral expenses late Hon. R. F. Bollard	1,000	
	153 $ 154 $		48	
	104	Government Buildings, Wellington	667	
	155	Game-license fees and fines refundable to Marlborough Acclimatization Society, being amount credited		
	1.50	1927-28 to vote "Department of Internal Affairs"	41 :	
	156	Grants in settlement of petitions	750	

NAME OF THE OWNER, THE OWNER, ASSESSED.		DEPARTMENT OF INTERNAL AFFAIRS—continu	ea.	
Number of Persons.	Item.	VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1928-	-29.
1928-29.		Subdivision No. XI.—Miscellaneous Services—continued.	1	
			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	157	Grants— Auckland War Memorial	12,500	
	158	Aviators, Tasman Flight	2,000	
	159	Board of Maori Arts and Crafts	500	
	160	Captain Cook Memorial, Hawaii: Public reserva-		
		tion around site, purchase of land	200	
	161	Fire Brigades Annual Conference	1,000	
	162	H. G. Ell, ex M.P., in consideration of public		
		service rendered in connection with the Summit	200	
	163	Road and Summit Reserves, Christchurch	300	
	164	Imperial Institute	1,584	
	101	tion "The French at Akaroa"	300	
	165	Memorial to late F. Lawry, ex M.P	25	
	166	Memorial, gold-miners, Gorge Creek, Otago	197	
	167	New Zealand Amateur Swimming Association	350	
	168	New Zealand Native Birds Protection Society	50	
	169	Olympic Team, towards expenses of	500	
	170	Polynesian Society	250	
	171	Protection of Women and Children, to Society for—		
	i	Auckland £100 Wellington 100		
		01 : 4 1 1		
		Dunedin 100		
			400	
	172	Re-erecting memorial to late Sir John McKenzie		
		(£500), (on account)	100	
	173	Royal Humane Society	100	
	174	Royal Life Saving Society	100	
	175	St. Mary's Guild Home, Karori	200	
	176	St. Mary's Home, Otahuhu, for reformative work	200	
	$\begin{array}{c} 177 \\ 178 \end{array}$	To officer on retirement, equivalent to leave due	5	
	10	To new Director of Town-planning, equivalent to salary from date of departure to date of taking		
		up duties	140	
	179	War Fund's Council for South African Veterans	250	
	180	Grave of late Right Hon. W. F. Massey at Point		
		Halswell: Beautification of area in vicinity and		
	101	access to	4,100	
	181	International Economic and Naval Disarmament	550	
	182	Conference: New Zealand representation, cost of Maori Arts School and Reception Marae, Rotorua:	300	
	102	Preliminary expenses	50	
	183	New Hebrides Royal Commission: Expenses New	30	
		Zealand delegate	107	
	184	New Zealand Gazette: Cost of printing (part re-		
		coverable)	7,750	
	185	Opossums: Expenses under Animals Protection Act	500	
	186	(recoverable) Opossum fees and royalties on skins: Amounts allo	500	
	190	cated to other than Acclimatization Societies	4,500	
	187	Parliamentary Delegation to Canada, expenses of	1,000	
	188	Parliaments of the Empire: Contribution towards	,	
		cost of producing journal (London publication)	400	
	189	Post-office account: Ministerial telegraphic memo-		
		randa	2,000	
	190	Railway Department: Annual and sectional railway		
		passes and fares for— Acclimatization Societies: Rangers and	i	
		Boys' Scouts Association: Dominion	ŀ	
		Chief Commissioner 90		
	-	Fire Brigades —		
		Secretary to United Fire Brigades		
	ĺ	Association 90		
		Brigades attending Fire Brigades'		
	i	Annual Conference 1,250)	

	1			
Number of Persons.	Item.	VODE N. 01 DED DOMENTO OF THE PROPERTY	1928	-29.
or remons.		VOTE No. 21.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		
1928–29.		ATTATIO—continuea.		
		Subdivision No. XI.—Miscellaneous Services—continued.	£	£
		Owner Cyclodes you and washing to continued		
	190	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Railway Department: Annual and sectional railway		
	100	passes and fares for—continued.		
		Girl Guides' Association: Chief Com-		
		missioner 90		
		Naval personnel on leave 400 Returned Soldiers' Association—		
		Secretary 90		
		Delegates to Conference 50		
		Society for Prevention of Cruelty to		
		Animals: Inspectors 390		
		South African Veterans attending Annual Conference 30		
		Tongariro National Park Ranger 47		
			3,137	
	101	Stores Control Board, expenses of—	100	
	$\begin{array}{c} 191 \\ 192 \end{array}$	Advertising General expenses	$\begin{bmatrix} 100 \\ 100 \end{bmatrix}$	
	193	Office furniture	10	
	194	Overtime and meal allowances	10	
	195	Printing and stationery	500	
	196 197	$egin{array}{cccccccccccccccccccccccccccccccccccc$	$egin{array}{c} 218 \ 25 \ \end{array}$	
	131	Travelling-expenses Stranded New-Zealanders—	20	
	198	Assistance to return to New Zealand (recoverable)	500	
	199	Board and lodging for, and small advances to those		
		in destitute condition Subsidy towards—	25	
	200	Auckland Commercial Travellers' and Warehouse-		
	-33	men's Association's moneys raised for poor and		
		needy (£1 for £1 up to £200)	200	
	201	Dominion Boy Scouts' Association (£1 for £1 up to	1 000	
	202	$\mathfrak{L}1,000$) $\mathfrak{L}1$ Girl Guides Association (£1 for £1)	1,000	,
	203	Lawrence flood relief (£1 for £1)	58	
	204	Memorial to late Hon. Tame Parata, M.L.C., and		
		C. Parata, M.P. (£1 for £1 up to £150), (on ac-	10	
	205	count) Otago University Museum (£1 for £1 up to	10	
		£25,000), (on account)	5,000	
	206	Telegrams beyond the Dominion	100	
	207	Totalizators, expenses incidental to inspection of	000	
	208	(recoverable) Town-planning, expenses in connection with (includ-	900	
		ing travelling-expenses Board and Town Planner)	300	
	209	Transport expenses of new Director of Town-		
	210	planning from England	350	
	210	Turnbull Library— £ Binding of books 200		
		Drawings, etchings, woodcuts of Aus-		
		tralian and New Zealand artists,		
		purchase of 82	į	
		Furniture and fittings 100 Incidental expenses 20		
		Incidental expenses 20 Purchase of books 250		
		Salaries 630		
			1,282	
	$\begin{array}{c} 211 \\ 212 \end{array}$	Grant to Dr. G. H. Scholefield, Advisory Director	50	
	417	Visit of T.R.H. the Duke and Duchess of York to New Zealand	300	
	213	War Funds Act, expenses in connection with ad-	550	
		ministration of	10	
	214	War gratuities to members New Zealand Expedi-	F 0	
l	١ '	tionary Forces and V.A.D.'s	50	

DEPARTMENT OF INTERNAL AFFAIRS—continued.

Number of Persons	Item.	VOTE No. 21.—DEPARTMENT OF INTER AFFAIRS—continued.	1928–29.		
1928–2 9 .		Subdivision No. XI.—Miscellaneous Services—con	tinued.	£	£
	215	OTHER CHARGES FOR AND INCIDENTAL TO—contine War Graves and Memorials— War graves and memorials (including the beerected in provincial cemeteries) to see and others (including wives and day of officers, and also of men of the British and navies who were killed or died in continuous controls.	ose to oldiers ighters d allied		
	216	with the Maori and Great Wars), head and permanent work for, maintenance, r tion of, and expenses in connection therev Battlefield memorials, maintenance of— France and Belgium	lstones enova-	4,500	
	217	Gallipoli Wellington Carillon (on account)		565 2,000	
	218	Contingencies, including unforeseen expendit cidental to the other items of this subdivision		50	
		Public Revenues Act, 1926 (see end of Contributions towards cost-of-living bonus to annuitants— Post and Telegraph Department 892 Public Trustee 45	£ 937		
		Fire-hose: Purchased on account of fire brigades	1,000		
		New Zealand Gazette Stranded New Zealanders	2,500 750		
		Totalizators, expenses incidental to inspection of War graves and memorials—	900		
		Miscellaneous expenses: Sale of cemetery registers	20		
		Miscellaneous	500		
			6,607		
		$Total-Subdivision \ No. \ XI$		76,947	95,151
		Gross Total			408,182
	in the second	Credits-in-aid (a)		•••	63,018
		NET TOTAL-VOTE No. 21			345,164

(a) Credits-in-a	id—		Salaries.	Other Charges.	1928–29.
Subdivision	ъ Т		$\overset{\mathtt{\pounds}}{2,999}$	$\overset{\mathfrak{L}}{1}$, $\overset{\mathfrak{L}}{220}$	$\overset{\mathfrak{L}}{4,219}$
DUDUIVISIO		• •		•	
,,	\mathbf{II}	• •	4,034	21	4,055
,,	\mathbf{IV}		15,480	325	15,805
,,	V		• •	1 5	15
,,	VI			3,054	3,054
**	VII		10,050	4,300	14,350
,,	VIII		50	3 50	400
1,	1X			1,820	1,820
,,	X			3,000	3,000
,,	XI		9,6 9 3	6,607	16,300
					40,010
Tota	als	• •	42,306	2 0,712	63,018

AUDIT DEPARTMENT.

					1928-29.				
					Salarie	s. Ot	her Charges.	Total.	
Vote No. 22	2.—Audit	Department-				£	£	£	
Gra	oss Total	ь		,	47,	772	6,845	54,61	
Cri	EDITS-IN-A	ID	• •	• •	21, 	900	3,100	25,00	
NE	T TOTA	Ĺ .,	• •	••	25,	872	3,745	29,61	
Number of Persons.	Item.						192	28 – 2 9.	
OI T ersons.		VOTE No. 2	2.—AUDIT	DEPA	RTMEN	${f T}.$			
1928-29.	1 84	ALARIES—					£	£	
			Unclassii	FIED.					
1		Audit Officer, L	ondon		•	•••	900	1	
	i İ		LERICAL D	IVISION.					
	*	Class Special—				£			
7	:	1 at £800 6 at £665		•••	***	$800 \\ 3,990$,	
	1	Class I—		•••	•••		4,790	.	
5		5 at £615					3,075		
		Class II—							
2		2 at £515		•••	•••		1,030		
5		Class III— 5 at £470					2,350		
0	!	Class IV—		•••	•••	•••	∠,500	İ	
		17 at £425				7,225			
		2 at £400		•••		800			
20	:	1 at £380 (5 n	nonths), £40	90 (7 mos)	$_{ m nths})$	392			
		Class V— 10 at £380				3,800	8,417	İ	
		1 at £355		•••	•••	355			
12		1 at £335 (4 r	nonths), £3	 55 (8 mo	nths)	348			
	į	Class VI— `	,,	•	,		4,503		
i	-	10 at £335				3,350		!	
		1 at £335 (10				333			
		1 at £335 (1 n 2 at £320 (7 n	nonths) £32	0 (11 mo	nths)	$\frac{322}{620}$			
		2 at £320 (8 r	nonths), £2	95 (4 mg)	nths)	624			
18		2 at £320 (1 r				5 95			
		Class VII—					5 ,844	:	
		8 at £295	 manthal Co	 075 /9 ma		2,360			
		2 at £295 (9 t 2 at £295 (7 t				580 574			
		1 at £295 (4 n				282			
		2 at £295 (1 r	nonth), £27	5 (11 mo	$_{ m nths})$	554		1	
		2 at £ 275	•		•••	55 0			
		1 at £275 (11	months), £	250 (1 m	onth)	273	- [1	

^{*} For particulars of salaries see "Public Service Classification List."
Note.—Scale increases or wages include cost-of-living increase.

AUDIT DEPARTMENT—continued.

		AODII DEI AIGI MENI—continuett.		:
Number of Persons.	Item.		1928-	29.
1928–29.	 	VOTE No. 22.—AUDIT DEPARTMENT—continued.		
1020-20.	1	Salaries continued.	£	£
		CLERICAL DIVISION—continued.	!	
		Class VII—continued. $\mathfrak L$	1 00000	
		1 at £275 (7 months), £250 (5 months) 265 1 at £275 (6 months), £250 (6 months) 263		
		1 at £275 (3 months), £250 (9 months) 257		
		1 at £275 (2 months), £250 (10 months) 255 1 at £250 (4 months), £230 (8 months) 237		
		1 at £250 (9 months), £230 (3 months) 245	:	
	İ	5 at £250 (3 months), £230 (9 months) 1,175 1 at £250 (2 months), £230 (10 months) 234		
		1 at £250 250		
		5 at £230 (11 months), £210 (1 month) 1,142 1 at £230 (4 months), £210 (8 months) 217	!	
		1 at £230 (2 months), £210 (10 months) 214		
		1 at £210 210 1 at £210 (9 months), £190 (3 months) 205		
		1 at £210 (6 months), £190 (6 months) 200		
		1 at £190 190 2 at £190 (11 months), £155 (1 month) 375		
	İ	1 at £190 (9 months), £155 (3 months) 182		
		2 at £190 (2 months), £155 (10 months) 322 1 at £190 (3 months) 48		
	i i ;	1 at £155 (5 months), £135 (7 months) 144		
		3 at £155 (3 months), £135 (9 months) 420 2 at £155 (2 months), £135 (10 months) 277		
		1 at £135 135		
		2 at £135 (7 months), £115 (5 months) 254 3 at £135 (4 months), £115 (8 months) 365		
		2 at £135 (3 months), £115 (9 months) 240		
•		1 at £115 115 1 at £115 (7 months) 67		
		3 at £115 (3 months), £95 (9 months) 300		
78		4 at £95 380 5 at £80 400		
	! !	Lodging-allowances	$\begin{array}{c c} 15,294 \\ 236 \end{array}$	
		Allowances to officers temporarily performing special		
		or higher duties (P.S. Regulations 24A and 209) Audit Officer, London, allowance to	25 75	
	į	Non-permanent.		
	•	4 at £196 784 1 at £196 (3 months) 49		
7		1 at £117 117		
•	i i	1 at £78 78	1,028	
1	! !	GENERAL DIVISION. 1 at £205	205	
156			47,772	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, photographs, books, newspapers, and	140	
	3	other publications Law-costs	$egin{array}{c} 140 \ 25 \end{array}$	
	4	Office fittings and requisites	200	
	$\begin{array}{c c} 5 \\ 6 \end{array}$	Overtime and meal allowance	$egin{array}{c c} 150 & \\ 260 & \\ \end{array}$	
	7	Printing and stationery	375	
	8	Rent ,	300	

AUDIT DEPARTMENT—continued.

Number of Persons.	,	1928-	29.
1928-29:	VOTE No. 22.—AUDIT DEPARTMENT—continued.		
	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Telephone services (including installation, extensions,	£	£
	Telephone services (including installation, extensions, maintenance, rent, and calls)	175	
. 1		200	
1		5,000	
1:		<i>'</i>	
	cidental to other items of the vote	20	
	· [-	6,845	
	Estimated credits-in-aid under Section 51 of the	0,010	
	Public Revenues Act, 1926 (see end of vote)—		
1	Audit inspection—		
İ	Local Authorities 19,000		
	Government Departments and		
	Loan Accounts whose accounts are kept on a commercial basis 6,000		
	are kept on a commercial basis 0,000		
	25,000		
	Gross Total		54,617
1	Credits-in-aid		25,000
	NET TOTAL—VOTE No. 22		29,617

PUBLIC SERVICE COMMISSIONER'S OFFICE.

	.	٠		1928-29.				
				Salaries.	Other Charges.	Total.		
Vote No. 23.—Public Servi	ce Commiss	ce	£	£	£			
GROSS TOTAL				5,318	1,977	7,295		
CREDITS-IN-AID		• •			25	25		
NET TOTAL	• •		• •	5,318	1,952	7,270		

Number of Persons.	Item.					1928-29.		
10.50 0.5		VOTE No. 23.—PU	MIS-					
1928–29.		SION	ER'S OFFICE.			£	£	
	1	*Salaries-				*	ı.	
		. Cles	CICAL DIVISION.					
		Class Special-						
1		1 at £715	• • •			715		
		Class 1		•				
2		2 at £615				1,230		
		CU T				1		
2	1	Class V— 2 at £380				760		
_	;				į			
1		Class VI— 1 at £320			Ì	320		
1		1 20 2020	•••	•••	•••	520		
		Class VII—			£			
		1 at £295 1 at £250	•••		$\frac{295}{250}$			
		2 at £155			310	Í		
		1 at £135			135			
6		1 at £95			95			
· ·						1,085		
	İ	Gen	NERAL DIVISION.			į		
		1 at £320	•••		320			
	ı	1 at £295			295 .	:		
3		1 at £255	•••		255	İ		
				*		870		
		Non	N-PERMANENTS.					
		1 at £182	•••	• • •	182			
2	i	1 at £156	•••	• • •	156	222		
	-					338		
17	i				-	5,318		
		i i			_	-,		

^{*} For particulars of salaries see "Public Service Classification List."
Note.—Scale salaries or wages include cost-of-living increase.

^{15—}B. 7.

${\tt PUBLIC~SERVICE~COMMISSIONER'S~OFFICe-} {\it continued}.$

Number of Persons.	Item.		1928-	29.
1928-29.	-	VOTE No. 23.—PUBLIC SERVICE COMMIS- SIONER'S OFFICE—continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—	£	£
	2	Advertising vacancies in the Public Service	300	
	3	Appeal Board— Allowance to General Manager, State Fire In-		
	. 0	surance, for services on Board at the rate of		
		£100 per annum	100	
	4	Expenses: Hearing of appeals	250	•
	5	Examinations (recoverable)	25	
	6	Office fittings and requisites	50	
	7	Printing and stationery	250	
	8	Postage and telegrams	150	
	9	Rent, cleaning, light, fuel, &c	442	
	10	Telephone services (including installation, extensions,		
	1	maintenance, rent, and calls)	85	
	11	Travelling allowances and expenses	300	
	12	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	25	
	:	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Examination Fees £25		
		·-	1,977	-
		Gross Total	1,311	7,295
		Credits-in-aid		25
	i I	NET TOTAL—VOTE No. 23		7,270

PRINTING AND STATIONERY DEPARTMENT.

						1	928–29.		
					Salaries.		ner Charges.	Total.	
ote No. 2	4.—P	rinting and Static	onery Department	_	£		2	£	
Gı	Ross T	l'otal			129,88	33	100,604	230,48	
$\mathbf{C}_{\mathbf{F}}$	REDITS	-IN-AID	•		•••			•••	
N1	NET TOTAL				129,88	3	100,604	230,48	
Number of Persons.	Item.	VOTE No. 24	.—PRINTING A DEPARTMEN		ATIONE	ERY	1928	-29.	
1928-29.	1	*SALARIES	DMINISTRATIVE D				£	£	
1									
1		,	overnment Printer	•	•••	•••	875	•	
			Professional Di	VISION.					
1		1 at £425 (Cl	niet Engineer)			•••	425		
		Class I	CLERICAL DIVIS	SION.					
1		Class I - 1 at £615	•••		•••	•••	615		
1	!	Class II 1 at £515					515		
		Class III-	•••		•••	•••			
1		$1 \text{ at } \pounds 470$ $Class IV$ —			•••		470		
1		$\begin{array}{ccc} 1 ext{ at } \pounds 425 \\ Class & V \end{array}$			·;··	 £	425		
		2 at £380				760			
4		2 at £355 Class VI—	•••		•••	710	1,470		
5	'	5 at £335				•••	1,675		
	İ	Class VII— 1 at £295				295			
		1 at £230	•••			$\frac{230}{230}$			
		4 at £190				760			
8		1 at £125 1 at £95	***		•••	125 95			
G			•••		•••		1,505		
	İ	1 1 0450	GENERAL DIVIS	SION.					
		1 at £450 1 at £435	•••			450 435			
		1 at £425	•••		· · · · · · · · · · · · · · · · · · ·	425			
		9 at £420	•••		8	3,780			
		1 at £416	•••		•••	416			
		3 at £375 9 at £355	•••			$1,125 \\ 3,195$			
		2 at £350				700			
		3 at £345			I	1,035			
		1 at £340 10 at £339	•••			340 3,390			
		6 at £335	•••			2,010			
		1 at £326			•••	326			
	1	6 at £321				926			
	i	1 at £320 3 at £313			•••	320 939			

[•] For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

PRINTING AND STATIONERY DEPARTMENT—continued.

Number Persons.	Item.	VOTE No. 24.—PRIN'	VOTE No. 24.—PRINTING AND STATIONERY DEPARTMENTcontinued.				
92829.		SALARIES—continued.				£	£
					:	~	
		GENERAL DI	vision—contin	iuea.	£		
		11 at £308	•••		3,388		
		57 at £306 2 at £300	•••		$17,442 \\ 600$. ! .	
		6 at £297	•••	•••	1,782		
		63 at £293			18,459		
		1 at £290 7 at £284	•••	•••	290		
		6 at £280	•••		$rac{1,988}{1,680}$		
		1 at £278	***	• • • •	278		
		4 at £274	•••	•••	1,096		
	:	3 at £267 4 at £261	•••		$\begin{array}{c} 801 \\ 1,044 \end{array}$		
		1 at £259	•••	•••	259		
		3 at £254		•••	762	1	
		1 at £251 1 at £250	***	•••	$egin{array}{c} 251 \ 250 \end{array}$		
•		1 at £248	•••		248		
		2 at £243	•••		486		
		1 at £241	•••	•••	241		
		4 at £240 1 at £238	•••	•••	960 238		
	1	1 at £222	•••		222		
		4 at £220	•	• • •	880		
		1 at £219 1 at £209	•••	•••	$\frac{219}{209}$:	
		1 at £196	•••		196		
		8 at £188		•••	1,504		
	!	3 at £185 1 at £181	•••	•••	555 181		
		1 at £178	•••	•••	178	į	
	1	3 at £177	•••	•••	531		
		6 at £175	•••	•••	1,050		
		1 at £170 4 at £164	•••	***	170 656		
	İ	13 at £157		•••	2,041	İ	
		28 at £150	***		4,200		
	ı	1 at £143 1 at £140	•••	• • •	143 140		
		1 at £134	•••		134		
		3 ät £124		• • •	372		
	'	1 at £117	•••	•••	117	!	
		4 at £115 2 at £87	•••	•••	$\begin{array}{c} 460 \\ 174 \end{array}$		
		2 at £86	•••		172		
331		1 at £85	•••	• • •	85	!	
991		1 at £78	•••	•••		88,022	
354	-	Non-permanents		•••	•••	95,997 36,000	
٠		· .				131,997	
		Less increases to payable for the	salaries prov full year	ided for	but not	2,194	
				, ,		129,803	
		Allowances to officers Public Service Regu	pertorming his lation 209	gher dui	ties under	80	
						129,883	

PRINTING AND STATIONERY DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 24.—PRINTING AND STATIONERY	1928-	-29.
1928-29.		DEPARTMENT—continued.		
	-		£	£
		Other Charges for and incidental to—		
	2	Audit fees	100	
	3	Compassionate allowance to widow of V. L. Kroupa,		
		late compositor, Printing and Stationery		
	1	Department	140	
	4	Cost of change-over of electric installation	230	
	5	Department of Internal Affairs: Proportion of rent		
		and clerical work, High Commissioner's Office,		
		London	360	
	6	Freight, cartage, insurance, and exchange	9,700	
	7	Fuel, power, gas, lighting, and water	2,750	
	8 :	Grant to widow, equivalent to leave due to officer	,	
		(deceased)	29	
	9	Machinery	7,000	
	10	Medical services	175	
	11 .	Monotype machines, extras connected with	600	
	$12 \pm$	Monotype metal	400	
	13	Monotype metal Office equipment and advertising	100	
	14	Overtime and meal allowances	2,500	
	15	Postage and telegrams	1,700	
	16	Renewal and painting of roof of building	230	
	17	Repairs to buildings, &c	650	
	18	Services of charwomen, messengers, &c	2,000	
	19	Stationery, paper, &c., and office requisites	65,000	
	20	Stores, bookbinding-material, and printing-ink	6,000	
:	$\frac{20}{21}$	Telephone services (including installation, extensions,	0,000	
		maintenance, rents, and calls)	140	
	22	Type and printing material	600	
	$\frac{22}{23}$	Window-cleaning and rubbish-removal	150	
	$\frac{20}{24}$	Contingencies, including unforeseen expenditure in-	100	
	<u> </u>	cidental to the other items of the vote	50	
		cidential to the other items of the vote		
			100,604	
		Gross Total	100,001	2 3 0,487
		GROSS TOTAL		400,401
		Credits-in-aid	•••	•••
	i	NIDEL HOME NOTE NO. 04	-	000 105
	į	NET TOTAL—VOTE No. 24		230,487

MENTAL HOSPITALS DEPARTMENT.

							19	928–29.	
						Salaries. Ot		er Charges.	Total.
Vote No. 2	25.—M	ental Hospi	itals Depar	tment—		£)	£	£
Gr	Ross T	OTAL	• •	••	••	230,	438	194,472	424,910
Cr	EDITS-	-IN-AID	• •	••	••			130,000	130,000
NET TOTAL				••	••	230,	438	64,472	294,910
Number of Persons.	Item.	E	SS - 1.11 W.					192	8-29.
1928-29.		VOTE No. 25.—MENTAL HOSPIT DEPARTMENT.						£	£
	1	*Salaries		NISTRATIVE	Divisio	N.			
1		1 at £3	1,250 (Insp	ector-Gener	al)	•••	•••	1,250	:
			Рког	FESSIONAL I	Oivision		•		
16	: ! 	2 Med 1 Med 4 Med 3 Med	ical Superi ical Officer ical Officer	rs at £900 (5 rs at £800 .	t £ 850 months		£ 5,005 1,700 900 1,500 2,400 790		
1		Class .		er at £650		•••		12,295 650	
3		Class . 3 M		cers at £590	· ·			1,770	_
			Cı	LERICAL DIV	VISION.			15,965	
1		Class . 1 at	<i>I</i> — £565					565	
1		Class . 1 at	II— £515				•••	515	
1		$Class \ 1$ at	<i>III</i> — £470		••		•••	470	
4		Class . 4 at	<i>IV-</i> £4 25			•••		1,700	
3		Class 3 at	<i>V</i> — £380					1,140	
2		$egin{array}{c} Class \ 2 \ { m at} \end{array}$	<i>VI</i> — £335		••		•••	670	
		1 at	VII— £295 £190 £155		 		£ 1,475 190 465		

^{*} For particulars of salaries see "Public Service Classification List."

NOTE.—Scale salaries or wages include cost-of-living increase.

MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 25.—MEN' PARTMEN'			DE-	1928-	29.
1928–29.	1 !	Salaries—continued.		•		£	£
	* :		GIÓN AGON	tima a 1		~	*
		CLERICAL DIVI	SIONcom	rnuea.			
		Class VII—continued. 2 at £135			£ 270		
•		1 at £115		•••	115		
14		2 at £80	• • •	•••	160		
						2,675	
						7,735	
	1 .	GENERAL	Division.		-		
		1 Assistant Inspector	•••	• • • •	420	i	
		1 Dietitian at £300 8 Storekeepers at £250	•••	•••	300		
		1 Storekeeper at £200	•••		2,000		
		1 Office Assistant at £24	ō	•••	245		
		1 Office Assistant at £20	. ~		205	·	
		1 Office Assistant at £18 2 Office Assistants at £1		• • •	185		
	1	1 Office Assistants at £14		•••	$\begin{array}{c c} 330 \\ 145 \end{array}$		
		1 Office Assistant at £65		•••	65		
		1 Shorthand-writer and			185		
	:	2 Shorthand-writers and			330		
		1 Shorthand-writer and 2 Shorthand-writers and			$\begin{array}{c c} 156 \\ 240 \end{array}$		
25	!	1 Shorthand-writer and			78		
			. F			5,084	
		Head Attendants-			•		
4		Class A— 4 at £405				1 690	
'1		1 40 2100	•••	•••		1,620	
0		Class B				0.000	
8		8 at £365	•••	•••		2,920	
		${\it Matrons}$ —				4,540	
		Class A—			-		
		4 at £300	•••		1,200		
5		1 at £290	•••	•••	290		
	!	Class B—				1,490	
3		3 at £260 Class C	• • •	• • •	• • • •	780	
8		8 at £245	•••			1,960	
						4,230	
		Engineers-		*		1,200	
		4 at £425		• • •	1,700		
	i l	2 at £380		•••	760		
		3 at £320 2 at £295	,	• • •	960 590	į	
12		1 at £85	••	•••	85		
						4,095	
4		Farm Supervisor			-	400	
1		1 at £400	•••	•••	•••	400	
		Farm Managers—					
	1 1	1 at £325	•••	•••	325		
-		3 at £305	•••	•••	915		
5		1 at £295	•••		295	1,535	
		Farm Overseers-					
2		2 at £260		• • •	!_	520	
	. 1					2,455	
						_, _50	

MENTAL HOSPITALS DEPARTMENT—continued. Number 1928-29. Item. of Persons. VOTE No. 25.-MENTAL HOSPITALS DE-PARTMENT—continued. 1928-29.£ £ 1 Salaries--continued. GENERAL DIVISION—continued. Engine-drivers--245 1 at £245 3,600 15 at £240 1 at £228 17 4,073 Electricians-3 at £260 780 Fitter-·1 at £260 260 1 Labourers-2 at £225 450 2 Attendants-1,160 4 at £290 40 at £280 11,200 7 at £270 1,890 . . . 14,300 55 at £260 85 at £250 21,250 6,480 2,115 27 at £240 ... 9 at £235 12 at £230 2,760 70 at £225 15,750... 53 at £220 11,660 5 at £215 1,075 33 at £205 6,765 55 at £200 11,000 455Works Overseers-107,405 1 at £350 350 . . . 630 2 at £315 1 at £300 300 . . . 1 at £290 2905 . . . 1,570 Carpenters-2 at £275 550 14 at £265 3,710 1 at £150 17 150 4,410 Upholsterers 1 at £260 260 . . . 1 at £244 244 2 504 Bricklayers-3 at £260 780 3 Blacksmiths-780 3 at £260 1 at £150 150 4 930 Painters-8 at £260 2,080 8 Bootmakers-3 at £260 780 252 1 at £252 2 at £236 4726 1,504 Bakers-1 at £280 280 6 5 at £260 1,300 1,580 Butchers-1 at £252 252 1 at £250 **250** . . . 1 at £236 236 . . . 1 at £244 244 1 at £228 228 5 1,210 Poultrymen-3 at £252 756 1 at £185 185Plumbers---941 2 at £280 560 2,340 9 at £260

2,900

MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No 25—MES PARTMEN			DE .	1928-	29.
19 2 8–2 9 .	1	Salaries—continued.	CL OOMANIA	.cu·.	-	£	£
		General Div		Simou and			
		GENERAL DIN	ISIONcont	линеа.	£.		
,		1 at £280			280		
		2 at £260			520	and the second	
		5 at £252			1,260	ĺ	
		3 at £244 2 at £228		• • •	$ \begin{array}{c c} 732 \\ 456 \end{array} $		
14		1 at £195	•••		195	-	
		Tinsmith—				3,443	
1		1 at £260	•••	• •		260	
		Fishermen - 1 at £240			940		
2		1 at £180	•••		$\begin{array}{c c} 240 & \\ 180 & \end{array}$		
_		Motor-drivers-		•••		420	
		1 at £250		•••	250		
5		4 at £235		• • • •	940	1 100	
		Farm Hands— 1 at £235			235	1,190	
	i i	1 at £230		•••	$\frac{230}{230}$		
		2 at £228			456		
		1 at £225			225	:	
		10 at £210	• • •		2,100		
		1 at £195 4 at £180			$egin{array}{c c} 195 & \\ 720 & \end{array}$		
		1 at £165			165	:	
		8 at £150			1,200		
		1 at £145	• • •		145		
		1 at £135 3 at £130		•••	135 390		
38		4 at £104	•••	•••	416		
	1 1	Messengers-		***		6,612	
		1 at £236		•••	236	ļ	
		1 at £150	•••	•••	150	İ	
4		2 at £130 Nurses—	•••	•••	260	646	
	1	2 at £220			440	010	
		22 at £210		•••	4,620		
		4 at £205	•••	•••	820		
	l i	14 at £200 14 at £195		•••	$2,800 \\ 2,730$		
		10 at £190	•••		1,900		
	İ	4 at £180			720		
	1 1	9 at £165			1,485		
		9 at £160 9 at £155		•••	1,440 1,395	a .	
		5 at £150			750		
		24 at £145			3,480		
		6 at £140	* * *	•••	840		
		34 at £135 61 at £130		•••	4,590 7,930		
475		248 at £120			29,760		
110		Seamstresses—				65,700	
5		5 at £156				780	
		Cooks			100		
		2 Males at £244 4 Males at £228		• • •	$\frac{488}{912}$		
	!	3 Females at £210	***	•••	630		
	1	2 Females at £155			310		
		3 Females at £145	• • •		435	A. or not reported	
18		4 Females at £130	•••	•••	520	3,295	
		Laundresses— 3 at £210			630	0,200	
		1 at £165			165	- !	
	1	2 at £150			300		
7	1 :	1 at £120			120		

MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item.	VOME V OF 3	ATIMONAT TICC	NDIM LI C	:	1928-	29.
1928– 29.	-[VOTE No. 25.—M PARTM	MENTAL HOS MENT—continu		DE-		
	1	Salaries—continued.			į	£	£
		GENERAL	Division—cont	inued.			
	i :	Ward-maids—			£		
		1 at £120	•••	•••	120		
		1 at £100	•••	•••	100		
4	1	2 at £80	•••	•••	160	380	
	į i	Official Visitors—				300	
		8 at £26			208		
9	1 !	1 at £13		•••	13		
						221	
			N-PERMANENTS.		1 000		
	1	2 at £650 1 at £600	• • •	•••	1,300 600		
		1 at £575	•••	•••	575 ,		
		2 at £540	•••	•••	1,080		
8	1	2 at £515	•••	•••	1,030		
	_'					4,585	
1,259	1	Allowances	•••	•••		210	
******	- 1					204 400	
	1	Tana ladarata				264,438	
		Less deduction	n for board c	oi attenda	nts and	24,000	
		nurses	•••	•••	•••	24,000	
						240,438	
		Less amount p	rovided but not	t required		10,000	
	!	-		-	;-		
	1 .					230,438	
		OTHER CHARGES FOR A	AND INCIDENTAL	то			
	2	Advertising, photog			ers, and		
		other publications				100	
	3	Bacteriological research	arch	•••	•••	50	
	4	Bedding and clothin		,,	•••	28,000	
	5	Buildings, improven				7,500	
	6:	Compensation unde Dental services		-	I .	900 500	
	8:	Developmental worl		with bring		300	
		into cultivation, p				1,200	
	9	Fares and expenses				,	
		from United King	gdom		•••	700	
	10	Farms, maintenance		erable)	•••	10,000	
	11	Fencing, draining, a		• • •	• • •	1,500 1,400	
		H'maight agutaga	d transport abo	race		1 4(1)	
	12	Freight, cartage, an			•••		
	12 13	Fuel, light, power,	water, and clea	ning		27,000	
	12		water, and clear of	ning			
	12 13 14 15	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty	water, and clear of of officer who 	ning		27,000 400 35	
	12 13 14 15	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni	water, and clear of of officer who ishings	ning died as 1 	cesult of	27,000 400 35 3,400	
	12 13 14 15	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shrubl	water, and clear of of officer who ishings	ning died as 1 	result of	27,000 400 35	
	12 13 14 15 16 17	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shrubl Grants to—	water, and clear of of officer who ishings oeries, expenses	ning died as r s of	result of	27,000 400 35 3,400	
	12 13 14 15	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shrubl Grants to— Relatives of office	water, and clear of of officer who ishings oeries, expenses	ning died as r s of	result of	27,000 400 35 3,400 400	
	12 13 14 15 16 17 18	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shrubl Grants to— Relatives of office due	water, and clear of of officer who ishings beries, expenses er (deceased), e	ning died as r s of	result of of leave	27,000 400 35 3,400 400	
	12 13 14 15 16 17	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shrubl Grants to— Relatives of office	water, and clear of of officer who ishings beries, expenses er (deceased), e	ning died as r s of	result of	27,000 400 35 3,400 400 14 23	
	12 13 14 15 16 17 18 19 20 21	Fuel, light, power, Funerals, expenses Funeral expenses injury on duty Furniture and furni Gardens and shrubl Grants to— Relatives of office due Officer retired me	water, and clear of of officer who ishings beries, expenses er (deceased), e edically unfit	ning died as 1 s of equivalent	result of of leave	27,000 400 35 3,400 400	
	12 13 14 15 16 17 18 19 20 21 22	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shrubl Grants to— Relatives of office due Officer retired me Laundry Legal and inquiry of Machinery, repairs,	water, and clear of of officer who ishings beries, expenses er (deceased), e edically unfit costs and stores	ning died as r s of equivalent	result of of leave	27,000 400 35 3,400 400 14 23 4,800	
	12 13 14 15 16 17 18 19 20 21	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shruble Grants to— Relatives of office due Officer retired me Laundry Legal and inquiry of Machinery, repairs, Medical fees for ce	water, and clear of of officer who ishings beries, expenses er (deceased), e edically unfit costs and stores	ning died as r s of equivalent	result of of leave	27,000 400 35 3,400 400 14 23 4,800 20 1,200	
	12 13 14 15 16 17 18 19 20 21 22 23	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shruble Grants to— Relatives of office due Officer retired medical fees for cerecoverable)	water, and clear of of officer who ishings beries, expenses er (deceased), e edically unfit costs and stores ertificates and of	ning died as r s of equivalent	result of of leave	27,000 400 35 3,400 400 14 23 4,800 20 1,200 2,200	
	12 13 14 15 16 17 18 19 20 21 22	Fuel, light, power, Funerals, expenses Funeral expenses of injury on duty Furniture and furni Gardens and shruble Grants to— Relatives of office due Officer retired me Laundry Legal and inquiry of Machinery, repairs, Medical fees for ce	water, and clear of of officer who ishings beries, expenses er (deceased), e edically unfit costs and stores ertificates and o intenance of	ning died as r s of equivalent	result of of leave	27,000 400 35 3,400 400 14 23 4,800 20 1,200	

${\tt MENTAL~HOSPITALS~DEPARTMENT--} continued.$

Number f Persons.	Item.					1928	-29.
928-29.		VOTE No. 25.—MENT. PARTMENT-			S DE-		
.04020.		I 1/1/1 1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/1/	contai	iucu.		£	£
	1 1	OTHER CHARGES FOR AND	INCIDEN	TTAL TO-	continued.	~	~
		Nursing staff—		1112 10	00100011100001		
	26	Engagement of				30	
	27	Uniforms, purchase of			•••	2,300	
	28	Office equipment				50	
		Patients, expenses connec		n			
	29	Gratuities				700	
	30	"Patients' Friends"				200	
	31	Recreation	•••			7,170	
	32	Transfer	•••			300	
	33	Postage, telegrams, and re		oxes		680	
ļ	34	Printing and stationery		01100		800	
	35	Rations	•••	•••		76,000	
	36	Rents and rates	•••	•••		3,000	
	37	Stores		•••		4,700	•
	•	Surgery and dispensary—	•••	•••	•••	1,100	
	38	Drugs and instruments				2,400	
	39	Wine, spirits, ale, and p				100	
	40 ı	Telephone services (include				100	
i	10	maintenance, rent, and				700	
i	41	Transfer and removal expe				300	
	$\frac{1}{42}$				•••	1,700	
	44	Travelling allowances and Treatment and maintenan			oitala	1,700	
	43	Patients	e in ge		•	200	
	44	Staff	•••	•••	•••	100	
	45		 .n fo nog		dirana in	100	
	40	Contingencies, including to			alture in-	50	
		cidental to the other iter	ns of th	ie vote	•••	50	
		Estimated credits-in-	aid und	ar gastion	51 of the		
		Public Revenues			_ 1		
i		vote)—	, Mou,	1020 (86	£		
		Fees for maintenan	an of n	tionte	110,000		
		Medical fees, refund		Lucius	1,000		
		Sale of farm-produc		took fro	10,000		
	1						
1	i	Stores, board, &c. (1 Miscellaneous	repara	by stan)	3,000		
j		Miscellaneous	•••	•••	6,000		
					130,000		
						104 470	
		G- 45				194,472	404.03
		GROSS TOTAL	•••	•••	•••		424,91
		O			[490.00
	:	CREDITS-IN-AID	•••	•••	•••		130,00
į		NET TOTAL—V	ито	No. 95			294, 91

DEPARTMENT OF HEALTH.

	·	AND AND AND AND AND AND AND AND AND AND		1928-29.	
	m.		Salaries.	Other Charges.	Total.
Vote No. 26.—Department	of Health-	 	£	£	£
GROSS TOTAL		 • •	133,267	217,549	350,816
CREDITS-IN-AID	• •	 ••]	1,680	100,090	101,770
NET TOTAL			131,587	117,459	249,046

Number of Persons.	Item.	VOTE No. 26.—DEPART	VOTE No. 26.—DEPARTMENT OF HEALTH.				
1928-29.	1	*SALARIES-				£	£
		Administrativ	E Division	N.		~	~
1		1 at £1,250 (Director-Gene	ral of Heal	lth)		1,250	
		PROFESSIONAL	Division.		£		
		1 at £1,150			1,150		
	'	1 at £956			956		
	!	1 at £897			897		
	!	3 at £851			2,553		
		2 at £850		•••	1,700		
		2 at £837			1,674		
		1 at £800			800		
		1 at £791	•••	•••	791		
14		2 at £765	•••	•••	1,530		
1.4		Class A—	•••	•••	1,000	12,051	
		2 at £715			1,430	12,001	
0		6 at £615	•••	• • •.	3,690		
8	1	Class B—	•••	•••	3,090	F 100	
	į į				4 700	5,120	
	1	8 at £590	•••	•••	4,720		
	!	3 at £540		•••	1,620		
14		3 at £515	• • •	•••	1,545	- 00-	
1	İ	Class C—				7,885	
1		1 at £490	•••	• • •	•••	490	
		Class D—					
	1	2 at £425	•••		850	-	
		3 at £400		•••	1,200		
		1 at £380 (9 $\frac{1}{2}$ months)	• • •	•••	301		
9		3 at £355	•••		1,065		
		Class E —			-	3,416	
4		4 at £320	•••	•••		1,280	
		$Class\ F$			İ	•	
1]	1 at £230				230	
_	1 .	Allowances for performin	g special	duties	(Public		
	ĺ	Service Regulation 24A)			`	25	
		House allowances		• • •		225	

		CLERICAL D	ivision.				
		Class I—			£		
		1 at £615			615	i	
2		1 at £565			565		
2		Class III—				1,180	
		1 at £470			470	, 1,100	
2		1 at £445			445	-	
△		T ON STIP	•••	•••	110	915	
	•					910 :	

^{*} For particulars of salaries see "Public Service Classification List. Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.	VOUDE N. O.	DEDADOMENTO OF	TTTAL	r mrr	1928–	29 .
1928–29.		VUTE No. 26	-DEPARTMENT OF continued.	H.E.A.	LTH—	6	
	1	SALARIES—contin	ued.			£	£
			CAL DIVISION—continu	ed.			
		Class IV—			£		
9		2 at £425	•••	•••	850		
3		1 at £400 $Class\ V$ —	•••	• • • •	400	1 050	
5		5 at £380				$1,250 \\ 1,900$	
0		Class VI—	•••		•••	1,500	
		5 at £335	•••		1,675		
6			months), £250 (1 mon	th)	272		
		Class VII—	, ,	•		1,947	
	1 1	6 at £295	•••		1,770		
		2 at £275	***	•••	550		
		4 at £250 4 at £230	• • •	•••	1,000		
		2 at £210	• • •	•	$\begin{array}{c} 920 \\ 420 \end{array}$		
		1 at £190	•••		190	į	
		2 at £155	•••		310		
		3 at £135	•		405		
		6 at £115	• • •		690		
•		3 at £95	••		285		
35		2 at £80	•••	• • •	160		
		Cadets' lodging	-allowances			$\begin{array}{c} 6,700 \\ 125 \end{array}$	
			General Division.				
		1 at £490	GENERAL DIVISION.		490		
		1 at £425	•••	• • • •	425		
		5 at £420	•••		2,100		
		2 at £410	***	•••	820		
		1 at £400	***	• • •	400		
		13 at £380	•••	•••	4,940		
		1 at £360	•••	•••	360		
		4 at £355 21 at £335	• • •	• • • •	$\frac{1,420}{7,025}$		
		7 at £330	•••	•••	$\begin{bmatrix} 7,035 \\ 2,310 \end{bmatrix}$		
		5 at £320	• •	• • •	1,600		
	1	1 at £310	•••		310		
		1 at £300	•••	•••	300		
		2 at £295	•••		590		
		1 at £290	•••	•••	290		
		6 at £280	***	•••	1,680		
		2 at £270	•••	•••	540		
		1 at £265 5 at £260	***	•••	265 1,300		
		2 at £255	***	• • •	510		
		1 at £250	•••		250		
		2 at £245	•••		490		
		1 at £244	•••		244		
		13 at £240	•••		3,120		
		1 at £236	•••	•••	236		
		5 at £235	•••	•••	1,175		
		2 at £229	4.4.5	•••	458		
		30 at £225 15 at £215	***		$6,750 \\ 3,225$		
			nonths), £195 (1 month		214		
	1	1 at £210	•••	•••	210		
		30 at £205		•••	6,150		
	.	31 at £195		•••	6,045		
	.	1 at £190		•••	190		
		10 at £185	•••		1,850	-	
		1 at £180	••	•••	180		
		1 at £175	•••	• • •	175		

VOTE No. 26—DEPARTMENT OF HEALTH— continued.	Number	Item.					1000	ഹ
Continued Cont		rem.	COMP N. O. DEDAD	MITANIM O	יד דדי אינ	mrr	1928-	Z9.
### SALARIES—continued. General Division—continued. E		-			r HEAL	TH		
CENERAL DIVISION—continued.	928–29.			rueu.			Δ	•
297 297 298 298 298 298 298 298 298 299 299 299		1	SALARIES— $continued$.				£	£
1 at £135			GENERAL DIVISI	ON-conti	nued			
2 at £125			GENERAL DIVIS	00,000	www.	£		
Allowances for performing special duties (Public Service Regulation 24A)			1 at £135		•••		1	
Allowances for performing special duties (Public Service Regulation 24A)			2 at £125			250		
Allowances for performing special duties (Public Service Regulation 24A). Locality and horse allowances	297	1	66 at £75	•••		4,950		
Service Regulation 24A)		İ					63 , 982	
Locality and horse allowances 20 2,360						(Public		
Lodging-allowances		1				l.		
UNCLASSIFIED (NON-PERMANENTS). 3 Medical Superintendents— 1 at £1,059								
3 Medical Superintendents—			Hodging-anowances	•••	•••	•••	2,000	
1 at £1,059 1,059 1,059 1 at £900 1 at £850 850 1 at £850 850 1 at £850 850 1 at £850 850 1 at £850 850 1 at £850 850 1 at £850 860 1 at £800 800 1 at £765 1 at £700 (8 months), £500 (4 months) 633 1 at £600 600 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £310 300 300 1 at £300 300 1 at £300 300 1 at £300 300		1	Unclassified (No	ON-PERMAN	ENTS).			
1 at £1,059 1,059 1,059 1 at £850 900 1 at £850 850 1 Inspector of Hospitals 850 1 Medical Officers— 1 at £850 860 1 at £800 800 1 at £765 1 at £700 (8 months), £500 (4 months) 633 1 at £600 600 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 1 at £300 300 300 1 at £300 300 300 1 at £300 300 300 1 at £300 300 300 1 at £300 300			3 Medical Superintendent	s—			į	
1 at £900 900 850 1 at £850 850 1 Inspector of Hospitals .		1				1,059		
1 Inspector of Hospitals			1 at £900	•••	•••			
1 Inspector of Hospitals .	3	1	1 at £850	•••	•••	850		
14 Médical Officers— 1 at £850 850 1 at £850 800 1 at £850 800 1 at £765 765 765 1 at £760 8 months), £500 (4 months) 633 1 at £600 600 1 at £500 500 1 at £250 500 1 at £273 (4 month) 17 1 at £273 (4 month) 17 1 at £275 2 at £155 300 1 at £175 300 1 at £175 300 1 at £175 300 1 at £100 300 1 at £100 300 1 at £100 300 1 at £100 300 1 at £100 300 1 at £100 300 1 at £100 300 1 at £100 300 1 at £100 300 3 at £386 3 at £386 3 at £386 3 at £385 3 at £3			مان مسلم را مورو					
1 at £850				•••	•••	•••	850	
1 at £800						050		
1 at £765		1		•••				
1 at £700 (8 months), £500 (4 months)							[
1 at £500								-
1 at £500				(1 III.			1	
1 at £300								
1 at £250 250 1 at £200 200 1 at £175 175 2 at £150 300 1 at £100 100		1						
1 at £200			1 at £273 ($\frac{3}{4}$ month)			17		
1 at £175 2 at £150 300 1 at £100 100 1 at £100 100 1 at £100 100 1 at £100 100 1 at £100 100 1 at £100 100 1 at £100 100 1 at £100 100 1 at £100 100				•••		1		
15							İ	
1 1 25 25 25 25 25 25		i		•••	•••			
1 School Medical Officer at £300 (10 months)		i l			•••			
1 School Medical Officer at £300 (10 months) 250 1 Consulting Obstetrician 600 1 Advisory Medical Officer 500 8 Inspectors of Health— 1 at £420 420 3 at £380 1,140 1 at £315 315 1 at £285 285 2 at £275 4 Port Health Officers— 2,710 2 at £350 700 2 at £75 150 7 School Dental Officers— 1,200 3 at £250 750 5 Clerks— 1 at £286 1 at £295 295 1 at £286 1 at £275 (9 months), £260 (3 months) 272 1 at £234 234 250 1 Port Disinfecting Officer 260 1 Ante-natal Nurse 260 1 Matron 14 Staff Nurses— 2 at £135 270 280 1 at £125 (10 months) 250 1 at £125 (10 months) 250 1 at £125 (10 months) 250 1 at £125 (10 months) 250 1 at £125 (10 months) 260 1 at £125 (10 months) 280 280 280	15	1 1	1 at £100	•••	•••	100	5 400	
1 Consulting Obstetrician 1 Advisory Medical Officer			1 School Medical Officer a	st £300 (1)) months)			
1 Advisory Medical Officer				,	,			
8 Inspectors of Health— 1 at £420			1 Advisory Medical Office					
1 at £420	_						1	
1 at £315		i :	1 at £420		•••	420		
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$				•••				
2 at £275 4 Port Health Officers— 2 at £350 2 at £75 7 School Dental Officers— 4 at £300 3 at £250 5 Clerks— 1 at £350 1 at £295 1 at £286 1 at £275 (9 months), £260 (3 months) 1 Storekeeper's Assistant 1 House Surgeon 1 Storekeeper's Assistant 1 House Surgeon 1 Storekeeper's Assistant 1 House Surgeon 1 Ante-natal Nurse 2 at £135 1 Matron 2 at £135 1 oat £125 1 oat £125 1 at £125 (10 months) 1 at £125 1 at £125 1 at £125 1 at £125 1 at £120 2,710 2,71		İ .						
4 Port Health Officers— 2 at £350 700 2 at £350 700 2 at £75 7 School Dental Officers— — 850 4 at £300		1		• • •	•••			
2 at £350				• • •	•••	550	0.710	
2 at £75 7 School Dental Officers— 4 at £300 3 at £250 5 Clerks— 1 at £350 1 at £295 1 at £286 1 at £275 (9 months), £260 (3 months) 272 1 at £234 27 1 House Surgeon 1 Storekeeper's Assistant 260 1 Ante-natal Nurse 260 1 Matron 280 14 Staff Nurses— 2 at £135 10 at £125 1 at £125 (10 months) 105 1 at £100 1 Storekeeper's Assistant 1 1,437 250 260 260 270 280 280		1				700	2,710	
7 School Dental Officers— 4 at £300 1,200 3 at £250 750 5 Clerks— 1 at £350 350 1 at £295 295 1 at £286 286 1 at £275 (9 months), £260 (3 months) 272 1 at £234 234 1 House Surgeon 500 1 Storekeeper's Assistant 250 1 Port Disinfecting Officer 260 1 Ante-natal Nurse 250 1 Matron 260 1 Staff Nurses— 2 at £135 270 10 at £125 1,250 1 at £125 (10 months) 105 1 at £100 100		į		• • •				
4 at £300 1,200 3 at £250 750 5 Clerks— 350 1 at £350 350 1 at £295 295 1 at £286 286 1 at £275 (9 months), £260 (3 months) 272 1 at £234 234 1 House Surgeon 250 1 Port Disinfecting Officer 260 1 Ante-natal Nurse 250 1 Matron 260 1 Staff Nurses— 2 at £135 270 10 at £125 1,250 1 at £125 (10 months) 105 1 at £100 100		1			•••	100	850	
3 at £250 1,950 5 Clerks— <td></td> <td>-</td> <td></td> <td></td> <td></td> <td>1.200</td> <td>000</td> <td></td>		-				1.200	000	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		i .		•••	•••			
1 at £350					- · · •		1,950	
1 at £295 295 1 at £286 286 1 at £275 (9 months), £260 (3 months) 272 27				•••			,	
27 1 at £275 (9 months), £260 (3 months) 272 1 at £234 234 1 House Surgeon 500 1 Storekeeper's Assistant 250 1 Port Disinfecting Officer 260 1 Ante-natal Nurse 260 1 Matron 280 14 Staff Nurses— 270 2 at £135 270 10 at £125 1,250 1 at £125 (10 months) 105 1 at £100 100		4		• • •	•••	295	İ	
27 1 at £234 234 1 House Surgeon 500 1 Storekeeper's Assistant 250 1 Port Disinfecting Officer 260 1 Ante-natal Nurse 260 1 Matron 280 14 Staff Nurses— 220 2 at £135 270 10 at £125 1,250 1 at £125 (10 months) 105 1 at £100 100								
1 House Surgeon 500 1 Storekeeper's Assistant 250 1 Port Disinfecting Officer 260 1 Ante-natal Nurse 260 1 Matron 280 14 Staff Nurses— 2 at £135 270 10 at £125 1,250 1 at £125 (10 months) 105 1 at £100 100		+		260 (3 mc	nths)			
1 House Surgeon	27		1 at £234	•••	•••	234	1 405	
1 Storekeeper's Assistant		İ	1 Houge Courses					
1 Port Disinfecting Officer				•••	•••			
1 Ante-natal Nurse					•••	í		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$						Ì		
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	5			•••	•••	i		
$egin{array}{cccccccccccccccccccccccccccccccccccc$! [
$\begin{array}{cccccccccccccccccccccccccccccccccccc$				•••		270	!	
1 at £100 ' 100			10 at £125		••			
					•••			
1,725		!	1 at £100	• • •	•••	100		
·		1					1,725	

1		Item.	WOME N OR THE	L DONA PARCE	OF III	TMP	1928-	29.
SALARIES—continued. UNCLASSIFIED (NON-PERMANENTS)—continued. 3 Sisters— 2 at £195 390	928-29.	- 			OF HEA	LTH—		
UNCLASSIFIED (NON-PERMANENTS) — continued. 3 Sisters —		1	SALABIES—continued	٠			£	£
3 Sisters		1			·\		İ	
17				PERMANENTS	s)—conunu	1		
7 District Health Nurses—		i				1	İ	
7 District Health Nurses— 1 at £255 2 at £235 1 at £225 1 at £225 1 at £225 1 at £225 (9 months) 1 59 2 at £215 2 at £215 2 at £215 2 at £215 2 at £225 1 at £225 (9 months) 3 1 Sorter 3 1 Pathologist 3 10 Sorter 4 1 Pathologist 5 1 at £60 5 1 at £60 5 1 at £60 5 1 at £60 5 1 at £60 5 1 at £156 5 2 at £156 5 3 at £156 5 3 at £156 5 4 at £156 5 5 3 at £156 5 5 3 at £156 5 6 at £156 5 6 at £156 5 7 at £156 5 7 at £150 5 7 at £117 5 at £117 5 at £117 5 at £117 5 at £117 5 at £118 5 at	17				•••		!	
1 at £255 255 255 2 at £235 2 at		i :	m D' - ' - II - I-I - M				535	
2 at £235 470 1 at £225 225 1 at £235 (9 months) 169 2 at £215 3480 430 1,549 234 1 Pathologist 100 7 Assistant District Health Nurses— 6 at £85 510 60 1 at £60 60 570 1 Inspector of Farms 133 10 Shorthand-typistes— 1 at £169 169 4 at £156 624 1 at £143 148 1 at £130 1 at £130 1 at £130 1 at £130 1 at £130 1 at £117 1 at £10 (10 months), £117 (3 months) 127 1 at £117 1 at £10 (11 months), £117 (1 month) 129 1 at £130 (11 months), £117 (1 month) 129 1 at £130 (11 months), £117 (1 month) 129 1 at £130 (11 months), £117 (1 month) 129 1 at £130 (11 months), £117 (1 month) 129 1 at £130 (11 months), £117 (1 month) 129 1 at £130 (11 months), £117 (1 month) 129 1 at £156 95 1 at £78 78 29 Medical Officers (Native)— 2 at £100 200 1 at £80 80 3 at £75 225 2 at £60 120 15 at £50 750 1 at £40 40 44 44 44 44 452 450 4				es—		955		
1 at £225 (9 months) 169 2 at £215 (9 months) 169 2 at £215 (9 months) 169 2 at £215 (9 months) 169 2 at £215 (9 months) 169 2 at £215 (9 months) 100 1								
1 Sorter 234 1 Pathologist		1 1	1 at £225		•••			
1 Sorter	_	1 .)				
1 Sorter	7		2 at £215	•••		430	1 540	
1 Pathologist 7 Assistant District Health Nurses 510 6 at £85 510 1 at £60 60 1 at £60 60 1 at £169 169 4 at £156 624 1 at £143 143 1 at £130 170 1 at £109 170 1 at £117 177 1 at £116 117 1 at £117 117 1 at £119 (10 months), £117 (3 months) 102 1 at £195 100 3 School Dental Attendants 100 3 School Dental Attendants 100 1 at £130 (11 months), £117 (1 month) 129 1 at £95 78 29 Medical Officers (Native) 200 1 at £80 80 3 at £75 225 2 at £100 200 1 at £30 120 15 at £50 750 1 at £40 40 4 at £25 100 3 at £40 50 1 at £40 50 1 at £40 50 1 at £20 50 1 at £20 50 1 at £30 50 2 at £40 50 3 at £75 50 4 at £25 100 5 at £50 50 1 at £40 50 2 at £50 50 3 at £75 50 4 at £25 100 5 at £50 50 5 at £50 50 1 at £40 50 2 at £40 50 3 at £75 50 4 at £25 50 5 at £50 50 5 at £50 50 5 at £50 50 5 at £50 50 5 at £50 50 5 at £50 50 5 at £26 50 5 at £26 50 5 at £26		ļ	1 Sorter					
9 1 at £85 510 1 lat £60 60 1 lat £60 60 1 lat £60 60 1 lat £60 60 1 lat £169 183 10 Shorthand-typistes— 1 at £169 169 4 at £156 624 1 at £136 143 1 at £130 130 1 at £130 (9 months), £117 (3 months) 127 1 at £117 117 11 lat £104 (10 months), £91 (2 months) 102 1 Bacteriologist 100 3 School Dental Attendants— 1 at £130 (11 months), £117 (1 month) 129 1 at £95 95 1 at £78 78 29 Medical Officers (Native)— 302 2 at £100 200 1 at £80 80 3 at £75 225 2 at £60 120 15 at £50 750 1 at £40 40 4 at £25 100 33 lat £25 100 4 at £25 100 5 lat £40 40 4 at £25 100 1 at £40 40 4 at £25 100 1 at £40 40 5 lat £20 20 1 lat £40 40 5 lat £20 20 1 lat £40 40 5 lat £20 20 1 lat £40 50 1 lat				•••	•••			
9				ealth Nurses	s			
1 Inspector of Farms	0			• • •	•••	1		
1 Inspector of Farms 10 Shorthand-typistes— 1 at £169 169 4 at £156 624 1 at £143 1 at £143 1 at £130 1 at £130 1 at £130 1 at £17 1 at £104 (10 months), £117 (3 months) 127 1 at £117 1 at £104 (10 months), £91 (2 months) 102 1 at £130 (11 months), £117 (1 month) 129 1 at £138 1 at £158 1 at £158 1 at £158 1 at £100 1 at £80 80 3 at £75 225 2 at £60 120 15 at £50 1 at £25 1 at £25 100 33 1 at £20 20 20 20 20 20 20 20	Э		1 at ±00	•••	•••		570	
10 Shorthand-typistes— 1 at £169			1 Inspector of Farms					
4 at £156			10 Shorthand-typistes-				I	
1 at £143				• • •	• • •		!	
1 at £130				• • •	•••	i		
1 at £117								
11), £117 (3 m	onths)			
1 Bacteriologist	1.1	1		 a) 601/0 m	···		į	
1 Bacteriologist 100	11		1 at £104 (10 month	8), £91 (2 fi	ionuns)	102	1.412	
3 School Dental Attendants— 1 at £130 (11 months), £117 (1 month) 129 1 at £95		i .	1 Bacteriologist					
1 at £95			3 School Dental Attend			400		
1 at £78				s), £117 (1 1	nonth)			
29 Medical Officers (Native)				•••			!	
1 at £80				ative)	•••		302	
3 at £75 225 2 at £60 120 15 at £50 750 1 at £40 40 4 at £25 100 1 at £20 20 50 1 at £20 50 1 at £20 50 1 at £20 50 1 at £20 50 1 at £20 50 1 at £20					•••			
2 at £60				• • •	•••		I	
15 at £50		1 :		• • •	•••			
1 1 1 1 1 1 1 1 1 1				•••				
1 l Professional Cadet								
1 Professional Cadet	20			• • •	•••			
1 Professional Cadet	33		l at £20	• • •	•••	20	1 535	
Lodging and house allowances	1		1 Professional Cadet		•••			
Lodging and house allowances		-				(D. 11)		
Less salaries provided but not now required Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Amounts deducted from salaries of Institutional employees for board £ and lodging 1,250 Native Trust Office: Contributions towards salaries medical officers 430	530		Allowance for perior	ming speci	al duties	,	50	
Less salaries provided but not now required Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Amounts deducted from salaries of Institutional employees for board £ and lodging 1,250 Native Trust Office: Contributions towards salaries medical officers 430		-				•••		
Less salaries provided but not now required 6,500 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Amounts deducted from salaries of Institutional employees for board & and lodging 1,250 Native Trust Office: Contributions towards salaries medical officers 430								
Public Revenues Act, 1926 (see end of vote)— Amounts deducted from salaries of Institutional employees for board & and lodging 1,250 Native Trust Office: Contributions towards salaries medical officers 430 1,680		:	Less salaries provi	ided but not	t now requi	red		
Institutional employees for board and lodging 1,250 Native Trust Office: Contributions towards salaries medical officers 430 1,680							<u> </u> 	
and lodging 1,250 Native Trust Office: Contributions towards salaries medical officers 430 1,680								
Native Trust Office: Contributions towards salaries medical officers 430				employees	tor board	1		
			Native Trust					
						1 690		
1 33 ,267						1,000		
							1 33 ,267	

Number of Persons.	Item.	VOTE No. 26.—DEPARTMENT OF HEALTH— continued.	1928-	-2 9.
1928–29.		OTHER CHARGES FOR AND INCIDENTAL TO-	£	£
		General Administration—	~	~
	2	Advertising, photographs, books, newspapers, and		
	-	other publications	200	
	3	Amount required to cover deficiency in cash at St. Helens Hospital, Gisborne	7	
	4	Expenses of delegates attending Overseas Medical and Health Conferences	0.5	
	5	Expenses of Health exhibits at exhibitions and A.	25	
	6	and P. association shows Expenses of Medical Committee inquiring into	350	
		adequacy of accommodation, &c., for T.B. patients	1,000	
	7	Freight, cartage, and transport charges	40 :	
	8	Fuel, light, and water	125	
	9	Grant to New Zealand Dental Association towards	120	
	, 9	cost of railway fares of visiting American dentists	30	
	10			
	10	Hospital treatment of immigrants	1,000	
	11	Law-costs	100	
	$\frac{12}{12}$	Maternity homes, refund of fees	50	
	13	Office-cleaning	50	
	14	Office fittings and requisites	800	
	15	Overtime and meal allowances	100	
	16	Postages and telegrams	$1,850 \perp$	
	17	Printing and stationery	2,000	
	18	Private Maternity Homes: St. Helens patients' ex-		
		penses	10	
	19	Public Works Fund: Recoupment of moneys ex-	i	
		pended on Kahukura Cottage Hospital, handed		
		over to Waiapu Hospital Board	906	
	20	Quackery Prevention Act	10	
	21	Rent	1,600	
	22	Services rendered by other Departments	850	
	23	Stores and material	250	
	24	Telephone services (including installations, exten-	ĺ	
	1	sions, maintenance, rent, and calls)	1,250	
	25	Transfer and removal expenses	400	
	26	Transfer expenses and maintenance New Zealand	Ì	
		lepers at Makogai	950	
	27	Travelling allowances and expenses	8,500	
		Typewriters—	,,,,,	
	28	Purchase of	20	
	29	Maintenance of	50	
	30	Uniform allowance to nurse	12	
	31	Contingencies, including unforeseen expenditure inci-	14	
	91		25	
	Ì	dental to other items of the vote	20	
	1	ļ*	99 660	
			22,660	
	90	Dangerous Drugs Act (part recoverable)—		
	32		İ	
		Law-costs 100		
	:	Other expenses 100	900	
			200	
		Health Act—		
	90	Board of Hoalth: Evanges (inalyding to the man)	100	
	33	Board of Health: Expenses (including fee to members:	100	
	34	Compensation payable under Health Act	10	
	35	Disinfectants, purchase of (part recoverable)	100	
	36	Infectious diseases (part recoverable)	750	
	37	Inspection of vessels (part recoverable)	1,500	
	i.	Motor-cars, motor-cycles, &c.—	1	
	38	Purchase of	1,480	
	39	Maintenance of	3,700	

Number of Persons.	Item.				1928-2	29.
1928–29.		VOTE No. 26.—DEPARTMENT OF continued.	HEAL	TH— _	£	£
		OTHER CHARGES FOR AND INCIDENTAL T	o-contin	nued.	æ	
		Health Act—continued.				
	40	Notification of infectious diseases			900	
	41	Sera, purchase of (recoverable)	•		6,500	
	42	Other expenses	•••	•••	25	
	43	Quarantine expenses	•••		1,000	
		Masseurs Registration Act-	•		16,065	•
	44	Examination expenses, &c	•••		100	
		Medical Practitioners Act—				
	45	Expenses	•••	•••	200	
		-		-		
		Nurses and Midwives Registration Act-				
	46	Examination expenses, &c. (part reco	verable)		800	
		Plumbers Registration Act—				
	47	Examination expenses, &c. (part reco	verable)		850	
		(2.1.1)		-		
		Sale of Food and Drugs Act—				
	48	Law-costs	,		300	
	49	Other expenses (including purchase of	of sample:	s)	450	
		Control Transfers And			750	
	50	Social Hygiene Act— Expenses	•••		100	
	51	Treatment, &c., of indigent patien	nts by i	medical		
		practitioners	•••		25	
		Parteriological Laboratorios			125	
	52	Bacteriological Laboratories— Contributions to Hospital Board's la	horatories	s	3,500	
	53	Laboratory expenses (part recoverable		• • • • • • • • • • • • • • • • • • • •	200	
					3,700	*
		Dental Hygiene Administration—		_		
	54 55	Dental clinics, expenses of Travelling allowances and expenses	•••	•••	8,000	
	33	Travolling and wances and expenses	***			
		Maori Hygiene Administration (part rec	overable).	_	8,600	
	56	General expenses (including establi	shment	of tem-		
•		porary camp hospitals, &c.)	• • •		2,300	
	57	Supply of medicines	•••	•••	1,100	
	58	Travelling allowances and expenses	•••		2,000	
		16 1			5,400	
	59	Maternal Welfare Administration— Ante-natal clinics			400	
	60	Other expenses	•••		50	
	61	Printing of pamphlet	•••		365	
		G. J. of Thurbard Alberta Co.			815	
	62	School Hygiene Administration— Travelling allowances and expenses	•••		4,500	
	63	Uniforms, allowances to nurses for	•••		375	
	64	Other expenses (including equipment)		1,250	
	1	_ ,				
	1			İ	6,125	

${\tt DEPARTMENT\ OF\ HEALTH--} continued.$

Number of Persons.	Item.	VOTE No. 26.—DEPARTMENT OF HEALTH— continued.	1928	-29.
1928–29.		OTHER CHARGES FOR AND INCIDENTAL TO—continued		
		Grants-in-aid-	£	£
	65	Hospital Board, Dunedin, towards cost of providing	Į.	
	00	accommodation for mental cases under observation	500	
	66	Hospital Boards' Association of New Zealand	100	
	67	Knox Home for Incurables	500	
	68	Maternity Hospital, Hastings	195	
	69	Medical research work	2,500	
	70 71	Mothers' Help Division, Wellington Mount Magdala Asylum	150 600	
	72	North Canterbury Hospital and Charitable Aid	000	
	12	Board: Towards erection of accommodation for		
		advanced cases of tuberculosis	2,000	
		Otago University—	·	
	73	Bacteriological laboratory	500	
	74	Dental bursaries	150	
	75	Pathological laboratory	100	
	76	Relief of indigent persons Royal N.Z. Society for Health of Women and	10	
		Children—		
	77	Karitane Hospital, Auckland (maintenance)	1,000	
	78	Karitane - Wolfe Hospital, Christchurch (main-	i.,,	
		tenance)	1,000	
	79	Karitane-Harris Hospital, Dunedin (maintenance)	2,000	
	80	Karitane Hospital, Invercargill (maintenance)	750	
	81	Karitane – Stewart Hospital, Wanganui (main-	1 000	
	82	tenance) Karitane Hospital, Wellington (maintenance)	1,000	
	02	Grants towards salaries—	1,000	
	83	Director	350	
	84	Assistant Director	150	
	85	Secretary	200	
	86	Typiste and clerical assistance	125	
	077	Incidental grants—	1 950	
	87 88	Railway passes, &c Upkeep of cars	1,350 310	
	89	Subsidies towards salaries of Plunket nurses	16,000	
	90	Salvation Army	1,000	
	91	St. John Ambulance Association	400	
	92	Waipiata Sanatorium (purchase of equipment)	20	
	93	Women's National Reserve (residential nursery)	200	
	04	Subsidies— Buller Hospital Board (£1 for £1), (up to £250)	050	
	$\begin{array}{ c c }\hline 94\\95\\ \end{array}$	Coromandel Hospital Board (£1 for £1)	$\frac{250}{200}$	
	96	Inangahua Hospital Board: Grant by way of subsidy	200	
	-	on account of the Waiuta Medical Association (£1		
		for £1) \dots	550	
	97	Matakaoa Hospital Board (£1 for £1), on bequest	999	
	98	Mercury Bay Hospital Trustees (£1 for £1)	150	
	i 1		26 200	
		Institutions under control of Department—	36,309	
		Wages—		
	99	Hanmer Hospital	14,000	
	100	King George V and Infectious Diseases Hospitals,		
	10.	Rotorua	16,000	
	101	Otaki Sanatorium and Hospital Pukeora Sanatorium	4,600	
	102	St. Helens Hospitals—	10,500	
	103	Auckland	1,600	
	104	Gisborne	425	
	105	Wanganui	525	
	106	Wellington	1,100	
	107	Christehurch	800	
	108	Dunedin	500	
	109	Invercargill	750	

${\tt DEPARTMENT\ OF\ HEALTH--} continued.$

Other Charges for and incidental to—continued. Listitutions under control of Department—continued. Maintenance—	£
Institutions under control of Department—continued. Maintenance—	£
Hanmer Hospital	
112	
113	
114	
116 Wanganui	
117 Wellington	
118	
119	
120	
Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Establishment charges (buildings, renewals, repairs, &c.) 7,000 114,850 217,549	
Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	
Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	
Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	
Public Revenues Act, 1926 (see end of vote)—	
Sales and services 100	
Civil List contributions towards	
Maori medical service 3,600	
Institutional Patients' Fees-	
Otaki Hospital and Sanatorium 8,800	
Pukeora Sanatorium 22,500 Rotorua, King George V Hospital 14,000	
Rotorua, King George V Hospital 14,000 Hanmer, Queen Mary Hospital 24,000	
Kahukura Cottage Hospital 10	
Trentham Hospital 10	
Law-costs recovered in proceed-	
ings, &c 300	
· Local bodies' contributions for	
sanitary-inspection services 14,000	
Other institutional recoveries 3,500	
Recoveries in connection with— Infectious disease prevention 20	
Inspection of vessels 250	
Sales of Acts, pamphlets, &c 150	-
Sales of—	
Disinfectant and disinfection fees 200	
Material used at plumbers'	
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	
Miscellaneous 1,500	
100,090	
	250 91 <i>e</i>
	350,816
	01,770
NET TOTAL—VOTE No. 26 — 24	49,046

(a)	Credits-in-aid-	•			1928–29.
	Salaries		:.		1,680
	Other Charges				100,090
	the second second second				
	Total	• •	• •	٠.	101,770

NAVAL DEFENCE.

			•		1928–29.		
	•				Salaries.	Other Charges.	Total.
Vote No	Vote No. 27.—Naval Defence—					£	£
	Gross Total	•			233,711	293,100	526,811
	Cred ts-in-aid	.: '			3,000	37,950	40,950
	NET TOTAL	• •			230,711	255,150	485,861

Number of Persons.	Item.	VOTE No 27.—NAVAL DEFENCE.	1928	-29.
1928-29	1	Salaries—	£	£
15 1,063 +68 1,146		Full Pay, Wages, Allowances, Extra Pay, &c.— Administrative staff (excluding Naval Secretary) Officers and ships' companies, H.M. Ships "Dunedin," "Diomede," and "Philomel," (†) new entries under training (part recoverable), and R.F.A. "Nucula"— H.M.S. "Dunedin" 87,844 H.M.S. "Diomede" 83,138 H.M.S. "Philomel" 46,084 R.F.A. "Nucula" 11,645	5,000	
			228,711	
	2	Other Charges for and incidental to— Administration— Admiralty: On account of payment of allot-		
		ments	475	
		Victualling, Clothing, Implements, and Mess Traps—		
	3	Clothing Accounts— Clothing purchases, for issue as free kits to new entries and reservists and on repayment (part recoverable)	7,000	
	4 5	Kit-upkeep allowance, and clothing gratuities Implement and Mess Trap Accounts—	8,800	
		Purchase of mess traps, implements, &c., for supply and replacement Victualling Accounts—	800	
	6	Leave allowance and compensation in lieu of provisions	5,250	
	7	Victualling of personnel: Purchase of provisions and payment of victualling and messing allowances to officers and men (less repayment issues), (part recoverable)	38,000	
		Medical Services—		
	8 9	Dental treatment ashore Medical examination of recruits for sea-going	300	
	10 11	forces	1,100 600	

NAVAL DEFENCE—continued.

Number of Persons.	Item.	VODE No OF MANAL DEBENDE	1928–	2 9 .
928-29.		VOTE No. 27.— NAVAL DEFENCE—continued. Other Charges for and incidental to—continued.	£	£
			~	~
	12	REPAIRS, ALTERATIONS, DOCKING, &c.— Admiralty: In respect of priority use of Calliope Dock, workshops, &c	5,000	
	13	Dock, workshops, &c	18,000	
	14	H.M.S. "Dunedin"	3,000	
	15	H.M.S. "Philomel"	600	
	16 17	H.M.S. '' Wakakura ''	10,000	
	18	Fuel and Lighting (including freight of coal)— Oiler "Nucula" (hire from Admiralty, repairs and	0.000	
	19	stores)	8,800	
		edin '' and '' Nucula'' (part recoverable)	1,450	
	20	Electricity from shore to ships and buildings	3,350	
	21	Gas for buildings at Devonport	90	
	22	Oil fuel for tanks and ships	19,500	
		STORES-	1 200	
	23	Additional machinery for Base workshops	1,000	
	24 25	Anti-gas equipment Crane for Naval Store at Auckland	$\begin{bmatrix} 345 \\ 50 \end{bmatrix}$	
	26	Maintenance of torpedo reserves	300	
	27	Minesweeps for auxiliary vessels	500	
	28	Moorings, &c., for battle-practice target	600	
	29	Naval, engineers, shipwrights, ordnance, tor-	** ***	
	90	pedo and electrical	51,600	
	30	Pattern VI target and fenders for H.M. Ship "Philomel"	170	
	31	Short-wave W/T sets for H.M. Ships "Dunedin"	170	
		and "Diomede"	805	
	32	Voltage regulator for Base switch board	150	
		Works-		
	33	Conversion of Fort Takapuna into Naval Magazine	1,266	
	34	Fitting "Philomel" with wireless - telegraph ap-		
	25	paratus'' Naval Page and	400	
	3 5	Maintenance of dockyard plant, Naval Base and sick quarters	1,095	
	36	Replacement of present recreation-huts	400	
	37	Upkeep and improvement of recreation-ground	300	
	38	Victualling store	495	
•	39	Work on Naval Base at Devonport (on account)	1,000	
		Reserves-		
	40	Erection, hire, and lighting of drill		
		halls and vessels 1,500		
	41	Erection of drill-hall at Auckland 3,500	ļ	
	42	Furnishing and outfitting of drill-halls 700 Instructors 1,250		
	44	Medical examination recruits 200		
	45	Pay and allowances 4,800		
	46	Retaining fees 1,200		
	47	Stores and fittings for instruction 1,500	İ	
	48	Travelling-expenses 650		
	49 50	Upkeep of mine-sweeping trawler 2,500 Miscellaneous 100	!	
	51	Miscellaneous 100 Practice ammunition 2,000		
			19,900	
	50	Miscellaneous Effective Services—	ļ	
	52	Advertising, books, newspapers, and other publications	850	
	53	Allowances in lieu of quarters (lodging-allowance)	600	

NAVAL DEFENCE—continued.

Number of Persons.	Item.	VOTE No. 27.—NAVAL DEFENCE—continued.	1928-	-29.
1928–29.		Other Charges for and incidental to—continued.	0	, a
		MISCELLANEOUS EFFECTIVE SERVICES—continued.	£	£
	54	Bonuses to recruiting officers	75	
	55	Cleaning Navy Office	52	
	56	Compensation for injuries and accidental death		
		and disease contracted on duty	200	
	57	Expenses of Commodore attending "Captain	50	
	58	Cook'' Celebrations at Honolulu Expenses visit H.M. Ships to Samoa	11,500	
	59	Freight, insurance, landing, and transport charges	11,000	
		(excluding freight, &c., on coal)	7,000	
	60	Gunnery, torpedo, and wireless telegraphy efficiency	100	
	61	funds, good-shooting prizes	160	
	61 62	Interments Office fittings and requisites	$\begin{bmatrix} 50 \\ 250 \end{bmatrix}$	
	63	Office fittings and requisites Passages, travelling allowances and expenses	14,000	
	64	Postage, cablegrams, telegrams, and rent of boxes	700	
	65	Post Office Account: Telegrams to and from		
		warships	100	
	66	Printing and stationery	700	
	67	Reference libraries for H.M. Ships "Dunedin,"	100	
	68	"Diomede," and "Philomel" Rent of Navy office and storerooms	$\frac{100}{420}$	
	69	Telephone services (including installation, exten-	120	
		sions, maintenance, rent, and calls)	300	
	70	Training of New Zealand ratings in gunnery,	i	
		torpedo, &c., training establishments in the		
	7.1	United Kingdom	3,000	
	71	$egin{array}{cccccc} { m Training\text{-}service} & { m Fund} & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $	150	
	72	$egin{array}{ccccc} { m Typewriters} & & & & & & & & & & & & & & & & & & &$		
	73	Maintenance of 25		
			125	
	1	Non-effective Services—		
	'	Admiralty—		
	74	On account of unemployment benefit fund or		
	1	ratings serving in New Zealand Division	120	
	75	On account of widows' pensions, &c	690	
	76	Deferred pay (including portion payable to	!	
		Admiralty as pension contributions of officers and	96,000	
	77	men lent from Royal Navy) to officers and men National Health Insurance to Admiralty	$\begin{array}{r} 36,890 \\ 427 \end{array}$	
	78	Panama Canal dues	1,200	
	79	Contingencies, including unforeseen expenditure	-, 400	
	1	incidental to other items of vote	150	
		Estimated credits-in-aid under Section 51 of the		
	1	Public Revenues Act, 1926 (see end of vote)— Clothing and victualling £15,000		
	1	Admiralty on account of coal 600		
	1	Pay 3,000		
		Naval stores, &c., issued to H.M.	1	
		ships and sold 9,000		
		Miscellaneous 1,000		
		Electricity from shore to ships 850 Expenses visit of H.M. Ships "Dun-		
		edin' and "Diomede" to Samoa 11,500		
		40,950		
		Gross Total		526,81
		Credits-in-aid		40,95
			_	
	1	NET TOTAL—VOTE No. 27 -		485,86

DEFENCE DEPARTMENT.

		1928-29.	
	Salaries.	Other Charges.	Total.
Vote No. 28—Defence Department—	£	£	£
Subdivision I.—N.Z. Staff Corps	39,179		39,179
,, II.—N.Z. Permanent Staff	45,301		45,301
,, III.—Royal N.Z. Artillery	36,958		36,958
,, IV.—N.Z. Army Ordnance Corps	38,392		38,392
,, V.—N.Z. Army Pay Corps	6,784		6,784
,, VI.—N.Z. Army Service Corps	4,003		4,003
,, VII.—N.Z. Army Medical Corps	2,302		2,302
,, VIII.—General Duty Section	9,499		9,499
,, IX.—Civilian Personnel	17,148		17,148
,, X.—Military Education of Officers	. , -		., -
undergoing Instruction abroad		9,365	9,365
,, XI.—Purchases, Maintenance, and			,
Training		228,660	228,660
,, $XII.$ —Aviation	7,509	36,627	44,136
,, XIII.—Non-effective Services	375	4,569	4,944
,, XIV.—National Rifle Association	•••	1,570	1,570
,, XV .— $Rifle\ Clubs$	•••	400	400
Gross Total	207,450	281,191	488,641
Credits-in-aid	•••	24,450	24,450
NET TOTAL	207,450	256,741	464,191

Number of Persons.	Item. VOTE No. 28.—DEFENCE DEPARTMENT.	1928-	29.
1928-29.			
	Subdivision No. 1.—N.Z. Staff Corps.	£	$\mathfrak L$
	1 PAY—		
1	1 Commandant	1,200	
3	3 Colonel-Commandants: 2 at £850: 1 at £800		
	(4 months), £785 (8 months)	2,490	
$\frac{1}{6}$	1 Colonel	850	
О	6 LieutColonels: 3 at £765; 1 at £765 (8 months), £700 (4 months); 1 at £700; 1 at £650	4 000	
17	17 Majors: 10 at £615; 1 at £615 (8 months), £565	4,500	
11	(4 months); 1 at £615 (3 months), £565 (9		
	months); 2 at £565; 1 at £565 (4 months), £515		
	(8 months); 1 at £565 (2 months), £515 (10		•
0.0	months); 1 at £515	10,030	
30	30 Captains: 8 at £515; 8 at £485; 1 at £485 (11 months), £440 (1 month); 1 at £485 (10		
	months), £440 (2 months); 2 at £485 (2 months),		
	£440 (10 months; 6 at £440; 1 at £440 (6 months),		
	£400 (6 months); 3 at £400	14,114	
13	13 Lieutenants: 4 at £385, 7 at £383 5s., 2 at		
	£374 2s. 6d	4,971	
4	4 2nd Lieutenants: 2 at £300; 2 at £300 (7 months), £52 (5 months)	993	
2	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	104	
1	1 Cadet at £52 (9 months)	39	
	, ,		
78	Total—Subdivision No. 1	39,179	

Note.—Scale salaries or wages include cost-of-living increase.

${\tt DEFENCE\ DEPARTMENT-} continued.$

Number of Persons.	Item.	VOTE No. 28.—DEFENCE DEPARTMENT—contd.	1928-	29.
1928–29.		Subdivision No. II.—N.Z. Permanent Staff.	£	£
7 56	2	PAY— 7 Hon. Lieutenants at 21s. per diem 56 Warrant Officers, Class I: 38 at 21s., 5 at 20s. 6d., 6 at 20s. 6d., (8 months), 20s. (4 months);	2,683	
16 2 33		5 at 20s. 6d. (7 months), 20s. (5 months); 1 at 20s.; 1 at 20s. (8 months), 19s. 6d., (4 months) 16 Warrant Officers, Class II, at 19s. 6d 2 Staff Sergeant Instructors at 18s. per diem 33 Staff Sergeants: 13 at 18s; 5 at 18s. (9 months),	21,239 5,694 657	
5 6		16s. 6d. (3 months), 12 at 16s. 6d.; 1 at 16s. 4d; 2 at 15s 5 Sergeants: 4 at 16s. 6d, 1 at 15s 6 Corporals at 13s. 4d	10,338 1,478 1,460	
8		Supernumery Section— 8 Recruits at 12s	1,752	
133	-	$Total-Subdivision \ No \ II $		45,301
1 3 6 1 1 3	3	Subdivision No. III.—Royal N.Z. Artillery. PAY— 1 LieutColonel	765 1,712 2,945 385 300 1,150 767	
2 4 1 7 15		4 Regimental Sergeants-major: 3 at 21s., 1 at 20s. 6d. per diem	1,524 371 2,492	
12 2 13 10 25 12		18s. (3 months) per diem	5,061 3,912 630 4,093 2,950 6,375	
	-	TotalSubdivision No. III		36,9 58
1 4	1	Subdivision No. IV.—N.Z. Army Ordnance Corps. PAY— 1 Major £615 (8 months), £565 (4 months) 4 Captains: 3 at £515; 1 at £515 (11 months), £485 (1 month)	598 2,058	
2 1 3 12		2 Lieutenants: 1 at 21s., 1 at 19s. 4d. per diem 1 Hon. Lieutenant at 21s. per diem 3 Warrant Officers, Class I, at 21s. per diem 12 Warrant Officers, Class II: 11 at 19s. 6d., 1 at 17s. 10d. per diem	736 383 1,150 4,240	

DEFENCE	DEPARTMENT-	-continued

Number of Persons.	Item.	WORD N. CO. DEPANGE	1928-9	29.
1928-29.	-	VOTE No. 28.—DEFENCE DEPARTMENT—contd.		
		Subdivision No. IV.—N.Z. Army Ordnance Corps— continued.	£	£
	4	Pay—continued.		
16 19		16 Staff Sergeants: 1 at 21s. 3d., 9 at 18s. 6d., 1 at 18s. 6d. (11 months). 18s. (1 month); 1 at 18s. 6d. (10 months), 18s. (2 months); 1 at 18s. 6d. (8 months), 18s. (4 months); 1 at 18s. 4d.; 2 at 16s. 10d	5,383	
17 2 23		18 Sergeants: 16 at 18s., 2 at 16s. 4d 17 Corporals at 17s. 3d. per diem 2 Artificers at 16s. 6d. per diem 23 Lance Corporals: 12 at 16s. 6d.; 1 at 16s. 6d. (11 months), 16s. (1 month); 1 at 16s. 6d. (9 months), 14s. 6d. (3 months); 2 at 16s. 6d. (7 months), 14s. 6d. (5 months); 1 at 16s. 6d. (5 months), 14. 6d. (7 months); 6 at 14s. 10d.	5,852 5,352 602	
14		per diem	6,683	
14		12s. per diem	3,294	
$egin{array}{ccc} 1 & 2 & \\ 1 & 2 & \\ 1 & 2 & \\ 1 & \end{array}$		Temporary section— 1 Staff Quartermaster-Sergeant at 18s. 6d. per diem 2 Sergeants at 17s. per diem 1 Artificer at 15s. 6d. per diem 2 Corporals: 1 at 16s. 3d., 1 at 14s. 7d. per diem 1 Private at 14s. per diem	338 621 283 563 256	٠
120		TotalSubdivision No. IV		38,39
1	5	Subdivision No. V.—N.Z. Army Pay Corps. PAY— 1 Lieutenant-Colonel	765	
1		1 Major	615	
2 1 8		2 Captains at £515 1 2nd Lieutenant at 21s. per diem 8 Warrant Officers, Class I: 3 at 21s., 3 at 20s. 6d.,	1,030	٠
2		1 at 20s., 1 at 18s. 10d. per diem 2 Staff Quartermaster-Sergeants at 19s. 6d. per diem	$\begin{bmatrix} 2,981 & \\ 712 & \end{bmatrix}$	
1		1 Sergeant at 16s 4d. per diem	298	
16	·	$Total_Subdivision \ No. \ V $		6,78
		Subdivision No. VI.—N.Z. Army Service Corps.		
	6	Pay—		
1 1 1 2 2 1 1		1 Hon. Lieutenant at 21s. per diem 1 Warrant Officer, Class I, at 21s. per diem 1 Warrant Officer, Class II, at 19s. 6d. per diem 2 Staff Sergeant-Instructors at 18s. per diem 2 Staff Sergeants: 1 at 16s. 6d., 1 at 15s. per diem 1 Sergeant at 15s. per diem 1 Private at 12s. per diem Temporary personnel—	383 383 356 657 575 274 219	
$\frac{3}{1}$		3 Sergeants: 2 at 17s., 1 at 15s. 4d. per diem 1 Private at 14s. per diem	900 256	
-	1			

DEFENCE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 28.—DEFENCE DEPARTMENT—contd.	1928-	29.
1928–29.	-	Subdivision No. VII.—N.Z. Army Medical Corps.		
	7	Pay	£	£
4			615	
1 1 4		1 Major at £615 1 Director of Medical Services at £150 4 Assistant Directors of Medical Services : 3 at £50,	615 150	
1		1 at £25 1 Warrant Officer, Class I, at 21s. per diem	$egin{array}{c c} 175 & \\ 383 & \end{array}$	
1 1		1 Warrant Officer, Class II, at 19s. 6d. per diem 1 Staff-sergeant, at 18s. (9 months), 16s. 6d.	356	
1		(3 months) 1 Lance-corporal at 16s. 6d	$\begin{vmatrix} 322 \\ 301 \end{vmatrix}$	
10	-	Total—Subdivision No. VII		2,302
$ \begin{array}{c} 1 \\ 1 \\ 3 \\ 10 \\ 7 \\ 6 \\ 1 \\ 30 \\ - \end{array} $		Subdivision No. VIII.—General Duty Section (Caretakers, Range Wardens, Firemasters, Night-watchmen, &c.). PAY— 1 S.M. Coxswain at 21s. per diem (5 months) 1 S.M. Coxswain at 20s. per diem 3 Warrant Officers, Class I, 1 at 21s. per diem; 1 at 20s. 6d. per diem; 1 at 20s. per diem (8 months), 19s. 6d. per diem (4 months) 1 Artificer S.Q.M.S. at 19s. 6d. per diem 10 Sergeants at 18s. per diem 7 Corporals: 5 at 17s. 3d.; 1 at 17s. 3d. (10 months), 16s. 6d. (2 months); 1 at 17s. 3d. (9 months), 16s. 6d. (3 months) 6 Lance-Corporals: 5 at 16s. 6d. per diem, 1 at 14s. 10d. (9 months), 12s. 10d. (3 months) 1 Private at 13s. 8d. per diem Total—Subdivision No. VIII	161 365 1,120 356 3,285 2,198 1,765 249	9,499
		Subdivision No. IX.—Civilian Personnel.		
	9	*Salaries— Clerical Division.		
3		Class IV— 3 at £425	1,275	
	1.	Class VI—		,
7		7 at £335 £	2,345	
		12 at £295 3,540		
		1 at £210 (7 months), £230 (5 months) 218 1 at £190 (1 month), £210 (11 months) 209		
		2 at £135 (2 months), £155 (10 months) 303		
		1 at £135 (7 months), £155 (5 months) 144 1 at £135 (9 months), £155 (3 months) 139	Í	
19		1 at £120 (3 months), £125 (9 months) 124		
		General Division.	4,677	
		2 at £295 590		
		1 at £260 260		
		1 at £255 255 1 at £235 (7 months), £245 (5 months) 239		
		1 at £215 (7 months), £225 (5 months) 219		
		3 at £205 615 8 at £185 1,480		
1.8	3	1 at £85 (7 months), £75 (5 months) 81		
			3,739	

[•] For particulars see "Public Service Classification List."

DEFENCE DEPARTMENT -- continued.

Number of Persons.	Item.	VOTE No. 28DEFENCE DEPARTMENT—contd.	1928-29.	
1928-29.		Subdivision No. IX.—Civilian Personnel—continued.	£	£
	9	Salaries—continued.	~	æ
		Non-permanents. £		
		1 at £326 326		
		1 at £267 267		
		1 at £261 \dots 261		
		2 at £241 482		
		1 at £235 235 \mid		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £157 157		
		1 at £124 124		
		2 at £118 236		
		2 at £104 208		
40		2 at £78 156		
18		1 at £65 65		
65		Calada of a same and a	3,092	
		Salaries of messengers and charwomen Allowance to officers performing special or higher	2,000	
		duties under Public Service Regulations 24 and 209	20	
		duvido diadei 1 dono pervice nogaranono 21 anti 200		
		Total—Subdivision No. IX		17,148
	10	Subdivision No. X.—Military Education of Officers undergoing Instruction abroad. Allowances— Allowances (quarters, married, &c) Other Charges— Rail, steamer, and other charges War Office— Charge for Dominion Officers attending Staff College, Camberley (2 at £400), £ Imperial Defence College (1 at £350) 1,150 Royal Military College, Sandhurst (5 Cadets) 1,095	4,620 2,500 -	
		Total—Subdivision No. X		9,365
	13 14	Subdivision No. XI.—Purchases, Maintenance, and Training. Purchases— Clothing— Cost of new issues and provision of material for making up uniforms Laundering, dyeing, and renovating part-worn uniforms	20,000 6,500	
	15	Field and heavy gun ammunition and other ex-		
	16 17	plosives	20,000 95	

${\it Appropriations \ for \ Consolidated \ Fund \ Services}.$

$\ \, {\tt DEFENCE} \ \, {\tt DEPARTMENT}-continued. \\$

Number of Persons.	Item.		1928-	29.
1928–29.	·[}	VOTE No. 23.—DEFENCE DEPARTMENT—contd.	£	£
		Subdivision No. XI. – Purchases, Maintenance, and Training—continued.		
		Purchases—continued.		
	18	Printing, stationery, maps, training-manuals, journals,		
	19	and publications S.A.A., including refund of Customs Duty	5,000 34,000	
	20	Supplies, catering and allowance in lieu of rations for	.	
		camps, courses of instruction, and general	18,500	
		Maintenance and Training—		
	21	Advertising, office requisites, photographs, news-	,	
	22	papers, and other office expenses Allowance for upkeep of Government bicycles	$\begin{array}{c c} 750 \\ 250 \end{array}$	
	23	Camps, maintenance of Burnham, Trentham, Featherston, Ngaruawahia, Narrow Neck, and		
	24	general Compensation in respect of accidents, sickness, and	6,000	
		damages, including loss of, or injury to, horses	750	
	25 26	Courts of inquiry, expenses in connection with Drill-halls, offices, and buildings (maintenance of, including building material, stores, insurance, in-	10	
	07	spection of machinery	6,000	
	27 28	Engraving medals, trophies, prizes, &c Fees for technical-school training of members of New Zealand Medical Corps in "Invalid cookery"	20 45	
	29 30	Fuel Grants to Officers' Clubs for the purpose of providing	175	
	31	military instruction Grants towards maintenance of units and bands	605 5,000	
	32	Hire of launches	215	
	33	Horse-hire and provision of horses	3,000	
	34 35	Horses, permanent maintenance of Law-costs	375 30	
	36	Libraries at G.H.Q. and Command Headquarters	30	
	37	License fees for all motor vehicles and drivers	30	
	38	Lighting	3,000	
	39	Maintenance of "Janie Seddon," including cost of	1 000	
	40	fuel, stores, and other charges (exclusive of wages) Medical fees for examination of officers and trainees	1,000	
	41	Medicine, medical stores, and attendance, including	1,000	
		veterinary medicines	800	
	42	Offices, rent of, also hire of buildings and parade grounds for drills	3,000	
	43	Ordnance stores and miscellaneous equipment, repairs to	250	
	44	Pay and allowances of Territorials attending camps		
	145	(including casual civilian labour at camps, &c)	25,500	
	45	Pay of caretakers of drill-halls and rifle ranges Postages	1,400	
	47	Prizes for rifle shooting for Dominion Regimental	1,400	
	48	District and Area Rifle Meetings Rifle ranges and targets, maintenance of	1,600 750	
	49	Scavenging, cleaning, and washing	$\frac{750}{250}$	
	50	Telegraph charges	120	
	51	Telephone services, including installation, extensions,		
		maintenance, rent, and calls	2,000	
	52	Tram, coach, and ferry fares	2,250	

DEFENCE DEPARTMENT—continued.

of Persons.	Item.		1928-	29.
1000 00	<u> </u>	VOTE No. 28.—DEFENCE DEPARTMENT—contd.		
1928–29.		Subdivision No. XI.—Purchases, Maintenance, and Training—continued.	£	£
		Maintenance and Training—continued.		
		Transport—		
	53	Motor-vehicles, hire of	1,800	
	54	Rail fares and freights	18,000	
	55	Shipping charges, freights, cartage, &c	7,500	
	56	Steamer fares	1,500	
	57	Transfer and removal expenses	1,185	
	58	Travelling-allowances	5,000	
	59	Travelling-expenses	1,700	
	60	Uniform allowance to members of the Permanent	7 400	
	61	and Territorial Forces	7,400	
	62	Water	350	
	02	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	25	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of		
		vote)— £		
		Ammunition 6,000		
	1	Clothing 8,000		
	1	Hire of Defence vessels 2,500		
		Ordnance stores 4,000	į	
		Sale of horses 450		
	İ	Miscellaneous 3,000		
		23,950		
		(F) (1 () 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		000 00
		Total—Subdivision No. X1		228,66
		Total—Subdivision No. XI		228,66
		Subdivision No. XII.—Aviation.		228,66
	63			228,66
	63	Subdivision No. XII.—Aviation. Pay (N.Z. Permanent Air Force)—	565	228,66
1 3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services	565	228,66
1 3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at	565	228,66
	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months),		228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at	565 1,790 385	228,66
	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant	1,790	228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3	1,790	228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem	1,790	228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3	1,790 385 1,013	228,66
3 1 3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem 1 Sergeant at 18s. (9 months), 17s. 3d. (3 months) per diem	1,790 385 1,013 325	228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem 1 Sergeant at 18s. (9 months), 17s. 3d. (3 months) per diem 1 Lance-Corporal at 16s. 6d. per diem	1,790 385 1,013 325 301	228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem 1 Sergeant at 18s. (9 months), 17s. 3d. (3 months) per diem	1,790 385 1,013 325 301 2,257	228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem 1 Sergeant at 18s. (9 months), 17s. 3d. (3 months) per diem	1,790 385 1,013 325 301 2,257 216	228,66
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem 1 Sergeant at 18s. (9 months), 17s. 3d. (3 months) per diem	1,790 385 1,013 325 301 2,257	228,00
3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem 1 Sergeant at 18s. (9 months), 17s. 3d. (3 months) per diem	1,790 385 1,013 325 301 2,257 216	228,00
3 1 3 1 1 8 1 3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services	1,790 385 1,013 325 301 2,257 216 657	228,00
3 1 3 1 1 8 1 3	63	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120	1,790 385 1,013 325 301 2,257 216 657 7,509	228,00
3 1 3 1 1 8 1 3	64	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem	1,790 385 1,013 325 301 2,257 216 657	228,00
3 1 3 1 1 8 1 3		Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services	1,790 385 1,013 325 301 2,257 216 657 7,509	228,00
3 1 3 1 1 8 1 3	64 65	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120	1,790 385 1,013 325 301 2,257 216 657 7,509	228,00
3 1 3 1 1 8 1 3	64	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120 1 Lieutenant 3 Staff-Sergeants: 1 at 18s. 10d. (9 months), 18s. 4d, (3 months); 2 at 18s. 6d. (9 months), 18s. (3 months) per diem	1,790 385 1,013 325 301 2,257 216 657 7,509	228,66
3 1 3 1 1 8 1 3	64 65	Subdivision No. XII.—Aviation. PAY (N.Z. PERMANENT AIR FORCE)— 1 Major-Director of Air Services 3 Captains: 1 at £515, also flying pay, £120; 1 at £485, also flying pay, £120; 1 at £440 (9 months), £400 (3 months), also flying pay, £120	1,790 385 1,013 325 301 2,257 216 657 7,509	228,66

DEFENCE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 28.—DEFENCE DEPARTMENT—contd.	1 928–2 9 .		
1928-29.		Subdivision No. XII.—Aviation—continued.	£	£	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	*	æ	
	CO				
	68	Expenses in connection with International Commission for Air Navigation	20		
	69 70	Expenses in connection with British Airship Mission Expenses in connection with visit to New Zealand of	47		
		Air Marshall Sir John Salmond	400		
	$egin{array}{c} 71 \ 72 \end{array}$	Flying pay and allowances: Casual duty flights Instruction abroad: Allowances and expenses of	100		
	73	officer undergoing aviation instruction abroad Pay, expenses, and supplies in connection with re-	200		
	74	fresher courses Purchase of aircraft, spares, and miscellaneous	1,500		
		equipment	30,000		
	75	Rail, steamer, and motor fares and freights, cartage and shipping charges	1,500		
	76 77	Stores and supplies	1,500 50		
	78	Telephone and telegraph charges Travelling-allowances and expenses	250		
•	79	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10		
		Estimated credits-in-aid under Section 51 of the			
		Public Revenues Act, 1926 (see end of vote)-			
		Receipts: Passenger flights, fees, \mathfrak{L} and public services 500			
		-	36,627		
		${\it Total-Subdivision}$ No. XII		44,136	
		Subdivision No. XIII.—Non-effective Services.			
		CHARGES FOR AND INCIDENTAL TO-			
	80	Compassionate allowance to widow of late Hon.			
		Lieutenant J. Thomson, New Zealand Permanent Staff	96	•	
	81	Contribution towards pension of Imperial officers and non-commissioned officers on loan to New Zealand	125		
	82	Cost of printing gradation list and record of personal	120		
		services with the New Zealand Expeditionary Force during the Great War	100		
	83	Expenses in connection with injuries to John Shortt, sustained by detonation of unexploded shell at			
	Q1	Foxton	121 50		
	84	Grants—	50		
	85	To members of the New Zealand Military Forces in lieu of accrued and retiring leave on retirement			
	86	or discharge Towards expenses of visit of team of riflemen to	1,417		
		Victoria in March, 1929	250		
	87	Towards salaries of Y.M.C.A. secretaries at the Soldiers' Clubs at Auckland, Trentham, and			
	88	Burnham (£100 each) To widows of officers (2), (deceased) of equivalent	300		
		of leave	60		
	89 90	Sales of surplus stores, expenses in connection with Staff Sergeant-Major—Government House Orderly	$\begin{bmatrix} 2,000 \\ 375 \end{bmatrix}$		
İ	91	University fees for ex Duntroon College Cadets	50		
	1	Total—Subdivision No. XIII		4,944	

${\tt DEFENCE\ DEPARTMENT-} continued.$

Number of Persons.	Item.	VODE No 90 DETENCE DEDADOM	1 928–2 9 .		
1928–29.	-[]	VOTE No. 28.—DEFENCE DEPARTM	ENT-conta.		
		Subdivision No. XIV—National Rifle As	ssociation.	£	£
	92 93 94	Miscellaneous charges		1,000 20 550	
	:	Total—Subdivision No. 2	<i>XIV</i>		1,570
	9 5 96	Subdivision No. XV.—Rifle Club CHARGES FOR AND INCIDENTAL TO— Miscellaneous charges Railway warrants Total—Subdivision No. X		50 350	400
				-	
	:	Gross Total	•••	•••	488,641
		Credits-in-aid (a)	•••		24,450
		NET TOTAL—VOTE No. 28	3		464,191
(a) C		-in-aid— livision XI		1928-29. Other Charges. £ . 23,950	

(a) Credits-in-aid—						1928–29. Other Charges		
Subdivision	XI XII	• •	••	• •	• •	23,950 5 0 0		
Total	••	••	• •			24,450		

CUSTOMS DEPARTMENT.

								19	28-29.	
		-	-			Salari	9 8.	Othe	er Charges.	Total.
Vote No. 2	29.—C	ustoms Dep	artment -			J.	3		£	£
Subdivisi	on I.	—Customs (Offices and S	Services		99,	768		19,935	119,70
" II.—Customs Miscellaneous Services								11,015		11,015
Chaga Tamer					.,	99.	768		30,950	130,718
CE	REDITS	-IN-AID					580		170	10,750
			••	••	-					
TA 1	E1 10	OTAL	••	••	••	ວອ,	188		30,780	119,968
Number of Persons.	Item.		•	,					1928	-29.
1928–29.	- 	VOT	E No. 29	_CUSTOM	S DEP.	ARTME	INT.		£	£
		Subdiv	ision No.		~	-				
	1	*Salaries	s							
			Admi	NISTRATIVE	Division	N.				
1		l at £	1,300 (Com	nptroller) .				£ 300		
1		1 at £	900 (Assist	ant-Comptr	oller)	•••		900	2,200	
			C,	LERICAL DI	UIGION				2,200	
			Special—	LERICAL DI	VIBION.					
7			£765 £715	•	••	•••		530 575		
7		Class		•	••	***	J,		5,105	
			£615					845	,	
11	'		£565		••	• • •	4,	520	0.005	
		Class	£515				3 (090	6,365	
8			£490					980		
		Class	III—						4,070	
10			t £470	. •	••	•••		990		
19		Class.	£445 IV—		••	• • •		390	8,880	
	1		t £425				14,	375	0,000	
		7 at	£400					300		
43				onths), £38	0 (5 mor	nths)	;	$392 \mid$	10.007	
		Class	t £380				5	320	18,067	
	1			onths), £35	 5 (5 mon	ths)		740		
17		1 at	£355 (10 r	nonths), £3				353		
		Class							6,413	
1	į		.t £335 £335 (4 m	onths), £32	 0 (8 mor	nths)		685 6 51	!	
14	1			months), £2				316		
	1	İ	`	,,	`	,			4 659	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

4,652

${\it Appropriations \ for \ Consolidated \ Fund \ Services}.$

${\tt CUSTOMS\ DEPARTMENT--} continued.$

Number of Persons.	Item.		1928-	29.
1928–29.	.	VOTE No. 29.—CUSTOMS DEPARTMENT— continued.	£	£
		Subdivision No. I.—Customs Offices and Services— continued.		
	1	Salaries—continued.		
122		Clerical Division—continued. Class VII— 24 at £295 3 at £295 (8 months), £275 (4 months) 2 at £295 (7 months), £275 (5 months) 1 at £295 (6 months), £275 (6 months) 2 at £295 (1 month), £275 (11 months) 2 at £275 1 at £295 (1 month), £275 (11 months) 2 at £275 1 at £275 (8 months), £250 (4 months) 2 at £275 (7 months), £250 (5 months) 4 at £275 (1 month), £250 (11 months) 4 at £250 4 at £250 (6 months), £230 (6 months) 2 at £250 (6 months), £230 (8 months) 2 at £250 (4 months), £230 (8 months) 2 at £250 (3 months), £230 (8 months) 2 at £250 (3 months), £230 (9 months) 2 at £250 (1 months), £230 (11 months) 4 at £250 (1 months), £230 (11 months) 2 at £250 (1 months), £230 (11 months) 2 at £230 (2 months), £210 (2 months) 1 at £230 (2 months), £210 (10 months) 2 at £230 (2 months), £190 (10 months) 2 at £210 (11 months), £190 (10 months) 2 at £210 (1 months), £155 (10 months) 3 at £190 (1 months), £155 (10 months) 3 at £190 (1 months), £155 (10 months) 3 at £190 (1 months), £155 (10 months) 3 at £155 (11 months), £135 (10 months) 3 at £155 (1 months), £135 (10 months) 3 at £155 (1 months), £135 (10 months) 3 at £155 (1 months), £135 (10 months) 3 at £155 (1 months), £135 (10 months) 3 at £135 (8 months), £115 (4 months) 2 at £135 (8 months), £115 (4 months) 3 at £135 (8 months), £115 (10 months) 3 at £135 (8 months), £115 (10 months) 3 at £135 (10 months), £155 (10 months) 3 at £135 (10 months), £155 (10 months) 3 at £135 (10 months), £155 (10 months) 3 at £135 (10 months), £155 (10 months) 3 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 4 at £135 (10 months), £155 (10 months) 5 at £135 (10 months), £155 (10 months) 5 at £135 (10 months), £155 (10 months	24,515 341	
- Andrews	!	GENERAL DIVISION. 3 at £305 915 1 at £300 300		
		14 at £280 3,920		
		1 at £280 (7 months), £270 (5 months) 277 2 at £260 520		
		1 at £260 (9 months) 195		
	İ	37 at £250 9,250 1 at £250 (11 months) 230	·	
		1 at £245 (6 months), £235 (6 months) 240		
	!	3 at £240 720	!	

CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1928-	29.
928-29.		VOTE No. 29.—CUSTOMS DEPARTMENT— continued.	£	£
		Subdivision No. I.—Customs Offices and Services—continued.		
	1	Salaries—continued.		
		GENERAL DIVISION—continued.		
		1 at £235 (6 months), £225 (6 months) 230 1 at £195 195		
68		1 at £185 185	17,410	
		Non-permanents.	11,410	
		1 at £169 169		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	F	
6		1 at £91 91		
		Others not specified 472		
317		Construitors of sub-role (a.t. 1 in 1 in 1 in 1	1,200	
		Coastwaiters at sub-ports (not being classified Customs officers)	250	
		Allowances under Public Service Regulations 24A and	200	
		209 to officers temporarily performing special or		
i		higher duties	300	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)		
		Charges for services rendered to other		
		Government Departments, &c.— £		
		Collection of duty on motor-spirits8,750 Land and Income Tax Department 200 New Zealand Dairy-produce Control		
		Board 600		
	·	New Zealand Honey Control Board 50		
	1	New Zealand Kauri-gum Control Board 50 New Zealand Meat Producers Board 480		
į		Miscellaneous 450		
			ļ	
:		10,580		
			99,768	
i				
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, photographs, books, newspapers, and		
		other publications	50	
į.		Head Office and local offices—		
; 	$\begin{array}{c c} 3 \\ 4 \end{array}$	Launch-hire 480 Lighting, heating, and fuel 270		
	5	Sundry expenses 270 Sundry expenses 350		
	6	Uniforms for officers 300		
	_	Office cleaning	1,400	
ļ	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Office-cleaning Office fittings and requisites	100	
	$\frac{8}{9}$	Official Representative, London—	350	
		Special allowance while stationed away from New		
İ		Zealand	265	
	10	Travelling and general expenses	300	
	11	Official Representative, New York— Special allowance while stationed away from New		
		Zealand	300	
	1	Travelling and general expenses		

CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1928-	-29.
1928–29.		VOTE No. 29.—CUSTOMS DEPARTMENT— continued.	1.	
1940-49.		continuea.	£	£
		Subdivision No. 1. — Customs Offices and Services—continued.	2	~
		OTHER CHARGE THE AND THERETON TO CONTINUE		
	13	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Overtime and meal allowances	1 600	
	14		$\frac{1,600}{1,000}$	
	15	Printing and stationery	$\frac{1,000}{2,500}$	
	16	Prosecutions and seizures and legal expenses	50	•
	17	Rent of offices	740	
	18	Rewards in connection with the protection of the revenue and the detection of offences against		
		the Customs Acts or the Immigration Restriction	500	
		Services rendered by other Departments—	300	
	19	Internal Affairs	20	
	20	Police	10	
	21	Post and Telegraph	5,800	
	22	Tourist	. 50	
	23	Telephone services (including installation, extensions,	750	
	24	maintenance, rent, and calls) Testing and gauging instruments	$750 \\ 50$	
	25	Transfer and removal expenses	2,000	
	26	Travelling allowances and expenses	850	
	27	Typewriters, purchase of	50	
	28	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of this subdivision	50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Recoveries of postage and legal & and miscellaneous expenses 150	:	
	, 1	and missonance as enponses ···· 200		
		Total—Subdivision No. I	19,935	119,703
		Subdivision No. II.—Customs: Miscellaneous Services.		
		Charges for and incidental to— Censorship Appeal Board—		
	29 30	Payment for services of Chairman and members Compassionate allowance to widow of late A. Simpson,	100	
		Searcher, Port Chalmers	70	
	31	Customs Building, Wellington	450	
	32	Grants— To Cook and Niue Islands Governments of an		
		amount equivalent to the Customs duties col- lected in New Zealand on goods afterwards	•	
		shipped to those Islands	3,026	
	33	To Officers on retirement, equivalent to salary in	0,020	
		lieu of leave, in terms of Public Service Regu-		
		lations	1,407	
	34	Immigration Restriction Act: Administrative ex-	70	
ļ	1	penses	50	
	35	Refund of duty on— Advertising folders, stationery, or similar articles,		
İ	บบ	as may be approved by the Minister of Customs, sent by oversea municipal, or similar bodies, or		
		harbour, railway, steamship, or similar organiza-	į	
ļ		tions, for free distribution in New Zealand	10	
	36	Arrowroot imported by the Presbyterian Foreign		
		Missions Committee, and disposed of for missionary purposes	30	

CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1928-	-29.
of Persons. 1928–29.	-	VOTE No. 29.—CUSTOMS DEPARTMENT— continued.	£	
		Subdivision No. 11.—Customs: Miscellaneous Services—continued.	*	£
	37	CHARGES FOR AND INCIDENTAL TO—continued. Refund of duty on—continued. Artificial poppies to be sold for the benefit of		
	38	returned New Zealand soldiers Baggage not fully complying with the terms of the	215	
	39	exemption under the tariff, but being baggage and effects not for sale Chairs for invalids, and clothing, apparatus, and	20	
	40	other articles for persons in poor circumstances who cannot pay the duty	50	
	41	Chassis for motor - ambulances imported for ambulance work Foreign salt shipped for export to New Zealand before the coming into operation of the increased duty of £1 per ton imposed on 16th April, 1925, and or such conditions as many be approved by	110	
	42	under such conditions as may be approved by the Minister of Customs Miniature rifles and ammunition for same for the	425	
	43	use of Territorials, Cadets, or Rifle Clubs Motor-car of British manufacture for use by British Red Cross Society in nursing work in co-opera-	10	
	44	tion with Department of Health Oil-boring plant and material entered for home consumption by Taranaki Oilfields, Ltd., and used for the purpose of developing the New Zealand oilfields to the extent of the difference between the British preferential tariff and the general tariff and under conditions approved by the Minister	25	
	45	of Customs Orthopædic or surgical boots imported by exsoldiers of the British Empire resident in New	238	•
	46	Zealand, in such cases as may be approved by the Minister of Customs Peal of bells donated to First Presbyterian Church,	10	
	47	Invercargill, for erection therein Printed matter for the use of Boy Scouts, Girl Guides, Navy League and similar patriotic	55	
	48	societies, Red Cross Society, and Young Helpers' League, as may be approved by the Minister Printed matter (including photographs and cinematograph films), advertising Canada and Hawaii, sent by the Canadian Government and by the	40	
	49	Hawaiian Tourist Bureau for distribution or exhibition, free of charge, in the Dominion Samples of small value sent gratis from exporters in Canada to the Canadian Government Trade	30	
	50	Commissioner for exhibition only and not for sale or distribution in New Zealand Show-cases for the Auckland War Memorial	3	
	51	Museum Spare crankshaft and propeller imported on the	3,800	
	52	trawler "Futurist" for her use Spirits, denatured in New Zealand under prescribed conditions, for use in the extraction of gum from	33	
	53	waste kauri wood Uniforms for Highland Pipe Bands, and materials	141	
	54	and fittings for making the same Uniforms not obtainable in New Zealand for Officers of His Majesty's cable ship "Iris," the	150	
	55	property of the Pacific Cable Board Wireless equipment for ships	25 50	

CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1928	-29.
1928-29.		VOTE No. 29.—CUSTOMS DEPARTMENT— continued. Subdivision No. 11.—Customs: Miscellaneous Services —continued.	£	£
	57 58 59 60	Charges for and incidental to—continued. Refund of— Duty, to the extent of the British preferential rate, on racing-boats and spoon-blade oars and sculls imported by or for rowing clubs License fees legally due by Customs agents for years during which the licenses were not used License fees for stills to be used in universities and public hospitals, and for stills not in use sealed. up to the satisfaction of the Collector of Customs Primage duty on scientific publications containing articles by officers of the Cawthron Institute when imported by such officers	200 5 36 1 200	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Miscellaneous £20		11 01/
		Total—Subdivision No. II Gross Total		11,018
		Credits-in-aid (a)	•••	10,756
		NET TOTALVOTE No. 29		119,968

(a) Credits-in-aid—

Subdivision I	••	Salaries. £ 10,580	$\begin{array}{c} \text{Other} \\ \text{Charges.} \\ \mathfrak{t} \\ 150 \\ 20 \end{array}$	1928-29. £ · 10,730 20
Totals		10,580	170	10,750

MARINE DEPARTMENT.

							19	928-29.	
						Salaries.	Oth	er Charges.	Total.
Vote No. 3	39.—М	arine Depa	irtment—			£		£	£
))))))))	II. III. IV. VI. VII.	— F isheries — G overn m e	ses le Marine n of Ma chi ne	••		9,22 1,98 17,38 13,66 20,47 5,04 76	5 1 1 3 9	1,292 1,857 7,468 3,562 8,565 9,530 22,510 2,000	10,510 3,84; 24,84; 17,22; 29,03; 14,57; 23,27;
Gı	ross T	'OTAL	••		-	68,538	3 \	56,784	125,322
Cr	REDITS-	-IN-AID		••	••	7 50)	5,190	5,940
NI	ЕТ ТС	TAL	••	• •		67,788		51,594	119,382
Number of Persons.	Item.	VOT	E No. 30	-MARIN	Æ DEPA	ARTMENT		1928	3–29.
1928–29.			Subdivisio					£	£
	1	*Salarie							
			-	STRATIV	E Division	N.			
1		1 at £9	25 (Secretary	y)			•••	925	
			Profe	SSIONAL	Division.				
1			91 (also Er rks Departm			ublic 		91	
		01		RICAL D	ivision.				
1		Class 1 at	£615		•••	•••		615	
2		$Class \ 2 \ { m at}$	<i>III</i> — £470			•••	•••	940	
2		$Class \ 2 ext{ at}$	V £380				•••	760	
3		Class 3 at	VI £335					1,005	
		1 at 2 at 1 at 2 at 2 at	£295 £230 £210 £190 £135 £115			1	£ ,475 230 420 190 270 230		
14		1 at	£80 (10 mor	nths)	•••	•••	67	2,882	

^{*} For particulars of salaries see "Public Service Classification List."
NOTE.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.	VOTE No 20 MARINE DEPARTMENTS continued	1928-	-29.
1928-29.		VOTE No. 30.—MARINE DEPARTMENT—continued Subdivision No. 1.—Head Office—continued.	£	£
	1	Salaries—continued.	~	~
of Persons.	1			
		General Division. \pounds 1 at £225 225		
		1 at £205 205	-	
4		$2 \text{ at } \pounds 185$ 370	800	
		Non-permanents.	300	
		2 at £208 416		
		1 at £169 169		
		1 at £156 156 2 at £130 260		
7		2 at £150 200 91		
			1,092	
35		Lodging-allowances	39	
	l	Allowances to officers temporarily performing special or higher duties (Public Service Regulations 24A		
		and 209)	75	
			10	
·	:	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Recoverable from Westport Harbour Account for Head Office administration 750		
			9,224	
		Other Charges for and incidental to—		
	2	Advertising, photographs, books, newspapers, and		
		other publications	30	
	3 4	Freight, cartage, and transport charges Mechanical appliances	$\begin{array}{c c} 10 \\ 10 \end{array}$	
	5	Office fittings and requisites	162	
	6	Overtime and meal-allowance	100	
	7	Postage, telegrams, and rent of boxes	350	
	8	Printing and stationery	400	
	9	Telephone services (including installation, extension,	00	
	10	maintenance, rents, and calls)	80	
	10 11	Transfer and removal expenses Travelling allowances and expenses	100	
	11	Typewriters—	100	
	12	Purchase of	20	
	13	Maintenance of	10	
	14	Contingencies (including unforeseen expenditure inci-	10	
		dental to the other items of this subdivision)	10	
		·	1,292	
	ļ	Estimated credits-in-aid under Section 51 of the	,	
	!	Public Revenues Act, 1926 (see end of vote)—		
		Miscellaneous £20		
		Total-Subdivision No. 1		10,516
			1	
		Subdivision No. 11 Harbours.		
	15	Salaries—		
	19	Professional Division.		
		Class D—		
	1	Kaipara—		
		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	425	
0		Picton— 1 at £385	90#	
2	t	1 at £389	385	

Number of Persons.	Item.	VOTE No. 30.—MARINE DEPARTMENT	contin	ned	1928-	29.
1928-29.		VOID NO. 00.—MAININE DEL MILLMENT		-		
		Subdivision No. II.—Harbours—conti	inued.		£	£
	15	Salaries—continued.				
		GENERAL DIVISION.			!	
	:	Hokianga— 1 at £335		£ 335		
		1 at £210		210	į	
					545	
3		<i>Kaipara</i> — 1 at £240		į	240	
3		1 &t £240	•		240	
		Unclassified.				
	:	Collingwood—				
		Harbourmaster and Lightkeeper			70	
		Karamea—				
		Harbourmaster, Signalman, and Whar	finger		150	
		36.1				
		Mokau		ļ	90	
		organian	•	••••	30	
		Okarito—				
		Signalman	•	• • •	50	
		Waitapu				
5		Harbourmaster	•	•••	30	
10					1,985	
				-		
				ļ		_
	16	Other Charges for and incidental to—	nnol)		110	
	16 17	Buoys, beacons, and lights (Waitapu Cha Foreshores, expenses of supervision, pro	tection, a	and	110	
	ĺ	maintenance of		1	350	
	18	Harbour maintenance (including upkeep	of buo	ys,		
	10	beacons, and harbour lights)		•••	750	
	$\frac{19}{20}$	Mokau Harbour Board: Grant for assista Nelson Extended River-limits Commissio			$\begin{array}{c c} 150 \\ 150 \end{array}$	
	21	Office expenses			75	
	22	Prosecutions under Harbours Act	•		20	
	23	Rent	•		27	
*	24	Snagging navigable rivers			20	
	25	Telephone services (including installation,	, extensio	ns,		
	• •	maintenance, rent, and calls)	•	•••	40	
	26	Transfer and removal expenses of officers		•••	10	
	27	Travelling allowances and expenses	•	•••	70	
	28	Whenves renewel of			$egin{array}{c c} 50 \ 25 \end{array}$	
	29 30	Wharves, renewal of Contingencies, including unforeseen expe		in.	20	
	50	cidental to the other items of this subdi	ivision		10	
į				. -	1 057	
		Estimated credits-in-aid under Section	n 51 of t	he	1,857	
		Public Revenues Act, 1926 (
		vote)—		£		
			•	£ 20	j	

of Persons.	Item.		1928-2	29.	
		VOTE No. 30MARINE DEPARTMENT			
1928–29.		_ continued.	£	£	
		Subdivision No. IIILighthouses.	æ	2	
	31	Salaries—			
	31	GENERAL DIVISION.			
		1 at £420 420			
	1	1 at £320 320	į		
		1 at £275 275	l		
		15 at £250 3,750	į		
		1 at £245 245			
	1 1	1 at £240 • 240			
	1	1 at £235 235			
		7 at £230 1,610			
		37 at £210 7,770			
67		1 at £180 180			
67		1 at £150 150	15,195		
			10,130		
		Unclassified.	!		
1		1 at £100	100		
	.]	Station allowances	700		
68		Wireless Operators' allowances	86		
	-	Allowances to officers temporarily performing special			
	1 [or higher duties (Public Service Regulations 24A			
		and 209)	50		
		Y			
		Non-permanents.			
		Temporary keepers' wages	1,250		
	1 1		17,381		
		Other Changes for and insidental to			
	32	Other Charges for and incidental to— Automatic lights, maintenance of	900		
	33	Rooks magazines and newspapers	800		
	34	Foncing (£100 recoverable)	100		
	35	For signals, maintanance of	150		
	00	Horses, vehicles, and harness—	100		
	36	Purchase of	50		
	37	Maintenance of	350		
	38	Mails, carriage of	400		
	39	Medical examinations and expenses	20		
	40	Oil, purchase and delivery of	1,500		
	41	Repairs and maintenance of lighthouses, dwellings, &c.	3,465		
	42	Telephone allowances (recoverable)	60		
	43	Telephone services (including installation, extensions,			
		maintenance, rent, and calls)	133		
	44	Transfer and removal expenses	300		
	45	Travelling-allowances and expenses	30		
	46	Contingencies, including unforeseen expenditure in-	10		
	!	cidental to the other items of this subdivision	10		
	İ		7,468		
		Estimated credits-in-aid under Section 51 of	7,400		
	1.	the Public Revenues Act, 1926 (see end of			
		vote)—			
	i	Recoveries—	ļ		
	į	Half-cost Godley Head fence 100			
		Telephone allowances 60	:		
	1	Miscellaneous 100			
			•		
		260			

Number f Persons.	VOTE No. 30MARINE DEPARTMENT—continued.					1928-	2 9 .
928–29.	-	Subdivision N	To. IV.—Mercant	ile Marin	e.	£	£
	47	SALARIES-			. !	*	20
	1		essional Divisio	N.			
1		1 at £765				765	
		Class B—			£		
	1	5 at £590	•••	• • •	2,950		
7		2 at £540	•••	• • •	1,080		
		Class C				4,030	
_		6 at £490	•••	•••	2,940		
7		1 at £470	•••	• • •	470	0.410	
		Class D—			1 075	3,410	
4		3 at £425 1 at £400	•••	• • •	1,275 400	i	
4	i i	1 at £400	•••	•••	400	1,675	
		Cr.	ERICAL DIVISION.			1,070	
	1	Class VII—	ERICAL DIVISION.				
		3 at £295		•••	885	ļ	
4	!	1 at £210	•••		210	ı	
_				•	 !	1,095	
			NERAL DIVISION.		:	•	
		2 at £420	•••	•••	840		
		1 at £365	•••	• • •	365		
4		1 at £335	••• .	•••	335		
			,			1,540	
			Unclassified.			~0	
0		Shipping Officer,		* * *	• • •	50	
2	1 1	Shipping Officer,	wnakatane		• • •	25	
		N	ON-PERMANENTS.		i .		
		1 at £305	ON-I ERMANENTS.		305		
		1 at £273			273		
		2 at £156	•••	•••	312		
5		1 at £130	•••	•••	130		
						1,020	
34	1	Contribution to F	ost and Telegrap	h Depart	ment for		
	-		med by Postmast	er at Tau	ranga	25	
		Overall allowance	s		•••	26	
					-		
					i	13,661	
	10	Other Charges for a	nd incidental to	-			
	48	Advertising, phot		newspap	ers, and	50	
	49	other publication Examinations: E		d with	•••	$\frac{50}{200}$	
	50	Fuel, light, power		a with	•••	15	
	51	Inquiries into ship		•• .	•••	400	
	52	Life-saving applia		nnected v	rith	100	
	53	Navy Departmen				100	
			to s.s. " Northun			227	
	54	Office fittings and		•••		100	
	55	Postage, telegram		es	•••	130	
	56	Printing and stati	onery	•••	. 1	250	
	57	Prosecutions unde		eamen Ac	t	50	
	58	Rent	•••		• • • •	310	
	59	Sumner lifeboat,				1,250	
	60	Telephone service		lation, ex	tensions,		
		maintenance, re		•••		200	
	61	Transfer and remo		•••	•••	150	
	62	Travelling allowar			 	120	
	63	Contingencies, inc				10	
		cidental to the	other items of this	s subalvis	ion	10	
					-	2 560	
	i	Estimated ar	edits-in-aid under	. Section	51 of the	3,562	
			evenues Act, 1926			1	
			costs of nautical		£50		
	. 1	Miscellaneo			60	İ	
			•••				
					110 -		- "
	ı i	Tota	l-Subdivision N	o. IV	•	1	17,

${\tt MARINE\ DEPARTMENT-} continued.$

Number of Persons.	Item.	VOTE No. 30.—MARINE DEPARTMENT—				1928-	
1928–29.	-[]		INE DEPA inued.	RTMEN	T	ļ.	
		Subdivision No. V.—In Survey	spection of of Ships.	Machiner	y and	£	£
	64	Salaries-					
1		Profession 1 at £765	IAL DIVISION	١.		T.C. 7	
1		1 40 2000	•••		•••	765	
		Class B— 5 at £590	•		£		
18		13 at £540	•••	•••	$\frac{2,950}{7,020}$		
		QI Q				9,970	
		Class C 1 at £495			495		
		4 at £490	. • • •	•••	1,960		
10		7 at £470	•••	•••	3,290		
13		1 at £445	, •••	•••	445	6 100	!
		Class D—				6,190	
c		4 at £425		•••	1,700		
6		2 at £380	•••	• • •	760	2,460	
			•			2, ±00	
		CLERICAL Class VII—	Division.				
		1 at £295			295		
2		1 at £275	•••	•••	275		
		Non-per	MANENTS.			570	
_		1 at £200		•••	200		•
2		1 at £143	•••		143	949	
42		Overall allowances	•••			343 175	
					-	20,473	
	0.5	Other Charges for and incid	lental to—		- [-		
	65	Advertising, photograph other publications	s, books, i	newspape	· ·	50	
	66	Examinations: Expense		with		100	
	67	Fuel, light, power, and v	vater	. •••	••••	-20	
	68	Motor-vehicles— Maintenance	-			500	
	69	Purchase of		•••		500	
	70 71	Office-cleaning	···	•••	•••	10	
	$\frac{71}{72}$	Office fittings and requise Post and Telegraph Dep		Payment	for ser-	75	
į		vices rendered (collecti	on of inspec	tion fees)		550	
	73 74	Postage, telegrams, and a Printing and stationery	cent of boxe	š	•••	300 300	
	75	Prosecutions under the I			ery Act	20	
	76	Removal furniture and ef				50	
	77 † 78 ·	Rent Telephone services (included)	ding installa	tion exte	ngiong	430	
	İ	maintenance, rent, and	calls)	•••		250	
ļ	79	Transfer and removal exp	penses of off			400	
	80 81	Travelling allowances and Contingencies, including		expendit	ure in-	5,000	
		cidental to the other ite				10	
						0 505	
		Estimated credits-in	aid under S	section 51	l of the	8,565	
						1	
		Public Revenue		26 (see		Ì	
		Public Revenue vote)— Miscellaneous		26 (see	end of £ 60	Ì	

of Persons.	Item.	WOME N OO MARINE	DED LOGIC	ENW.	1928–2	29.
928–29.		VOTE No. 30.—MARINE continued		ENT	£	£
		Subdivision No. VI.	— Fisheries.			~
		~				
	82	SALARIES—				
1		Professional D 1 at £765	IVISION.		765	
•		•			.00	
		General Div 1 at £400	_	£ 400		
		1 at £380		380		
		1 at £335		335		
	į	1 at £275		275		
		4 at £240 1 at £220	• • • • • • • • • • • • • • • • • • • •	$\begin{array}{c} 960 \\ 220 \end{array}$		
10	j	1 at £210	• • • • • • • • • • • • • • • • • • • •	210		
					2,780	
		Unclassifi				
33		33 Inspectors: 2 at £40, 4 £12, 10 at £10, 1 at £7 10/	at £25, 1 at , 2 at £6, 2 a	£20, 11 at t £5	462	
		Non-permani	ENTS.	£		
		1 at £345		345		
			• • • • • • • • • • • • • • • • • • • •	290		
5		1 at £250 2 at £104 (1 for 3 months)	•	$\begin{array}{c c} 250 & \\ 130 & \\ \end{array}$		
		2 at £104 (1 for 5 months)	• • • •		1,015	
49		Boot allowances .			27	
	-			-	5,049	
	83 84 85 86 87 88 89 90 91 92 93 94 95 96 97 98	Other Charges for and incident Advertising, photographs, bother publications Kaikoura Fishermen's Harboth Launches, maintenance and Office fittings and requisites. Picking and sale of oysters (in Planting oysters (recoverable Portobello Fish-hatcheries, generally Postage, telegrams, and rent Printing and stationery Prosecutions under the Fisher Rewards for detection of offer Salmon fisheries, expenses in Sea fisheries investigation Telephone services (including maintenance, rent, and cathravelling allowances and extended to the other items Estimated credits-in-aid Public Revenues Actale of ova Miscellaneous	cooks, newsp	on account) nses of ntenance of sheries Acts vith extensions, extensions, onditure in- ivision	50 50 400 100 4,650 1,000 775 30 50 30 20 1,000 500 65 50 750 10 9,530	
				160		

Number of Persons.	Item.	VOTE No. 30-MARINE DEPARTMENT-	1928-	-2 9.
1928–29.		Subdivision No. VII.—Government Steamers.	£	£
	100	SALARIES-		
		PROFESSIONAL DIVISION.		
1	!	1 at £765	765	
			765	
	101	OTHER CHARGES FOR AND INCIDENTAL TO— New vessel, purchase of (on account)	500	
	102	Working-expenses of lighthouse and harbour vessels, including wages, maintenance, repairs, replacements, and other expenses incidental to their		
	. 1	upkeep	22,000	
	103	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
			22,510	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Freight, passages, and hire £4,000		
		$Total-Subdivision \ No. \ VII \ \ $		23,275
		Subdivision No. VIII.—Miscellaneous Services.		
		CHARGES FOR AND INCIDENTAL TO-		
	104	Charts (recoverable)	300	
	105 106	Checking passenger traffic: Overtime New Zealand Nautical Almanac (part recoverable)	150 550	
	107	Relief of distressed seamen	30	
	108	Ross Sea Dependency: Expenses of New Zea-		
	100	land Representative, &c	100	
	$\begin{vmatrix} 109 \\ 110 \end{vmatrix}$	Saleable books and forms (recoverable) Tide-tables, preparation of (Lands Department)	300 550	
	111	War medals and ribands for crews of mercantile		
	112	marine vessels	10	
	11.2	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 51 of the	ĺ	
		Public Revenues Act, 1926 (see end of vote)— Sales: Nautical Almanac £150		
		Charts 250		
		Saleable books and forms 150		
		Miscellaneous 10		
		Tatal Subdivision No. 17171		0.000
		$Total-Subdivision \ No. \ VIII $	-	2,000
		Gross Total		125,32 2
		Credits-in-aid (a)	•••	5,940
		NET TOTAL—VOTE No. 30		119,382

			Other	
a) Credits-in-aid-	_	Salaries.	Charges.	1928-29.
		£	£	£
Subdivision	ı I	 750	20	770
,,	\mathbf{II}	 	20	20
,,	III	 	260	260
**	IV	 	110	110
,,	\mathbf{v}	 • •	60	60
,,	VI	 • •	160	160
"	VII	 • •	4,000	4,000
	VIII	 • •	56 0	560
				
· T	otals	 750	5,190	5,940
				مسر وسيد

DEPARTMENT OF LABOUR.

				Salaries.	Other Charges.	Total.
Vote No. 31.—Department	of Labour-	_		£	£	£
GROSS TOTAL	•.•	••		38,569	27,018	65,587
Credits-in-aid	• •			•••	1,800	1,800
NET TOTAL	••			38,569	25,218	63,787

					<u> </u>		
Number of Persons.	Item.					1928	-29.
1000 00		VOTE No. 31.—DEPA	RTMENT (OF LAB	OUR.		
1928–29.	1 .	*Q D				£	e
	1	*Salaries—			İ	æ	£
		Administra	rive Division	N.			
1		1 at £850 (Secretary, (Chief Inspect	tor of F	actories,		
		Registrar Industrial	Unions, ar	-	strar of	050	
	1	Apprentices)	• • • •	•••	•••	850	
			Division.				
		$Class\ Special$ —					
1		1 at £665	•••	• • •		665	
		Class II—			£		
		1 at £515	•••	•••	515		
2		1 at £490	• • • •	•••	490	1 007	
		Class III—			150	1,005	
_		1 at £470	•••	•••	470	·	
2	1 [1 at £445	•••	•••	445	015	
2		Class IV				915	
2	1	2 at £425	•••	•••	•••	850	
		Class V—			Ì	200	
1		1 at £380	•••	• • •	•••	380	
_		Class VI—			1	1 940	
4	1 1	4 at £335	•••	•••	[1,340	
		Class VII—			2,065		
		7 at £295 2 at £275	•••	•••	550		
		3 at £250	••• ,	•••	750		
		2 at £230	•••		460		
		2 at £230			380		
		2 at £155			310		
		1 at £135	• • •		135		
-	1 1	7 at £115	•••		805		
28		2 at £80	•••	•••	160		
40		2 at 200		•••	100	5,615	
•	1	(†ENERAL	Division.		İ	0,010	
		1 at £420			420		
		7 at £400	• • •		2,800		
		3 at £390	•••	***	1,170	*	
	1	1 at £380			380		
		3 at £370	•••	•••	1,110	•	
		3 at £360			1,080		
	1 1	3 at £350		•••	1,050		
		28 at £335	•••	•••	9,380		
		2 at £320	•••		640		
		1 at £305	•••	•••	305	ļ	
		3 at £270		•••	910		
	- 1						

^{*} For particulars of salaries see "Public Service Classification List."

NOTE.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF LABOUR—continued.

Number of Persons.	Item.	VOTE No. 31.—DEPAI	1928-	29.			
1928–29.	1	Salaries—continued.	www.		-	£	£
						.	
	1	GENERAL DIV	ISIONconti	nued.	£	!	
		1 at £260	•••		260		
0=	.	3 at £205 6 at £185	•••	•••	615		
65		0 at £100	•••	• • •	1,110	21,130	
		Uncl	ASSIFIED.			21,100	
		2 at £665			1,330	1	
3	i i	1 at £515	•••	•••	515	ĺ	
	,					1,845	
			RMANENTS.		202		
		1 at £335	• • •	•••	335		
		1 at £273 1 at £270	•••	•••	273		
		2 at £219	•••	•••	270 438		
		2 at £208 (6 months)	***	•••	208		
		3 at £182	•••	•••	546		
		1 at £169	•••	•••	169		
		3 at £156	•••	•••	468		
		1 at £143		•••	143		
		4 at £130			520		
		2 at £117		•••	234		
		1 at £104	•••	•••	104		
23		1 at £91	•••	•••	91	0 =00	
100	-	A 3 original and the original of City			A	3,799	
132	1 1	Administration of She		nmodati o n	Act by	450	
•	-	Department of Agric Allowances to officers t	uiture omporarily i	 parformine	r emodial	450	
		or higher duties (P	ahlie Service	e Reguleti	ione 94	į	
	1 1	and 209)	abile betylet	C 1050100	ions Zix	50	
		Allowances to Officers	of the Depa	rtment of	Justice	30	
		acting as Clerks of A	wards			145	
		Lodging-allowances				165	
					_		
						39,204	
		Less salaries prov	ided but no	t required	l for full	005	
		year		•••	•••	635	
					-	38,569	•
	1 1	OTHER CHARGES FOR AN	n incidenta	т. то	_		
	2	Advertising, photograp			ers and		
		other publications			oro, with	350	
	3	Allowances to police	and other	officers a	cting as		
		departmental agents	:			1,000	
	4	Apprenticeship Conferen			avelling-		
		allowances and exper	ises of deleg	ates	•••	425	
	1	Bicycles—					
•	5	Maintenance of and r	epairs to	•••	•••	25	
	6	Purchase of		41	\$7 }	50	
	7	Expenses, Medical Re			vorkers	10	
	0	Compensation Act, 19 Fares, board and lodgi		nliog adve	need to	10	
	8	persons proceeding t					
		able)	o employme	one (pare	1ccover-	450	
		Fees to—	•••	•••		100	
	9	Acting members of th	ne Court of A	Arbitration	1	50	
	10	Assessors of Concilia				1,000	
	11		our Disput				
		Committees	•••	• • •		50	
		THE A TO STATE OF	let 1919 - 1	Purchase	of boots		
	12	Footwear Regulation A			i		
		and shoes under secti	ion 5 (3) of th	he	• • •	10	
	12	and shoes under sect Freight, cartage, and	ion 5 (3) of th	he	part re-		
	13	and shoes under secti Freight, cartage, and coverable)	ion 5 (3) of th	he	part re-	150	
		and shoes under sect Freight, cartage, and	ion 5 (3) of the transport of 	he charges () 			

DEPARTMENT OF LABOUR—continued. Number Item. 1928-29. of Persons. VOTE No. 31.—DEPARTMENT OF LABOUR continued. 1928-29. OTHER CHARGES FOR AND INCIDENTAL TO-continued. £ £ 16 Industrial Conciliation and Arbitration Act, cost of special typewritten reports under 25 17 Industrial Conference, expenses of (including delegates' honoraria and travelling allowances and expenses and secretarial charges) 4,750 ... 18 Law-costs (part recoverable) 100 Motor-vehicles-19 900 Maintenance of and repairs to 20 200Purchase of . . . Office fittings and requisites ... Overtime and meal allowances 21 400 22 50 23 Postage, telegrams, and rent of letter-boxes 1,500 24 Printing and stationery 2,250 Rates and repairs, &c., of dwelling-house used for 25 official purposes Rent and rates of office accommodation 3,357 2627 Telephone services (including installation, extensions, 600 maintenance, rent, and calls) ... 28 Transfer and removal expenses 350 29 Travelling allowances and expenses 7,500 Typewriters-30 Purchase of 40 31 Maintenance of and repairs to 40 Weights and Measures Act-Purchase of standard weights, measures. &c., and 32 Inspector's testing-scales, &c. (on account) 850 33 Supply of verification punches ... 25 34 Whangarei Office, expense of fitting-up ... 160 35 Contingencies, including unforeseen expenditure in-50 cidental to the other items of the vote Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)-Fares ••• Freight 25 Law-costs 60 Sale of publications ... 220 . . . Services to Government Statistician 210 Travelling-expenses ... 850 Miscellaneous 85 1,800 27,018 GROSS TOTAL 65,587 CREDITS-IN-AID (a) ... 1,800 NET TOTAL-VOTE No. 31 63,787 (a) Credits-in-aid-1928-29. 350 Fares .. ٠. Freight 25Law-costs 60 . . Sale of publications 220 Services to Government Statistician 210 Travelling-expenses 850 Miscellaneous ... 85

1,800

Totals

DEPARTMENT OF LANDS AND SURVEY.

								192	28-29.		
,						Salarie	es.	Other	Charges.	Total.	
Vote No. 3	32D	Department	of Lands and	d Survey		£			£ £		
Subdivisi	on I.	-Administ	ration	• •	• •	195,	000		78,610	273,610	
,,	II.	-Miscellan	eous Services						31,518	31,518	
Gr	Ross T	TOTAL				195,		1	10,128	305,128	
Cr	EDITS	-IN-AID					363		39,632	116,995	
	вт то		• •	••		117,			70,496	188,133	
		.=				,					
Number of Persons	Item.								1928	-29.	
		VOTE	E No. 321			OF LA	NDS	, -			
1928–29.				ID SURVE					£	£	
			Subdivision	No. I.—.1dr	ninist	ration.					
	1	*Salarie		istrative D	11771010	N 7					
1		1 at £	ADMIN: 1,150 (Unde		TVISIO	IN.	_		1,150		
1				SSIONAL DIV	rigion.	•••	•		1,100		
1		1 at £	800		ISION.		•		800		
		Class 5 at	<i>A</i> t £715				$^{\pounds}_{3,57}$				
		2 at	£665	•••		•••	1,38	80			
8			£615	•••		• • •	61	.5			
		Class	<i>B</i> — t £5 90	•			$\frac{-}{1,77}$	0	5,520		
8			t £565	•••			$\frac{1}{2},82$				
		Class							4,595		
			t £495 at £490	•••		• . •	$\frac{49}{6,37}$				
21			t £470	•••		•••	3,29				
	1 .	Class	D—				<u> </u>		10,155		
	ļ		at £425	• • • • • • • • • • • • • • • • • • • •		•••	5,95				
	i İ		t £40 0 t £3 80	•••		•••	$\frac{2,00}{1,90}$			•	
31		7 at	£355	•••			$\frac{1,00}{2,48}$	5			
-		C!ass	E						12,335		
	: [£320	•••			64				
4		2 at Class	£295 F	•••		•••	59	U	1 090		
			£210				42	0	1,230		
	; l		£190	•••			38				
		1 at	£155			•••	15	5			
9		4 at	£115	• • • •			46	0	1 415		
	: !		CLE	RICAL DIVIS	ION.				1,415		
	i i	Specio	ıl Class	• • • • • • • • • • • • • • • • •	•			-			
_		⁻ 2 at	£715				1,43	$0 \mid$			
3		Lat	£665	***			66	9	2,095		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF LANDS AND SURVEY-continued.

Number f Persons.	Item.	VOTE No. 32.—DEI SUR	PARTMENT C VEY—continued		OS AND	1928-2	29.
9 2 8–29.		Subdivision No. 1.	—Administratio	n—contin	nued.	£	£
	1	Salaries—continued		•			~
		CLERICAL	Division-cont	inued.			
		Class II—			£		
		4 at £515 3 at £490	* * *	•••	2,060 1,470		
7		Class III—	•••	•••		3,530	
	i	2 at £470	•••		940	,	
õ		3 at £445 Class IV—	• • •	•••	1,335	0.075	
		15 at £425			6,375	2,275	
25	Ì	10 at £400			4,000		
		Class V— 26 at £380			9,880	10,375	
32		6 at £355	•••	•••	2,130		
.,2		Class VI—				12,010	
40		57 at £335		• • •	19,095		
60		3 at £320 ´ Class VII—	•••	•••	960	20,055	
		85 at £295	• • •		25,075	20,000	
		25 at £275		•••	6,875		
	!	25 at £250 11 at £230	• •		6,250 2,530	į	
		7 at £210	***		1,470		
		29 at £190			5,510		
		46 at £155 31 at £135	• •	• • •	$\begin{bmatrix} 7,130 \\ 4,185 \end{bmatrix}$	1	
	!	40 at £115	***	• • • •	4,600		
317		18 at £95			1,710		
	1	(4 px	ERAL DIVISION.			65,335	
		18 at £450			8,100		
	i	1 at £440			440	İ	
	1	2 at £400 9 at £380	* * *	•••	800 3,420	!	
		3 at £365	•••		1,095		
	. !	4 at £350			1,400		
		1 at £340 3 at £335	• • • •	•••	340 1,005		
		1 at £330	•••	•••	330		
		2 at £320	•••	•	640		
		6 at £315 1 at £310	•••		1,890	į	
		3 at £300	• • •		310 900	1	
	İ	5 at £295	• • •		1,475		
		1 at £285			285	1	
		2 at £270 2 at £255	• • •	• • • •	540 510		
		1 at £250	•••		250	i	
	1	7 at £230	•••		1,610	1	
		7 at £225 1 at £210	•••		$\begin{array}{c c} 1,575 \\ 210 \end{array}$		
	:	5 at £205	•••		1,025	;	
105		20 at £185	• • •		3,700		
		No	N-PERMANENTS.			31,850	
		1 at £400	T. I DIGMANDINES.		400		
		2 at £320			640		
	į	1 at £315 6 at £295		•••	315 1,770	•	
		1 at £290	•••		290		
		2 at £285	• • •		570	:	
		2 at £275		• • • •	550		
		1 at £266 1 at £255	• • •		266 2 5 5	:	
		2 at £230			460		
	1	1 at £225			225		

DEPARTMENT OF LANDS AND SURVEY -continued.

	VOTE No. 32—DE SU	1928–29.				
	Subdivision No.			ued.	£	£
1	Salaries—continue	d.			æ	æ
. .			. 7		1	
	1 at £210	ERMANENTS-cont	inuea.	$rac{\mathfrak{L}}{210}$		
:	1 at £208	* • •		$\frac{210}{208}$		
	4 at £182	•••	• • •	$\begin{array}{c} 208 \\ 728 \end{array}$		
İ	1 at £175	***		175	i	
	3 at £169			507		
				468		
		•				
!			* * *			
		•••		1		
		***	• • •			
	6 at £104	•••		1		
	1 at £100			100		
i	4 at £91	*		364		
;	Others not specifi	ed		500		
	Special allowance	es under Public S	Service Res	gulations or higher	13,304	
	duties	•••		•••	300	
	Less salaries	provided but n	ot pavable	for full	200,029	
	year	•••			5,029	
i	OTHER CHARGES *	R AND INCIDENT	AT. TO		195,000	
2	Account, record,	and other books		g cost of	250	
3	other publicatio	ns				
1			ids and sp 	ecial re-		
	Commission on—				,	
5		•••	• • •	•••	25	
		dula gunyaya	•••	•••		
1			•••		250	
$\mid s \mid$			erable)		800	
9			•••		i i	
10			rges		225	
$\frac{11}{12}$	Inspection, manag	gement, &c., expe	nses of set	tlement,	200	
				£	1	
İ				$1,\tilde{5}25$	-	
				9,800		
					11,325	
13	Insurances	1 1016	•••		50	
14	Rangers' salari	es, travelling an	d other ex	xpenses		
15	Land Boards: Fe	es to members,	and includ	ding ex-		
16		tees		•••		
17	Map printing (part	recoverable)		•••	1,800	
18		***			2.250	
19	Maintenance	•••				
20	Office-cleaning	•••			75	
21	Office fittings and		***		1,300	
$\frac{22}{2}$					300	
	3 4 5 6 7 8 9 10 11 11 12 13 14 14 15 16 17 18 19 20 21	3 at £169 3 at £156 1 at £145 11 at £143 1 at £141 5 at £130 8 at £117 6 at £104 1 at £100 4 at £91 3 at £78 Others not specifi Cadets' lodging-a Special allowance 24A and 209 to duties Less salaries year OTHER CHARGES FO Account, record, material, printin Advertising, phot other publicatio Classification and ports (part reco Commission on— Gum royalties Money-orders Contract and sche Education Reserve Expenses of ma Credits-in-aid n Freight, cartage, a Fuel, light, power 12 Inspection, manag forest, and fla Field Inspectors— Travelling-allow Insurances Kauri-gum Indust Rangers' salari (part recovers Land Boards: Fo penses in lieu of Law-costs Motor-vehicles— Purchase Maintenance Office-cleaning Office fittings and Overtime and meal	3 at £169 3 at £156 1 at £145 11 at £145 11 at £141 5 at £130 8 at £107 6 at £100 4 at £91 3 at £78 Others not specified Cadets' lodging-allowances Special allowances under Public S 244 and 209 to officers performinduties Less salaries provided but nyear OTHER CHARGES FOR AND INCIDENT. Account, record, and other books inaterial, printing, and binding) Advertising, photographs, books, other publications Classification and valuation of lamports (part recoverable) Commission on— Gum royalties Money-orders Contract and schedule surveys Education Reserves— Expenses of management (recoverable) freight, cartage, and transport chate Fuel, light, power, and water Inspection, management (recoverable) freight, cartage, and fransport chate Fuel, light, power, and water Inspection, management, &c., experiorest, and flax lands— Field Inspectors— Travelling-allowances Insurances Kauri-gum Industry Act, 1910— Rangers' salaries, travelling an (part recoverable) Land Boards: Fees to members, penses in lieu of fees Law-costs Map printing (part recoverable) Motor-vehicles— Purchase Maintenance Office-cleaning Office fittings and equipment Overtime and meal allowances	3 at £169 3 at £156 1 at £145 11 at £143 1 at £141 5 at £130 8 at £117 6 at £104 1 at £100 4 at £91 3 at £78 Others not specified Cadets' lodging-allowances Special allowances under Public Service Regeata and 209 to officers performing special duties Less salaries provided but not payable year OTHER CHARGES FOR AND INCIDENTAL TO— Account, record, and other books (including material, printing, and binding) Advertising, photographs, books, newspape other publications Classification and valuation of lands and sp ports (part recoverable) Commission on— Gum royalties Money-orders Contract and schedule surveys Education Reserves— Expenses of management (recoverable) Credits-in-aid not now available Freight, cartage, and transport charges Fuel, light, power, and water Inspection, management, &c., expenses of set forest, and flax lands— Field Inspectors— Travelling-expenses Travelling-allowances Insurances Kauri-gum Industry Act, 1910— Rangers' salaries, travelling and other expenses in lieu of fees Land Boards: Fees to members, and included penses in lieu of fees Land Boards: Fees to members, and included penses in lieu of fees Law-costs Map printing (part recoverable) Motor-vehicles— Purchase Maintenance Office-cleaning Office-cleaning Office-cleaning Office-fittings and equipment Overtime and meal allowances	3 at £156	3 at £169 507 3 at £156 468 1 at £145 145 145 145 145 145 11 at £141 141 5 at £130 650 8 at £117 936 6 at £104 624 1 at £100 100 4 at £91 364 3 at £75 234 Others not specified 500 Cadets' lodging-allowances

•		DEPARTMENT OF LANDS AND SURVEY	contin	nued.	
Number f Persons.	Item.	VOTE No. 32.—DEPARTMENT OF LANDS SURVEY—continued.	AND	1928-2	29.
192829.	: 	Subdivision No. I.—Administration—continue	d.		
	24	OTHER CHARGES FOR AND INCIDENTAL TO—continues to teaching surveyors (teaching s	nued.	£	£
	25	cadets) Printing and stationery	•••	$\begin{bmatrix} 250 \\ 3,300 \\ 2,225 \end{bmatrix}$	
	26 27	Rent Survey and engineering instruments— Surveyors equipment, camp gear, &c.— Purchase	£ 1,000	2,220	
		Maintenance	50	1,050	
	28	Typewriters and calculating-machines, &c.— Purchase		500 275	
	29 30	Maintenance Surveys— Settlement and general surveys 1	7,000		
			4,200		
		Geographical Board)	$\begin{bmatrix} 1,150 \\ 1,350 \end{bmatrix}$	23,700	
	31	Telephone services (including installation, extermaintenance, rent, and calls)	nsions,	1,400	
	32	Tracing-cloth and tracing-paper and other draug	hting-	1,500 800	
	33 34	Transfer and removal expenses Travelling allowances and expenses		3,700	
	35	Refunds of credits-in-aid received erroneously preceding financial year		650	
	36	Contingencies, including unforeseen expenditucidental to the other items of the vote	-	78,610	
			ļ <u>.</u>		
		Estimated credits-in-aid under Section 51 Public Revenues Act, 1926 (see end of vote	e)		
		Administration expenses of— Cheviot Estate Account Discharged Soldiers Settlement Ac-	875		
			0,000 7,000		
		Hauraki Plains Settlement Account Hunter's Soldiers Assistance Trust	4,000		
		Account Kauri-gum Industry Account	$\begin{vmatrix} 35 \\ 220 \end{vmatrix}$		
			.0,000		
		count)	2,000		
		National Endowment Account Native Land Settlement Account	$6,795 \\ 4,000$		
		Rangitaiki Land Drainage Account	1,085		
		Swamp Land Drainage Account	2,440		
		Education Reserves Land for Settlements Account: Re-	200		
		covery of survey charges Marine Department for computation of	2,500		
		Tide Tables Miscellaneous credits, representing charges for surveys, draughting work, &c., performed for other departments,	550		
	!	survey fees, search fees, &c Native Land Settlement Account: Re-	14,345		
	!	covery of survey and other charges Stamp Duties Department for Services	5,000		
		rendered	15,000		

Total—Subdivision No. I

273,610

DEPARTMENT OF LANDS AND SURVEY—continued.

		DELAKTMENT OF DANDS AND SURVET—contro	тиеа.	
Number of Persons.	Item.		1928-	-29.
1928-29.		VOTE No. 32.—DEPARTMENT OF LANDS AND SURVEY—continued.		
		Subdivision No. II.—Miscellaneous Services.	£	£
	0.5	CHARGES FOR AND INCIDENTAL TO-	; i	
	37	Compensation for— Injuries to employees while in discharge of their duties, medical and other attendance during		
		illness, and contingent expenses in connection with same	100	
	38	Shortage in area, Lots 17, 38, and 39, Parish of Whangape	50	
	39	Crown lands draining, &c. (general)	50 ₊	
	40	Cultivation of forfeited holding: Ex gratia payment to former lessee of portion of amount realized from sale of crop	50	
	41	Defalcation by officer of Department	8	
	42	Destruction of rabbits on Črown lands: Wages and other expenses	5,900	
	43	Destruction of the kea, contribution to Department		
	44	of Agriculture towards cost of Deteriorated Lands Account, administration expenses of	$\frac{375}{5,955}$	
	45	Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable)	400	
	46	Exchange of Crown lands for private lands, equality of	50	
	147	Experimentation on grass-seed mixtures and flax- growing, La Fontaine Swamp, Harihari, Westland	125	
	48	Fees to examiners, draughtsmen's examinations	10	
	49	Fencing Section 12, Block XI, Piako S.D Grants—	90	
	50	Egmont National Park Board: Grant towards cost of destruction of wild goats in Park	20	
	$\begin{bmatrix} 51 \\ 52 \end{bmatrix}$	Surveyors' Board Tongariro National Park Board: Administration	250	
	02	expenses	270	
	53	Grass-seed for Crown lands Kapiti Island—	850	
	54	Expenses of supervision, maintenance of oil-launch, and maintenance and furnishing of cottage	300	
	55 56	Fencing and improvements Purchase of launch and construction of slipway and	50	
	57	mooring point Kea suppression: Ex gratia payment of expenses and	600	
	İ	loss of wages on account of license issued in error	40	
	58	Noxious weeds on Crown land, eradication of	2,500	
	59	Payment of special rates on unoccupied farms under administration of Land Boards	5,000	
	60	Protective Works: Erection of river-protective works		
*	61	to protect adjoining Crown lands Refunds for improvements effected	25 50	
-	62	Repairs and alterations to buildings on Crown lands	50	
	63	River protective works, Waitangi River, South West-land	100	
	64	Special rates to local authorities	10	
	65	Stewart Island: Interest on £2,000, part purchase- money; annual payment, £160 Subsidies—	160	
	66	Egmont National Park (£1 for £1)	500	
	67 68	Lake Wanaka mail-service Rangitaiki Land Drainage: Maintenance of com-	25	
		pleted works (16s. for £1)	1,750	
	69 70	South Westland mail-steamer Tongariro National Park (£1 for £1), (balance of	300	
	71	subsidy of £500)	2,500	

DEPARTMENT OF LANDS AND SURVEY—continued.

-29.	1928-		Item.	Number of Persons.
		OTE No. 32.—DEPARTMENT OF LANDS AND		1928-29.
£	£	SURVEY—continued.		1920-29.
		Subdivision No. II—Miscellaneous Services—continued.		
		Charges for and incidental to—continued. Subsidies—continued.		
	1,705	Wanganui River mail-service	72	
	500	Westport-Karamea steamer-service (£100 recoverable)	73	
		Value of improvements on pastoral and small grazing- runs on expiry of license, payment of, to outgoing	74	
	300	lessees		
	150	Kaingaroa Plains	75	
	150	Tokatoka and Whenuanui Blocks · Cost of experimental bores	76	
	91 010	-		
	31,918	Less commitments which will not be expended		
	400	during the year	į	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Department of Agriculture: Contribution towards Westport— Karamea Mail-service (subsidy) Recovery from sale of kauri-gum purchased out of Consolidated Fund to relieve cases of distress		
		(on account of £10,000), balance		*
		Miscellaneous 50		
		950		
31,51		Total Subdivision No. II		
305,19		Gross Total		
116,99	•••	Credits-in-aid (a)		
188,18		NET TOTAL—VOTE No. 32		

(a) Credits-in-aid—		Salaries.	Other Charges.	1928–29.
Subdivision I	[$77,\tilde{3}63$	$38,\tilde{6}82$	116,045
" II	[950	950
Totals		${77,363}$	39,632	116,995
			H	

SCENERY PRESERVATION.

•	we			; ;]		19	28–29.	
				-	Salaries.	Othe	er Charges.	Total.
Vote No. 33.—Scener	y Preserv	ation			£		£	£
GROSS TOTAL	Ĺ		. •				17,234	17,234
CREDITS-IN-A	ID					:	31	31
NET TOTAL	L						17,203	17,203
· · · · · · · · · · · · · · · · · · ·			21 To the Control of		il mulmill time		<u> </u>	= .
Number of Persons.	VOTE N	o 33 _	-SCENER	Y PRES	ERVATIC	N	1928	3–29.
1928-29.					HILVATIO	/IN .		
1 G			INCIDENTA of reserves		ric spots (includ-	£	£
0	ing fer	icing an	d other wo norial site,	orks)		•••	700	
2	engrav	ing of i	nscription,	fencing,	&c		50	
3	Capital (subsid		f Greystol	te Settle	ment, Sec	tion 9	445	
	Compens	ation, &			,		110	
4			nds taken toric spots)					
	Act,	1908, a	ind the Na	tive Land	l Act, 1909		100	
5			with lands n Act, 1908		nder the S	cenery	100	
6	Fencing	\mathbf{W} hinra	y Park, Gi	${f sborne}$	•••		170	
7	Fencing toward		Pine Bus	sh, Tong	oio, contri	bution	75	:
8	Grant to	Hawei	ra Borough		for plantin	g trees	(1)	! !
			okai Reser		•••		35	
9			rest Park I			• • •	50	
$\begin{bmatrix} 10 \\ 11 \end{bmatrix}$			acquisition r Scenic R				$\begin{array}{c} 142 \\ 70 \end{array}$	
12			ic Reserve				10	·
123	ments			•••			100	
13	Lowry E	Say, We	llington: (Contribut	ion toward	is pur-		
			es 3 roods			• • • • • • • • • • • • • • • • • • • •	200	
•			ttlement A			777 ·	1	
14			of Section	1 5, Dioc	K AAIV,	waiau	60	
15		ere Blo	rea acquire	d to Lake	 - Waikarer	 ทองกล	60	
10			ind water-				10,274	į
16			enic Reserv					
	acres t	aken fo	r scenic pu	rposes	• • •		875	
17			equisition				106	
18			storical pol				300	İ
19			Pukekohe (s Indowment			•••	675	
$egin{array}{c} 20 \ 21 \end{array}$			Indowment Reserve an			Cost of	300	
	fencin		TACOCIAC OIT		~		21	
22			a: Improv	ements	•••		85	
$\frac{23}{23}$			ation Boar				20	
24	Section	62s, M	Ianaia Par			owards		1
. *	acquis	sition of			•••	• • • •	50	

SCENERY PRESERVATION—continued.

Number of Persons.	Item.		1928-	29.
1928–29.	.	VOTE No. 33.—SCENERY PRESERVATION— continued.		
		CHARGES FOR AND INCIDENTAL TO—continued.	£	£
		Subsidies—		
	25	Everett Road Scenic Reserves (improvements),	•	
		$(\pounds 1 \text{ for } \pounds 1)$	5 0 $_{+}$	
	26	Hundalee Scenic Reserve (improvements), (£1		
		for £1)	150	
	27	Sugar Loaf Reserve: Erection of rabbit-proof fence	73	
	$\begin{array}{c c} 28 & \\ \hline & 29 & \\ \end{array}$	Summit Road Scenic Reserves: Ranger	300 450 :	
	29	Surveys, valuations, and incidental expenses Trounson's Kauri Forest—	400	
	30	Charges in connection with protection of	800	
	31	Road access	100	
	$\begin{vmatrix} 32 \end{vmatrix}$	Waipu Scenic Reserve	158	
	33	Wanganui Scenic Reserve, acquisition of (on account)	2,000	
	34	Whitianga Bay Scenic Reserve	50	
			19,134	
		Less estimated amount of items provided for but		
		not required during current year	1,900	
	1	Estimated credits in-aid under Section 51 of the	į	
	İ	Public Revenues Act, 1926 (see end of vote)—	!	
•	j	Misceilaneous £31		
		Gross Total		17,234
		Credits-in-aid		31
	i l	NET TOTALVOTE No. 33 -	_	17,203

VALUATION DEPARTMENT.

				19 2 8–29.			
				Salaries.	Other Charges.	Total.	
Vote No. 34.—Valuation D	epartment-		£	£	£		
GROSS TOTAL	••	• •	• •	37,468	30,875	68,343	
CREDITS-IN-AID	• •	••		350	12,885	13,235	
NET TOTAL	• •	• •	••	37,118	17,990	55,108	

Number of Persons.	Item.						192 8–	29.
1928–29	-	VOTE No. 3	4.—VALUATIO	N DEP	ARTM	ENT.		
1920-29	1	*Salaries—					£	£
		. A	DMINISTRATIVE]	Division.				
1		1 (Valuer-Ge	neral) at £925	•	•••		925	
			CLERICAL DIV	ISION.				
		Class I —						
2		2 at £565		•	•••		1,130	
		Class II—						
1		1 at £515	••	•	• • •	•••	515	
_		Class III—					4.00	
1		1 at £470	••	•	•••	•••	470	
4		Class IV— 4 at £425					1 700	
4		Class V—		•	•••	•••	1,700	
6		6 at £380					2,280	
U		Class VI—	••	•	•••	•••	2,200	
9		9 at £335					3,015	
U		Class VII			•••	€	3,013	
	ļi	7 at £295			•••	2,065		
		2 at £275			·	550		
		1 at £250			•••	250		
		1 at £230				230		
		1 at £190		•		190		
	i	1 at £155				155]	
		4 at £135	• •			540		
	1	3 at £115				345		
22		2 at £95		_	•••	190		
							4,515	
		Cadets' lodgi	ng-allowances		•••		134	
			General Divi	ISION				
		11 at £565	OBREMAL DIVI			6,215		
		6 at £530		-	•••	3,180		
		2 at £515	••	•		1,030		
		1 at £500	••	•		500		
		3 at £490		•		1,470		
		1 at £460	•••		•••	460		

^{*} For particulars of salaries see "Public Service Classification List."

NOTE.—Scale salaries or wages include cost-of-living increase

${\tt VALUATION\ DEPARTMENT--} continued.$

Number of Persons.	Item.	COME N. O. MARY	MION TOP	10 10 2 2 2 2	NT	1928-9	29.
1928–29.	- 	VOTE No. 34.—VALUA	TION DEP inued.	ARIME	- NT		
	1	Salaries—continued.				£	£
	. 1	SALARIES—Communea.					
		GENERAL DIVI	sion—contin	ned.	£		
	1	2 at £445			890		
	.	1 at £430		•••	430		
		1 at £380			380		
		1 at £255	•••	•••	255		
		1 at £245	•••	•••	$\begin{bmatrix} 245 \\ 820 \end{bmatrix}$		
		4 at £205 5 at £185	•••	•••	925		
41		2 at £160	•••		320		
		2 40 4100	•••			17,120	
	.		RMANENTS.		450		
	i i	1 at £470	•••	• • •	470		
		1 at £430 1 at £290	••	•••	$egin{array}{c c} 430 & \\ 290 & \\ \end{array}$		
		1 at £267	•••	•••	267		
		1 at £261	•••		261		
		1 at £254			254	!	
		1 at £241	•••	•••	241	İ	
		1 at £235	•••	•••	235		
		1 at £170 2 at £156	•••	•••	$\begin{vmatrix} 170 \\ 312 \end{vmatrix}$		
	İ	2 at £144	•••	•••	288		
		1 at £131	•••		131		
		5 at £117	• •	•••	585		
		7 at £105	•••		735		
0.0	i i	5 at £91	•••	•••	455		
36		5 at £78	•••	••	390 50 0		
123	_	Others not specified	•••	•••		6,014	
	-				-	37,818	
		Less amount provi	ded but not	required		350	
						37,468	
		OTHER CHARGES FOR ANI			,		
	$\frac{2}{}$	Advertising, books, necations	ewspapers,		1	130	
	3	Assessment Court expe	nses	•••		800	
	4	Fees to valuers (recover		•••		18,000	
	5	Freight, cartage, and tr	ansport chai	ges	•••	20	
	6	Fuel, light, power, and	water	•••	••• !	30	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Law-costs Maps and tracings, scheo	dulas of land t	···	ona ka	50	
		New maps	autes of fanu i		£1,040		
		Maintenance	•••	•••	260		
		•				1,300	
	$\perp 9$	Office expenses		•••	•••	340	
	10	Office fittings and requ	isites	•••	•••	300	
	$\begin{bmatrix} 11 \\ 12 \end{bmatrix}$	Overtime and meal allo Post and Telegraph		for ger	vices of	50	
	12	officers	Department	101 861		100	
	13	Postage, telegrams, and	rent of box	es		800	
	14	Printing and stationery			•••	1,000	
	15	Rent	, ,		•••	425	
	16	Telephone services (inc				120	
	17	maintenance, rent, a Transfer and removal e	arcans)	•••	••••	$\frac{450}{200}$	
	18	Travelling allowances a	nd expenses	•••	•••	6,750	
		Typewriters—	-F		į	,	
	19	Purchase of	•••	•••	•••	70	
	20	Maintenance of	•••			5 0	

VALUATION DEPARTMENT—continued.

Number of Persons.	Item.	I	1928-	29.
1928–29.		VOTE No. 34.—VALUATION DEPARTMENT— continued. OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	21	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Land-tax Department 11,470 New Zealand State Advances Office 1,250 Department of Internal Affairs: Salaries of District Valuers while engaged on Commissions of inquiry re alteration of boundaries of local districts 50 Department of Lands and Survey: Salaries of officers while employed on Deteriorated Lands Committees 300 Hospital and Charitable Institutions Act, 1909, Section 46— Expenses of levying hospital rates		
		in Sounds and Taupo Counties and in Waikeke Island 165		
	i	13,235		
		Gross Total	30,875	6 8,34
		Credits-in-aid		13,23
		NET TOTAL—VOTE No. 34		55,10

ELECTORAL DEPARTMENT.

				192	8–1929.	
		s	alaries.	Othe	r Charges.	Total.
Vote No. 35.—Ele	ectoral Department—		£		£	£
GROSS TOTAL	••		3,639	!	89,128	92,767
CREDITS-IN-A	ID				2,000	2,000
NET	TOTAL		3,639		87,128	90,767
Number of Persons.	VOTE No. 35.—ELECTORAL	DEDAI	OTM TONY	 r	1928	-29.
1928–29.	*SALARIES—	DEFAI	20 T IAT ES IA 1	L.	£	£
	CLERICAL DIVISI	ON.			1	
1	Class I— 1 at £665 (9 months), £565 (3	3 months	·)		640	
7	Class VII— 1 at £155 1 at £155 (3 months), £135 (5 at £135 1 at £135 1 at £135 1 at £135 (9 months), £115 (6 at £135 (2 months), £115 (1 at £135 (7½ months), £80 (4 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (1½ months), £80 (10 at £95 (12	3 months 10 montl 4 months	 B) ns)	£ 155 140 135 130 118 89 82		
3	Non-Permanen 1 at £143 (11 months), £130 (1 1 at £104 (9½ months) 1 at £78 (8½ months)		 	141 79 55	849	
11					275	
	Cadet's lodging-allowance For payments of Registrars Payment for services of Officer	s acting	 as Regis	 trars	1,248	
j	of Electors— To Post and Telegraph Depa	rtment .	••		598	
					3,639	
2	OTHER CHARGES FOR AND INCIDE Advertising, photographs, boo other publications	oks, nev	spapers,		10	
3 4	By-elections, expenses of Compulsory enrolment of el		 Expense		50	
5 6	Freight, cartage, and transport Fuel, light, power, and water General Election—	charges	•••	•••	4,000 50 50	
7 8 9 10 11	Expenses of taking Preparation and printing roll Licensing Committee: Electio Licensing Poll under Licensing New rolls, formation: Alteratio	ns Act, 190		 aries	27,000 30,000 800 13,000 2,000	

^{*} For particulars of salaries see "Public Service Classification List."
Note.—Scale salaries or wages include cost-of-living increase.

ELECTORAL DEPARTMENT—continued.

Number of Persons.	Item.				1928 - 9	29 .
		VOTE No. 35.—ELECTORAL DEPA	ARTMI	ENT-		
1928–29.		continued.			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO	-cont	inued.		
	12	Office furniture, fittings, &c.			300	
	13	Office requisites			100	
	14	Postage, telegrams, and rent of boxes			7,000	
	15	Printing and stationery			3,500	
	16	Rent			900	
	17	Telephone services (including installat	ion, ex	tensions.		
	1	maintenance, rent, and calls)		•••	150	
	18	Transfer of offices			48	
	19	Travelling allowance and expenses			150	
	20	Contingencies, including unforeseen	expend			
		cidental to the other items of the vo	ote		20	
		Estimated credits-in-aid under S Public Revenues Act, 1926 (so Miscellaneous				
				-	90 109	
		Gross Total	•••		89,128	92,76
		Conners of the		1		9 000
		CREDITS-IN-AID	• • •	•••	•••	2,000
		NET TOTAL—VOTE No.	35	·		90,767

DEPARTMENT OF AGRICULTURE.

					192	8–29.	
				Salaries.	Other	Charges.	Total.
Vote No. 36	3.—Department of A	griculture—		£		£	£
Subdivisio	n I.—Head Office		1	32,650	,	43,825	76.47
,,	II.—Live-stock Div	ision		86,947		47,834	134,78
,,	III.—Horticulture			18,076		12,330	30,40
, ,,	IV.—Dairy Division		••	46,801		17,840	64 , 64
,,	V.—Fields Divisi			27,836		20,460	48,29
,,	VI.— $Miscellaneou$	s Services	••	•••	$_{\perp}$ $^{-1}$	87,106	187,10
GR	OSS TOTAL			212,310	3	29,395	541,70
Cri	EDITS-IN-AID		• •	10,750		86,998	97,74
NE	T TOTAL	••		201,560		42,397	443,95
Number of Persons.	Item.					1928	3–29.
1928–29.		—DEPARTMI			URE.	£	£
		bdivision No.	I.—Head	Office.			
	1 SALARIES	\	1>				
	1 . 01 07	Abministrati			£		
0	1 at £1,25	0 (Director-Ger	ierai)	1	,250 800		
2	1 at ±000	(Assistant Dire	ector-Gener	an)	000	2,050	
		Professiona	- Dimini			4,000	
	Class A		L DIVISION	ī.		•	
1			T DIVISION	Ι.		·	
1	1 at £80	0		i. 		800	
1		00			•••		
	1 at £80 Class C— 1 at £49	00			490		
2	1 at £80 Class C— 1 at £49 1 at £44	00		 		800	
	1 at £80 Class C— 1 at £49 1 at £44 Class D—	00 5		 	490 445		
2	1 at £80 Class C— 1 at £49 1 at £44 Class D— 1 at £40	00 5 00		 	490 445 400	800	
	1 at £80 Class C— 1 at £49 1 at £44 Class D—	00 5 00		··· ··· ··· ···	490 445	800 935	
2	1 at £86 Class C— 1 at £49 1 at £44 Class D— 1 at £40 1 at £35	00 5 00		··· ··· ···	490 445 400	800	
2 2	1 at £80 Class C— 1 at £42 1 at £44 Class D— 1 at £40 1 at £35	00 5 00 55 CLERICAL		 	490 445 400	800 935 755	
2	1 at £86 Class C— 1 at £44 Class D— 1 at £46 1 at £35 Class I— 1 at £56	00 55 00 55 CLERICAL		··· ···	490 445 400	800 935	
2 2	1 at £80 Class C— 1 at £44 Class D— 1 at £45 Class I— 1 at £50 Class II—	00 55 00 55 CLERICAL	 Division.		490 445 400 355	800935755565	
2 2	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £35 Class I— 1 at £55 Class II— 2 at £55	00 55 00 55 CLERICAL 65	 Division.		490 445 400 355	800 935 755	
2 2 1 2	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £35 Class I— 2 at £55 Class III—	00 55 00 55 CLERICAL	 Division. 		490 445 400 355	935 755 565 1,030	
2 2	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £35 Class I— 2 at £55 Class III— 1 at £41	00 55 00 55 CLERICAL 65 	 Division.		490 445 400 355	800935755565	
2 2 1 2 1	1 at £80 Class C— 1 at £44 Class D— 1 at £46 1 at £36 Class I— 1 at £55 Class II— 2 at £55 Class II— 1 at £4' Class IV—	00 55 CLERICAL 65 	 Division. 		490 445 400 355 	800 935 755 565 1,030 470	
2 2 1 2	1 at £80 Class C— 1 at £44 Class D— 1 at £46 1 at £36 Class I— 1 at £50 Class II— 2 at £55 Class III— 1 at £44 Class IV— 3 at £45 Class V—	00 55 CLERICAL 65 	Division		490 445 400 355	935 755 565 1,030	
2 2 1 2 1	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £35 Class II— 2 at £55 Class III— 1 at £45 Class IV— 3 at £45 Class V— 4 at £38	00 55 CLERICAL 65 	Division		490 445 400 355 	800 935 755 565 1,030 470	
2 2 1 2 1 3	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £35 Class II— 2 at £55 Class III- 1 at £44 Class IV— 3 at £45 Class V— 4 at £38 Class VI—	00 55 CLERICAL 65 	Division		490 445 400 355 	935 755 565 1,030 470 1,275	
2 2 1 2 1 3 4	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £45 1 at £35 Class II— 2 at £55 Class III- 1 at £44 Class IV— 3 at £45 Class V— 4 at £36 Class VI— 17 at £5	O 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Division		490 445 400 355 	935 755 565 1,030 470 1,275	
2 2 1 2 1 3	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £45 1 at £55 Class II— 2 at £55 Class III 1 at £47 Class IV— 3 at £45 Class V— 4 at £36 Class VI— 17 at £31	O 5 5 CLERICAL 55 - 15 - 70 - 25 80 - 335 80 60 60 60 60 60 60 60 60 60 60 60 60 60	Division		490 445 400 355 	800 935 755 565 1,030 470 1,275 1,520	
2 2 1 2 1 3 4	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £40 1 at £35 Class II— 2 at £55 Class III- 1 at £47 Class IV— 3 at £47 Class V— 4 at £36 Class VI— 17 at £3 Class VIII 1 at £35	00 55 CLERICAL 65 - 15 70 - 25 80 - 335 80	Division		490 445 400 355 400 355	935 755 565 1,030 470 1,275	
2 2 1 2 1 3 4	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £40 1 at £35 Class II— 2 at £55 Class III 1 at £47 Class IV— 3 at £47 Class V— 4 at £38 Class VI— 17 at £3 Class VIII 7 at £25	O 5 5 CLERICAL 65 - 15 - 70 - 25 80 - 335 80 - 55 80 - 55	Division	5	490 445 400 355 4,695 320	800 935 755 565 1,030 470 1,275 1,520	
2 2 1 2 1 3 4	1 at £80 Class C— 1 at £44 Class D— 1 at £44 Class D— 1 at £40 1 at £35 Class II— 2 at £55 Class III- 1 at £47 Class IV— 3 at £47 Class V— 4 at £36 Class VI— 17 at £3 Class VIII 1 at £35	00 55 CLERICAL 65 - 15 - 70 - 25 80 - 835 80 - 95	Division	5	490 445 400 355 400 355	800 935 755 565 1,030 470 1,275 1,520	

^{*} For particulars of salaries see "Public Service Classification List."
Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.	VOTE No. 36—DEP.	ARTMENT OF —continued.	AGRICU	ULTURE	1928-	29.
928–29.		Subdivision No.	£	£			
	1 1	SALARIES—continued					
			Division—cont	imacad			
				01666CU.			
		Class VII—contin 3 at £210	ued.		£ 630		
		8 at £190	•••		1,520		
		4 at £155	•••		620		
		8 at £135	***	•••	1,080		
		7 at £115 10 at £95	•••	•••	805 950		
59		4 at £80	•••	•••	320		
•				•••		10,050	
		Cadets' lodging-all		•••	•••	240	
		GE: 1 at £515	NERAL DIVISION.		515		
		1 at £485	•••	•••	485		
		1 at £345	•••	•••	345		
		1 at £295			295		
		2 at £280	•••	•••	560		
	Ī	1 at £271 1 at £260	•••	• • •	$\begin{array}{c} 271 \\ 260 \end{array}$		
		1 at £245	•••	•••	245		
		1 at £240	•••	•••	240		
	Ì	1 at £225	•••		225		
16		3 at £205 2 at £185	•••	•••	615 370		
10			•••	•••		4,426	
		1 at £400	N-PERMANENTS.		400		
		1 at £295	•••		295		
		1 at £273	•••	• • •	273		
		1 at £221	•••	•••	221		
		1 at £182 2 at £156	•••	•••	$\begin{array}{c} 182 \\ 312 \end{array}$		
		1 at £150		• • • •	150		
		1 at £143	•••		143		
		2 at £130		•••	260		
		1 at £117	• • •	•••	117		
		2 at £104 2 at £78	• • •		$\begin{array}{c} 208 \\ 156 \end{array}$		
17		1 at £52	•••	•••	52		
128		Allowance to Assis	stant Director-Ge	eneral wh	ile acting	2,769	
	-	as Director-Gen	eral	•••		200	
		Allowance for per under Public Se	riorming special rvice Regulations			50	
		Estimated cre	edits-in-aid unde	r Section	51 of the	i	
		Public Re	evenues Act, 1926	6 (see end	of vote)—		
		Services to	other Departmen	nts, &c.	£1,250		
		Less amount	provided but not	required		33,150 500	
		ness amount	provided but not	roquiroa	• • •		>
	!	OTHER CHARGES FOR	R AND INCIDENTA	L TO—	_	32,650	
	2	Advertising, photo			ers, and		
		other publication	ns		•••	325	
	3	Agricultural inst	` ` -	,		9 500	
	4	Board of Agricultu	dowment (recover	rante)	***	3,500	
	5	Departmental Exh		ions and a	at A. and	500	
		P. Association S	Shows: Wages a	nd other	expenses	1,200	
	6	Expenses of New				100	

DEPARTMENT OF AGRICULTURE -continued.

		DEPARTMENT OF AGRICULTURE—continued	/. 	
Number of Persons.	Item.	VOTE No. 36.—DEPARTMENT OF AGRICULTURE— continued.	1928-	-29.
1928–29.				
	!	Subdivision No. I.—Head Office—continued.	£	£
	7	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Experimental and Instructional Farms: Wages and General Working Expenses, Rent of Land, Buildings, Purchase of Stock, and Provision for Visitors (partly recoverable),— Ruakura—		
	'	Wages and other expenses 6,500	ļ	
		Educational work 2,500		
			9,000	
	8 9	Weraroa Waimaunga (West Coast, S.I.)	5,200 1,000	
	10	Walmaunga (West Coast, S.I.) Extension of instructional work in connection with	1,000	
		rural industries, including fostering of boys' and		
		girls' agricultural clubs	1,900	
	11	Freight, cartage, and transport charges	50	
	12	Fuel, light, water, furniture, office requisites, in- surance, cleaning offices, outbuildings, yards, and	ļ	
		approaches	2,000	
	13	Laboratory (chemical)	800	
	14	Law-costs	25	
	15.		050	
	16	labour, &c Postage, telegrams, and rent of boxes	8 50 3,700	
	$\frac{10}{17}$	Preparation and distribution of publications	2,800	
	18	Printing and stationery	2,600	
	1 9	· · · · · · · · · · · · · · · · · · ·	252	
	00	portation	250	
	$\frac{20}{21}$	Rents of Offices in New Zealand and abroad! Telephone services (including installation, extensions,	5,900	
	ΔI.	maintenance, rent, and calls)	200	
	22	Transfer and removal expenses	100	
	23	Travelling allowances and expenses	1,600	
	24	Travelling expenses: Director-General's visit to Europe and Africa attending Imperial Agricultural Research Conference, &c	200	
	25	Upkeep and Improvement of Buildings and Fences on Departmental Reserves and Grounds—	200	
		Wages and other expenses	150	
	26	Contingencies, including unforeseen expenditure incidental to the Head Office items of the vote	25	
		!	43,825	
	: i	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	20,020	
	!	Farm areas £15,000		
	1	Laboratory (chemical) 75 Mineral content of pastures 850		
	i	Moumahaki Endowment 3,500	İ	
		Publications 1,750		
		Travelling-expenses 500		
		$\overline{21,675}$		
!		Total—Subdivision No. 1		76,4 7 5
*	F	I I		
	i I	Subdivision No. 11Live-stock Division.	;	
	27	Salaries — Professional Division.		
	}			
. 1		1 at £765 (Director) $Class A$ —	765	
4	į	4 at £615	2,460	

DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.	VOTE No. 36.—DEPARTMENT OF AGRICULTURE—				1928–29.	
928-29.					-		
		Subdivision No. 11.—Live-s	tock Divi	ision—con	tinued	£	£
	27	SALARIES—continued.				1	
-		Professional Div	VISION—	ontinued			
			VIBION O	moon wee.			
		Class B—			£		
8		1 at £590 7 at £515	•••	•••	590 3,605	,	
U		Class C—	•	•••	5,005	4,195	
		1 at £495			495	_,	
		9 at £490		•••	4,410		
		1 at £490 (3 months)	• • •	• • •	123		
		2 at £470 1 at £470 (4 months)	•••	•••	$\begin{array}{c} 940 \\ 157 \end{array}$		
19	1	5 at £445	•••	•••	2,225		
		Class D—			,	8,350	
1		1 at £425	•••	•••	•••	425	
		CLERICAL	Division				
4	ļ.	Class III				470	
1	1	1 at £470 Class V—	•••	•••	•••	470	
1		1 at £380				380	
-		Class VII—					
		2 at £295	•••	•••	590		
		1 at £190	•••	•••	190		
5		1 at £155 1 at £135	•••	•••	$\begin{array}{c c} 155 \\ 135 \end{array}$		
0				•••		1,070	
		Cadet's lodging-allowance	e	•••		25	
		GENERAL	Division				
		3 at £515	•••	•••	1,545		
		1 at £500 1 at £485	•••	•••	500 485		
		13 at £450	•••	•••	5,850		
		3 at £435	•••	•••	1,305		
		2 at £400			800		
		23 at £380	• • •	•••	8,740		
		1 at £375	• • •	•••	375		
		12 at £360 1 at £356	• • •	•••	4,320 356		
		1 at £350	•••	•••	350		
		35 at £340	•••	•••	11,900		
		23 at £330	•••		7,590		
		5 at £320	•••	•••	1,600		
		8 at £310	•••	•••	2,480 4,500		
		15 at £300 2 at £295	•••	•••	590	1	
	}	5 at £290		•••	1,450		
		8 at £280	•••	•••	2,240		
		19 at £275	•••		5,225		
		1 at £270	•••	•••	270		
		2 at £265 1 at £260	•••	•••	530 260		
		1 at £255	•••	•••	$\frac{260}{255}$	1	
	1	1 at £250	•••	•••	250	-	
		1 at £246	• • •		246		
		2 at £240		•••	480	1	
		6 at £230		•••	1,380		
	1	1 at £220		• • •	$\frac{220}{200}$		
	1	1 at £200					
199		1 at £200 1 at £185	•••		185		

Number of Persons.	Item.	VOTE No. 36.—DEPARTMENT OF AGRICULTURE—	1928– 29.	
1928–29.			£	£
		Subdivision No. II.—Live-stock Division—continued.	æ	æ
	27	Salaries—continued.		
		Non-permanents. £		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £250 250	;	
		12 at £240 2,880 1 at £195 195		
17		1 at £195 195 195 80		
	-	All	3,800	
257	-	Allowances for performing special or higher duties under Public Service Regulations Nos. 24A and 209	40	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Recoveries from local bodies, &c. £2,000		
		Less amount provided but not required	88,972 2,025	
			86,947	
		OTHER CHARGES FOR AND INCIDENTAL TO—		
	28	Bicycles and motors— Purchase of	500	
	29	Maintenance of	$650 \mid 39$	
	30	Damages and costs re motor collision Destruction of noxious weeds on—	อย	
	31	Crown lands (recoverable)	2,500	
	32	Native lands (recoverable) Other lands (recoverable)	500 250	
		Destruction of Rabbits—		
	34	On Crown lands (recoverable) On Native lands (recoverable)	5,900 3,500	
	36	Rabbit-proof gates	160	
		Wages and general working-expenses, poison- mixing depots, purchase of material, &c. (recoverable)—		
	37	Trading section (recoverable)	2,800	
	38	Non-trading section (recoverable) Diseases of Live-stock—	650 \	
	39	Applying tuberculin test to cattle and disposing of		
	40	diseased stock	$\begin{array}{c c} 25 \\ *125 \end{array}$	
	41	Control of cattle-tick, and provision for caretakers		
	42	at crossing places Experiments in connection with bush-sickness and	*900	
		allied troubles	350	
	43	Inoculation of calves for "black-leg" Experimental Farm, Mamaku: Wages and general working-expenses, buildings, purchase of stock, and	75	
		provision for visitors	1,350	
	45		50	
	46	Inspection of manure-sterilizing (Australia and India): Labour, travelling, office, and other ex-		
	45	penses (part recoverable)	600	
•	$\begin{array}{ c c } 47 \\ 48 \end{array}$	Law-costs	$egin{array}{c} 675 \ 25 \end{array}$	
	49	Poultry Experimental Station (Wallaceville) equip-		
	50	ment and working-expenses (partly recoverable) Quarantine - stations, Auckland, Wellington, and	1,250	
		Lyttelton (partly recoverable)	2,000	
	51	Telephone services (including extensions, maintenance, rent, and calls)	1,150	
	52		850	

^{*}See also items in "Subdivision No. VI.—Miscellaneous Services."

DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.	VOTE No. 36—DEPA	RTMENT OF A	GRICUL	TURE—	1928-	-29.
1928–29.		Subdivision No. II	_Line-stock Dini	sion—con	tinued	£	£
	53 54 55 56 57	OTHER CHARGES FOR Transit expenses from Australia Travelling allowar Travelling-expense family from Eng Veterinary Labora expenses, land diseases Wool specimens f poses	and incidental of veterinarians in aces and expenses es of Animal Egland (part cost) story: Wages and and buildings, an according to the control of the cost of th	ro—conti from Engl Bacteriolog general d investig and resea	nued. and and gist and working- gation of rch pur-	50 19,500 150 1,150 100	£
	58	Contingencies, inc	eluding unforesee vive-stock Division			10	
		Estimated cre Public R Destruction Departm	edits-in-aid under evenues Act, 1926 of noxious weed ent of Lands and s epartment	Section 5 (see end os—	of the	47,834	
		Other lar		•••	250		
		Departm	n of rabbits n of rabbits— ent of Lands and s epartment	 Survey	4,000 5,900 3,500		
		Farm areas	•••	•••	1,400		
		Quarantine Sundry iter	-stations ns	•••	1,500 100		
					19,650		
		•	ubdivision No. I . III.—Horticults		on.		134,781
	59	Salaries— Profi	essional Divisio	N.			
1		1 at £715 (Direct Class B —	etor)	•••		715	
1		1 at £565	•••	•••		565	
			ERICAL DIVISION.				
1		Class IV— 1 at £425 Class VI—		•••		425	
1		1 at £335 Class VII—	•••		£	335	
		1 at £295 1 at £275	•••	• • •	295 275		
		1 at £275	•••		$\frac{210}{250}$		
		1 at £135	•••		135		
5		1 at £115	•••	•••	115	1,070	
		_	NERAL DIVISION.			1,010	
		2 at £450	•••	•••	900		
		7 at £415 1 at £400		•••	2,905		
		2 at £385	•••		770		
		1 at £380	•••	•••	380		
		2 at £360	•••	•••	720		
	1	5 at £355 1 at £345	•••		$\begin{array}{c c} 1,775 & \\ 345 & \end{array}$		
	1	2 at £335	***	•••	670		
	1	2 at #559	•••	•••	070 1	1	

${\tt DEPARTMENT\ OF\ AGRICULTURE--} continued.$

Number Persons.	Item.	VOTE No. 36—DEPARTME	1928–29.				
928–29.		Subdivision No. 111.—Hor		Diavinica	contd	£	£
		Subdivision No. 111.—Hor	rucuuure	Division—	conta.	æ	æ
	59	Salaries—continued.					
		GENERAL DIVIS	sion—cont	inued.	£		
		1 at £330	•••	•••	330		
		2 at £325	•••		650		
		2 at £310			620		
		2 at £300 (7 months), £3 3 at £300	525 (5 mor	iths)	$\begin{array}{c c} 621 \\ 900 \end{array}$		
		3 at £280	•••	•••	840		
		2 at £270	•••	•••	540	į	
		1 at £245		•••	245		
		1 at £205		•••	205		
41		1 at £197		•••	197		
		NT				14,013	
		1 at £400	MANENTS.		400	}	
		1 at £320	•••	•••	320		
		1 at £150	•••	•••	150		
4		1 at £143	•••	•••	143		
		Others not specified	•••	•••	440		
54		*				1,453	
]-		
		T 4 13	1			18,576	
		Less amount provide	ea but noi	requirea	•••	500	
					-	18,076	
		OTHER CHARGES FOR AND	INCIDENT	ΛΤ. TO-		10,070	
	60	Apiary Industry—			•		
		Purchase of beekeepi	ing requis	sites, mate	rial for		
		experiments, &c.	•••			50	
	0.1	Bicycles and motors—					
	61	Purchase of	• • •	• • •	•••	300	
	62	Maintenance of Fruit Industry—	•••	•••	•••	400	
	63	Collection of orchard t	ax (recove	rable)		150	
	64	Control of fireblight di	sease			50	
	65	Co-operative fruit-test		•••		30	
	66	Cutting out of abandor	ned orchai			20	
	67	Fumigation and destr	uction of	diseased f	ruit (re-		
	00	coverable)	•••	•••	•••	100	
	68	Orchard requisites, fru			гс	150	
	69	Horticultural Station, To			Ynangag		
		Rent of land, wages an buildings, purchase	of stock	and provi	sion for		
		visitors (recoverable		Provi		5,000	
	70	Law-costs	• • •			30	
	71	Telephone services (inclu		llation, ext	ensions,		
		maintenance, rent, and	d calls)	•••		200	
	72	Tobacco Industry—	a fon arres	in ont		05	
	73	Material and apparatu Transfer and removal ex				25 50	
	74	Travelling allowances an		 s	•••	5,750	
	75	Contingencies, including			iture in-	5,100	
		cidental to the Hortic					
		vote	•••	•••		25	
					-	10.000	
		Watimated anality is		w Castien	51 af 41	12,330	
		Estimated credits-in Public Revenue					
		Collection of orch			£150		
		Farm areas		•••	8,000		
		Fumigation and de	estruction	of fruit	300		
					8,450		
					!	1	

Number f Persons.	Item.	VOTE No. 36.—DEPARTMENT OF AGRICULTURE— continued.					-29.
928-29.		Subdivision No. IV-		Division.		£	£
	76	Salaries—	· ·				
	10	PROFESSIONAL	Divisio	N.			
1		1 at £800 (Director)		•••		800	
		Class B—	•••	•••			
1		1 at £615 Class C—	•••	•••	•••	615	
1		1 at £490 (6 months)		•••		245	
	ļ	Class D — 1 at £400	•••		£ 400	ı	
2		1 at £400 (11 months)		•••	367		
		CLERICAL 1	Division			767	
		Class IV	DIVISION.				
1		1 at £425 Class V	•••	•••	•••	425	-
1		1 at £380				380	
1		Class VI— 1 at £335				335	
1		Class VII—	•••	• • •	•••	999	
	İ	4 at £295	•••	•••	1,180		
		1 at £230 2 at £190	•••	•••	230 380		
	!	2 at £155	•••	•••	310		
		3 at £115 2 at £95	•••	•••	345 190		
15		1 at £80		•••	80	0.715	
		Cadets' lodging-allowance	es	•••		$egin{array}{c c} 2,715 \ 55 \end{array}$	
		GENERAL					
	1	1 at £830 (in London)			830		
		1 at £700 (in London)			700		
		1 at £600 9 at £515	•••	•••	600 4,635		
		14 at £500	•••	•••	7,000		
		1 at £480	•••	•••	$\begin{array}{c}480\\4,230\end{array}$		
		9 at £470 5 at £450 (9 months)	•••	•••	1,690		
		5 at £370	•••	•••	1,850		
		2 at £330 6 at £320	•••	•••	$ \begin{array}{c c} 660 \\ 1,920 \end{array} $		
		4 at £295		•••	1,180		
59	i	1 at £185	•••	•••	185	25,960	
		Non-peri	MANENTS.		24.	,,,,,,	
		1 at £515 19 at £320	•••	•••	515 6,080		
		10 at £320 (8 months)	•••		2,140		
		1 at £300 2 at £234	•••	•••	300 468		
		10 at £225		•••	2,250		1
		2 at £225 (8 months)		•••	300		
		14 at £208 (part time) 1 at £156	•••	•••	$\begin{array}{c c} 2,028 & \\ 156 & \end{array}$		
		1 at £150	•••	•••	150		
6 2	_	1 at £117	•••	•••	117	14,504	• •
144		Estimated credits-in Public Revenue vote)—	es Act,	1926 (see	end of	,	
		Recoveries from d panies, &c.	airy-facto	ory com-	£ 7,500		
		Panios, 401			.,		

DEPARTMENT OF	' AGRICIII	THRE—continued

of Persons.	ltem.	VOTE No. 36—DEPARTME	$ \begin{array}{c} \text{NT OF AC} \\ ued. \end{array} $	RICU	LTURE—	1928-	29.
1928–29.		Subdivision No. IV.—Dai	ry Divisio	n—cont	sinued.	•	
		OTHER CHARGES FOR AND INC	CIDENTAL	ro—		£	£
		Bicycles and motors (part					
}	77	Purchase of	•	· · ·		2,900	
	78	Maintenance of		:		1,000	
	79	Certificate-of-record testing			rd-testing		
	00	of purebred dairy cows			•••	350	
	80 81	Cow-testing Associations (Dairy requisites and pro	recoverau duce for	ey	ents (re-	5	
	01	coverable)		CAPCITI	ICITUS (IC-	600	
	82	Dairy Laboratory: Equip	ment, &c			250	
	83	Fees for certificate-of-reco			red dairy		
		cows in Nelson District			• • •	50	
	84	Grading of dairy-produce					
		rent, office requisites, phones, &c.	stationer	y, posts	rge, tere-	0.000	
	85	Law-costs	•		• • • •	$\frac{2,000}{20}$	
	86	Telephone services (incl	uding ins	tallatio	a. exten-	20	
		sions, maintenance, ren	t, and call	s)		100	
	87	Transfer and removal expe	enses			600	
1	88	Travelling allowances and	expenses	,		9,800	
	89	Travelling-expenses of Dai		ologist a	and family	170	
	90	from England (part cost Contingencies, including u		expend	itura ingi-	150	
	90	dental to the Dairy Div				15	
		dental to the Daily Div	161011 10011	OI VIII	VOÇC		
					E	17,840	
		Estimated credits-in-					
1		Public Revenues				-	
		Certificate - of - reco			£		
		official herd-testi	~	•••	$\frac{3,000}{700}$		
		Cow-testing Dairy-produce grad	inα		24,000		
ĺ		Produce for experin		•••	400		
		Travelling-expenses			2,000		
					30,100		
		Total— $Subd$	livision No	o. <i>IV</i>			64,64
		Subdivision No. V	-Fields I	Division.			
	91	Salaries-					
		Professional	Division	i.			
		Class A—					
1		1 at £900 (Director)	•••	• • •	···	900	
		$Class\ B$ 1 at £565			£ 565	1	
1		1 at £565 (3 months)	•••	•••	142		
		5 at £540	•••	•••	2,700		
10		3 at £515	•••	•••	1,545		
		Class C—				4,952	
		1 at £490	•••	• • • •	490		
3		2 at £445	•••	•••	890	1 000	
		$egin{array}{c} Class \ D \ 4 \ { m at} \ \pounds 425 \end{array}$			1,700	1,380	
		1 at £400		•••	400		
		4 at £355	•••	•••	1,420		
		1 at £335	•••	•••	335		
11		1 at £330			330	•	
	ĺ	Class E—				4,185	
ļ		14 at £320 1 at £295	•••	•••	4,480 295		
15		I 00 0200	• • •	•••	△30	4 005	
15			_			4,775	
15		Class III	Division.		-	4,775	
		$Class\ III$ —	Division.				
15			Division. 	•••	• > •	470	

		DEPARTMENT OF	F AGRICU	LTURE -	-continue	1.	
Number of Persons.	Item.	VOIE NO. 50 DEPART	MENT OF	AGRICU	LTURE	1928-	29.
1928–29.		Subdivision No. V.—I	Fields Divis	ion—contir	med.	£	£
	91	SALARIES—continued				æ	-20
	31		AL Division		}		
		Class VI—	TE DIVISION	•			
2		2 at £335				670	
		Class VII— 2 at £295			£ 590		
	i	1 at £155	•••		155	!	
5		1 at £135	•••	•••	135	!	
Ð		1 at £115	•••	• • •	115	995	
			L Division.				
		1 at £490 2 at £425	•••	•••	490 8 5 0		
		2 at £400	•••	•••	800		
	İ	1 at £355	•••		355]	
		1 at £345 1 at £340	•••	•••	$egin{array}{c} 345 \ 340 \ \end{array}$		
		1 at £335	•••	•••	335		
	ı	1 at £330			330		
		3 at £295 1 at £270		• • • •	885		
15		1 at £185	••	•••	$\begin{array}{c} 270 \\ 185 \end{array}$		
			•••			5,185	
		Non-Pi 1 at £380	ERMANENTS.		990		
		1 at £360	•••		380 360		
		1 at £355			355		
		1 at £300	•••	••••	300		
		1 at £300 (8 months) 5 at £295	•••	•••	$\begin{bmatrix} 200 \\ 1,475 \end{bmatrix}$	1	
		1 at £250		•••	250		
		1 at £230	•••	• • •	230		
		1 at £215 2 at £208	•••	•••	$egin{array}{c} 215 \ 416 \ \end{array}$		
		1 at £201			201	ĺ	
		1 at £182 1 at £156	•••		182		
		1 at £78			$egin{array}{c c} 156 & \hline 78 & \hline \end{array}$		
		1 at £78 (7 months)			46		
22		2 at £65	•••	• • •	130	4,974	
86						4,314	
	-	<u>.</u>				28,841	
		Less amount prov	ided but not	required		1,005	
		 				27,836	•
		OTHER CHARGES FOR AN	D INCIDENTA	L TO-	-		
	92	Bicycles and motors— Purchase of				600	
	93	Maintenance of	•••	•••		400	
	0.4	Agricultural investigati			£		
	94	Department of Scien Research: Phorm			350		
	95	Equipment for plant			300		
	96	Farm economics	•••		200		
	97 98	Field crops Field experiments	•••		3,000	į	
	99	Insect pests	•••	•••	300		
	100	Pastures Plant diseases	•••	•••	600 600		
	$\begin{array}{c} 101 \\ 102 \end{array}$	Seed-testing	•••	•••	600		
				-		6,550	
	109	Experimental areas — Ashburton			į	900	
	103 104	Galloway				1,000	
	105	Gore			•••	400	
	106	Marton (part recover	•	•••	• • •	1,000	
	107	Puwera	•••	•••	•••	1,000	

DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.		1928-	-29.
1928-29.	<u> </u>	VOTE No. 36.—DEPARTMENT OF AGRICULTURE— continued.		
		Subdivision No. V.—Fields Division—continued.	£	£
	108 109 110	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Irrigation in Central Otago: Experimental and investigation work New Zealand hemp industry: Grading Telephone services (including installations, extensions, maintenance, rent, and calls)	25 100 300	
	111 112 113	Transfer and removal expenses Travelling allowances and expenses Travelling allowance and expenses of Chief Hemp Grader to Australia (part recoverable)	8,000	
	114	Contingencies, including unforeseen expenditure incidental to the Fields Division items of the vote	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of	20,460	
		vote)— Entomological investigations— £ State Forest Department 375 Farm areas 3,325 Grading hemp 2,150 Seed-testing 500 Travelling allowance and expenses of Chief Hemp Grader 48		
		6,398		
		Total—Subdivision No. V		48,296
		Subdivision No. VI.—Miscellaneous Services.		
	115	CHARGES FOR AND INCIDENTAL TO— Analysis and sampling of fertilizers in Europe and Great Britain	1,200	
	116	Assistance in connection with fertilizers for farmers in isolated districts	 75	
	117	Blackberry, bonus for extermination of (£10,000), on account	10	
*	118 119	Control of Cattle Tick— Grants to cattle-dipping associations (on account) Loans to cattle-dipping associations in need of	*1,000	
	120	financial assistance Subsidies to cost of erection of dips Destruction of Rabbits—	*750 *150	
	121	Advances to Boards in terms of Sections 104-113 of Rabbit Nuisance Act, 1908 (recoverable)	500	
	122	Rabbit Boards, subsidies to	13,500	
· · · · · · · · · · · · · · · · · · ·	123 $ 124 $	Destruction of the kea (part recoverable) Destruction of wild pigs; also vote State Forest Service, £325	750 150	
	125	Expenses in connection with investigation of animal diseases: Visit of Sir Arnold Theiler Grants—	205	
	$\frac{126}{127}$	Dargaville Demonstration Farm Egg-laying competitions at Auckland and Christ-	300	
	128 129 130	Imperial Bureau of Mycology	200 400 300 100	

^{*}See also items in "Subdivision No. II.—Live-stock Division."

DEPARTMENT	OF	AGRICULTURE—continued.
	OT.	ACTUIO O LIL O MIT—COMBREGE.

CHARGES FOR AND INCIDENTAL TO—continued. Grants—continued. International Institute of Agriculture, and cost of representation at "	Number of Persons.	Item.	VOTE No. 36.—DEPARTMENT OF AGRICULTURE— continued.	1928-	-29.
Grants=-continued.	1928-29.			£	£
International Institute of Agriculture, and cost of representation at some procession at some procession at some procession at some procession and seed-testing Association 20					
132		131	International Institute of Agriculture, and cost of		
183			representation at	250	
International Veterinary Bureau, and cost of representation at 90				1	
Sentation at				20	
135		134		00	
136		125		!	
Winton Experimental Area 400					
Guarantees and Bonus on Exports— Eggs, guarantee on export of					
138		101	Guarantees and Bonus on Exports-	100	
139	•	138		500	
140					
141 Tobacco, guarantee on export of 25 Railways Department— 1,100 Carriage of fodder for starving stock 1,100 Carriage of fime for bona fide farmers 31,000 Portion of freight rates on fertilizers 102,000 Subsidies— Cow-testing organizations (including expenses of Allocation Board, stationery, &c.) 9,500 Dairy laboratory in Taranaki 211 Line production: Subsidy to Farmers' Co-operative Lime Companies 50 National Beckeepers' Association of New Zealand (£1 for £1) 100 Steamer Services— Chatham Islands (part recoverable) 500 Westport-Karamea 100 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contributions towards cost of Chatham Islands steamer service— Vote, Public Buildings £112 ,, Post and Telegraph Working-expenses 113 ,, Department of Justice 125 £ 350 Destruction of the kea: Department of Lands and Survey 375 725 Total—Subdivision No. VI 187,106 Gross Total 541,704 Credits-in-aid (a)					
Railways Department— Carriage of fodder for starving stock 1,100		1			
142 Carriage of loadder for starving stock					
143 Carriage of lime for bona fide farmers 31,000 Portion of freight rates on fertilizers 102,000 Subsidies—		142	Carriage of fodder for starving stock	1,100	
Subsidies		143			
Allocation Board, stationery, &c.)			Subsidies—	102,000	
146		145	Cow-testing organizations (including expenses of		
Lime Production: Subsidy to Farmers' Co-operative Lime Companies		1			
Lime Companies			Dairy laboratory in Taranaki	211	
National Beekeepers' Association of New Zealand (£1 for £1)		147			•
Steamer Services— Chatham Islands (part recoverable) 500		140	Lime Companies	90	
Steamer Services— Chatham Islands (part recoverable) 500 150 Westport-Karamea 100 100		148		100	
149		1		100	
Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contributions towards cost of Chatham Islands steamer service— Vote, Public Buildings £112 ,, Post and Telegraph Working-expenses 113 ,, Department of Justice 125 £ 350 Destruction of the kea: Department of Lands and Survey 375 Total—Subdivision No. VI Gross Total 541,706 Credits-in-aid (a) 97,746		140		500	
Public Revenues Act, 1926 (see end of vote)— Contributions towards cost of Chatham Islands steamer service— Vote, Public Buildings £112 ,, Post and Telegraph					
Contributions towards cost of Chatham Islands steamer service— Vote, Public Buildings £112 " Post and Telegraph			Public Revenues Act, 1926 (see end of		
ham Islands steamer service— Vote, Public Buildings		1			
Vote, Public Buildings £112 ,, Post and Telegraph Working-expenses 113 ,, Department of Justice 125 £ 350 350 Destruction of the kea: Department of Lands and Survey 375 725 725 Total—Subdivision No. VI 187,106 Gross Total 541,706 Credits-in-aid (a) 97,744		1		:	
,, Post and Telegraph Working-expenses 113 ,, Department of Justice 125 £ 350 350 Destruction of the kea: Department of Lands and Survey 375 725 725 Total—Subdivision No. VI Gross Total Credits-in-aid (a) 97,744					
Working-expenses 113			Post and Talagraph		
Jost Pepartment of Justice 125 £ 350 350 Destruction of the kea: Department of Lands and Survey 375 725 725 Total—Subdivision No. VI Gross Total Credits-In-AID (a) 97,744			Working-expenses 113	1	
350 Destruction of the kea: Department of Lands and Survey 375 725					
Destruction of the kea: Department of Lands and Survey 375		1	// I		
725 Total—Subdivision No. VI 187,106 GROSS TOTAL 541,706 CREDITS-IN-AID (a) 97,748			Destruction of the kea: Depart-		
Gross Total 541,700 CREDITS-IN-AID (a) 97,740					
Credits-in-aid (a) 97,748			Total—Subdivision No. VI		187,106
		İ	Gross Total		541,705
NET TOTAL—VOTE No. 36		:	Credits-in-aid (a)	•••	97,748
			NET TOTAL—VOTE No. 36		443,957

(a) Credits-in-aid—

.curo-m-aiu—		Other	
	Salaries.	Charges.	1928-29.
	£	£	£
Subdivision I	1,250	21,675	22,925
" II	2,000	19,650	21,650
" III	••	8,450	8,450
,, IV	7,500	30,100	37,600
" V	• • • •	6,398	6,398
,, VI	••	725	725

Totals	10,750	86,998	97,748

DEPARTMENT OF TOURIST RESORTS. AND HEALTH

			<u></u> ÷					1928-	29.	
					air a	Salari	es. O	ther Cha	rges.	Total.
Vote No.	37. —	Department	of Tou	rist and	Health	£		£		£
O.	oss T	Resorts-	-			36	840	47,	726	84,566
			• •	••	••	00,				
Cr	EDITS-	IN-AID	• •	• •	• -		103		900	1,008
NI	ет то	TAL	• •	• •	••	36	,787	46,	826	83,568
Number of Persons.	Item.								1928-	-29.
1928-29.	 	VOTE I		DEPARTI HEALTH			RIST		£	£
	1	*SALARIES-	-							
			Admi	NISTRATIVE	Divisio	N.				
1		1 at £86	50 (Gener	al Manage	·)	•••	•		850	
			Pro	FESSIONAL	Division	•				
1		1 at £1,	,001 (Balr	reologist)	•••	•••	••		1,001	
		01. 7		LERICAL D	IVISION.					
1		Class I- 1 at Con		so Depart £300)	ment of	Indust 	ries an	d	365	
1		$egin{array}{c} Class & I \ 1 & ext{at } . \end{array}$			•••				5 15	
		Class I	III—				£	<u> </u>		
		1 at a	£470	T	•••		47			
2		l at du	£370 (al stries and	so Depart Commerce	ment of c. £100)	i in-	37	0		
					,				840	
		$egin{array}{c} Class \ I \ ext{at} \ . \end{array}$			•••	•••	42	5		
5		4 at a				•••	1,60	0	0.005	
							W. E.	_	2,025	
		Class V								
3		3 at	£330		•••	•••	••	•	1,005	
		Class V								
		6 at a			•••	•••	1,77			
		4 at a 2 at a			•••	•••	1,00			
		zata 5 ata			•••	•••	38 77		ŀ	
		3 at a			•••	• • •	40		1	
		5 at				•••	57		į	
28		3 at					28		1	
									5,190	
		Cadets'	lodging-a	llowances		•••	,		125	

^{*} For particulars of salaries see "Public Service Classification List." ${\bf Note.} {\bf \longrightarrow} {\bf Scale \ salaries \ or \ wages \ include \ cost-of-living \ increase.}$

DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.

Number of Persons.	Item.	WOME N. OF P	TADA TAMAKTANIM AT	a MARTE	OM AND	1928-	2 9 .
1000 00	<u> </u>	VOTE No. 37.—D			ST AND		
1928-29.		HEALI	TH RESORTS—cor	nnnea.		£	£
	1	SALARIES-continu	ued.			*	æ
					_		
		1 -4 0400	GENERAL DIVIS		£		
		1 at £420 1 at £380	•••	•••	420 380		
		1 at £335	•••	•••	335		
		1 at £330	•••	•••	330	!	
		1 at £325	•••		325	-	
	i	1 at £320	·••	• • •	320		
		1 at £312	•••	•••	$\frac{312}{210}$	İ	
		1 at £310 3 at £300	•••	•••	310 900	!	
		1 at £295	•••	•••	295		
		1 at £290	•••	•••	290		
	1	2 at £280	•••	•••	560		
	' I	4 at £270	•••	•••	1,080		
		2 at £260	•••	•••	520		
		1 at £255 4 at £252	•••	•••	$\frac{255}{1,008}$		
		2 at £250	•••	•••	500		
		4 at £245	•••	•••	980	;	
		4 at £230	•••	•••	920		
		6 at £229	•••	•••	1,374		
		2 at £225 3 at £220	•••	•••	450 660		
		3 at £185	•••	•••	555		
		1 at £175	•••	•••	175		
		1 at £156	•••	•••	156		
		3 at £150	•••	•••	450		
		3 at £140	•••	•••	420		
	1	2 at £135	•••	•••	. 270 260		
63		2 at £130 1 at £100	•••	•••	100		
00	1	1 4 4 4 2 0 0	•••	•••		14,910	
	. 1		SSIFIED (NON-PERM.	ANENT).	-0-		
		1 at £565 1 at £273	•••	•••	56 5 273	1	
	1	1 at £275 1 at £260	•••	•••	260		
	1	2 at £252	•••	•••	504		
		1 at £236	•••	•••	236		
		1 at £235	•••	•••	235		
		3 at £234	•••	•••	702 690		
		3 at £230 1 at £225	•••	•••	225		
		7 at £220	•••		1,540		
		2 at £221		•••	442		
		1 at £215	•••	•••	215	,	
		3 at £210	•••	•••	630 205		
		1 at £205 1 at £190	•••	•••	190		
		2 at £169	•••		338		
		1 at £161	•••		161		
		1 at £160	•••	•••	160		
	!	1 at £156	•••	•••	156		
		1 at £135 2 at £130	•••	•••	135 260	İ	
		2 at £125	•••	•••	250		
		2 at £120	•••	•••	240		
		2 at £117	•••	•••	234	1	
		2 at £105		•••	210	1	
			, , , ,		000		
		2 at £104 3 at £101	•••	•••	208 303		

Number of Persons.	Item.	VOTE No. 37—DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.	1928-	-29.
1928–29.	1	Salaries—continued.	2	£
	-			-
		Unclassified (non-permanent)—continued. £		
		$\begin{bmatrix} 5 \text{ at £78} & \dots & \dots & 390 \\ 1 \text{ at £65} & \dots & \dots & 65 \end{bmatrix}$		
59		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	_	1 au 200	10,272	
164		Allowance to officers temporarily performing special		
	-	or higher duties (Public Service Regulations 24A		
		and 209)	150	
		Less—	37,248	
		Amounts deducted for board, &c 130	01,210	
		Proportion of increases to salaries		
		provided but not payable for full		
		year 278		
•		Thatian and another in aid and an Gastian El af the	408	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
	1	Officers performing duties for— £	ļ	
		Customs Department 50		
		Department of Internal Affairs 25		
		Post and Telegraph Department 28		
		103	İ	
			36,840	
		OTHER CHARGES FOR AND INCIDENTAL TO-	30,040	
	2	Advertising, photographs, books, newspapers, and		
		other publications	3,000	
	3	Bonuses and commissions to Honorary Agents	110	
	4	Entertainment-allowances for oversea agents	490	
	5	Fox and Franz Josef Glaciers: Tracks and huts	60	
	6	Freight, cartage, and transport charges Fuel, light, power, and water	30 175	
	8	Glade House and Te Anau-Wakatipu-Milford Track-	110	
		Maintenance, including furniture and repairs	5,250	
	9	Government ticket orders, to establish a credit for		
		payment of (recoverable)	100	
	10	Lakes Te Anau and Manapouri—		
	10	Maintenance of steamers and jetties, including	150	
	11	repairs Lake Te Anau: Alteration to s.s. "Tawera" (part	100	
	**	cost) (part	1,000	
	12	Maintenance of hostels, baths, or reserves at Little	_,,,,,	
		Barrier Island, Waiotapu, Te Puia, Tokaanu,		
		Morere, Tarawera, Pukaki, and Te Anau, and	200	
	13	reserves vested in Department Marine Department: Subsidy to Bluff – Stewart	600	
	19	Inland atcomor	333	
	14	Motor-car allowance: New Zealand Government	999	
		Agent, Melbourne	30	
	15	Office-cleaning	300	
	16	Office fittings and requisites	1,760	
	17	Overtime and meal allowances	180	
	18 19	Postage, telegrams, and rent of boxes	875 900	
	19	Printing and stationery	300	
	20	Maintenance, improvements, music, &c	200	
	21	Rents of offices	3,850	
		Rotorua Acclimatization District—		
	22	Repairs and wages, including bonuses to honorary		
		rangers, &c	220	
	00	Rotorua Baths—	1 200	
	23	Wages, repairs, and sundry expenses Rotorua Sanatorium—	1,300	
	24	Maintenance, including wines, spirits, furniture,		
		supplies, and repairs	4,000	

DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.

Number of Persons.	Item.	VOTE No. 37.—DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.	1928-	29.
1928–29.	-	HEADITI RESORTS—continued.	1	
1020 201		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
		Rotorua Works, including Whakarewarewa-	i	
		Wages, repairs, and sundry expenses-		
	25	Electric light and power system	3,100	
	26	Reserves, gardens, parks, and bands or orchestra	300	
	27	Water-supply and sewerage (on account)	2,150	
	28	Wharves and beacons	10	
	29	Rotorua: Purchase of stores (including freight,		
		, , , , , , , , , , , , , , , , , , ,	5,000	
	30	Rotorua: Expenses in connection with entertainment	3,000	
	00	of delegates to Medical Conference	40	
		Subsidies—	10	,
	31	Accommodation-house, Makarora	50	
	01	Coach, motor, and steamer services—	30	
•	32	The Property of the Control of the C	650	
	33	T J T - A	150	
	34		150	
	35	Ross-Waiho Gorge-Weheka	26	
		Te Anau-Glade House	75	
	36	New Plymouth Expansion League	$\frac{73}{122}$	
	37	Wairoa-Waikaremoana mail service	122	
	38	Stewart Island: Repairs to Golden Bay and Ulva	200	
	1	wharves	200	
	00	Te Aroha Hot Springs—	İ	
	39	Maintenance of baths, gardens, music, furniture,	200	
	10	and repairs	800	
	40	Telephone services (including installation, extensions,		
	4.4	maintenance, rent, and calls)	550	
	41	Transfer and removal expenses	50	
	42	Travelling allowances and expenses	900	
	43	Travelling-expenses of Government Balneologist on	210	
	1	visit to International Exhibition at Budapest	210	
	44	Typewriters— £		
		Purchase of \dots 40		
	1	Repairs, &c 10	~ 0	
			50	
	45	Waikaremoana: Maintenance of Lake House	1,830	
	46	Waimangu Round-trips and Hostel—	250	
		Wages, repairs, and sundry expenses	350	
	47	Waitomo Caves and Hostel—	2 222	
	-	Maintenance, including furniture and repairs	6,000	
	4 8	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote) —		
		Stores used on work chargeable to £		
	1	Public Works Fund 800		
, · ·	İ	Refunds of amounts paid on ticket		
	1	orders on behalf of other De-		
		partments 100		
		•		
	1	900		
	İ			
	!	_	47,726	
		Gross Total		84,56
				4 00
		Credits-in-aid (a)	•••	1,00
		NET TOTAL—VOTE No37		83,56
	1	NET TOTAL—VOID No. 57		00,00

(a) Credits-in-aid—						1928-29.
Salaries		• •				£ 103
Other Charges	••	÷ • •	••	••	• •	900
Total						1,003

DEPARTMENT OF EDUCATION.

·		1928–29.		
- 	Salaries.	Other Charges.	Total.	
Vote No. 38.—Department of Education—	£	2	£	
Subdivision I.—Head Office	31,132	1,230	32,362	
EDUCATIONAL AGENCIES.				
Subdivision II.—Elementary Education ,, III.—Secondary Education ,, IV.—Higher Education ,, V.—Technical Education ,, VI.—Training of Teachers ,, VII.—Native Schools ,, VIII.—School buildings, furniture, and sites.	37,026 2,695 2,695 63,872	2,070,390 343,440 19,355 193,690 161,810 13,140 184,280	2,107,416 346,135 19,355 196,385 161,810 77,012 184,280	
", v 111. –senooi outaings, furnaure, and sues	106,288	2,986,105	3,092,393	
PHYSICAL AGENCIES. Subdivision IX.—Physical Instruction	5,020	3,310	8,330	
SOCIAL AGENCIES. Special Schools— Subdivision X.—Education of the Blind,, XI.—School for the Deaf, XII.—Schools for the Feeble-minded, XIII.—Child Welfare	 5,830 7,440 26,335	570 2,275 6,685 108,050	570 8,105 14,125 134,385	
	39,605	117,580	157,185	
" XIV.—Material and Stores " XV.—Miscellaneous Services	1,321	150 56,905	1,471 56,905	
	1,321	57,055	58,376	
Gross Total	183,366	3,165,280	3,348,646	
Credits-in-aid	900	264,935	265,835	
NET TOTAL	182,466	2,900,345	3,082,811	

Number of Persons.	Item.		1928–2 9.		
1928–29.	- ! 	VOTE No. 38—DEPARTMENT OF EDUCATION Subdivision No. I.—Head Office.	£	£	
	1	*Salaries—			
		Administrative Division.			
1		1 at £1,250 (Director of Education)	1,250		
		Professional Division.			
1		1 at £900 (Assistant Director of Education)	900		
1		Class A— 1 at £665 (Architect)	665		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Number f Persons.	Item.	VOTE No. 38.—DEPARTMENT OF EDUCATION—			1928–29.		
928–29.			continued.		-	£	£
		Subdivision No.	I.—Head Office	-continu	ied.	1	
	1	Salaries—continued.					
		BAHAMINI COMMINGO.					
			RICAL DIVISION.				
1		Class Special— 1 at £715				715	
*		Class I—	•••	•••	£	110	
0		1 at £615	•••	•••	615		
3		2 at £590 Class II—	•••	•••	1,180	1,795	
3		3 at £515		•••		1,545	
c		Class IV—					
6		$6 \ \mathrm{at} \ \pounds 425$ $Class \ V$ —	•••	•••	•••	2,550	
7		7 at £380		•••		2,660	
		Class VI— 11 at £335			3,685		
12		11 at £320	•••	•••	320		
		Class VII—			1 455	4,005	
		5 at £295 2 at £275	•••		$egin{array}{c c} 1,475 & \\ 550 & \end{array}$		
		1 at £250	•••	•••	250		
		7 at £230	•••		1,610		
		4 at £210 8 at £190	•••	•••	$\begin{array}{c c} 840 \\ 1,520 \end{array}$		
		2 at £155	•••	•••	310		
		7 at £135	•••	•••	945		
		5 at £115 7 at £95	•••	•••	575 665		
49		1 at £80	•••		80		
		Cadets' lodging-alle	owances	•••	165	8,985	
			ERAL DIVISION.			0,000	
		2 at £295 4 at £255	•••	•••	590 1,020		
	1	1 at £225	•••	•••	225	İ	
10		2 at £205	•••		410		
13		4 at £185	•••	•••	740	2,985	
	į		N-PERMANENTS.			2,000	
		3 at £234	•••	•••	702		
		1 at £221 1 at £195	•••	•••	221 195		
		3 at £182	•••	•••	546		
		2 at £169 2 at £156	•••	•••	338 312		
		2 at £156 1 at £143	•••		143		
		1 at £130	••		130		
		1 at £117 1 at £104	•••	•••	117 104	!	
		1 at £91	•••	•••	91		
18	_	1 at £78	•••	•••	78	2,977	
115		υ	NCLASSIFIED.			4,311	
		Special allowances formed (Public S			ities per-	100	
	1				-	31,132	

Number of Persons.	Item.					1928-	·2 9 .
1928–29.		VOTE No. 38.—DEPAR	RTMENT Ontinued.	F EDUCA	ATION—	£	£
	1	Subdivision No I	-Head Offic	e—continu	ed.		£
	2 3	OTHER CHARGES FOR A Overtime and meal al Telephone services (in	lowances cluding inst	 allation, ex		150	
	5	maintenance, rent, Travelling allowances Contingencies, includi dental to the other	and expensing unforese	en e xpe ndi	ture inci-	350 700 30	
		Estimated credit Public Reven Teachers' Sup Payment for	ues Act, 199 erannuation	26 (see end Fund :		!	
		Tot	al—Subdivi	sion No. I		1,230	3 2,3 62
							92,002
		0.111	772	717		!	
	0	Subdivision No. II	.—Etementa	ry Educat	ion.		
	6	Salaries— Professi	onal Divisi	ON.			
1		1 at £825 (Chief Inspe	ector)	•••	•••	825	
45		Class A— 4 at £750 5 at £715	•••	•••	£ 3,000 3,575		٠
45		36 at £665	•••	•••	23,940	30,515	
1		Class C— 1 at £490		•••	•••	490	
1		Class D— 1 at £380				380	
1	!	Non-permanent Inspe 1 at £700 (Supervis		ol Music)		700	
		Non-	PERMANENT.				
2	!	1 at £400 (Supervisor 1 at £355 (vacant, ass			400 300	700	
		Educar	rion Divisio	on.			
		TEACHERS OF CORRESPO	ONDENCE CL	ASSES-	£		
		1 at £525 1 at £365 1 at £285	•••	•••	525 365 285	!	
		1 at £270 2 at £225	•••	•,••	270 450	·	
10		4 at £205	•	*	820	2,715	
		Teacher (Non-permant 1 at £260	ent)—			260	

Number of Persons.	Item.	WOME N. 20. DED DEWIND ON THE CAMPON	1928	-29.
1928–29.	 	VOTE No. 38.—DEPARTMENT OF EDUCATION— continued.	£	£
		Subdivision No. II.—Elementary Education—continued.		. ~
	6	Salaries—continued.	 	
		CLERICAL DIVISION.		
1		Class VII— 1 at £155	155	
		General Division.		
		Correspondence Classes (Non-permanent)— &		
		1 at £117 117	ĺ	
0		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	ļ	
3		1 80 200 00	286	
66				
			37,026	
· ·	7	OTHER CHARGES FOR AND INCIDENTAL TO— Conveyance of school-children, instructors, and teachers, and allowances for board of children who have to live away from home to attend school— School-children by rail 13,500 School-children by road 39,000		
		Manual Instructors 8,550 Board of children 6,500		
	8	Correspondence classes (part recoverable)	$\begin{array}{c} 67,550 \\ 420 \end{array}$	
	9 10	Education Gazette (part recoverable) Fares of pupils attending Standard VI examination Grants to Education Boards for the following purposes: General Administrative Purposes—	1,300 20	
	11	Capitation on average attendance and £750 to each Board	39,500	
	12	Incidental expenses of School Committees (cleaning, disinfecting, &c.)	104,000	
	13 14	Inspection: Extra clerical assistance, typing, &c. Teachers' salaries, including probationers' allow-	400	
	15	Health compa for children	$1,744,000 \mid 100 \mid$	
	15 16	Manual instruction—	100	
		Capitation 14,500 Salaries 50,000		
		Material 10,500		
ļ	İ	Incidentals 10,000	85 000	
	17	Organizing teachers: Salaries and travelling allow-	85,000	
		ances and expenses	7,500	
	18 19	Removal of teachers School and class libraries: Capitation and grants for supply of books in necessitous cases, and in cases where newly-entered pupils elsewhere have already purchased class-books different from those in use in the school—	800	
		Capitation grant at 3d 2,500 Supply of books and stationery 200	į	
	20	School Inspectors— Rent, office requisites, telephones, cleaning, firing,	2,700	
		advertising, &c	250	•
	21	School Journal: Printing, material, apparatus, contributors' fees, postages, &c	7,200	
	22	Travelling-allowances and expenses	9,200	

	· : ;			
Number of Persons.	Item.	VOTE No. 38.—DEPARTMENT OF EDUCATION—	1928	-29.
1928-29.	-1	continued.		
	:	Subdivision No. II.—Elementary Education—continued.	£	£
	$\begin{array}{c} 23 \\ 24 \end{array}$	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Transfer and removal expenses Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	400 50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (£58,000), (National Endowment Revenue), and Section 4 (2) of the Education Reserves Amendment Act, 1924 (£118,000) 176,000 Sale of School Journals and Educa-		·
	!	tion Gazette, &c., and fees for special examination 1,600		
	I	177,600		
	İ	Total—Subdivision No. II	2,070,390	0 107 416
	!	Total—Subarvision 140. 11		2,107,416
			4	
	:	Subdivision No. III.—Secondary Education.		
	25	Salaries Professional Division		
1	1	1 at £825 (Chief Inspector)	825	
. 2	i	Class A— 2 at £665	. 1,330	
1		Class B— 1 at £540	540	
4	-!		2,695	
	$egin{array}{c} 26 \ 27 \end{array}$	OTHER CHARGES FOR AND INCIDENTAL TO— Conveyance and board of pupils District High Schools: Grants for salaries of	9,500	
	28 29 30	secondary teachers Junior High Schools: Incidental expenses Manual Instruction Secondary Schools and Colleges— £ Grant for salaries 230,000	57,500 930 4,600	
	31 32 33	Incidental expenses 40,000 Transfer and removal expenses Travelling expenses and allowances of Inspectors, &c. Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	270,000 50 850	
	1	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Credits under Sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 7,600		
		Total—Subdivision No. III	343,440	346,135

${\tt DEPARTMENT\ OF\ EDUCATION--} continued.$

Number of Persons.	Item.		1928-	29.
1928–29.		VOTE No. 38.—DEPARTMENT OF EDUCATION— continued.	£	£
		Subdivision No. IV.—Higher Education.		
		Charges for and incidental to— Grants to University Colleges for—		
	35	Chairs of Education	3,150	
	36	University College) Medical and Dental Schools, additional maintenance (Otago University College)	1,000	
	37 38	ance (Otago University College) Midwifery (Otago Medical School) Schools of Forestry, maintenance (Auckland and	500	
		Christchurch) Scholarships—	2,000	
	39 40 41	Agricultural Scholarships Agricultural bursaries	1,000	
	42 43	"Sir George Grey" (Science) Educational bursaries Engineering bursaries	$\begin{array}{c c} 200 \\ 800 \\ 1,200 \end{array}$	
	44 45	Home Science bursaries National Research Scholarships	4,300	
	$\begin{array}{c c} 46 \\ 47 \end{array}$	Technical Classes (special) : Workers' Educational Association, (organizing	2,900	
	48	purposes Special assistance to deserving students in cases of hardship	1,500	
	49 50	University Entrance Board, expenses of Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	20 10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 400		
		Total—Subdivision No. IV		19,355 •
			:	
	51	Subdivision No. V.—Technical Instruction. Salaries—		
	01	Professional Division.		
1		1 at £825 (Superintendent, Technical Education)	825	
2		Class A—— 2 at £665	1,330	
1		Class B — 1 at £540	540	
4			2,695	
	52	OTHER CHARGES FOR AND INCIDENTAL TO— Grants for— Conveyance of instructors and students attending registered classes	100	

${\tt DEPARTMENT\ OF\ EDUCATION---} continued.$

Number of Persons.	Item.		1928-	29.
1928–29.	- <u> </u>	VOTE No. 38.—DEPARTMENT OF EDUCATION— continued.	i	
		!	£	£
		Subdivision No. V.—Technical Instruction—continued.		
	i i	Other Charges for and incidental to—continued.		
	53	Conveyance and board of pupils	6,200	
	54	Examination expenses (part recoverable)	750	
	55	Expenses of instructors taking up appointments (part recoverable)	300	
	56	Technical and continuation classes— \pounds	500	
		Salaries 151,000		
		Material and incidentals 34,500	185,500	
	57	Technical Schools Board: Expenses of meetings	20	
	58	Transfer and removal expenses	100	
	5 9	Travelling allowances and expenses	700	
	60	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	20	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—-		
		Credits under Sections 296 and 297		
	!	of the Land Act, 1924 (National £ Endowment Revenue) 4,300		
		Examination fees, &c 500		
			1	
		4,800		
			193,690	
		Total—Subdivision No. V		196,3
		Subdivision No. VI.—Training of Teachers.	i	
		Construction and the second	!	
•		CHARGES FOR AND INCIDENTAL TO—	:	
	61	Training Colleges— Allowances and advances to students and transport		
	. 01	expenses	115,000	
	62	Expenses in connection with appointments to staffs	300	
	63	Salaries of staffs of training colleges (in excess of		
	İ	usual staff as public schools) and of practising schools	35,000	
	64	Science apparatus and material	800	
	65	Special instruction, libraries, clerical assistance,		
		and incidental expenses	3,200	
	66	Students' University College fees Training of Teachers (other than Students of Train-	6,000	
		ing Colleges)—		
	67	Classes at sub-centres, including fares of instruc-		
	20	tors and teachers attending training classes	1,500	
	68	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 51 of the		
	į	Public Revenues Act, 1926 (see end of vote)—	1	
	!	Credits under Sections 296 and 297		
	Ì	of the Land Act, 1924 (National & Endowment Revenue) 5,400	:	
		Ento minore november 0,100		
	}	Total—Subdivision No. VI		161,8

Number of Persons.	Item.	VOTE No. 38.—DEPARTMENT OF EDUCATION—	1928–29.		
928–29.		Subdivision No. VII.—Native Schools.	£	£	
	69	Salaries-			
303		Salaries of teachers	62,492		
	ļ	Professional Division.			
	1	$\begin{array}{cccccccccccccccccccccccccccccccccccc$			
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$:		
305		•	1,380		
	-		63,872		
	70	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, forwarding charges, translation fees, fuel,			
	: 10	planting, sanitation, water, &c	50 :		
	71	Books, apparatus, and other school requisites	2 ,000		
	72	Conveyance and board of children	2,270		
	73	Courses of instruction for teachers	50		
	75	Higher Education, Scholarships, and Apprenticeship Manual instruction (including equipment and material,	6,580		
		instructors, and scholarships)	420		
	76	Special allowances to teachers in isolated places	180		
	77	Storage and despatch of school books and material	120		
	78	Transfer and removal expenses Travelling allowances and expenses	$\begin{bmatrix} 950 \\ 500 \end{bmatrix}$		
	80	Contingencies, including medical examination of	500		
		teachers and unforeseen expenditure incidental to			
		the other items of this subdivision	20		
		Public Revenues Act, 1926, (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 1,870 Tauranga Educational Endowment Reserves Act, 1896 (rents, &c., from reserves) 700 Fines for non-attendance, &c 5			
		$\frac{-}{2,575}$			
		2,010			
		Total—Subdivision No. VII	13,140	77,0	
			•	,0	
		Subdivision No. VIII.—School Buildings, Furniture, and Sites.			
	81	Charges for and incidental to— Contribution to Fire Insurance Fund General maintenance of school buildings under control of Education Department, including small	10		
		additions to buildings, removals, alterations, rebuild- ing, furniture, fittings, fencing, rents, additions and			
	0.0	improvements of sites, and incidental expenses—	ļ.		
	82	Institutions established under Child Welfare	1 500		
	83	Act, 1925 Native schools	$\frac{1,500}{3,000}$		
	84	School for the Deaf	200		
	85	Schools for the Feeble-minded	500		
	86	Public Schools— Maintenance and repair of school buildings and residences (including removal, alterations, and small additions); repair and renewal of outbuildings, furniture, and fences; rents of buildings and			
	, (

${\tt DEPARTMENT\ OF\ EDUCATION} - continued.$

Number f Persons.	Item.	VOTE No. 38.—DEPARTMENT OF EDUCATION—	1928-	-29.
928-28.	1	consinuea.		
		Subdivision No. VIII.—School Buildings, Furniture, and Sites—continued.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued. Grants to Education Boards—	:	
	87	Alterations to provide accommodation for In-	10	
	88	spectors at Boards' Offices For house allowances to teachers	$\frac{10}{45,000}$	
	1	Grapts for—	10,000	
	89	Maintenance of Secondary School buildings and	1 950	
	90	rent of buildings for school purposes Maintenance of Technical School buildings	$\frac{1,250}{1,500}$	
	91	Rebuilding and furnishing of schools destroyed by	,	
		fire, and for rent of and alterations to temporary premises during rebuilding (recoverable)	15,000	
	92	Rents for Manual and Technical Schools and class	10,000	
	93	purposes	1,300	
	90	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
	!	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Fire Insurance Fund, &c £15,000		
		Total—Subdivision No. VIII -		184,28
	1		ļ.	
		Subdivision No. IX.—Physical Instruction.		
	94	Salaries-		
		GENERAL DIVISION.		
		Physical Instructors—		
	,	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £340 340		
		1 at £325 325		
		4 at £300 1,200		
15		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
10	-	1 20 5210 270	5,020	
		-	5,020	
	95	OTHER CHARGES FOR AND INCIDENTAL TO— Courses of instruction for instructors and teachers		
		(including railway fares)	75	
	96	Material, Officers' requisites, uniform allowances,	100	
	97	advertising, printing, forwarding charges, books, &c. Transfer and removal expenses	$\begin{array}{c c} 100 & \\ 25 & \\ \end{array}$	
	98	Travelling allowances and expenses	3,100	
			·	
	99	Contingencies, including unforeseen expenditure in-		
		Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		cidental to the other items of this subdivision Estimated credits-in-aid under Section 51 of the	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Credits under sections 296 and 297	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Credits under sections 296 and 297 of the Land Act, 1924 (National	10	·
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Credits under sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 200	10	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Credits under sections 296 and 297 of the Land Act, 1924 (National	10	·
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Credits under sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 200	10	·

Number	Item.					1000	20
of Persons.		VOTE No. 38—D	DEPARTMENT OF	F EDUCAT	ION	1928-9	29.
1928-29.			continued.			£	£
	; ,	Subdivision	No. X .— $Education$	of the Blind	7.		
	100 101 102	Grant to trus pupils Special instruc education of Contingencies,	D INCIDENTAL TO— tees for maintenan tion (woodwork, & pupils including unforese ne other items of the	nce of Gove cc.), and sec een expendit	condary	500 40 30	
	!	\mathbf{Public}	credits-in-aid und Revenues Act, 192		vote)—		
		Fees	•••	•••	£500		
	i	. 7	Total—Subdivision	No. X	-		570
	:					; •	
	!	Subdivision No.	XI.—School for t	he Deaf (Si	ımner).		
	103	Salaries—				į	
			NAL AND EDUCATION	n Divisions.	l .		
		Teachers— 1 at £615			£ 615		
		1 at £490	•••	•••	490		
		1 at £400	•		400		
		1 at £370	•••		370		
		1 at £365			365		
		2 at £285	•••	•••	570		
		2 at £265	***	• • • •	530		
10		3 at £225	• • •		675		
13	:	1 at £195	• • •		195	4 910	
	!		GENERAL DIVISION	₹.		4,210	
	. 	Maintenance S	tati		1		•
		1 at £260	•••	•••	260		
		1 at £245	•••		245	j	
		1 at £235	•••	• • •	235	5	
		1 at £205			205		
		1 at £185			185		
		1 at £165	• • •		165		
	i	1 at £155 1 at £125	•••	• • •	$egin{array}{c c} 155 & \\ 125 & \end{array}$	1	
	!	1 at £120	•••		120		
12		3 at £110			330	1	
	-	,				2,025	
25						0.007	
		Less dedu	ections for board			$6,235 \mid 405 \mid$	
						5,830	
	i	Oppress Caracan	FOR AND INCIDEN	BAT MO			
	104	Advertising, pother public	photographs, books	s, newspape 	•••	25	
	105 106	clothing, eq	of institution, in uipment, stock, and emoval expenses			1,850 25	
	107		wances and expens	es (including		350	

${\tt DEPARTMENT\ OF\ EDUCATION--} continued.$

Number of Persons.	Item.	VOTE No. 38DE	PARTMENT OF	' EDUCA	TION-	1928-	29.
1928-29.				D. C		е	£
	İ	Subdivision No. XI	.—School for the	Deat—co	ontinued.	£	æ
	108	OTHER CHARGES FO Contingencies, in cidental to the		n expend	iture in-	25	
		Public Rev Credits unde of the La	dits-in-aid under enues Act, 1926 (r Sections 296 ar nd Act, 1924 (Na t Revenue) ntenance, &c.	see end of 10°			
	-				0.500		
	!				2,500		
	i	ar .	1 / 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	37.5		2,275	0.105
		Tote	ulSubdivision N	o. X1	••• ¦		8,105
		Subdivision No. XI.	I.—Schools for th	e Feeble-n	ninded.		
	109	Salaries-			!		
		Education	and General D	ivisions.		.	
		Special School for G	irls, Richmond,—				
	į į	Teachers—			£		
3		2 at £225 1 at £100	•••	•••	$\begin{array}{c c} 450 \\ 100 \end{array}$		
•			_		200	,	
		Maintenance Staff 1 at £320			320	:	
		1 at £245	•••	•••	$\begin{array}{c} 320 \\ 245 \end{array}$		
		1 at £185			185	1	
		3 at £135	•••		405		
()		1 at £115 2 at £105	• • •		115	!	
9		2 80 2100	•••		210		
					$2,030 \pm$		
		Less deduc	tions for board	•••	200	1 090	
		Special School for B	oys, Otekaike,			1,830	
		Teachers—			İ	!	
		1 at £365	• • •		365		
		1 at £285	•••		285	İ	
		1 at £225	• • •		225		
6		2 at £195 1 at £155	• • •	•••	$\begin{array}{c} 390 \\ 155 \end{array}$		
J		1 100 2100	•••		100		
		Maintenance Staff	· 			i	
		1 at £445 1 at £295	• • •		445	1	
		1 at £250	•••		$\begin{array}{c} 295 \\ 250 \end{array}$	4	
		1 at £24 5	•••		245		
		4 at £225			900	İ	
		2 at £205 1 at £195	4.5		410	!	
		2 at £185			$\begin{array}{c} 195 \\ 370 \end{array}$	i	
	.	1 at £165	• • •		165		
		2 at £145			280		
		3 at £140			420		

201

Number of Persons.	Item.	VOTE No. 38.—DEPARTMENT OF EDUCA	TION-	1928-	29.
1928–29.		Subdivision No. XII.—Schools for the Feeble-	minded—	£	£
	109	continued. Salaries—continued.			
	100	EDUCATION AND GENERAL DIVISIONS—conti	marad		
		Maintenance Staff—continued.			
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$egin{array}{c} \pounds \ 260 \end{array} igg $		
	i 1	6 at £125	750	Ì	
29		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{c c} 115 & \\ 60 & \end{array}$		
47	-			į	
		Less deductions for board	6,590 980	5,610	
			-	7,440	
		OTHER CHARGES FOR AND INCIDENTAL TO-			
	110	Advertising, photographs, books, newspar	ers, and	25	
	111	other publications Maintenance of institutions, including provision	ons, cloth-	20	
		ing, equipment, stock, farm expenses,		6,250	
	112	penses, &c Transfer and removal expenses	•••	50	
	113	Travelling allowances and expenses, including	g transit	350	
	114	of children Contingencies, including unforeseen expend	iture in-	550	
		cidental to the other items of this subdivis Estimated credits-in-aid under Section Public Revenues Act, 1926 (see end	51 of the	10	
		Credits under Sections 296 and 297 of the Land Act, 1924	£		
		(National Endowment Revenue)	200		
		Maintenance fees, sale of produce, &c.	2,750		
			${2,950}$!	
			4,950	2 205	
	Open man of the state of the st	Total—Subdivision No. XII		6,685	14,125
		Subdivision No. XIII.—Child Welfare.			
	115	Salaries and Wages-			
	!	EDUCATION AND GENERAL DIVISIONS.			
		Receiving Homes, Special Schools, and Ch fare Centres—	ild Wel-		
		Whangarei— Child Welfare Centre— 1 at £340	£ 340		
2		1 at £185	185	525	
		Auckland— Child Welfare Centre—		020	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{c c} 370 \\ 320 \end{array}$;	
		2 at £295	590		•
		1 at £310	310	: !	
		1 at £245	245		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$egin{array}{c c} 235 & \ 225 & \ \end{array}$	1	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{c c} 220 \\ 312 \end{array}$	İ	
11		1 at £130	130		
			i	2,737	

Number of Persons.	Item.	VOTE No. 38.—DEPA	1928-	-29.			
928-29.	i		continued .		-	i	
		Subdivision No. XIII		re—conti	inued.	£	£
	115	SALARIES AND WAGES	-continued.				
		Education and Ger	NERAL DIVISION	s —conti	nued.		
		Receiving Homes, &c	-continued.				
		Auckland-continued	l.				
		Receiving Home-			£		
		1 at £205	• • •	• • •	205		
		1 at £165	•••	•••	165		
4	İ	1 at £145 1 at £120	•••	•••	$\begin{array}{c c} 145 \\ 120 \end{array}$		
I		1 86 2120	•••	•••		į	
					635		
		Less deduc	tions for board		135		
		D 2 D 1 45 II			•	500	
		Boys' Probation Hor 1 at £245			045		
		1 at £205	•••	•••	$\begin{array}{c c} 245 \\ 205 \end{array}$		
3		1 at £130	•••		130		
		- W- W W					
					580		
		Less deduct	tions for board	•••	75		
		U arry moay				505	
		Hamilton— Child Welfare Centre	0			ĺ	
		1 at £340	···		340		
		1 at £275	•••	•••	275		
		1 at £182			182		
4		1 at £104	•••	• -	104		
		Receiving Home—			105	901	
2		1 at £185 1 at £78	•••	• • •	$egin{array}{c c} 185 & \hline 78 & \hline \end{array}$		
		1 20 2010	•••	•••			
					263		
		Less deduction	n for board		50	242	
		Hawera-				213	
		Child Welfare Centre	A				
1		1 at £340	••••			340	
		Wanganui—				į	
		Child Welfare Centre			075		
2	1	1 at £275 1 at £175	•••	•••	$\begin{bmatrix} 275 \\ 175 \end{bmatrix}$		
4		Receiving Home-	•••	•••	110	450	
		1 at £110	• • •		110	100	
2		1 at £91		•••	91		
		D				201	
		PALMERSTON NORTH— Child Welfare Centre					
		1 at £340			340		
		1 at £275	•••	•••	$\begin{array}{c c} 340 \\ 275 \end{array}$		
3		1 at £182	•••		182	-	
						797	
		NAPIER—					
		Child Welfare Centre 1 at £340			940		
		1 at £245	•••	•••	$\begin{array}{c c} 340 \\ 245 \end{array}$		
3		1 at £156			156		
<u> </u>		Receiving Home-	, ***	•••		741	
		1 at £185	•••		185		
2		1 at £120	•••	•••	120		
						`	
		Less deduction	for board		305		
		Hess agardation	ı iği üğatd	•••	75	230	
	! [400	

		DEPARTMENT OF	EDUC	ATION	ontinued		
Number of Persons.	Item.	VOTE No. 38.—DEPARTM		F EDUCA	TION—	1928–	29.
1928–29.		Subdivision No. XIII.—	Child We	lfare—cont	inned	£	£
	115	SALARIES AND WAGES—cont		yaro con	,,,,,,	-	~
	110						
		Education and Genera		ons—contin	nued.		
		Receiving Homes, &c.—con GISBORNE—	tinued.				
		Child Welfare Centre—			£		
1		1 at £50 1 at £225 (6 months)			$\frac{50}{113}$	Í	
_						163	
		Wellington— Child Welfare Centre—					
		1 at £370	• • •	•••	370		
		1 at £35 0 2 at £27 5	•••	•••	350 550		
	!	1 at £230		•••	230	İ	
		2 at £225	•••	•••	450		
	!	1 at £200	•••	•••	200		
	:	1 at £185 1 at £171	•••	•••	$egin{array}{c c} 185 \ 171 \end{array}$		
		1 at £143		•••	143		
12		1 at £55 (Medical Offic		ime)	55		
		Children's Home, Miram 1 at £185	ar—		185	2,704	
		l at £145			145		
		3 at £130	•••	•••	390		
6		1 at £120	•••	•••	120		
					840		
		Less deductions	for board	d	165	675	
		Boys' Probation Home-	-			010	
		1 at £185	•••	•••	185		
2		1 at £135	•••	•••	135		
		_			320		
		Less deductions	for board	l	75	245	•
		Girls' Hostel—			İ	210	
		2 at £185	•••	•••	370		
3		1 at £120	•••	•••	120		
					490		
		Less deduction	for board	•••	120		
		Nelson-				370	
		Child Welfare Centre—		•			
		1 at £340	•••		340		
		1 at £225	•••	•••	225		
4		1 at £130 1 at £104	•••	•••	130 104		
I				•••		799	
		GREYMOUTH—					
1		Child Welfare Centre— 1 at £205				205	
T		1 00 000	•••	•••	•••	200	
		Christchurch—					
		Child Welfare Centre— 1 at £340			340		
		1 at £320	•••	•••	320		
		1 at £275	•••	•••	275		
		1 at £245	•••	•••	245		
		1 at £225		•••	$\begin{bmatrix} 225 \\ 195 \end{bmatrix}$		
		1 at £195 2 at £185	•••	•••	370		
9		1 at £55 (Medical Offic			55		
		•	-	•	·	2,025	

204

		DEPARTMENT	OF EDUCAT	MOI!	continued.			
Number f Persons.	Item.					1928-2	32 9 .	
		VOTE No. 38.—DEPA	RTMENT OF	EDUC.	ATION—			
928 -29.			continued.			0		
		Subdivision No. XII.	I.—Child Welfa	<i>re</i> —con	tinued.	£	£	
	115	Salaries and Wages-	·					
		Receiving Homes, &c	-continued.					
		CHRISTCHURCH—conti	nued.					
		Receiving Home—			£ 107	İ		
		1 at £185	•••	•••	185			
4		1 at £135	•••		135			
4		2 at £115	•••	•••	230			
		T 7.7.			550			
		Less deduct	tions for board	•••	135	415		
		Boys' Probation Hor	ne			#10		
		1 at £205	•••		205			
-		1 at £185	•••	• • •	185			
3		1 at £105	•••	•••	105			
					495			
		Less deduct	tions for board		45			
		Girls' Home, Burwo	00d			450		
		1 at £340	0001		340			
	1 1	1 at £245	•••		245			
		1 at £235	•••	•••	235			
		1 at £205	•••		205			
		1 at £150	•••		150			
		2 at £145	•••		290			
		1 at £135			135	ĺ	•	
9		1 at £120	•••		120			
					1,720			
		Less deduct	ion for board		345			
		\annuman				1,375		
		Ashburton— Child Welfare Centre	! -					
1		1 at £30	•••	•••		30		
	i	_						
		Timaru — Child Welfare Centre	.					
		1 at £340			340			
		1 at £275	•••		$\begin{array}{c c} 340 \\ 275 \end{array}$			
3	.	1 at £205	•••		205			
						820		
		DUNEDIN-						
		Child Welfare Centre			940			
		1 at £340 1 at £295 (8 month		•••	340			
	-	2 at £275	19)	•••	$\begin{array}{c c} 197 \\ 550 \end{array}$			
		1 at £225	•••		$\frac{350}{225}$			
		1 at £215	•••		$\frac{225}{215}$			
		1 at £205	•••		205			
		1 at £130			130			
9		1 at £105	•••		105			
		Boys' Probation Hon	ne 		00*	1,967		
		1 at £205 1 at £185	•••	•••	$\begin{array}{c c} 205 \\ 185 \end{array}$			
3		1 at £105	•••		105			
		F 11)	C. 1 3		495			
		பess deduct	ions for board		85			

		DEPARTMENT O	F EDUCA	rion—a	continued.		
Number of Persons.	Item.					1928–2	29.
1928–29.		VOTE No. 38.—DEPART	MENT OF tinued.	EDUCA	TION—	£	£
		Subdivision No. XIII.—	-Child Welfa	<i>re</i> —con	tinued.		
	115	SALARIES AND WAGES—con	ntinued.				
		Receiving Homes, &c.—co	ontinued.				
		Dunedin—continued.					
		Receiving Home—			£		
_		1 at £175	•••		175		
2		1 at £120	•••		120		
		Less deduction	s for board		295 60		
	f					235	
		Invercargill—					
		Child Welfare Centre—					
		1 at £340		~••	340	-	
_		1 at £235		•••	235		
3		1 at £169	•••	•••	169	744	
		1 at £365 2 at £295 2 at £270 1 at £255 (8 months) 2 at £245 2 at £235 1 at £225 1 at £205 (8 months) 1 at £195 1 at £175 2 at £175 (8 months) 4 at £160 1 at £145 1 at £135 1 at £135 1 at £17 1 at £95 (8 months)			365 590 540 171 490 470 225 137 195 175 234 640 145 135		
26	•	1 at £91`	•••	•••	91		
140		Less deduction	s for board		5,189 626	4,563	
					-		
	116	OTHER CHARGES FOR AND Boarding-out of childre			-fonta in	26,335	
	110	foster homes and u					
	117	coverable)	•••	•••		72,000	
	117	Legal expenses Maintenance of—	•••	•••	•••	50	
	118	Inmates in Governm tioners in Boys' attendance of infan institutions, includi	Receiving I ts, and gener	Homes, al upkee	medical p of the		

Number of Persons.	Item.		1928-	-29.
1928–29.	<u> </u>	VOTE No. 38.—DEPARTMENT OF EDUCATION— continued.		
L <i>32</i> 0- <i>23</i> ,	İ	continuea.	£	£
		Subdivision No. XIII.—Child Welfare—continued.		
		Subtricts on 110. All1.—Crown Weythre—Continued.	İ	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Maintenance of—continued.		
	119	Inmates in private Industrial Schools: Capitation, refunds of maintenance payments, &c. (part re-		
		coverable)	1,400	
	120	Maintenance of inmates sent to other institutions	100	
	121	Post and Telegraph Department for services of officers	700	
		Refund of —		
	122 123	Inmates' earnings	50 300	
	124	Rent, office requisites, telephones, lighting, &c	2,000	
	125	Transfer and removal expenses	50	
	$\frac{126}{127}$	Travelling allowances and expenses Wages of inmates employed on farm work, &c	$\begin{array}{c} 7,250 \\ 100 \end{array}$	
	128	Contingencies, including unforeseen expenditure in-	100 ;	
		cidental to the other items of this subdivision	50	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
		Credits under Sections 296 and 297 of the Land Act, 1924 (National £	1	
		of the Land Act, 1924 (National £ Endowment Revenue) 3,200		
		Maintenance fees, sale of produce,		
		rent of property, &c 33,000	i	
		36,200		
		m + 1	108,050	104.00
		Total—Subdivision No. XIII		134,38
		·		
	i			
		Subdivision No. XIV.—Material and Stores.		
	129	Salaries—		
		CLERICAL DIVISION.		
1		1 at £335	335	
_		GENERAL DIVISION.		
1		1 at £320	320	
		Non-permanents.		
		NON-PERMANENTS.		
		1 at £250 250		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
A		1 at £104 104		
4			666	
<u>4</u> 6			$\frac{666}{1,321}$	

Number of Persons.	Item.		1928-	29.
1928-29.	. 	VOTE No. 38—DEPARTMENT OF EDUCATION— continued.		
		Subdivision No. XIV.—Material and Stores—continued.	£	£
		Other Charges for and incidental to— Material and stores—		
	130 131	Purchase and manufacture Store (rent, lighting, cleaning, &c.), cartage, &c	4,000 150	
		Less issues to other items of this Vote	4,150 4,000	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Issues on payment £200	150	
		$Total-Subdivision egin{array}{cccccccccccccccccccccccccccccccccccc$		1,471
		Subdivision No. XV.—Miscellaneous Services. Charges for and incidental to—		
	132	Accidents to school children and teachers: Grants for medical and legal expenses, scholarships, and compensation	550	
	133	Compassionate allowance to widow of Ernest Pridham, late annuitant, Teachers' Superannuation Fund	150	
	134	Conferences of Education Authorities, and cost of inquiries	500	
	135	Council of Education, including District Advisory Committees: Allowances and travelling-expenses of members, clerical assistance, advertising, incidental expenses, &c	200	
	136	Examinations: Teachers', Public Service, Scholarships, &c. (part recoverable)	7,250	
	137	Exchange of Teachers: Allowances, bursaries, &c	50	
	138	Exhibitions: Preparing and forwarding school	10	
	139	exhibits Expenses in connection with the transfer of certain pupils from the Wellington Technical School to	10	
	140	Wellington Girls' College Grading and registration of teachers (including advertising, travelling, legal, and other expenses in connection with appeals re grading, certificates,	105	
	141	dismissal, &c., and cost of inquiries) Grant in aid of free kindergartens for infants under	500	
	142	school age	4,000	
	143	Office furniture, fittings, and requisites	550	
	144	Postage, telegrams, and rent of boxes	2,930	
	145	Printing and stationery (including supply of Parliamentary Papers, publications, photographs,		
	146	Purchase of motor-cars (recoverable)	5,000	
	147	Purchase of four motor-buses	2,500	
i	148	Purchase of gramophones and records for schools (recoverable)	2,000	
	149	Salaries of teachers from cverseas on exchange in New Zealand (recoverable)	1,500	
	150	Storage and despatch of stores and stationery	50	
	151 152	Subsidies to public libraries Superannuation contributions of teachers on active	3,000	
		service, 1914–19	100	

Number of Persons.	Item.		1928	3-29.
1928–29.		VOTE No. 38.—DEPARTMENT OF EDUCATION —continued. Subdivision No. XV.—Miscellaneous Services—contd.	£	£
	153 154 155	CHARGES FOR AND INCIDENTAL TO—continued. Teachers' Superannuation Fund (additional subsidy) War bursaries Contingencies, including unforeseen expenditure incidental to all other items of this subdivision Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	25,000 500 50	
		Examination fees, &c. $£5,500$ Recoveries on account of— Gramophones for schools $£5,500$ Salaries, English teachers $1,500$ $$ $9,000$		
		Total—Subdivision No. XV		56,905
		Gross Total	• • •	3,348,646
		Credits-in-aid (a)		265,835
		NET TOTAL—VOTE No. 38		3,082,811

,		\sim	7.			
(a	Ure	edits	3-1n	-aıd	

		Other	
	Salaries.	Charges.	1928-29.
	£	£ .	£
Subdivision I	900		900
" II		177,600	177,600
" III		7,600	7,600
" IV		400	400
" V		4,800	4,800
" VI	• •	5,400	5,400
" VII		2,575	2,575
", VIII	• •	15,000	15,000
" IX	• •	210	210
,, X	• •	500	500
,, XI	• •	2,500	2,500
" XII	• •	2,950	2,950
" XIII	••	36,200	36,200
" XIV	• •	200	200
", XV	••	9,000	9,000
Totals	900		$\frac{-}{265,835}$
		-,	

***************************************		1928-29.	
<u> </u>	Salaries.	Other Charges.	Total.
Vote No. 39.—Department of Scientific and Industria. Research—	£	£	£
Subdivision No. I.—Head Office	2,494	6,085	8,579
,, II.—Research Investigations	6,304	28,252	34,550
., III.—Dominion Laboratory	9,413	7,035	16,448
IV.—Dominion Observatory	1,123	775	1,898
V.—Geological Survey	4,101	3,479	7,580
VI.—Meteorological Office	2,749	5,520	8,269
GROSS TOTAL	26,184	51,146	77,330
Credits-in-aid		15,414	15,414
NET TOTAL	26,184	35,732	61,916

Number of Persons.	Item.	. VOTE No. 39.—DEPARTMENT OF SCIENTIFIC AND INDUSTRIAL RESEARCH.	1928-	· 29.
1928–29.			£	£
		Subdivision No. I.—Head Office.	~	2
•	1	*Salaries—		
		Administrative Division.		
1		1 at £1,200 (Secretary)	1,200	
		PROFESSIONAL DIVISION.		
1		Class B— 1 at £515	515	
		CLERICAL DIVISION.		
		Class V—	1	
1		1 at £380	380	
1		Class VII— 1 at £115 (3 months), £95 (9 months)	100	
		GENERAL DIVISION.		
1		1 at £205	205	
1		Non-permanent. 1 at £105 (3 months), £90 (9 months)	94	
	-			
6		Other Charges for and incidental to	2,494	
	2	Advertising, photographs, books, newspapers, and		
		other publications	75	
	3	Advisory Council: Allowances and travelling-expenses	750	
,	$\frac{4}{5}$	Expenses of officers going overseas Expenses of upkeep, Apia Observatory (£400 recover-	600	
	o o	able from Imperial Government)	2,981	
	6	Liaison officer, London (one-third of honorarium)	209	
	7	New Zealand Journal of Science and Technology	400	
	8	Office accommodation	25	
	9	Office-fittings and requisites (including typewriters,	100	
	10	&c.)	100	
	10	Postage, telegrams, and rent of boxes	100	

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living bonus.

	1 1			ued.
Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF SCIENTIFIC AND INDUSTRIAL RESEARCH.	1928-	-29.
19 28 –29.		Subdivision No. I.—Head Office—continued.	£	£
	11 12 13 14 15	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Printing and stationery Research Scholarships Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote	100 500 35 200	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Apia Observatory £400 Main Highways Account 200		
		600		
		Total—Subdivision No. I	6,085	8,579
•	-	Subdivision No. II.—Research Investigations.		
	16	Pig Industry: Bacon and Pork Production—		
		Bacon manufacturing investigations: Miscellaneous 300		
		(Recoverable, £250.) 1,300	1,600	
	17	Cold Storage—		
		Instruments and equipment 250 Miscellaneous expenses 310 Grants 40	600	
	18	Dairy Research—		
		Salaries—		
		Non-Permanents. 1 at £850 (5 months), £600 (7 months) 700	;	
		1 at £750 750 1 at £300 300 1 at £52 52		
		Other Charges for and incidental to—		•
		Equipment, apparatus, chemicals, &c. 1,855 Fittings for laboratory at Palmerston		
		North 300 Laboratory building at Palmerston North 217 Library 150 Travelling-expenses 300 Grants 1,876		
		(Recoverable, £3,000.) - 4,698		
	19	Fish—	6,500	
		Salary— Non-permanent.		
		1 at £250 (3 months) 63	:	
		OTHER CHARGES FOR AND INCIDENTAL TO— Miscellaneous 7		
		Miscellaneous 7	70	

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.	1928–	2 9.
1928–29.		Subdivision No. II.—Research Investigations—continued.	£	£
	20	Flax—		
		Flax selection, breeding, cultivation, chemical, and mechanical investigation (Recoverable, £370.)	740	
	21	Fruit—		
		Salary		
		Non-permanent. £ 1 at £250 250		
		OTHER CHARGES FOR AND INCIDENTAL TO— Miscellaneous 250	· :	
		(Recoverable, £300.)	500	
	22	Food Values—		
		Salary— Non-permanent.		
		1 at £350 350		
		OTHER CHARGES FOR AND INCIDENTAL TO— Equipment, accommodation, apparatus, and services 350		
	23	Fuel—	700	
	20			
		SALARIES— PROFESSIONAL DIVISION.		
		$Class \ D-1$ at £425 (provided for under "Subdivision No. III")		
		Non-permanents. £		
		1 at £364 364 300		
		664		
		OTHER CHARGES FOR AND INCIDENTAL TO— Apparatus, equipment, and fittings 225		
		Materials, publications, printing, &c 200 Travelling-expenses 36		
		Grants 50		
		(Recoverable, £800.) —		
	24	Leather—	1,175	
		Salary— Non-permanent.		
		1 at £600 (6 months) 300		
		OTHER CHARGES FOR AND INCIDENTAL TO— Equipment, apparatus, and travelling- expenses 375	•	
		expenses 375 (Recoverable, £337.)	675	
	25	Meat Industry and Products—		
		Salaries—		
		Non-Permanents. 2 at £600 (4 months) 400		
		OTHER CHARGES FOR AND INCIDENTAL TO-		
		Miscellaneous 800 (Recoverable, £600.)	1,200	

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF SCIEN AND INDUSTRIAL RESEARCH.	TIFIC	1928-9	29.
928–29.		Subdivision No. II.—Research Investigations—co.	ntinued.	£	£
	26	Mineral Content of Pastures—			-
		CHARGES FOR AND INCIDENTAL TO— Services: Department of Agriculture	£ 2,100		
		Grants (Recoverable, £2,000.)	900	3,000	
	27	New Zealand Institute—			
		Charges for and incidental to— Grants		750	
	28	Noxious Weeds—			
		Charges for and incidental to—		2 222	
		Grants (Recoverable, £1,000.)	•••	2,000	
	29	Petrological Laboratory—			
		Salaries—			
		Non-Permanents. 1 at £400	400		
		1 at £156	156		
		Opening Charles and the sugar sugar	556		
		OTHER CHARGES FOR AND INCIDENTAL TO— Expenses	90		
	30	Plant Research—		646	
		Salaries—			
		Non-permanents. 1 at £700 (8 months)	£		
		1 at £275 (10 months)	$egin{array}{c c} 470 & \\ 230 & \\ \end{array}$		
		1 at £385 (4 months)	128		
		3 at £300 (2 for 3 months, 1 for 2 months) 1 at £80 (9 months)	$\frac{200}{60}$		
			1,088		
		OTHER CHARGES FOR AND INCIDENTAL TO-		ļ	
		Buildings Fencing, draining, &c	$egin{array}{c c} 1,500 \\ 150 \\ \hline \end{array}$	Ì	
	i	Laboratory equipment	300		
		Labour: Preparation of experimental area	310		
		Library	100		
		Services: Department of Agriculture	300		
		Travelling-expenses and freight (Recoverable, £2,000.)			
,	31	Wheat Research—	2,912	4,000	
		Salaries—			
		Non-Permanents. 1 at £750 (7 months)	438		
		1 at £400 (6 months)	200		
		1 at £120 (5 months)	50		
		1 at £52	52		
		OTHER CHARGES FOR AND INCIDENTAL TO—	740		
		Field experimental work and crop certi-			
		fication	223	-	
	1	Fuel, light, heat, and power	25 \mid	1	

${\tt DEPARTMENT\ OF\ SCIENTIFIC\ AND\ INDUSTRIAL\ RESEARCH-} continued.$

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF SCIENTIFIC	1928-	29.
1928–29.		AND INDUSTRIAL RESEARCH.	0	е
		Subdivision No. II.—Research Investigations—continued.	£	£
	31	Wheat Research—continued.	;	
		OTHER CHARGES FOR AND INCIDENTAL TO—contd. Laboratory and office furniture, fittings £		
		equipment $2,120$		
	:	$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		Storage, freight, cleaning, and other in-		
	, ,	cidental expenses 250		
		Travelling-expenses 200 Grants 167		
		(Recoverable, £2,000.)	1	
	$\begin{vmatrix} \\ 32 \end{vmatrix}$	Wool Research—	4 000	
	92		4,000	
		SALARY— Non deemanient		
	:	Non-permanent. 1 at £156 (7 months) 91	i	
		1 at £156 (7 months) 91		•-
		OTHER CHARGES FOR AND INCIDENTAL TO—		
		Apparatus 14 Miscellaneous		
		Miscellaneous 370 Travelling-expenses 25		
	İ	(Recoverable, £100.)		
		409	700	
	33	Pakihi Land Investigation— ———————————————————————————————————	$ \begin{array}{c c} 500 \\ 200 \end{array} $	
	34	Canterbury Agricultural College—		
		Grant for research	3,700	
	35	General— Contingencies, including unforeseen expenditure incidental to the other items above mentioned and for projects arising during the year and not otherwise provided for (Recoverable, £300.)	2,000	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Recoveries on account of research £13,057		
		$Total-Subdivision \ No. \ II $		34,556
				02,000
	36	Subdivision No. IIIDominion Laboratory. Salaries-		
	30	Professional Division.		
1		1 at £1,000	1,000	
•		Class A—		
1		$egin{array}{cccccccccccccccccccccccccccccccccccc$	715	
		1 at £590 590		
		2 at £540 1,080		
5		2 at £515 1,030	0.7700	
		Class C— 1 at £490 490	2,700	
3		2 at £445 (3 months), £425 (9 months) 860	1	
		Class D— —————————————————————————————————	1,350	
		1 at £400 (11 months), £320 (1 month) 393 1 at £355 (7 months) 207		
5		3 at £355 (11 months), £320 (1 month) 1,038		
	1		1,638	

Persons.	Item.		1928-	-29.
928–29.		VOTE No. 39.—DEPARTMENT OF SCIENTIFIC AND INDUSTRIAL RESEARCH—continued.		
		Subdivision No. III.—Dominion Laboratory—continued.	2	£
	36	Salaries—continued.		
	:	Professional Division—continued.		
2	İ	Class E— £ 1 at £320 (3 months), £295 (9 months) 302 1 at £295 (7 months) 172		
1		Class F— 1 at £135 (3 months), £115 (9 months)	$\begin{array}{c} 474 \\ 120 \end{array}$	
		CLERICAL DIVISION.		
		Class VII— 1 at £190 (7 months), £155 (5 months) 176 1 at £190 (2 months), £155 (10 months) 161 2 at £115		
5		1 at £95 (1 month), £80 (11 months) 82	649	
•		Cadets' lodging-allowances	55	
		GENERAL DIVISION. 1 at £260 260	}	
2		1 at £185 185	445	
1		Non-permanent.	169	
26		Allowance to officer whilst absent from New Zealand	98	
			9,413	
	37	OTHER CHARGES FOR AND INCIDENTAL TO—		
		Advertising, photographs, books, newspapers, and other publications	200	
	38 39	Chemicals, apparatus, and repairs to apparatus Expenses in connection with accident in laboratory,	2,800	
	40	October, 1926 Expenses of officers going overseas	57 503	
	41	Fees of officers attending science lectures at Universities	40	
	42 43	Freight, cartage, and transport charges Fuel, light, power, and water	$\begin{array}{c c} 150 \\ 450 \end{array}$	
	44	Laboratory accommodation and maintenance	850	
	45 46	Office fittings and requisites Physical apparatus in connection with standards	$\begin{array}{c c} 125 \\ 600 \end{array}$	
	47	Postage, telegrams, and rent of boxes	75	
	48	Printing and stationery	200	
	49	Rent (branch laboratory premises, Auckland)	275	
	50 51	Rent (branch laboratory premises, Dunedin) Subscriptions to Technical Societies	$\frac{120}{40}$	
	$\begin{vmatrix} 51 \\ 52 \end{vmatrix}$	Telephone services (including installation, extensions,	10	
		maintenance, rent, and calls)	80	
	53	Travelling allowances and expenses	420	
	54	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Gas-testing £1,477 Miscellaneous fees 100		
		1,577		
	ı I	· ·		

	Item.	VOTE No. 39.—DEPART AND INDUSTRIAL R				1928-	29.
1928-29.					1 =		· · · · · · · · · · · · · · · · · · ·
		Subdivision No. IV.—	Dominion	Observator	ry.	£	£
	55	Salaries			:		
	!	Professiona Class A—	L Divisio	ON.	:		
1	1	1 at £715	•••			715	
		Class E—	0000 10				
1		1 at £250 (10 months),	£230 (2 1	nonths)	•••	247	
		CLERICAL	Division				
1		Class VII—	9155 /10 m	antha)		161	
1	_	1 at £190 (2 months), £	199 (10 n	iontns)	•••	161	
3			*			1,123	•
	- F.C	OTHER CHARGES FOR AND					
	56 57	Astronomical sites, testin Furniture, fittings, &c.		•••		75 75	
	58	General expenses				350	
	59	Grounds, maintenance of				75	
	60	Instruments and equipme	ent	•••	• • •	200	
					-	775	
		Total— $Subs$	division N	Io.~IV			1,898
	1					,	
		·					
*		Subdivision No. V.—Ge	ologi ca l S	Survey Bra	inch.		
	61	Salaries-	• =				
		Professiona	L Divisio	ON.			
1		1 at £775 (Director)				775	
-	-!	Class B—				110	
2		2 at £540				1 000	
		01 0				1,080	
		Class C— 1 at £490 (5 months)	. •••	•••	£	1,080	
2	,	1 at £490 (5 months)	•••		£ 205	1,080	
2	1	1 at £490 (5 months) 1 at £445 Class D—			£ 205 445	650	
	i	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months)			$ \begin{array}{c c} £ \\ 205 \\ 445 \\ \hline 213 \end{array} $		
2	i	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335	•••		£ 205 445	650	
	i	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E—			£ 205 445 213 335		
		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335			$ \begin{array}{c c} £ \\ 205 \\ 445 \\ \hline 213 \end{array} $	650 548	
2		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months)			£ 205 445 213 335	650	
2		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months)			£ 205 445 213 335	650 548	
2		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380			£ 205 445 213 335	650 548	
2 2		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII—			£ 205 445 213 335 293 80	650 548 373 380	
2		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380			£ 205 445 213 335 293 80	650 548 373	
2 2		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII— 1 at £295	Division		£ 205 445 213 335 293 80	650 548 373 380	
2 2 1 1		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII— 1 at £295 Other Charges for and	Division	 	£ 205 445 213 335 293 80	650 548 373 380 295	
2 2 1 1		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII— 1 at £295 OTHER CHARGES FOR AND Advertising, photographs	Division incident	 newspape	£ 205 445 213 335 293 80	650 548 373 380 295 4,101	
2 2 1 1		1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII— 1 at £295 OTHER CHARGES FOR AND Advertising, photographs other publications	Division incidenta s, books,	newspape	£ 205 445 213 335 293 80	650 548 373 380 295 4,101	
2 2 1 1	62 63 64	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII— 1 at £295 OTHER CHARGES FOR AND Advertising, photographs other publications Fault map of New Zealan Field expenses (partly rec	Division Division Division Division Division	newspape nses of pub	£ 205 445 213 335 293 80	650 548 373 380 295 4,101	
2 2 1 1	62 63 64 65	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII— 1 at £395 OTHER CHARGES FOR AND Advertising, photographs other publications Fault map of New Zealan Field expenses (partly rec	Division Divisi	newspape nses of pub	£ 205 445 213 335 293 80	650 548 373 380 295 4,101 100 50 300 30	
2 2 1 1	62 63 64 65 66	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) Class V— 1 at £380 Class VII— 1 at £395 OTHER CHARGES FOR AND Advertising, photographs other publications Fault map of New Zealan Field expenses (partly rec Freight, cartage, and tran Fuel, light, and water (ps	Division incident books, d: Exper	newspape nses of pub arges verable)	£ 205 445 213 335 293 80 ers, and elication	650 548 373 380 295 4,101 100 50 300	
2 2 1 1	62 63 64 65	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) CLERICAL Class V— 1 at £380 Class VII— 1 at £295 OTHER CHARGES FOR AND Advertising, photographs other publications Fault map of New Zealan Field expenses (partly referreight, cartage, and tran Fuel, light, and water (pageneral expenses of soil-se	Division incident books, d: Exper	newspape nses of pub arges verable)	£ 205 445 213 335 293 80 ers, and elication tago (re-	650 548 373 380 295 4,101 100 50 300 30 80	
2 2 1 1	62 63 64 65 66	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) CLERICAL Class V— 1 at £380 Class VII— 1 at £295 OTHER CHARGES FOR AND Advertising, photographs other publications Fault map of New Zealan Field expenses (partly refreight, cartage, and traffuel, light, and water (ps General expenses of soil-scoverable) Instruments, purchase of	DIVISION INCIDENTA s, books, d: Experiments coverable asport chartly recoverable survey in	newspape nses of pub arges verable) Central O	£ 205 445 213 335 293 80 ers, and elication tago (re	650 548 373 380 295 4,101 100 50 300 30	
2 2 1 1	62 63 64 65 66 67	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) CLERICAL Class V— 1 at £380 Class VII— 1 at £295 OTHER CHARGES FOR AND Advertising, photographs other publications Fault map of New Zealan Field expenses (partly refreight, cartage, and transfuel, light, and water (pageneral expenses of soil-scoverable) Instruments, purchase of Instruments: Repairs a	DIVISION INCIDENTA s, books, d: Experiments coverable asport chartly recoverable survey in	newspape nses of pub arges verable) Central O	£ 205 445 213 335 293 80 ers, and elication tago (re	650 548 373 380 295 4,101 100 50 300 30 80 100 20	
2 2 1 1	62 63 64 65 66 67 68	1 at £490 (5 months) 1 at £445 Class D— 1 at £425 (6 months) 1 at £335 Class E— 1 at £320 (11 months) 1 at £320 (3 months) CLERICAL Class V— 1 at £380 Class VII— 1 at £295 OTHER CHARGES FOR AND Advertising, photographs other publications Fault map of New Zealan Field expenses (partly refreight, cartage, and traffuel, light, and water (ps General expenses of soil-scoverable) Instruments, purchase of	DIVISION INCIDENTA s, books, d: Experiment chartly recording recordi	newspape nses of pub arges verable) Central O enance an	£ 205 445 213 335 293 80 ers, and elication tago (re	650 548 373 380 295 4,101 100 50 300 30 80 100	

of Persons.	Item.		1928 - 2	29.
1020 00		VOTE No. 39.—DEPARTMENT OF SCIENTIFIC		
1928–29.		AND INDUSTRIAL RESEARCH—continued.	£	£
		Subdivision No. V.—Geological Survey Branch—continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	72	Office fittings and requisites	60	
	73 74	Postage, telegrams, and rent of boxes Printing bulletins, lithographing, &c	60 650	
	75	Printing and stationery	50	
	76	Rents	235	
	77	Telephone services (including installation, extensions, maintenance, rent, and calls)	25	
	78	Travelling allowances and expenses	200	
	79	Tools and field equipment	20	
	80	Wages of field hands Contingencies, including unforeseen expenditure in-	1,250	
	01	cidental to the other items of this subdivision	20	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)— Fuel, light, &c £30		
		Field expenses 50		
		General expenses of soil survey 100		
		180		
			3,479	•
		Total-Subdivision No. V $ -$		7,58
	82	Subdivision No. VI.—Meteorological Office. SALARIES— PROFESSIONAL DIVISION		
	82	SALARIES— PROFESSIONAL DIVISION.		
. 1	82	Salaries— Professional Division. 1 at £900 (Director)	900	
1	82	Salaries— Professional Division. 1 at £900 (Director) Class A— 1 at £665 (3 months)	900	
	82	Salaries— Professional Division. 1 at £900 (Director) Class A— 1 at £665 (3 months) Class B— 1 at £6500	166	
1	82	SALARIES— PROFESSIONAL DIVISION. 1 at £900 (Director) Class A— 1 at £665 (3 months) Class B— 1 at £590	1	
1	82	Salaries	166	
1	82	Salaries	166	
1	82	SALARIES— PROFESSIONAL DIVISION. 1 at £900 (Director) Class A— 1 at £665 (3 months) Class B— 1 at £590 CLERICAL DIVISION. Class VII—	590	
1	82	Salaries	166	
1 1	82	Professional Division.	590	
1	82	Professional Division.	166 590 	
1 1 2	82	Professional Division.	166 590 456	
1 1	82	Professional Division.	166 590 	
1 1 2	82	Professional Division.	166 590 456	
1 1 2		Professional Division.	166 590 456	
1 1 2 2		Professional Division.	166 590 456 294 248	
1 1 2 2		Professional Division.	166 590 456 294 248	
1 1 2 2		Professional Division.	166 590 456 294 248	

$Appropriations\ for\ Consolidated\ Fund\ Services.$

${\tt DEPARTMENT\ OF\ SCIENTIFIC\ AND\ INDUSTRIAL\ RESEARCH-continued}.$

Number of Persons.	Item.	• •	1928-	29.
	<u>-</u>	VOTE No. 39.—DEPARTMENT OF SCIENTIFIC		
1928–29.		AND INDUSTRIAL RESEARCH—continued. Subdivision No. VI.—Meteorological Office—continued.	£	£
	86 87 88 89 90 91 92 93	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Observatories: Maintenance of and establishment Office-cleaning Office fittings and requisites Postage, telegrams, and rent of boxes Printing and stationery Rent Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	250 10 50 4,000 250 200 70 150	
		Total—Subdivision No. VI	5,520	8,269
		Gross Total		77,330
		Credits-in-aid (a)		15,414
		NET TOTAL—VOTE No. 39		61,916

(a) Credits-in-aid-

1108-111-a10						1928–29. £
Subdivisio	n I					600
,,	II				• •	13,057
,,	III					1,577
;,	V		• •			180
						
Tot	al	• •	• •	• •	• •	15,414

NAURU AND OCEAN ISLANDS ACCOUNT.

		_					192	28–29.	
						Salaries.	Other	Charges.	Total.
Vote No. 40)Naı	uru and O	cean Island	ls	••	£		£	£
$G\mathbf{r}$	oss To	TAL	••	••	••			600	600
Cri	EDITS-I	N-AID		• • •	• •				•••
NE	TOT	ΓAL	• •	••		•••		600	600
Number of Persons.	Item.						<u> </u>	1928	3–29.
1928–29.	1	Charges	FOR AND	D.—NAUR ISLAND INCIDENTAI travelling-e)S. . то—			£ 600	£
			Gross '	Total 8-in-aid			•••		600
				OTAL-V	OTE No	. 40			600

DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.

						19	28–29.	
				-	Salaries.	Othe	er Charges.	Total.
Vote No. 69—Expe	nses of Ma	$\mathbf{nagement}$			£		£	£
GROSS TOTAL		••	• •	• •			40,000	40,000
Credits-in-ail		••	• •		•••		•••	•••
NET TOTAL	••	••	••				40,000	40,000
Number of Persons. Item.	VOTE N	o. 69.––E	XPENSES	S OF MA	ANAGEME	NT.	1928	3–29.
	Charges f	OR AND IN	CIDENTAL T	.o—			£	£ I
1	departr	nental exp	enses com	nected w	gement and sith the admettlement Ac	ninis-	40,000	
		Gross 7	Potal	•••	•••			40,000
		CREDITS	IN-AID	•••		•••		•••
		NET T	OTAL—V	OTE No	. 69			40,000

LAND FOR SETTLEMENTS ACCOUNT.

							19	28–29.	
		•	············		-	Salaries.	Othe	or Charges.	Total.
Vote No. 7	0.—La	nd for Se	ettlements l	Expenses—	1	£	1	£	£
Gr	oss To	TA L	• •	••		1,000		2,470	3,47
Съ	EDITS-I	M-ATD			i i	·		5	
			••	• •		4 000			
N1	ET TO'	Г А Ь 	••	* * * * * * * * * * * * * * * * * * *	••	1,000	=	2,465	3,46
Number of Persons.	Item.	VOTI	E No. 70.—	-LAND FO EXPENS		TLEMENT	's	1928	3–29.
1 9 28–29.				EAFENSI	БÐ.				
		*Salari		ERICAL DI	VISION.			£	£
1	1	1 at £	31,000	•	••	•••	• • •	1,000	
								1,000	
	2	OTHER Audit	CHARGES F	OR AND INC	IDENTAI	то—		35	-
	3 4	Prelin	ninary expe					200	
	-	Telep ma	none servic intenance, i	es (including ent, and ca	g instali lls)	ation, extens	sions,	10	
	5		lling allows			 expenditur	e in-	200	
			ental to the					50	
		Lands	Department	;					
		0		of settlen	ents un	c., for the beder Section 925:—			
	7	Put	torino Settle	ement: Dra	inage	•••	•••	200	
	8		muera Settle ooroa Settle		ading	•••	• • •	25	
	9		Erection of I Maintenance		Waiotaj	ou Stream	•••	37 650	
	11	I	Road access	to Section	29s		•••	170	
	12		osidies— Allenby Sett	lement : D	rainage	(£1 for £1)	• • •	375	
	13	(Otway Settle	ement Drai	nage (£.	for £2)	•••	485	
	14 15	Tar	re Pua Se tt. waha Settle:	ment: Co	mpletion	n of roading logs in Ruat	anga	75	
	16	٤	Stream		• • •	 Waikohu Co		3 8	
	10	16	Council for	maintenanc	e of co	unty roads		465	
								3,015	
			s estimated ot required			provided for		545	
			or required	during me		year	•••		
		I				Section 51 or see end of vo		2,470	
			Miscellane				£5		
		•	Gross !	Potal		•••			3,47
	\$,	CREDITS	S-IN-AID	•••	•••	•••	•••	
			NET T	OTAL—VO) ጉድ እ ገ	. 70			3,46

^{*} For particulars of salaries see "Public Service Classification List." NOTE.—Scale salaries or wages include cost-of-living increase.

Appropriations for Land for Settlements Account (Discharged Soldiers Settlement Account).

LAND FOR SETTLEMENTS ACCOUNT.

(DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.)

						19	28-29.	
					Salaries.	Othe	r Charges.	Total.
Vote No. 71.—		Settlement of Expenses—	of Discl	narged	£		£	£
Gross T	OTAL	••	••		•••		3,935	3,935
CREDITS-	IN-AID	••	••		. •••		50	50
NET TO	AL	••	••	••	•••		3,885	3,885
Number of Persons. Item.	VOTE	No. 71.—LAI	ND FOR	SETT	LEMENT	OF	1928	3–29.
1928-29. 1 2 3 4 5 6 7 8 9	CHARGES Audit Glence Goat Mai Roa Matai Cou Orong Otaho Strath Whare	oe Settlement Hills Settleme intenance of a d access kona Settleme incil for mainta o Settlement: ime Settlement ivale Settlement ekaka Settlement quired during stimated cred	EIDENTAL : Draina nt— ceess roa nt : Gra enance o Mainte c : Roadi nt : Drai ent : Wa i items the curr its-in-ai Revenue	ge d nt to C f count nance o ng nage (s ter-sup provided ent yea d unde	astlepoint C y roads f drains, &c ubsidy, £1 fo ply I for but no	 ounty or £1) ot re- 	\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	£ 3,9 3 8 50

MAIN HIGHWAYS ACCOUNT.

 $({\tt MAIN\ HIGHWAYS\ REVENUE\ FUND}).$

					,		19	2 8– 2 9.	
		•			-	Salaries.	Othe	r Charges.	Total.
ote No. 72	2.—Ma	intenance	of Main H	Iighways—		£		£	£
Gr	oss Te	OTAL	••	••			1,0	037,208	1,037,208
Cr	E DIT S-	IN-AID		• •				20,000	20,000
NE	т то	TAL	••				1,	017,208	1,017,208
Number of Persons.	Item.	VOT	E No. 72	-MAINTE	NANCE	C OF MAI	N	192	8–29.
1928–2 9 .				HIGHWA	YS.	OF MAI		£	£
1		way and exp tra	ovement, mys, including plant or openses, incovelling-expenses of acceptance.	other vision, ges in					
	3 4	con Charg Charg cha Intere	tingencies ges and exp ges and ex arged to Co est on loan	penses of rai openses of nstruction I s recouped	sing load raising fund to the C	 ns loans, previ onsolidated	iously Fund	840,000 5,000 42,008 35,000	
	$\begin{bmatrix} 5 \\ 6 \end{bmatrix}$	$rac{ ext{Sto}}{ ext{Rede}}$	ock mption of	earges of No securities is ction Fund	 sued for	•••		200	
	7	Post	and Telegi	raph Depart stration fees	ment:	Cost of coll	ection	15,000	
				credits-in-a blic Revenu -					
			Miscellan	ieous	•••	2	20,000		
			Gross	TOTAL	•••	•••	•••		1,037,208
			CREDIT	S-IN-AID			•••		20,000
			NET	TOTAL —V	OTE No	o. 72·			_ 1,017,208

NATIVE LAND SETTLEMENT ACCOUNT.

						192	28-29.	
					Salaries.	Other	Charges.	Total.
Vote No. 74.—	Native Lan	d Purchase E	xpenses—		£		£	£
Gross	TOTAL	••	••		2,005		5,532	7,537
CREDI	TS-IN-AID						100	100
NET	TOTAL			• •	2,005		5,432	7,437
Number of Persons.		ΓΕ No. 74.—	-NATIVE . EXPENSI	LAND ES.	PURCHASI	E	1928	3–29.
1928–29.	1 *Salar	IES—					£	£
			LERICAL DIV	ision.			~	
1	1	at £565		•••	•••	• • •	565	
1		ss <i>II</i> — at £515		••	•••		515	
1		ss <i>IV</i> — at £425				•••	425	
			Non-perman	NENT.				
1		Judge's Ass lotorua Distr		Consoli	dation Sch	eme-,	500	!
4		otorua Distr	100)	•••	•••	•••	2,005	ļ
		R Снав <mark>ск</mark> я г arging order				odies		
	a	ffected by btaining	consolidatio	n proc	eedings, co	st of	1,332	
	4 Tra	ntribution to chemes welling and g uation fees					2,000 2,000 200	
		Public vote)—	Revenues	Act, 1	Section 51 of 926 (see er	nd of £		
į	İ	Refund o	f valuation f	ees	•••	100		
: 		Gross	TOTAL		•••		5,532	7,53
!			S-IN-AID			•••		10
		NET	rotal—V	OTE N	o. 74			7,43

Note.—Scale salaries or wages include cost-of-living increase.

* For particulars of salaries see "Public Service Classification List."

Appropriations for State Coal-mines Account.

STATE COAL-MINES ACCOUNT.

							19	2 8–29.	
						Salaries.	Othe	or Charges.	Total.
Vote No. 7	5.—Sta	te Coal-m	ines—			£		£	£
•						9,946		308,058	318,004
GR	oss To	TAL	• •	• •	•••	9,940	,		
$\mathbf{C}_{\mathbf{R}}$	EDITS-I	N-AID	••	• •				2,350	2,350
NI	ет то	TAL	••	••	••	9,946	3	305,708	315,654
Number of Persons.	Item.	***	OMB N. F	CODAD	E COAT	MINIEC		1928	8-29.
1928-29.	- 	VC	OTE No. 7	o.—STAT	E COAL	-MINES.			1
	1	*Salari	ES—					£	£
			Pro	FESSIONAL	Division	ι.			
1		1 at £	3791 (Super	intendent,	State Co	al-mines)		791	
			` -			,			
		Class	III—	LERICAL D	ivision.				
1			t £470	÷	•••	•••	· ·•	470	
		Class	IV—						
2			t £425		•••	•••	•••	850	
		Class	V				£		!
		2 a	t £380		•••	•••	760		
3		1 a	t £355		•••	•••	355	1,115	Ì
		Class	· VI—					1,110	
1		1 a	ıt £320		•••	•••	•••	320	1
		Class	· VII—						
			ıt £295				590		
			t £270 (1 r				252		!
			t £250 (7 r				242		
			at £230 (11				$\frac{229}{189}$	i	i
	!	1 8	ut £190 (11 ut £155 (10	months), &	2135 (2 m	onthe)	152		
		1 0	at £155 (7 1	nonths) £1	135 (5 mg	onths)	147		
	i	1 a	at £155 (6 r	nonths), £1	135 (6 mo	onths)	145		!
			at £115 (11				227		
			at £115 (1 1				96		
			at £95 (5 m				87		
14		. 1 a	at £95 (2 m	onths), £80	0 (10 mor	iths)	83	0.400	
			(General I	Division.			2,439	
		1 at	£425				425		
		1 at				•••	374		
	1	1 at				•••	370		•
			£365			•••	365		
			£295				590		
			£290		•••	• •	290		
	1 }	lat	£270		• • •	•••	270	•	:

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Appropriations for State Coal-mines Account.

Number f Persons.	Item.	VOTE No. 75—STATE CO	AL-MINE	S—contin	ued.	1928-	-29.
928-29.	1	SALARIES—continued.				£	£
		GENERAL DIVISIO	n-continu	ved.	£		
10		1 at £260 1 at £255	•••	•••	260 255		
		1 110 2200	•••	•••	200	3,199	
32		Cadet's lodging-allowances	•••	•••		12	
		Proportion of salaries to be		d by Mine	s De-		
		partment	•••	•••	•••	750	
						9,946	
		OTHER CHARGES FOR AND IN			<u>,</u> -		
	2	Advances to workmen for	erection of	of dwelling	gs (re-	4 000	
	3	coverable) Audit fees for inspection of	···	•••	•••	4,000	
	4	Coal supplies free to mine-		%c	•••	$\begin{array}{c} 215 \\ 190 \end{array}$	
	5	Coal supplied at reduced			at the	130	
	- }	mines		•••		1,700	
	6	Compensation and expens	ses under	Workers'	Com-	ļ	
	_ [pensation Acts	•••	•••	•••	3,500	
	7	Deposits on contracts (reco				300	
	8	Depots: Purchase of stock Christchurch	s and tradi	_		41,000	
	9	Wanganui	•••	•••		3,600	
	10	Wellington	•••	•••		18,000	
		Grants—					
	11	Repairs to gymnasium, I			• • •	28	
	12	Runanga Bowling-green	•••	•••	• • •	20	
	$\begin{vmatrix} 13 \\ 14 \end{vmatrix}$	Runanga Domain	•••	•••	•••	100	
	15	Runanga street lighting Seddon Memorial Institu		•••		80 35	
	16	Harbour rates and royalty				6,000	
	17	Head office expenses				237	
	18	James Colliery expenses	•••	• • •	•••	44,640	
	19	Liverpool Colliery expenses	s	•••		173,200	
	20	Postage, telegrams, and rer	nt of boxes		•••	140	
	21	Printing and stationery Prospecting and Developme	nt of State	 Coal-min		300	
	22	MacDonald Mine				25	
	23	James Mine	•••	•••		4,800	
	24	Liverpool Mine		• •	•••	3,400	
•	25	Prospecting work				1,000	
	26	Public Service Superannu		a contrib	ution	173	
	27	Seddonville Colliery expens Subsidies—	00	•••		125	
	28	Croquet lawn, Runanga (£1 for £1, £	25; grant.	£25)	5 0	
	29	Runanga Medical Associa	ation			200	
	30	Survey of water-works so	cheme, Rur			200	
	31	Travelling allowances and e		•••	•••	150	
	32	Tree-planting at Runanga Contingencies, including u	nforeseen	 evnenditu	ro in	600	
	33	cidental to the other item				50	
		Patimated anadita in a	id under Ge	ation #1 -	f tha		
		Estimated credits-in-ai Public Revenues A				į	
		Return of deposits .			£300		
		Sale of plant, railwa		te.	2,000		
		Miscellaneous	•••		50		
				2	2,350		
					-	308,058	
		Gross Total			-		318,0
	i i	CREDITS-IN-AID			1		ં પ્રવ
		OREDITS-IN-AID	•••	•••	••••	•••	2,3

STATE FORESTS ACCOUNT.

							1928–2	9.	
			_			Salaries.	Other Char	ges.	Total.
Vote No. 76	6.—Stat	e Forest Se	ervice—			£	£		£
Capital Cha	arges —				ļ				
Subdivisio		Salaries				22,529			22,529
		General Dev	velopment	• •		•••	7,0)22	7,022
,,		Forest Fire		••			I .	339	339
,,		Education,			• •			280	280
,,		Forest Resea			••	•••	2,6		2,625
,,	VI	General Aff	iorestation		••	•••	201,4	132	201, 4 32
					-	22,529	211,6	398	234,227
Operation			${ m harges}$ —		-				
$ar{S}ubdivisic$					••	22,754		~~4	22,754
,,		General Der		• •	••	•••	$\begin{vmatrix} 20,7\\3,6 \end{vmatrix}$		$20,774 \ 3,085$
"		Forest Fire Education,		• •	••	•••	$1, \delta$		$\frac{3,063}{1,362}$
"		Forest Rese		• •	•• !	•••	$\frac{1}{6}$, $\frac{1}{6}$		6,104
"		General Aff		• •	••	•••	3,5		3,375
**			of $Indigeno$	us Forest	s. &c.	•		74	74
" , 1		Grants and	Subsidies olanting: M	to Local	Bodies	•••	14,3	380	14,380
					-	22,754	49,1	154	71,908
GR	coss To	TAL	• •	••		45,283	260,8	352	306,135
Cr	EDITS-II	N-AID	••			100	1,7	732	1,882
NE	TOT TE	AL	• •			45,183	259,	120	304,303
Number of Persons.	Item.	VOTE	No. 76.—	STATE	FOREST	SERVICE.		1928	3–29.
1928-29.			Subdivis	ion No	I.—Salar	ries.		£	£
	1	Salaries-		STRATIVE	Divisio	N.			
1		1 at £85	50 (Director	r)	•••	•••		850	
		<i>0</i> 1 4		SSIONAL	Division				
		$Class\ A=1\ { m at}\ A$					£		
2		1 at £			•••	•••	700 615		
4		Class B			•••			1,315	
. 1		1 at s						540	
-		Class C				-	1		1
1		1 at 1 $Class\ L$	650 (part ti)	me only)	• • •	•••	•••	50	
		1 at 4					445		
2		1 at s			•••		380	_	
		Class E						825	
1	i i	1 at s	£32U		•••	• • •		320	(

^{*} For particulars of salaries see "Public Service Classification List."
Note.—Scale salaries or wages include cost-of-living increase.

STATE FORESTS ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 76.—STATE FOR	മുള്ള ഒർ	DWIGH	ann tarrar 3	1928-	29.
1928–29.	- ,	VOIE NO. 70.—STATE FOR	БОТ ОБ.	R VICE—	continuea.		
		Subdivision No. I.—S	Salaries—	-continue	d.	£	£
	1	Salaries—continued.					
		CLERICAL 1	Division				
		Class II—	DIVISION.				
1		1 at £515	•••			515	
1		$Class\ III-1$ 1 at £470		•		470	
		Class V—	•••	•••	•••	2,10	
2		2 at £380 Class VI—	•••	•••	£.	760	
		5 at £335		•••	1,675		
7		2 at £295		•••	590	0.005	
	1	Class VII— 4 at £295			1,180	2,265	
		1 at £275			275		
		1 at £275 (10 months)	•••	•••	230		
		2 at £250 2 at £230	•••	•••	500 460		
		3 at £210		•••	630		
		1 at £210 (10 months)		•••	160		
		1 at £200 3 at £155	•••	•••	200 46 5		
		6 at £135		•••	810		
		2 at £115	•••	•••	230		
32		1 at £95 5 at £80	•••	•••	$\begin{array}{c} 95 \\ 400 \end{array}$		
02				•••		5,635	
		Cadets' lodging-allowance	s	•••		130	
		General I	Division.				
		4 at £715 3 at £615	•••	•••	2,860		
		3 at £445			$\begin{bmatrix} 1,845 \\ 1,335 \end{bmatrix}$		
		5 at £425	•••		2,125		
		2 at £390 7 at £380	• • •	•••	2,660	ĺ	
		5 at £360	•••	•••	1,800		
		1 at £340	•••	•••	340		
		1 at £330 10 at £320		•••	330 3,200		
		4 at £315		•••	1,260		
		1 at £310	•••	• • •	310		
		1 at £305 3 at £295	•••		305 885		
		3 at £2 85	•••	•••	855		
		1 at £275	• • •	• • •	275		
		3 at £270 1 at £265	•••	•••	$ \begin{array}{c c} 810 \\ 265 \end{array} $		
		3 at £260	•••	•••	780		
		1 at £255	•••	•••	255		
		1 at £250 3 at £245		•••	$egin{array}{c c} 250 & \hline 735 & \hline \end{array}$		
		2 at £235			470		
		$1 ext{ at } \pounds 225$			225		
71		1 at £205 1 at £185	•••	•••	205 185		
11			•••	•••		25,345	
	3	Non-Perm	ANENTS.		312	ĺ	
		1 at £312 2 at £310	•••	•••	620		
	Ì	1 at £300		•••	300		
	İ	1 at £295 (11 months)			$\begin{bmatrix} 275 \\ 270 \end{bmatrix}$		
		1 at £270 3 at £260	•••		780		

of Do	Item.				1928-	29.
of Persons.		VOTE No. 76.—STATE FOREST SEE	VICE—	contd.		
1928–29.		Subdivision No. I.—Salaries—con	tinued.		É	£
	1	Salaries—continued.				
		Non-permanents—continued	l.	£		
		1 at £247	•••	247		
		1 at £245 3 at £234	•••	245 702		
		$3 \text{ at } £225 \dots$	•••	675		
		1 at £220		220		
	-	1 at £208	•••	208	j	
		2 at £208 (part time)	•••	174		
		1 at £195		195	1	
		3 at £182	•••	546		
		2 at £169	• • •	338		
		2 at £156	• • •	312		
		4 at £130	•••	520		
		1 at £125 \dots 3 at £104 \dots		$egin{array}{c c} 125 \ 312 \end{array}$		
	1	1 at £91	• • •	91		
	i .	2 at £78	•••	156	i	
41		1 at £52		52		
	_	1 00 202	•••		7,675	
163		Allowances to officers performing spe duties under Public Service Regulati	ecial or	higher nd 209	360	
\	-	advios andor 1 abno sorvido nogalado	0110 2 111 w	-		
		Less salaries provided but not no	w require	ed	$\frac{47,055}{1,772}$	
		Estimated credits-in-aid under Secondary Public Revenues Act, 1926 (see Department of Lands and Surve Salaries of officers Total—Subdivision No.	e end of v rey : 			45,28
		10tat—Subuttiston 140.	1			40,200
		Subdivision No. II.—General Developmen ment of Indigenous State Forests, Pr Forests, and Forested Reserves. CAPITAL CHARGES—			The state of the s	
	1	01 (1 1 11 11 1			i i	
	1	Charges for and incidental to			i	
	ဂ	Charges for and incidental to— Buildings			830	
	2	Buildings		•	830 5 2 0	
	2 3 4	Buildings Demarcation	 nd tents		830 520 437	
	3	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas	 nd tents 		52 0	
	3 4 5 6	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of			520 437 625 1,060	
	3 4 5 6 7	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of Office equipment	•••	•••	520 437 625 1,060 739	
	3 4 5 6 7 8	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of Office equipment Re-establisment Erua Forest	•••		520 437 625 1,060 739 1,400	
	3 4 5 6 7 8 9	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of Office equipment Re-establisment Erua Forest Re-establishment Longwood Forest			520 437 625 1,060 739 1,400 595	
	3 4 5 6 7 8 9	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of Office equipment Re-establisment Erua Forest Re-establishment Longwood Forest Re-establishment Waikaia Forest			520 437 625 1,060 739 1,400 595 75	
	3 4 5 6 7 8 9 10	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of Office equipment Re-establisment Erua Forest Re-establishment Longwood Forest Re-establishment Waikaia Forest Roads, tracks, and fences			520 437 625 1,060 739 1,400 595 75 621	
	3 4 5 6 7 8 9	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of Office equipment Re-establisment Erua Forest Re-establishment Longwood Forest Re-establishment Waikaia Forest	 oction 51	 of the	520 437 625 1,060 739 1,400 595 75	
	3 4 5 6 7 8 9 10	Buildings Demarcation Field equipment, tools, instruments, a Forest Atlas Motor-vehicles, purchase of Office equipment Re-establisment Erua Forest Re-establishment Longwood Forest Re-establishment Waikaia Forest Roads, tracks, and fences Telephone lines (forest) Estimated credits-in-aid under Se Public Revenues Act, 1926 (se	 oction 51	 of the vote)—	520 437 625 1,060 739 1,400 595 75 621	

STATE FORESTS ACCOUNT—continued.

192 8–29.		VOTE No. 76.—STATE FOREST SERVICE—contd.		
		TOTAL NO. 10. SINTA PONDET SERVICE—CONON.		
		Subdivision No. II.—General Development and Manage-	£	£
		ment of Indigenous State Forests, &c.—continued.		
		OPERATION AND MAINTENANCE CHARGES-		
		Charges for and incidental to—		
	13	Advertising	195	
	14	Cost-of-living bonus to annuitants, Public Service		
		Superannuation Fund, and increased pensions to widows and children	12	
	15	Destruction of deer	$\begin{vmatrix} 13 \\ 360 \end{vmatrix}$	
	16	Destruction of wild pigs (recoverable from Depart-	500	
	1	ment of Agriculture, £150)	475	
	17	Forest reconnaissance	946	
	18	Grazing reconnaissance	100	
	19	Kauri-gum, collection of	75	
	$\begin{array}{c c} 20 \\ 21 \end{array}$	Law-costs	195	
	$\frac{21}{22}$	Maintenance buildings	$egin{array}{c c} 70 & & \\ 135 & & \end{array}$	
	23	Maintenance office equipment	112	
	24	Maintenance roads, tracks, and fences	278	
	25	Maintenance telephone lines (forest)	$\stackrel{-10}{62}$	
	26	Office rent, heating, lighting, and cleaning	3,537	
	27	Overtime and meal allowances	40	
	28	Payment to other Departments for services rendered	275	
	29	Policing, patrol and maintenance	1,331	
	$\begin{vmatrix} 30 \\ 31 \end{vmatrix}$	Postage, cables, telegrams, &c. Printing and stationery	$\begin{array}{c c} 1,086 \\ 940 \end{array}$	
	$\begin{vmatrix} 31 \\ 32 \end{vmatrix}$	Public Service Superannuation Fund contribution	692	
	33	Railway Department: Lease of loading-site (re-	002	
		coverable)	32	
	34	Rewards payable for information leading to the con-		
		victions of persons making false representations with	40	
	35	respect to wild life bounties Settlement land examination	10	
	36	Special forest investigations	69 55	
	37	Supervision of current operations	500	
	38	Survey charges on indigenous forest lands	10	
	39	Timber cruising, valuation, and appraisal (part re-		
		coverable)	2,211	
	40	Transfer and removal expenses	380	
	$begin{array}{ c c c c c c c c c c c c c c c c c c c$	Transportation expenses and upkeep of motor-vehicles Travelling allowances and expenses	$\frac{1,932}{2,752}$	
	43	Wild life control	$\begin{array}{c c} 3,753 \\ 400 \end{array}$	
	44	Work for other Departments, outside bodies, &c.	100	
		(recoverable)	415	
	45	Contingencies, including unforeseen expenditure inci-		
		dental to other items of subdivision	90	
	li	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Destruction of wild pigs—		
		Vote, Department of Agriculture 150		
		Maintenance of roads, tracks, &c 100		
		Railway Department: Lease of	!	
		loading-site 32		
		Supervision of current operations 100		
		Work for other Departments 415	İ	
İ		Miscellaneous 50		
		847		
		Total—Operation and Maintenance Charges	20,774	

${\tt STATE\ FORESTS\ ACCOUNT--} continued.$

f Persons.	Item.	Women was a small to be a serious and the seri	1928-	29.
1928-29.	- i 	VOTE No. 76.—STATE FOREST SERVICE—contd.	1	
		Subdivision No. III.—Forest Fire Fighting and Preven- tion: Indigenous Forests.	£	£
		Capital Charges—		
		Charges for and incidental to—		
	46 47	Equipment Protection improvements	151 188	
		Total—Capital Charges	339	
		OPERATION AND MAINTENANCE CHARGES-		
		Charges for and incidental to—		
	48	Communication and controls	117	
	49 50	Locomotion	283 43	
	51	Travelling allowances and expenses	457	•
	52	Wages	2,185	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
		Miscellaneous £5		
		Total—Operation and Maintenance Charges	3,085	
	i	Total—Subdivision No. III		3,42
		Subdivision No. IV.—Education: Ranger Instruction School, Working Reference Library, Departmental Publications, and Statistical Data.		
		School, Working Reference Library, Departmental Publications, and Statistical Data.		
		School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges—		
	52	School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to—	190	
	53 54	School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges—	190	
		School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to— Reference library and text books		
		School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to— Reference library and text books Photographic equipment	90	
		School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to— Reference library and text books Photographic equipment Total—Capital Charges Operation and Maintenance Charges—	90	
	55 56 57 58	School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to— Reference library and text books	90 280 45 100 180 187	
	55 56 57	School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to— Reference library and text books	280 280 45 100 180	
	55 56 57 58 59	School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to— Reference library and text books	280 280 45 100 180 187 810	
	55 56 57 58 59	School, Working Reference Library, Departmental Publications, and Statistical Data. Capital Charges— Charges for and incidental to— Reference library and text books	280 280 45 100 180 187 810	

${\tt STATE} \ \ {\tt FORESTS} \ \ {\tt ACCOUNT--} continued.$

lumber Persons.	Item.	VOTE No. 76.—STATE FOREST SERVICE—contd.	1928-2	29.
928–29.	-	Subdivision No. V.—Forest Research: Silvicultural Ecological Utilization and Forest Management.	£	£
		Capital Charges		
		Charges for and incidental to-		
	61	Aboretum, Rotorua	43	
	62	Forest Ecology, Equipment and instruments for	20	
	63	Forest Experiment Station (Auckland)	241	
	64 65	Forest Experiment Station (Westland) Forest Experiment Station (Nelson)	$\begin{bmatrix} 1,906 \\ 10 \end{bmatrix}$	
	66	Forest Experiment Station (Nelson) Timber-testing equipment and apparatus	405	
		Total—Capital Charges	2,625	
,				
		Operation and Maintenance Charges—		
	67	Charges for and incidental to— Exchange and supply of seeds, &c., for experimental		
	60	$egin{array}{cccccccccccccccccccccccccccccccccccc$	25	
	68	Forest entomology, proportional cost of experimental	330	
		investigations by Department of Agriculture	750	
	70	Silvicultural management studies Utilization	1,012	
	$\begin{array}{ c c c c }\hline 71 \\ 72 \end{array}$	Timber products testing and investigations	$ \begin{array}{c c} 135 \\ 3,140 \end{array} $	
	73	Travelling allowances and expenses	712	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)— Miscellaneous £50		
		Total—Operation and Maintenance Charges	6 104	
		Total—Subdivision No. V	6,104	0.70
		10tat—Subutivision 100. V		8,72
		Subdivision No. VI.—General Afforestation: Building, Tree - planting, Maintenance and Protection of Plantations, Operations of Nurseries, Compensation to Employees, and Collateral Activities. Capital Charges—		
		Charges for and incidental to—	į	
		Nurseries—		
	74 75	Golden Downs Hanmer (part recoverable)	2,550	
	76	Kaingaroa	$\frac{4,790}{2,736}$	
	77	Naseby	615	
	78	Riverhead Rotorua	2,534	
	79 80	Tapanui	$ \begin{array}{c c} 11,145 \\ 5,060 \end{array} $	
	81	Westland	1,273	
	82	Plantations— Balmoral	10 021	
	83	Blue Mountain	$10,031 \\ 23,169$	
		Conicel Hills and Pulsoner	1,059	
	84	1		
	84 85	Dumgree	350	
	84	1		
	84 85 86 87 88	Dumgree Eyrewell Galloway Gimmerburn	$egin{array}{c} 350 \\ 9,710 \\ 10 \\ 10 \\ \end{array}$	
	84 85 86 87 88 89	Dumgree Eyrewell Galloway Gimmerburn Greenvale and Dusky Hill	$ \begin{array}{c c} 350 \\ 9,710 \\ 10 \\ 10 \\ 1,003 \end{array} $	
	84 85 86 87 88	Dumgree Eyrewell Galloway Gimmerburn	$egin{array}{c} 350 \\ 9,710 \\ 10 \\ 10 \\ \end{array}$	

${\tt STATE\ FORESTS\ ACCOUNT--} continued.$

Number Persons.	Item.		1928	-29.
928-29.	-[] i !	VOTE No. 76.—STATE FOREST SERVICE—contd.		
		Subdivision No. VI.—General Afforestation: Building, Tree-planting, &c.—continued.	£	£
		CAPITAL CHARGES—continued.		
		Charges for and incidental to—continued. Plantations—continued.	!	
	93	Karioi	11,494	
	94	Maramarua	15,631	
	95	Naseby	1,059	
	96	Omarama	10 740	
	97 98	Puhipuhi Raincliffe	$\frac{742}{20}$	
	99	TO to a little of the little o	10,081	
•	100	VV -: - +	2,894	
	101	Waitahuna	10	
	102	Whakarewarewa	3,855	
	103	Land purchase for extension of nurseries and planta-	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
	1 - 1	tions	28,707	
	104	Sand-dune reclamation and afforestation	2,000	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)— Miscellaneous £10	ĺ	
			201 100	
		Total—Capital Charges OPERATION AND MAINTENANCE CHARGES—	201,432	
	1 :		į	
	100	Charges for and incidental to—	100	
	105	Experimental machinery	100	
	106 107	Forest regulation studies Proparation of planting plans and forest extension	100 335	
	108	(D) 11	1,805	
	109	Tree seed operations (part recoverable)	635	
	110	Work performed for other Departments, outside	000	
		bodies, &c. (recoverable)	400	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
	1	Work performed for other Depart-		
		ments 400 Travelling allowances and expenses 300		
	1 [Tree seed operations 15		
		715		
		Total—Operation and Maintenance Charges	3,375	
		Total—Subdivision No. VI		204,80
	,	Subdivision No. VII.—Acquisition of Indigenous Forests.	in the second se	
		OPERATION AND MAINTENANCE CHARGES-		
		Charges for and incidental to—		
	111	Refund to Land for Settlements Account—		
		Yearly rent on Sections 28-30, Block VIII, Otanewainuku S.D	74	
		Total—Operation Charges	74	
			1	

STATE FORESTS ACCOUNT—continued.

Number of Persons.	HORE W. To OTHER RODER OF THE	1928	-29.
1928-29.	VOTE No. 76.—STATE FOREST SERVICE—contd.		
1020 20.	Subdivision No. VIII.—Grants and Subsidies to Local Bodies for Tree-planting: Miscellaneous.	£	£
	Operation and Maintenance Charges—		
	Charges for and incidental to—		
$112 \\ 113 \\ 114$	Bounty on venison exported Empire Forestry Conference, 1928–29 Expenses of forest officers (3) going overseas	100 3,000 1,100	
115	Grant to officer on retirement, equivalent to salary in lieu of leave, in terms of Public Service Regulations	250	
116	Payment to local authorities under Section 17, Finance Act, 1924	9,530	
117	Purchase of goodwill and lessees' interest Jollie's Pass Hotel	400	
	Total—Subdivision No. VIII		14,380
	Gross Total	• • •	306,135
	Credits-in-aid (a)		1,832
	NET TOTAL—VOTE No. 76		304,303

(a) Credits-in-aid—

		\mathbf{Other}	*
	Salaries.	Charges.	1928-29.
	£	£	£‡
Subdivision I	100	• •	100
" II.	• •	902	902
" III	• •	5	5
,, IV	• •	50	50
" V		5 0	50
" VI		725	725
${f Totals}$	100	1,732	1,832
	=		

WESTPORT HARBOUR ACCOUNT.

CREDITS-IN-AID 75 600 67 NET TOTAL 5,862 56,133 61,99 Number Item 1000,00							19	28–29.	
GROSS TOTAL						Salaries.	Othe	or Charges.	Total.
NET TOTAL	Vote No. 7	7.—Westp	ort Harbour-			£		£	£
NET TOTAL	Gr	ROSS TOTAL				5.937	,	56,733	62,670
NET TOTAL									
Number of Persons. Item. VOTE No. 77.—WESTPORT HARBOUR. 1928–29.	Cr	EDITS-IN-A	ID	• •	••	75) 	600	678
1928-29. 1	NI	ET TOTAI		••	••	5,862	2	56,133	61,995
PROFESSIONAL DIVISION. S50	Number of Persons.	Item.					11	1928	3–29.
1 *Salaries	1928-29.	-	VOTE No. 77	.—WESTP	ORT H	ARBOUR.			1
Class D- 2 at £425		1 *8	SALARIES-					£	£
Class D- 2 at £425			$\mathbf{p}_{\mathbf{R}}$	OFFESTONAL	Division	·			
Class II—				OF EBSIONAL	DIVISION	•			
Class II—	2		2 at £425		•••	•••	•••	850	
Class II—			(CLERICAL D	IVISION.				
Class VII—			Class II—						
1 at £115	1		1 at £515		•••		•••	515	
1 1 at £115			Class VII-						
2 at £363	1					•••		115	
2 at £363			,	IDNEDAT D	IVIGION		e		
1 at £329				JENERAL D		•••			
1 at £276					•••	•••			
2 at £264			2 at £305			•••	610		
1 at £250 250 1 at £245 245 1 at £238 238 1 at £230 230 Non-permanent. 1 1 at £260 260 Unclassified. Marine Department: Administration expenses 750 Magazine-keeper's allowance 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Contribution from Department of £ Internal Affairs 75			1 at £276				276		
1 at £245 245 1 at £238 238 1 at £230 Non-Permanent. 260 17 Unclassified. 750 Marine Department: Administration expenses 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Contribution from Department of £ Internal Affairs 75			2 at £264				5 28		
12 1 at £238 1 at £230 230 230 230 230 230 230 230 250 260 1 1 at £260 260 260 17 Unclassified. Marine Department : Administration expenses Magazine-keeper's allowance 15 750 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote) Contribution from Department of £ Internal Affairs 75			1 at £250		•••		250		
12							245		
Non-Permanent. 1 at £260 260 Unclassified. Marine Department: Administration expenses 750 Magazine-keeper's allowance 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contribution from Department of £ Internal Affairs 75			1 at £238		•••	•••			
NON-PERMANENT. 1 at £260	12		1 at £230			• • •	230		İ
1 1 at £260 260 UNCLASSIFIED. Marine Department: Administration expenses 750 Magazine-keeper's allowance 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contribution from Department of £ Internal Affairs 75						-		3,432	
Unclassified. Marine Department: Administration expenses 750 Magazine-keeper's allowance 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contribution from Department of £ Internal Affairs 75				NON-PERMA	ANENT.			000	
Marine Department: Administration expenses 750 Magazine-keeper's allowance 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contribution from Department of £ Internal Affairs 75	1		1 at £260		•••	•••	. •••	260	
Magazine-keeper's allowance 15 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Contribution from Department of £ Internal Affairs 75	17			Unclassi	FIED.				
Public Revenues Act, 1926 (see end of vote)— Contribution from Department of £ Internal Affairs 75						-			
5,937			Public Contribu	Revenues A	ict, 1926 (Departme	see end of v o	ote)—		
								5,937	-

^{*} For particulars of salaries see "Public Service Classification List."
NOTE.—Scale salaries or wages include cost-of-living increase.

$Appropriations \ for \ Westport \ Harbour \ Account.$

WESTPORT HARBOUR ACCOUNT—continued.

Number of Persons.	Item.		1928-	29.
	·	VOTE No. 77.—WESTPORT HARBOUR—contd.		
1928–29.			1	
		OTHER CHARGES FOR AND INCIDENTAL TO—	£	£
	2	Audit fees	50	
	3	Compensation for accidents	30	
	4	Dredging (including repairs and maintenance)	30,000	
	5	Endowments, cost of administration of	500	
	6	Grant to Westport School of Mines	25	
	7	Harbour maintenance and working-expenses	3,500	
1.	8	New launch, purchase of	1,000	
	9	Office expenses	200	
	10	Protective works	20,000	
	11	Retiring-allowances	93	
	12	Superannuation subsidy	125	
	13	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	170	
	14	Travelling allowances and expenses	30	
	15	Tug: Working-expenses, repairs, and maintenance of	1,000	
	16	Contingencies, including unforeseen expenditure inci-		
		dental to the other items of the vote	10	
			56,733	
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)—		
	1	Miscellaneous £600		•
		Gross Total		62,670
		CREDITS-IN-AID	•••	678
		NET TOTAL—VOTE No. 77		61,99

WORKING RAILWAYS ACCOUNT.

				1928-29.	
			Salaries and Wages.	Other Charges.	Total.
Vote No. 78.—Working Railways—		 	£	£	£
GROSS TOTAL		••	4,950,909	2,947,428	7,898,337
CREDITS-IN-AID	•••		777,000	450,000	1,227,000
NET TOTAL			4,173,909	2,497,428	6,671,337

Number of Persons.	Item.	VOTE No. 78.—	WORKING F	RAILWAY	7S.*	1928- 3,202 M	
1928–29.	1	GENERAL CHARGES-			<u> </u>		
		Head	Office: Salarie	·s.		£	£
		Sı	abdivision I.				
		Class I—	4		e		
		General Managen General Manage	r at £3,500 (10	months)	£ 2,917		
3		Board of Manage 2 Members at £1	ment— 1.250 (2 month	s)	417		
			-, (/		3, 33 4	
		Class II— 1 at £900 (10 mor 1 at £850	•••	months) £850	870	:	
		Arrears 1st Apr 31st March, 1	1928	85	935		
3		1 at £800 (10 mor	nths), £765 (2 1	months)	794	2,599	
			bdivision II.			_,,,,,	
1		Special Grade I— 1 at £765				765	
1		1 80 2100	•••	•••	•••	100	
_		Grade I—				1 000	
2		2 at £615		•••	•••	1,230	
		Grade II—					
3		3 at £515	•••	•••		1,545 !	
		Grade III—					
1		1 at £470	•••	•••		470	
	i	Grade IV—					
2		2 at £425	•••	•••		850	
		Grade V—				İ	
		4 at £380	•••	•••	1,520	1	
5		1 at £355	•••	•••	355	1 055	
		Grade VI-				1,875	
6		6 at £335	•••	•••		2,010	
		Grade VII—					
		12 at £295	•••	•••	3,540		
		1 at £250	•••	•••	250		
		3 at £230	• • • •	• • •	690	į	
19		3 at £210	•••	•••	630		
	1 1					5,110	

^{*} For particulars of salaries see Railways Department Classification List, "D.-3."

${\tt WORKING-RAILWAYS-ACCOUNT--} continued.$

Number of Persons.	Item.	VOTE No. 78.—WORKING RAILWAYS—continued.	1 928	-29.
1928–29.	1	GENERAL CHARGES—continued.	£	£
		Head Office: Salaries—continued.	~	_
		Subdivision II—continued.		
		Grade VIII— £ 2 at £155 310 2 at £135 270 3 at £115 345 7 at £95 665 Lodging-allowances— 6 at £25 2 at £10 20	1,590	
		Contingencies—Temporary clerical assistance, stationery and supplies, travelling allowances and expenses, allowances to members under the Regulations made under the Government Railways Act, 1926, allowances to members on transfer in excess of the regulations, value of accrued leave due to deceased members, special allowance to shorthand-writers, cost of hearing Appeal Board cases, expenses in connection with sittings of Wages Boards, Inquiry Boards, and Royal Commissions, and all other unforeseen expenditure incidental to the other items of the vote—Salaries of casual clerks, office assistants, and typists 3,700 Australian railway statistics 300 Legal expenses, advertising, supply of periodicals, and miscellaneous 500 Stationery supplies and printing 3,500 Telephone subscriptions 110 Travelling expenses and allowances 1,500 Travelling-expenses, Appeal Board 1,000 Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—Department of Internal Affairs: Salaries of Private Secretaries to Ministers of Railways, Education, and Labour: 2 at £425, 1 at	21,548	
į		£295 £1,145	32,158	<i>]</i>
		Chief Accountant's Office: Salaries.		
1	-	Subdivision I. Class II— 1 at £900 (Chief Accountant)	900	1.1 1.1
		Subdivision II.		
2	<i></i>	Grade I— . 2 at £615	1,230	
2		Grade II— 2 at £515	1,030	
		Grade III— 5 at £470	2,350	

WORKING RAILWAYS ACCOUNT—continued.

f Persons.	Item.	AYS—co	ontinued.	1 928–2 9 .			
928-29.	1	GENERAL CHARGES—con	tinued.		-		
		Chief Accountant's O	ffice : Salaries	contin	ued.	£	j
		Subdivision	n II—continue	d			
		Grade IV—			£		
_		6 at £425	•••		2,550		
7	:	1 at £400	•••	•••	400	0.050	
11		Grade V— 11 at £380				$\frac{2,950}{4,180}$	
11		Grade VI—	•••	•••	•••	4,100	
	!	13 at £335	•••		4,255		
14		1 at £320	•••		320		
	1	Grade VII—				4,675	
	!	24 at £295	•••	•••	7,080		
26		1 at £275	•••		275		
20		1 at £210 Grade VIII—	•••	•••	210	7,565	
	i i	1 at £135			135	1,000	
2	i	1 at £95	•••		95		
	-	Lodging-allowance—				230	
70		1 at £25	•••	•••		25	
	-				-	25 105	
		Continuonaisa				25,135	
		Contingencies— Salaries of casual	clerks office s	agist.		; 1	
		ants, machinists,			12,000		
		Stores, stationery, a			3,400		
	1	Cost of ticket printi			3,500		
	!	Telephone subscript	ions		40		
	1	Travelling allowanc	es and expense	es	2,800	01 740	
						21,740	
						46.875	
		Less amounts pro	ovided for und	er other	sections	46,875 13,000	
		Less amounts pro	ovided for und	er other	sections		
			ovided for und		sections	13,000	
		Training S			sections	13,000 33,875	
1		Training S			sections	13,000	
1		Training S Grade V— 1 at £380			sections	13,000 33,875	
		Training S Grade V— 1 at £380 Grade VI—	School: Salari		sections	13,000 33,875 380	
1		Training S Grade V— 1 at £380			sections	13,000 33,875	
1		Training S Grade V— 1 at £380 Grade VI—	School: Salari		sections	33,875 380 320	
		Training S Grade V— 1 at £380 Grade VI— 1 at £320	School: Salari		sections	13,000 33,875 380	
1		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295	School: Salari			33,875 380 320	
1		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII—	School: Salari		 	33,875 380 320	
1		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115	School: Salari		 £ 230	33,875 380 320	
3		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95	School: Salari		 £ 230 285	33,875 380 320	
1		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115	School: Salari		 £ 230	33,875 380 320 885	
3		Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances—	School: Salari		 £ 230 285	33,875 380 320	
35		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35	School: Salari		 £ 230 285 2,400	33,875 380 320 885	
35	-	Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances—	School: Salari		 £ 230 285 2,400	33,875 380 320 885	
35		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35	School: Salari		 £ 230 285 2,400	33,875 380 320 885	
35		Training S Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35 5 at £25	School: Salari		 £ 230 285 2,400	13,000 33,875 380 320 885 2,915 1,000	
35		Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35 5 at £25 Contingencies—	•		 £ 230 285 2,400 875 125	33,875 380 320 885	
35		Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35 5 at £25 Contingencies— Travelling and trans	School: Salari		 £ 230 285 2,400 875 125	13,000 33,875 380 320 885 2,915 1,000	
35		Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35 5 at £25 Contingencies— Travelling and trans Stationery and supp	School: Salari		 £ 230 285 2,400 875 125	13,000 33,875 380 320 885 2,915 1,000	
35		Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35 5 at £25 Contingencies— Travelling and trans	School: Salari		 £ 230 285 2,400 875 125	13,000 33,875 380 320 885 2,915 1,000	
35		Grade V— 1 at £380 Grade VI— 1 at £320 Grade VII— 3 at £295 Grade VIII— 2 at £115 3 at £95 30 at £80 Lodging-allowances— 25 at £35 5 at £25 Contingencies— Travelling and trans Stationery and supp	School: Salari		 £ 230 285 2,400 875 125	33,875 380 320 885 2,915 1,000 5,500	

WORKING RAILWAYS ACCOUNT—continued.

Number of Persons.	Item.		1928-	-29.
1928-29.	 	VOTE No. 78.—WORKING RAILWAYS—continued.		
	1	GENERAL CHARGES—continued.	£	£
		Miscellaneous General Charges.		
		Allowances to be paid to members of the First and		
		Second Divisions in excess of the maximum rates of pay set forth in the schedules to the Government Railways Act, 1926, for special work performed in the course of their duty £101 Less already provided for under the various sections 100	1 000	
		Audit fees for inspection of accounts Departmental Buildings—	1,000	
		Wages of messengers, cleaners, and £ night-watchmen 4,000 Furniture and fittings 500		
		Maintenance of buildings 2,200 Water, light, and power 800		
		Postages and freight on hampers 2,300	9,800	
		Expenses in connection with— Members of Railway Department travelling abroad	1 000	
		on official business Fee to Chairman of Railway Appeal Boards	1,000 100	
		Government Railways Superannuation Fund contribution Cost-of-living bonus to annuitants, Government Railways Superannuation Fund, and increased pensions	170,000	
		to widows and children Railway Magazine: Printing and publication Grants to officers on retirement equivalent to salary	17,500 7,000	
	!	in lieu of leave in terms of regulations Subsidy: Railway Sick Benefit Society	4,000 6,500	
		Less amounts provided under the various sections	216,901 28,000	
			188,901	
		Total Head Office and General Charges	261,354	
	2	Divisional Superintendence: Salaries.		
		Subdivision I. Class II—		
2		2 at £1,000 (Divisional Superintendents)	2,000	
		Subdivision II.		
2		2 at £800 (Locomotive Engineers) Special Grade II—	1,600	
2		2 at £715 Grade III—	1,430	
2		2 at £470	940	
2		Grade IV— 2 at £425	850	
_		Grade V—		
3		1 at £355 355	1,115	

${\bf WORKING} \quad {\bf RAILWAYS} \quad {\bf ACCOUNT--} continued.$

Number of Persons.	Item.	HOWEL M. TO WORKING DAYL WAY	1928–29.	
1928–29.	2	VOTE No. 78.—WORKING RAILWAYS—continued. Divisional Superintendence: Salaries—continued.	£	£
		Subdivision II—continued.		
4		Grade VII— £ 3 at £295 885 1 at £250 250 Grade VIII—	1,135	
2		1 at £155 155 1 at £135 135	290	
19		Contingencies— Lighting and water 60 Stationery, stores, and printing 160 Travelling allowances and expenses 785 Miscellaneous 390	9,360	
	3	Branch Expenditure—	10,755	
		Including salaries and wages; allowances to members by regulations made under section 68 of the Government Railways Act, 1926, for special work performed in the course of their duty; payments for Sunday duty; general repairs and miscellaneous services; supplies of stores, provisions, stationery, water, and material; advertising; compensation for accidents, personal injuries received, loss of property by fire, damage to or loss of goods; freights on goods lost or destroyed; postages, telegrams, telephones, maintenance of wires; payments under the Workers' Compensation Acts; payments in connection with works outside railway boundaries in which Department has beneficial interest; compassionate allowances; temporary clerical and draughting assistance; travelling allowance and expenses; allowances to members under Regulation No. 86 (made under the Government Railways Act, 1926); increased night allowances to members and allowances to members on transfer in excess of the regulations; value of accrued leave due to deceased members; stationery and supplies; also contingencies and all other unforeseen expenditure incidental to the other items of the vote—		
		Maintenance Branch—		
		General Superintendence: Salaries.		
1		Subdivision I. Class II— 1 at £1,200 (Chief Engineer)	1,200	
		Subdivision II.		
	1 1	1 at £925 (Assistant Chief Engineer)	925	
3		2 at £850 (Inspecting Engineer and Designing Engineer)	1,700	

29.	1928–	continued.	AILWAYS.—	-WORKING	VOTE No. 78.—	Item.	of Persons.				
£	£		$oldsymbol{u} e d$.	NDITURE—cont	Branch Expen	3	1 92 8–29.				
			ued.	Branch—contr	Maintenance						
		inued.	Salaries—con	perintendence :	General Sup						
			continued.	ubdivision II-							
	470				Grade III— 1 at £470		1				
		•••			Grade IV—						
	425	•••			1 at £425 Grade V—		1				
	1,140				3 at £380		3				
	<i>'</i>	£			Grade VI—						
		1,005			3 at £335						
	1,325	320	••		1 at £320 Grade VII—		4				
	1,020	295		,	1 at £295						
		230			1 at £230		2				
	525				Grade VIII-						
		145			1 at £145						
	-	$egin{array}{c} 105 \ 285 \ \end{array}$			1 at £105 3 at £95		5				
	535		••	wances-	Lodging-allo	_					
	75				3 at £25		23				
		į.				-					
	10,165										
		lling allow- bers under lovernment owances to transfer in crued leave	upplies, trave ances to men a under the C eased night all o members on , value of ac-	tationery and expenses, allo No. 86 (ma Act, 1926), indallowances the regulation	ances and Regulation Railways A members a excess of						
		lling allow- abers under dovernment owances to transfer in crued leave her unfore- er items of £ 400	upplies, trave ances to men e under the C eased night all o members on , value of ac s, and all oth all to the other	tationery and expenses, allo No. 86 (ma Act, 1926), included allowances the regulation recased membraditure incides	sistance, s' ances and Regulation Railways A members a excess of due to de seen exper the vote— Lighting and						
		lling allow- bers under overnment owances to transfer in crued leave her unfore- er items of £ 400 3,000	upplies, trave ances to men e under the C eased night all o members on , value of ac s, and all oth all to the other	tationery and expenses, allow No. 86 (mand allowances the regulation ecased membraditure incided and miscellaneous casual clerks, is	sistance, s' ances and Regulation Railways A members a excess of due to de seen exper the vote— Lighting and Salaries of and typist						
		lling allow- bers under overnment owances to transfer in crued leave her unfore- er items of £ 400 3,000 1,100	upplies, trave ances to men e under the C eased night all o members on , value of ac s, and all oth all to the other	tationery and expenses, allow No. 86 (mand allowances the regulation excessed membered miscellaneous casual clerks, and supplies	sistance, s' ances and Regulation Railways a members a excess of due to de seen exper the vote— Lighting and Salaries of and typist Stationery as						
		lling allow- bers under overnment owances to transfer in crued leave her unfore- er items of £ 400 3,000	upplies, trave ances to men under the C eased night all o members on value of ac s, and all oth al to the oth draughtsmen,	tationery and expenses, allow No. 86 (mand allowances the regulation excessed membered miscellaneous casual clerks, and supplies	sistance, s' ances and Regulation Railways A members a excess of due to de seen exper the vote— Lighting and Salaries of and typist Stationery and Telephone su						
	5,505	lling allow- bers under covernment owances to transfer in crued leave her unfore- er items of 400 3,000 1,100 115	upplies, trave ances to men e under the G eased night all o members on , value of ac s, and all oth all to the othe draughtsmen,	tationery and expenses, allow No. 86 (matches Act, 1926), included allowances the regulation occased member and ture incidered an inscellaneou casual clerks, and supplies abscriptions expenses and allowances are allowances and allowances and allowances are allowances and allowances are allowances and allowances are allowances and allowances are allowances and allowances are allo	sistance, s' ances and Regulation Railways a members a excess of due to de seen expen the vote— Lighting and Salaries of and typist Stationery an Telephone su Travelling ex						
	5,505	lling allow- bers under covernment owances to transfer in crued leave her unfore- er items of 400 3,000 1,100 115	upplies, trave ances to men e under the G eased night all o members on , value of ac s, and all oth all to the othe draughtsmen,	tationery and expenses, allow No. 86 (matches Act, 1926), included allowances the regulation occased member and ture incidered an inscellaneou casual clerks, and supplies abscriptions expenses and allowances are allowances and allowances and allowances are allowances and allowances are allowances and allowances are allowances and allowances are allowances and allowances are allo	sistance, s' ances and Regulation Railways A members a excess of due to de seen exper the vote— Lighting and Salaries of and typist Stationery and Telephone su						
	5,505	lling allow- bers under covernment owances to transfer in crued leave her unfore- er items of 400 3,000 1,100 115	upplies, trave ances to men e under the G eased night all o members on , value of ac s, and all oth al to the oth draughtsmen,	tationery and expenses, allow No. 86 (mandallowances) the regulation ceased membraditure incided and casual clerks, as a supplies abscriptions appears and all uses of Sections.	sistance, s' ances and Regulation Railways a members a excess of due to de seen expen the vote— Lighting and Salaries of and typist Stationery an Telephone su Travelling ex						
	5,505	lling allowabers under lovernment owances to transfer in crued leave ler unforestritems of \$\frac{\pmathcal{E}}{400}\$ 3,000 1,100 115 890	upplies, trave ances to men e under the G eased night all o members on , value of ac s, and all oth all to the oth draughtsmen,	tationery and expenses, allow No. 86 (mandallowances) the regulation ceased membraditure incided and casual clerks, as a supplies abscriptions appears and all uses of Sections.	sistance, s' ances and Regulation Railways a members a excess of due to de seen exper the vote— Lighting and Salaries of and typist Stationery and Telephone su Travelling ex Working-expen Maintenance of Salaries— 4 at £800 Section—						
		3,000 1,100 115 890 3,200 6,250 16,600 606,100 539,400	upplies, trave ances to men e under the G eased night all o members on , value of ac s, and all oth cal to the oth draughtsmen,	tationery and expenses, allow No. 86 (mand allowances the regulation receased membraditure inciders of miscellaneous casual clerks, and supplies and supplies appropriate of Way and W	sistance, s' ances and Regulation Railways a members a excess of due to de seen exper the vote— Lighting and Salaries of and typist Stationery as Telephone su Travelling ex Working-expen Maintenance of Salaries— 4 at £800 Section— Kaihu Gisborne North Isla South Isla						
	1,221,700	3,000 1,100 115 890 3,200 6,250 16,600 606,100 539,400 19,300 14,950 15,900	upplies, trave ances to men e under the G eased night all o members on , value of aces, and all oth eal to the other draughtsmen,	tationery and expenses, allow No. 86 (ma Act, 1926), income allowances the regulation occased membraces and miscellaneous casual clerks, is and supplies appropriately and Way and Way and Way and Way and Way and Way and Main Line wance to expenses to expenses and allowance to expenses and main Line wance to expenses and Main Line wance to expenses and Main Line	sistance, s' ances and Regulation Railways a members a excess of due to de seen experthe vote—Lighting and Salaries of and typist Stationery at Telephone su Travelling ex Working-expen Maintenance of Salaries—4 at £800 Section—Kaihu Gisborne North Isla South Isla Westport Nelson Picton Special allows						
		3,000 1,100 115 890 3,200 6,250 16,600 606,100 539,400 19,300 14,950 15,900 Smith for	upplies, trave ances to men e under the G eased night all o members on , value of ac- s, and all oth cal to the other draughtsmen,	tationery and expenses, allow No. 86 (ma Act, 1926), income allowances the regulation occased members of miscellaneous casual clerks, is and supplies appropriately and Way and Way and Way and Way and Main Line an	sistance, s' ances and Regulation Railways a members a excess of due to de seen expen the vote— Lighting and Salaries of and typist Stationery at Telephone su Travelling ex Working-expen Maintenance of Salaries— 4 at £800 Section— Kaihu Gisborne North Isla South Isla Westport Nelson Picton Special allo originating Estimat						
	1,221,700	3,000 1,100	upplies, trave ances to men e under the G eased night all o members on , value of ac- s, and all oth cal to the other draughtsmen,	tationery and expenses, allow No. 86 (mand Act, 1926), income allowances the regulation occased member of miscellaneous casual clerks, and supplies and supplies appropriate of Way and Way an	sistance, s' ances and Regulation Railways a members a excess of due to de seen experthe vote—Lighting and Salaries of and typist Stationery at Telephone su Travelling ex Working-expen Maintenance of Salaries—4 at £800 Section—Kaihu Gisborne North Isla South Isla Westport Nelson Picton Special alloweriginating Estimat the F						
	1,221,700	3,000 1,100 1,15 890 3,200 6,250 16,600 66,100 19,300 19,300 19,300 11,950 Smith for see end of £11,000	upplies, trave ances to men e under the G eased night all o members on , value of ac- s, and all oth cal to the other draughtsmen,	tationery and expenses, allow No. 86 (mand Act, 1926), income allowances the regulation occased member of miscellaneous casual clerks, and supplies and supplies appropriate of Way and Way an	sistance, s' ances and Regulation Railways a members a excess of due to de seen experthe vote—Lighting and Salaries of and typist Stationery at Telephone su Travelling ex Working-expen Maintenance of Salaries—4 at £800 Section—Kaihu Gisborne North Isla South Isla Westport Nelson Picton Special alloweriginating Estimat the F						

	 _	WORKING RAILWAY	S ACC	COUNT—c	continued.			
Number of Persons.	Item.	VOTE No. 78.—WORKING	RAILV	VAYS—cor	itinued.	1928-2	928–29.	
1928–29.	3	BRANCH EXPENDITURE—con	tinued.		-			
		Maintenance Branch (Sign	als)—			£	•	
		General Superintend	dence: 1	Salaries.				
		Subdivisio						
1	i	1 at £925 (Signal and Elec-	trical E	ngineer)		925		
1		1 at £800 (Assistant Signal Grade I—	and El	ectrical E	ngineer)	800		
1		1 at £565	•••	•••		565		
3		Grade II— 3 at £515				1,545		
		Grade III—		•••	£	_,,,		
2		1 at £470 1 at £445	•••	•••	470 445			
		Grade V—		•••		915		
2	i	2 at £355 Grade VI—	•••	• • •	•••	710		
4	:	4 at £335		• • •		1,340		
		Grade VII— 1 at £295			295			
		1 at £250			250			
	ļ	1 at £230 1 at £210	• • •	• • •	230 210			
5	1	1 at £190	•••		190			
		Grade VIII— 1 at £155			155	1,175		
2	1	1 at £125			125			
21						280		
	_	Contingencies—				8,255		
		Salaries of casual staff Stationery and supplies	•••	• •	450 1,050			
		Travelling-expenses	•••		800			
			1			2,300		
					ļ	10,555		
		Working-expenses of Section	ns		İ			
		Maintenance of Signals and	Electric	cal Applian				
		Section— Kaihu		•	£ 50)		
		Gisborne			200			
		North Island Main Line South Island Main Line			61,000 40,500	-102,800		
		Westport	• • •		750			
		Nelson Picton	•••	•••	150 150	-		
		Estimated credits-in-	aid un	low Costion				
		the Public Revenu						
		vote)	•••	•••	£155			
						113,355		
		Locomotive Branch—						
		General Superin	tendence	: Salaries	•			
		Subdivis	sion I.					
	1	Class II— 1 at £1,200 (Chief Mech	nanical I	Engineer)	•••	1,200		
		Subdivis	ion II.					
		1 at £1,000 (Superinter	ndent of	Work-	£			
	$_2$	shops) 1 at £900 (7 months), £	950 (5 r	nonths).	1,000			
		(Assistant Chief Mech	anicàl I	Ingineer)	921			
	T					1,921		

${\tt WORKING \quad RAILWAYS \quad ACCOUNT-} continued.$

Number of Persons.	Item.	VOTE No. 78.—WORKING I	RAILWA	YS—co	ontinued.	1928-	-29.
1928–29.	3	Branch Expenditure—contin	ued.				
		Locomotive Branch—contin	ued.			£	£
		General_Superintendence:	Salaries	-contin	Бац		
		, -			uea.		
		Subdivision II—	сопиниеа	•	•		
1		Special Grade I 1 at £765 .				765	
		Special Grade II—	••	• • •		100	
2		2 at £715 $-$ Grade I $-$	••	•••	•••	1,430	
2		2 at £615 .			•••	1,230	
		Grade II—			£		
4		1 at £515 3 at £490 $.$	••	•••	$515 \\ 1,470$		
		Grade III—				1,985	
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	••	•••	$940 \\ 445$		
		Grade IV—	••	•••		1,385	
4		4 at £425 $$			•••	1,700	
		1 at £380	••	•••	380		
2		1 at £355 .	••		355	705	
		Grade VI— 1 at £335			335	735	
6	!	5 at £320 .	••	•••	1,600		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$			590	1,935	
		4 at £275	••		1,100		
8		2 at £230 Grade VIII—	••	•••	460	0.150	
		2 at £135	•••		270	2,150	
		1 at £125		•••	125		
6		2 at £115 1 at £80	••		230 80		
<u></u>	- i	_ 33 35 5				705	
41						17,141	
		Contingencies—			£	,	
		Salaries of casual staff . Stationery and supplies .	••		$3,500 \\ 1,500$		
	i	Travelling allowances and	expenses		1,600		
		Telephone subscriptions .	••	• • • •	100	6,700	
						23,841	
		Working-expenses of Sections-			£ D-11:		
		Locomotive Transportation and stock—	i mannier	iance o	, Kouing-		
		Section—			£		
	1	Kaihu Gisborne	· · ·	•••	$3,130 \\ 18,630$		
		North Island Main Line a	nd Branc	ches 1	,780,850		
		South Island Main Line a	nd Branc			3,069,900	
		Westport Nelson	•••	• • • •	39,850 15,630		
		Picton		•••	13,660		
		Allowance to enginemen as Rimutaka Incline	nd fireme 	en emp	oloyed on	200	
			A	Q.c.L.		-55	
		Estimated credits-in-ai the Public Revenues					
		vote)	•••	•••	£6,500		
						3,093,941	
						5,000,011	

WORKING RAILWAYS ACCOUNT—continued.

		WORKING RAILWAYS ACCOUNT—continu	ed	
Number of Persons.	Item.	VOTE No. 78.—WORKING RAILWAYS—continued	. 1928	-29.
1928–29.	3	Branch Expenditure—continued.		
		Traffic Branch—	£	£
		General Superintendence: Salaries.		
		Subdivision I.		
		Class II—		
2		2 at £1,000 (General Superintendent of Transportation and Operating and Equipment Assistant).		
	!	Subdivision II.		
1		1 at £850 (Commercial Manager) Grade II—	. 850	
4	Ì	4 at £515	. 2,060	
3		Grade III— 3 at £470	. 1,410	
J		Grade IV—		
6		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
o o		Grade V—	- 2,525	
11		8 at £380 3,04 3 at £355 1,06		
		Grade VI—	4,105	
5		5 at £335	. 1,675	
. 5		5 at £295	. 1,475	
1		Grade VIII— 1 at £115	. 115	
38			16,215	
		Salaries of casual business agents, office assistants, tabulating machinists, and ticket sorters 5,70 Stores, stationery, and supplies 5,00 Travelling allowances and expenses 4,50 Water, light, and power 25 Printing and advertising 5,00 5,00	20,450 36,665 3,200 1,770,700	
		Estimated credits-in-aid under Section 51 the Public Revenues Act, 1926 (see end vote) £14,20	of	
		Total Working Expenses of Sections .	6,255,868	

Number f Persons.	Item.	NOTE No. 70 WODELN	n Datt W	. 37 Cl		1928-	29.
.928 -29.	4	VOTE No. 78.—WORKING SUBSIDIARY SERVICES—	л KAILW	115—cc	munued.	£	£
		"	•				
		Lake Wakatipu Steamers— Salaries and wages	-		£ 7,200		
		Coal and stores			6,000		
		Other charges	•••	• • •	3,600	16,800	
		Refreshment Rooms: Salar	ries—		-	10,800	
		Subdivisi					
		Special Grade II—				•	
1		1 at £715	•••	• • •		715	
1		Grade III— 1 at £470				470	
1		Grade IV—	•••	•••	•••	410	
1		1 at £425		•••		425	
6	:	Grade VI 6 at £335				2,010	
Ū		Grade VII—	•••	***	£	2,010	
0		7 at £295		• • •	2,065		
8		1 at £190 Grade VIII—			190	2,255	
		1 at £135			135	2,200	
0		1 at £95	•••	•••	95		
3		1 at £80	•••	•••	80	310	
20							
	1 1	Wages, stores, provisions,	and contin	anning		6,185 110,155	
		wages, stores, provisions,	and contin	Sencies	•••	110,100	
						116,340	
		Advertising Service: Salar					
		Subdivisi	on II.				
1	'	Special Grade III— 1 at £665			1	665	
1		Grade IV—	•••	•••	•••	000	
1		1 at £425	•••	•••		425	
		Grade VII— 1 at £320			£ 320		
7		6 at £295		• • •	1,770		
•		Grade VIII-				2,090	
		1 at £190 2 at £115	•••	•••	190 230		
			•••	•••	95	1.	
		186290			T I		
5		1 at £95 1 at £80		•••	80		
	-	1 at £80 Lodging-allowances—		•••		595	
5		1 at £80				595 35	
		1 at £80 Lodging-allowances— 1 at £35		•••			
		1 at £80 Lodging-allowances—				35	
		1 at £80 Lodging-allowances— 1 at £35				35 3,810 49,390	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies Departmental Dwellings—				35 3,810 49,390 53,200	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies				35 3,810 49,390	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies Departmental Dwellings— Maintenance, repairs, and Refreshment-room Buildings	d renewals s, <i>Bookstall</i>			35 3,810 49,390 53,200 164,200	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies Departmental Dwellings— Maintenance, repairs, and	d renewals s, <i>Bookstall</i>	 		35 3,810 49,390 53,200	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies Departmental Dwellings— Maintenance, repairs, and Refreshment-room Buildings Maintenance, repairs, and Road Motor Services—	d renewals s, <i>Bookstall</i> d renewals			35 3,810 49,390 53,200 164,200	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies Departmental Dwellings— Maintenance, repairs, and Refreshment-room Buildings Maintenance, repairs, and	d renewals s, <i>Bookstall</i> d renewals			35 3,810 49,390 53,200 164,200	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies Departmental Dwellings— Maintenance, repairs, and Refreshment-room Buildings Maintenance, repairs, and Road Motor Services—	d renewals s, <i>Bookstali</i> d renewals			35 3,810 49,390 53,200 164,200	
		1 at £80 Lodging-allowances— 1 at £35 Wages and contingencies Departmental Dwellings— Maintenance, repairs, and Refreshment-room Buildings Maintenance, repairs, and Road Motor Services— Maintenance and operation	d renewals s, Bookstali d renewals n Services			35 3,810 49,390 53,200 164,200 10,320 124,500	

Number Persons.	Item.	MODE N. TO MODELING BATTERING	, 1928-	1928–29.	
	_	VOTE No. 78.—WORKING RAILWAYS—continue	a		
928–29.	4	RENEWALS AND DEPRECIATION FUND—	£	£	
		Renewal and depreciation of track, bridges, way and works, rolling stock, road motors, workshops, &c 250,00 Rolling stock, machinery, plant, buildings, bridges, and other assets written off to credit of capital as being worn out, abandoned, destroyed, or obsolete in the services of the Railway Department 100,00	00		
		350,00	00		
		Less credits provided for in other items 630,00	$\begin{array}{c c} 00 & \\ - & Cr. \ 280,000 \end{array}$		
		Betterments Fund—	27. 200,000		
		Improvements of way and works rolling stock, a freshment-rooms, &c	50,000		
		Insurance and Equalization Funds— Replacement of buildings and other property destroyed by fire, upkeep of fire brigades, workers compensation for accidents, slips, floods, and accidents, &c 60,00 the strength of			
		Credits on account of internal adjustment of intereat and rent	Cr. 20,000 Cr. 150,000		
		Total Renewals, &c., Funds	\cdots $Cr. 400,000$		
2	5	STORES BRANCH— £ Comptroller of Stores 900 Assistant Comptroller of Stores 615 ————————————————————————————————————	5		
		Purchase of stores and material and store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, contingencies 2,215,00			
		2,216,51 Less estimated credits for stores to be issued, provided for in other votes and items 2,166,51			
			50,000		
		STATE SAWMILLS— Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies—			
		Mamaku Sawmill 35,00 Pukete Timber Reserve 90 Maroa Timber Reserve 1,60 Pokako Timber Reserve	00		
		Erua Timber Reserve Frankton Junction Sawmill and Timber-yard 117,50	!		
		Less estimated credits 92,50			
	1		20,000		

WORKING RAILWAYS ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 78.—WORKING RAILWAYS—continued.	1928–29.		
1928-29.				0	
	5	Amount required for purchase of land on behalf of employees under the workshops reorganization scheme 40,000 Advances on account of purchase of	£	£	
		houses for employees in connection with workshops reorganization scheme 20,000	60,000		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote) £44,000	,		
		Amount required to cover cost of material and work done for departmental and other accounts	1,150,000		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote) £1,150,000			
		Gross Total		7,898,337	
		Credits-in-aid (a)		1,227,000	
		NET TOTAL—VOTE No. 78		6,671,337	

(a) Credits-in-aid—

						1928-29.
						£
Head Office		• •		• •	• •	1,145
	e of ways a					11,000
	e of signals		• •			155
Locomotive	e transporta	tion, &c.				6,500
	sportation		• •			14,200
	reorganizat					44,000
Material, &	c., for depa	rtmental an	d other acc	\mathbf{counts}		1,150,000
	Total					1,227,000

POST OFFICE ACCOUNT.

			•			19	928-29.	
			_		Salaries	s. Ot	her Charges.	Total.
Vote No. 79).—Po	st and Teleg	graph Working-exp	enses—	£	<u> </u>	£	£
Subdivision	n I	-Post and T	elegra ph Sal aries		1,732,7	782	•••	1,732,782
,,			of Ocean Mails				91,058	91,058
,,			of Inland Mails				144,150	144,150
,,	IV	-Carriage of	Mails by Railway		•••		114,600	114,600
,,	V		ce of Tel egra p h an	nd Tele-			98,100	98,100
		_ phone La			•••		50,000	50,000
,,		- $Depreciation$		• •	•••		84,000	84,000
23			rice and Workshops	• •	•••	- 1	342,979	342,979
,,	VII	Miscellane	ous Services	• •				
C	ROSS .	FOTAT			1,732,	782	92 4 ,887	2,657,669
G	RUBB.	IOIAL	••	• •				40= =00
Cr	REDITS	-IN-AID			85,	500	42,200	127,700
N	ET T	OTAL		• •	1,647,	282	882,687	2,529,969
Number of Persons.	Item.	VOTE	No 79.—POST WORKING-E			APH	199	28–29.
		Subdivisi	on No. I.—Postal	and Tele	egraph Sa	laries.		
	1	*Salaries						
			Administrati	ve Divis	ion.			İ
						£		
			300 (Secretary)	. 1 77		1,300		
			250 (Chief Telegra			1,250		
4			050 (First Assista 50 (Second Assista			1,050 950		
-		1 40 200	,o (2000)14 11501514	ar Sociot	<i>x</i> 1 <i>y</i> /		$-\frac{1}{4,55}$	0
		CLI	erical and Engin	EERING 1	Oivisions.			
		Class S	necial					
		1 at £				950		
		1 at £				875		i
		1 at 4				850		
		1 at £		•••	•••	825		Ì
		3 at 4		•••		2,372		ĺ
		3 at 4		•••		2,295		
		2 at 4			•••	1,430		
27		15 at 4	600	• • • •	•••	9,975	10 57	0
		Class I	rea_erons				19,57	4
		20 at				12,300		
34		14 at	£565			7,910		
							- 20.21	0

^{*} For particulars of salaries see "Post and Telegraph Classification List."

NOTE.—Scale salaries or wages include cost-of-living increase.

Class II— 18 at £515

18

20,210

9,270

${\bf POST\ OFFICE\ ACCOUNT-} {\it continued}.$

Number of Persons.	Item.	VOTE No. 79.—POST AND TELEGRAPH WORKING-EXPENSES—continued.				1928-29.	
1928–29.		Subdivision No. I.—Post				£	£
			ai ana Leteyri	ирп Биш	res—cou.	20	٠.
	1	SALARIES—continued.			, ,		
		CLERICAL AND ENGINE	ERING DIVIS	ions—coi	itinued.		
45		Class III— 45 at £470				21,150	
		$Class\ IV$ —					
91		91 at £425 Class V—	•••	•••	•••	38,675	
16 5		165 at £380	•••			62,700	
332		Class VI— 332 at £335				111,220	
002		Class VII—	•••	•••	€	111,220	
		1,972 at £295 147 at £275	•••	•••	581,7 4 0 40,425		
		109 at £250	•••	•••	27,250		
		81 at £230	•••	•••	18,630		
		77 at £210 40 at £190	•••	•••	$16,170 \mid 7,600 \mid$		
		122 at £155	•••		18,910		
		115 at £135	•••	•••	15,525		
	i l	104 at £115 25 at £95	•••	•••	$\frac{11,960}{2,375}$		
2,873		81 at £80	•••	•••	6,480		
		GENER	AL DIVISION.			747,065	
						. 1	
		Fem.	ale Officers.		-		
33		33 at £275				9,075	
		Class III—					
27		27 at £245 Class IV	•••	•••	•••	6,615	
		37 at £225	•••	•••	8,325		
75		38 at £215 Class V—	•••	•••	8,170	16,495	
		1 at £194		•••	194	10,100	
16 4		163 at £185	•••	•	30,155	20. 240	
		Class VI— 186 at £150			27,900	30,349	
		6 at £135	•••	•••	810		
		2 at £122	• • • •	•••	244		
		7 at £109 1 at £100	•••	•••	763 100	·	
		9 at £96	2 1 2 2 1 2	•••	864		** .
217		6 at £83	•••	•••	498	91 170	
		SHORTHAND-WRITERS,	Тургама Амі	n Magur	NIOTIC	31,179	
			LIFISIS, ANI	D MIAOHI.	MIBIB.		
3		Class Special— 3 at £245				735	
J		Class I—		•••		İ	
13		13 at £225 Class II—	•••	•••	•••	2,925	
16		16 at £205	•••	•••		3,280	
		Class III—			0 555		
		15 at £185 9 at £175	•••	•••	$\begin{bmatrix} 2,775 \\ 1,575 \end{bmatrix}$		
		7 at £160	•••	•••	1,120		
		16 at £145		•••	2,320		
		11 at £130	•••	•••	1,430		
		16 at £115 18 at £105	•••	•••	1,840 1,890		
	1 1			• • • •			
	:	26 at £90	•••		2,340	Į.	

POST OFFICE ACCOUNT—continued.

Number	Item.					1000	20
of Persons.	Ttem.	VOTE No. 79—POST AND TEXPENSES—			RKING-	1928-	-29.
1928–29.		Subdivision No. I.—Postal —contin		graph S	alaries	£	£
	1	Salaries—continued.		•			
		GENERAL DIVISIO	n-contin	nued.			
		Male Off	icers.				
8		Class I— 8 at £430				3,440	
			•••	•••		0,110	
13		Class II— 13 at £390				5,070	
10		• •	•••	•••	•••	3,010	
48		Class III— 48 at £355				17,040	
75		Class IV—				04 975	
75		75 at £325	•••	•••	•••	24,375	
371		Class V— 371 at £295				109,445	
011			•••	•••		100,110	
		Class VI— 16 at £275			£		
		4 at £270	• • •	•••	4,400 1,080		
426		406 at £265	•••		107,590		
		Class VII—				113,070	
		1,021 at £240			245,040		
		47 at £220	•••	•••	10,340		
		37 at £207	•••	•••	7,659		
		74 at £194	•••	•••	14,356		
		60 at £181		•••	10,860		
		69 at £148	•••	• • •	10,212		
		245 at £122 383 at £109	• •	•••	$29,890 \\ 41,747$		
		520 at £96		•••	49,920		
		230 at £83	•••		19,090		
2,739		53 at £70	•••		3,710		
	į.	Massage hove and girls				442,824	
837		Message boys and girls— 837 at £57	•••	•••	•••	47,709	
8,787		New stations, telegraphists	. cadets.	messen	gers, and		
	-	training cadets	··•	•••	•••	3,000	
						1,917,453	
		Less salaries provided but a Amount unexpended owing being payable for period	ng to incr	ements	£	, ,	
		twelve months Amount unexpended owin			33,940		
		leave without pay; (2 half or without pay					
		Amount to be expended	 l on Te	legraph	17,851		
		and Telephone const					
		to be charged to vo Extension, Public Wor			215,000		
						266,791	
		Estimated credits-in-aid Public Revenues Act Post-office Savings-bar	, 1926 (s	ee end of	f vote)— £		
		expenses	•••	***	85,500		
	1					1,650,662	
	1	I				i ————	

POST OFFICE ACCOUNT—continued.

Number of Persons.	Item.		1928–29.		
1928–29.	-	VOTE No. 79.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	£	£	
		Subdivision No. I.—Postal and Telegraph Salaries—etd.	æ		
	1	Salaries—continued.			
		GENERAL DIVISION—continued.			
		Allowances— Forage	600		
	į ;	Locality	120		
		Lodging	7,000		
		Miscellaneous	5,000		
	: [Contribution to Railways Department for combined	•		
		Post-Telegraph-Railway Offices Married Officers: To provide a minimum of salary	10,000		
•	i	£209 15s. per annum	1,400		
		and telephonists, payable by salary (number, 1,627) Salaries of Medical Referees	57,500 500		
			82,120		
		Total—Subdivision No. I		1,732,782	
		Subdivision No. II.—Conveyance of Ocean Mails.			
	2	Charges for and incidental to— Pacific Services—			
	!	North American overland and Atlantic transit—	i		
	:	Canada	5,000		
		United States of America	9,000		
	:	Resident Agency, San Francisco	548		
	1	New Zealand – San Francisco service	27,000		
		Travelling expenses and allowances to officers em-			
		ployed in the Marine Post-office in the Vancouver and San Francisco services	1,100		
		New Zealand – Vancouver service	20,000		
		Canal zone transit to Central and South America	10		
		Great Britain land transit	400		
			63,058		
		Eastern Services—			
		Land and sea transit, including Africa,			
	,	India, and Australia 1,400			
	į	Great Britain 300	1 500		
		Custoities landing and chinning	1,700		
		Gratuities, landing, and shipping Postal Union transit charges	26,000 300		
			28,000		
	i	Estimated credits-in-aid under Section 51 of the			
	1	Public Revenues Act, 1926 (see end of vote)—			
		Department of Industries and Com-			
	İ	merce— £			
		New Zealand – San Francisco service 12,500 New Zealand – Vancouver service 10,000			
		116 11 Zicalada - 1 anticou 101 Sci 1100 10,000			
		22,500			
		Total—Subdivision No. II		91,058	

POST OFFICE ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 70 DOCK AND THE HODARD	1928–29.	
1928–29.	- 	VOTE No. 79.—POST AND TELEGRAPH WORKING-EXPENSES—continued.		
			£	£
		Subdivision No. III.—Conveyance of Inland Mails.		
	3	CHARGES FOR AND INCIDENTAL TO-		
	_	Auckland	19,850	
		Blenheim	3,450	
		Christchurch	13,000	
		Dunedin Gisborne	8,000 9,000	
		Greymouth	2,550	
		Hamilton	14,500	
		Invercargill	6,900	
		Napier	7,000	
		Nelson New Plymouth	7,950	
		Oamaru	5,000	
		Palmerston North	8,650	
		Thames	6,500	•
		Timaru	7,000	
		Wanganui	9,800	
		Wellington Wesport	9,000 2,100	
		New services, &c. (all districts)	2,000	
, ,		Estimated credits-in-aid under Section 51 of the	_,,,,,	
		ments for mail services $2,400$ Subsidies by settlers $1,900$ $4,300$ Total—Subdivision No. III		144 151
		Total—Subaivision No. 111		144,150
			•	
		Subdivision No. IV.—Carriage of Mails by Railway.		
	4	CHARGES FOR AND INCIDENTAL TO-		
		Carriage of Mails by Railway—		
		Ordinary mails	114,400	
		Special trains and trucks	200	
	.	Total—Subdivision No. IV		114,60
				,
		·· :		
		the contract of the contract o		
		Subdivision No. V.—Maintenance of Telegraph and Telephone Lines.		
	5			
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs	1,000	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs Camp allowances	1,000	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs Camp allowances Extra labour	1,000 185,000	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs	1,000 185,000 60,000	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs Camp allowances Extra labour Material for repairs Rural telephones (assistance to settlers)	1,000 185,000	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs	1,000 185,000 60,000	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs	1,000 185,000 60,000 100 7,000	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs	1,000 185,000 60,000 100	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs	1,000 185,000 60,000 100 7,000 254,100	
	5	Telephone Lines. CHARGES FOR AND INCIDENTAL TO— Maintenance of Telegraph and Toll Lines, Wireless and Telephone Exchange Systems— Cable repairs	1,000 185,000 60,000 100 7,000	

Appropriations for Post Office Account.

${\bf POST\ OFFICE\ ACCOUNT--} continued.$

Number of Persons.	Item.		1928	-29.
1928–29.		VOTE No. 79.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	·	
		Subdivision No. VI.—Depreciation Fund.	£	£
	6	CHARGES FOR AND INCIDENTAL TO— Renewal and replacement of departmental assets	50,000	
		Total—Subdivision No. VI		50,000
	į,	Subdivision No. VII.—Motor Services and Workshops.		
	7	CHARGES FOR AND INCIDENTAL TO— Motor Services, &c.—		
		Allowance to officers using their own bicycles, and to motor-cycle riders Purchase of—	3,500	
	:	Motor vehicles and bicycles	30,000	
		Motor accessories	14,000 33,000	
		Repairs and hire	8,000	
		Wages of mechanics, chauffeurs, &c Workshops—	8,000	
		Material	6,000	
		Wages of mechanics, &c	10,000	
		Miscellaneous	1,500	
		Tors amount to be some did no telement and	114,000	
		Less amount to be expended on telegraph and telephone construction works	30,000	
		Total—Subdivision No. VII		84,000
		Subdivision No. VIII.—Miscellaneous Services.		
	8	CHARGES FOR AND INCIDENTAL TO— Allowances—	4 500	
		Calculation of Savings-bank interest Savings-bank tellers	4,500 1,000	
		The street and Catherine	5,500	
		Furniture and fittings— Purchase of	3,500	
		Repairs to	1,500	
	"		5,000	
		Office Management Expenses—		
	1	Advertising, photographs, books, newspapers, and	500	
		other publications Audit fees	500 325	
	1 : 1	Bank exchange, commission, discount, and stamp	520	
	į	duty	1,000	
	:	Cleaning and scavenging Cost-of-living bonus to annuitants, Public Service	14,500	
	-	Superannuation Fund, and increased pensions to		
	1 (3)	widows and children High Commissioner's Office—	5,013	
		Clerical work, printing, stationery, postages,		
		bills of lading, rent, &c	860	
		Home savings-boxes, purchase of	900	

Appropriations for Post Office Account.

POST OFFICE ACCOUNT—continued.

Number of Persons	Item.	WOMEN TO DOOM AND THE HODARY WORKING	1928-	-29.
1928-29.	-	VOTE No. 79—POST AND TELEGRAPH WORKING- EXPENSES—continued.		
		Subdivision No. VIII.—Miscellaneous Services—contd.	£	£
	8	CHARGES FOR AND INCIDENTAL TO—continued.		
•		Office Management Expenses—continued.		
		Law-costs	150	
	:	Light, fuel, and water	21,000	
		Mail-bags, purchase and repair of Motor-plates in connection with registration of	5,000	
		motor-vehicles (recoverable)	11,000	
		New Zealand's share of the cost of International	11,000	
		Postal and Telegraph Bureaux, Berne	607	
		Office expenses	6,000	
		Postal Receiving-boxes, supply of	250	
		Public Service Superannuation Fund contribution Rent of buildings leased for post and telegraph	32,319	
		offices, &c of the control of t	8,250	
		Stamps, production of	10,750	
	1	Stationery, printing, and binding	55,000	
		Temporary exchange attendants	7,700	
		Temporary officers, postmen, messengers, and	15 000	
		general division	15,000	
			196,124	
		Overtime and meal allowances	35,000	
		Parcel-post expenses	32 ,000	
		Sundry Charges— Allowance to officers acting in higher position during absence of Chief Telegraph Engineer at Radio Conference Cash deficiencies— Amount misappropriated by Postmaster, Whaka-	328	
	!	para	1	
		Amount misappropriated by Postmaster, Ngongo-	051	
		taha Loss of cash on destruction of Strathmore Post-	254	
		office premises by fire	$_2$	
		Loss of cash on destruction of Mercer Post-office	-	
		premises by fire	2	
		Loss of cash on destruction of Upper Kahui	3	
		Post-office premises by fire Loss of cash through burglary, Kumeu Post-office	9	
		premises	23	
		Loss of remittance through mail-bag being lost in		
		transit from Patearoa to Dunedin	65	
	1	Loss of remittance apparently through mail-box	00	
	ļ	at Kahou Bridge being destroyed by fire Refund of amount alleged to have been paid to an	80	
		ex Departmental officer	5	
		War-loan certificates cashed after having been		
		reported lost	20	
		Compassionate allowances to widows or depen-	1 500	
		dants of officers (9), (deceased)	1,588	
		Compensation for articles lost or damaged during transmission by post	300	
	ļ	Expenses in connection with Post and Telegraph	000	
		Board of Appeal	350	
		Maintenance of Post and Telegraph buildings	30,000	

Appropriations for Post Office Account.

POST OFFICE ACCOUNT -continued.

Number of Persons.	Item.	VOTE No. 79.—POST AND TELEGRAPH	1928	3–29.
1928–29.		WORKING-EXPENSES—continued. Subdivision No. VIII.—Miscellaneous Services—contd.	£	£
	8	Charges for and incidental to—continued. Sundry Charges— Payment of accident expenses, &c., not provided for under Workers' Compensation Act Pensions Department: Grants to retired officers to bring superannuation allowances up to £52 per annum Compensation for injuries sustained under the Workers' Compensation Act	1,289 245 2,000	
•			36,555	
		Travelling-expenses, &c.— Inspection of offices Railway travelling post-offices allowances Relieving-expenses Removal expenses Travelling expenses, allowances, and tram-fares	3,000 3,300 3,000 4,000 5,000	
			18,300	
		Typewriters and mechanical appliances: Purchase Typewriter repairs	4,000 500	
			4,500	
		Uniform clothing	10,000	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Savings-bank management expenses 14,500 Sale of home savings-boxes 900		
				240 070
		Total—Subdivision No. VIII		342,979
		GROSS TOTAL	•••	2,657,669
		CREDITS-IN-AID (a)	•••	127,700
		NET TOTAL—VOTE No. 79		2,529,969

(a) Credits-in-aid---

Subdivision I ,, II	Salaries. £ 85,500	Charges, £ 22,500 4,300	1928-29. £ 85,500 22,500 4,300
" VIII		15,400	15,400
Totals	85,500	42,200	127,700

Appropriations for Public Trustee's Account.

PUBLIC TRUSTEE'S ACCOUNT.

			1928–29.			
•			Salaries.	Other Charges.	Total.	
Vote No. 80.—Public Trust	Office—	-	£	£	£	
GROSS TOTAL	. • •	• •	 197,650	54,463	252,113	
CREDITS-IN-AID			 •••			
NET TOTAL	••		 197,650	54,463	252,113	

1 SALARIES	(umber Persons.	Item.	Chargeable on th	ne Public Trusto	ee's Acco	unt.	1928-	2 9.
1 *Salaries—	928-29.		VOTE No. 80.—	PUBLIC TRU	ST OFFI	CE.		£
Unclassified 1 at £1,400 (Public Trustee) 1,400 2 at £1,000 (Assistant Public Trustees) 2,000 1 at £500 (Financial Adviser) 500 3,900	ļ	1	*SATADIDG				æ	æ
4 1 at £1,400 (Public Trustees) 1,400 2 at £1,000 (Assistant Public Trustees) 2,000 1 at £300 (Financial Adviser) 500 PROFESSIONAL DIVISION. 1 at £800 (Chief Accountant) 850 1 at £850 (Controller, Estates Division) 850 1 at £800 (First Assistant Solicitor) 800 3 at £765 (Assistant Solicitors) 2,295 Class A— 715 1 at £715 715 1 at £655 665 4 at £615 2,460 Class B—		1		INCLASSIFIED.		£		
A	,							
Tat £500 (Financial Adviser)					tees)			
PROFESSIONAL DIVISION.	4				•			
PROFESSIONAL DIVISION. 1 at £900 (Solicitor to Public Trust Office) 1 at £850 (Chief Accountant) 850 1 at £850 (Controller, Estates Division) 850 1 at £800 (First Assistant Solicitor) 800 3 at £755 (Assistant Solicitors) 2,295 5,695 1 at £715 715 1 at £665 665 665 4 at £615 2,460 2,460 665			•	·			3,900	
1 at £850 (Chief Accountant) 850 1 at £850 (Controller, Estates Division) 850 1 at £800 (First Assistant Solicitor) 800 3 at £765 (Assistant Solicitors) 2,295			Profi	essional Division	ON.			
1 at £850 (Chief Accountant) 850 1 at £850 (Controller, Estates Division) 850 1 at £800 (First Assistant Solicitor) 800 3 at £765 (Assistant Solicitors) 2,295			1 at £900 (Solicito	r to Public Trust	Office)	900		
1 at £850 (Controller, Estates Division) 850 1 at £800 (First Assistant Solicitor) 800 3 at £765 (Assistant Solicitors) 2,295		١,						
7 1 at £800 (First Assistant Solicitors) 2,295 5,695 Class A— ————————————————————————————————————					vision)	1		
7 3 at £765 (Assistant Solicitors) 2,295 5,695 1 at £715 1 at £715 1 at £665 2,460 3 at £590 1,770 2 at £665 1,130 1 at £540 9 3 at £515 1 at £540 2,450 7 at £470 14 2 at £445 2 at £445 3,825 1 at £400 1 at £400 1 at £400 1 at £815 2 at £445 380 Class D—			1 at £800 (First A	ssistant Solicitor	:)			
Class A	7				•	2,295		
6	•			,			5,695	
6	Ì	Ì	1 at £715	•••	•	715		
Class B 3 at £590 1,770 2 at £565 1,130 1 at £540 1,130 1 at £540 1,545 Class C 2,450 7 at £470 3,290 3,825 1 at £400 400 400 380 6,630 380 6,630 4,605 6,630 6,63				•••	•••			
Sat £590 1,770 2 at £565 1,130 1 at £540 540 3 at £515 1,545 Class C—	6	ļ		•••	•••	2,460		
9							3,840	
9				•••	•••			
9				•••	•••			
Class C	_			***	•••			
14 5 at £490 2,450 7 at £470 3,290 2 at £445 890 Class D— 3,825 1 at £400 400 1 at £380 380 CLERICAL DIVISION. Class Special— 1 at £815 815 5 at £765 3,825 1 at £715 715 9 at £665 5,985 Class I— 11,340 7 at £615 4,305 1 at £590 590 5 at £565 2,825 Class II— 7,720 11 at £515 5,665 3 at £490 1,470 Class III— 8 at £470 3 at £445 1,335 Class IV— 5,095	9			•••	•••	1,040	4 005	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$						9. 450	4,980	
14 2 at £445 890 6,630 9 at £425 3,825 1 at £400 400 11 1 at £380 380 4,605 CLERICAL DIVISION. Class Special— 1 at £815 815 5 at £765 3,825 1 at £715 715 9 at £665 5,985 Class I— 4,305 1 at £590 590 1 at £565 2,825 Class II— 7,720 14 3 at £490 1,470 Class III— 7,135 8 at £470 3,760 11 3 at £445 1,335 Class IV— 5,095			1		•••			
Class D-	14	1			•••			
11	7.2			•••	•••		6 630	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$						3.825	0,000	
11				•••				
CLERICAL DIVISION. Class Special— 1 at £815	11			•••	•••			
Class Special— 1 at £815							4,605	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$			· ·	ERICAL DIVISION				
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$								
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$				•••	•••		Ì	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$				•••	•••			
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	7.0			***	•••			
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	16	1		•••	•••	5,985	11 040	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$						4 205	11,340	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$		-		•••	•••	4,505		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	19							
11 at £515 5,665 3 at £490 1,470 Class III— 8 at £470 3,760 3 at £445 1,335 Class IV— 5,095	19			•••	•••	4,620	7 790	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$						5 665	1,120	
$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	14			•••				
11 8 at £470 3,760 3 at £445 1,335 Class IV— 5,095	14			•••	•••	-, -, 0	7,135	
11 3 at £445 1,335 Class IV— 5,095		i		***		3.760	.,200	
Class IV— 5,095	11			•••				
					***		5,095	
17 at £425 $7,225$			17 at £425	•••	•••	7,225	,	
20 3 at £400 1,200	20			•••				

^{*} For particulars of salaries see "Public Service (Massification List." NOTE.—Scale salaries or wages include cost-of-living increase.

$Appropriations \ for \ Public \ Trustee's \ Account.$

		PUBLIC	TRUSTEE'S ACCOUN	NT-c	ontinued.		
Number of Persons.	Item.	VOTE No.	80.—PUBLIC TRUST continued.	OFF	ICE—	1928-	2 9 .
1928–29.	1	SALARIES cont	inued.		-	£	£
		$_{ m Cle}$	RICAL DIVISION—continue	ed.	:	æ	æ
		Class V-			£		
		34 at £380	•••	• • •	12,920		
50		1 at £370 15 at £355	•••		$\begin{bmatrix} 370 \\ 5,325 \end{bmatrix}$		
90		Class VI—	•••	•••	0,020	18,615	
		38 at £335	•••		12,730	10,010	
41		3 at £320	•••	• • •	960	40.000	
		Class VII—			12,685	13,690	
		43 at £295 33 at £275	•••		9,075	Ì	
		16 at £250		• • •	4,000		
		9 at £230	•••		2,070		
		19 at £210	•••	• • •	3,990	1	
		30 at £190 47 at £155	•••	•••	$5,700 \\ 7,285$		
		76 at £135	•		10,260		
		6 at £115	•••		690		
		1 at £95	•••	• • •	95		
316		36 at £80		• • •	2,880	* 0 =00	
			GENERAL DIVISION.			58,730	
		3 at £500	OENERAL DIVISION.		1,500		
		1 at £410	•••	• • •	410		
		1 at £380	•••	•••	380	ĺ	
		1 at £360	•••	•••	360 1,360	i.	
		4 at £340 1 at £330	•••		330		
		2 at £295	•••	•••	590	!*	
		1 at £265	•••	• • • •	265		
	-	1 at £250	•••	•••	$\begin{array}{c c} 250 \\ 490 \end{array}$!	
		2 at £245 1 at £240	•••	•••	240		
		3 at £225	•••		675	:	
•		5 at £205	•••		1,025		
		16 at £195	***	•••	3,120 3,330		
		18 at £185 2 at £175	•••		350		
		1 at £160		•••	160		
65		2 at £150	•••	•••	300		
	İ		Non-permanents.			15,135	
		1 at £475	NUN-PERMANENTS.		475	İ	
		1 at £450	•••	•••	450	j	
		1 at £425	•••		425		
		3 at £400 1 at £380	•••	•••	1,200 380		
		2 at £375	•••		750		
		1 at £364	•••		364		
	1	1 at £355	***	•••	355	1	
		4 at £350	•••	•••	1,400		•
		1 at £345 1 at £335			335		
		5 at £320	•••	•••	1,600		
		2 at £300	•••	•••	600		
		2 at £295	••	•••	590 275		
		1 at £275 4 at £260	•••		1,040		
		7 at £250	•••	•••	1,750		
		1 at £245	•••	•••	245		
		3 at £241	•••	•••	$\begin{bmatrix} 723 \\ 230 \end{bmatrix}$		
		1 at £230 1 at £219			$\begin{array}{c} 230 \\ 219 \end{array}$		
		1 at £210			210		
		3 at £208	•••		624		
		2 at £200	•••	• • •	400	1	

Number of Persons.

1928-29.

 $\begin{array}{c} 4 \\ 5 \\ 6 \end{array}$

 $23 \\ 24 \\ 25$

Item.

PUBLIC TRU	STEE'S ACCOU	NTco	mtinued.		
VOTE No. 80.—F	PUBLIC TRUST continued.	OFFI	CE—	1928-9	29.
ALARIES—continued.				£	£
Non-pei	RMANENTS— continu	$\iota ed.$	£	-	
2 at £195	***		390		
2 at £185			270		
6 at £182	•••		1,092		
9 at £169	•••		1,521	}	
7 at £156	•••		1,092	į	
1 at £145	***		145		
9 at £143			1,287	ļ	
11 at £130			1,430		
13 at £117	• • •	• • • •	1,521		
21 at £104	•••		2,184		
18 at £91	***		1,638		
12 at £78			936		
2 at £65	•		130		
3 at £52	•••		156		
				28,877	
Cadata' ladging all	anan aag			815	
Cadets' lodging-alle Allowances for pe	owances	ou biak	on dution	010	
(Public Service I	Regulations Nos. 2	or mgn	onn)	60	
Allowance to mari	iegulations Nos. 2	rida a	minimum	00	
of colors of COO	15s. per annum	vide a		20	
or salary or \$209	10s. per annum	•••	•••	20	
			ĺ	205,312	
Loggemount	morridad for and n	ot noon	inad	7,662	
Less amount p	provided for and n	ot requ	irea	7,002	
				197,650	
THER CHARGES FOR	AND INCIDENTAL	то].		
Additions, improve			ance. in-		
	ses, plant, and mo			5,000	
Advertising, photo	graphs, books n	ewspar	ers, and	,	
other publication	is	· · · · · ·		5,000	
Audit fees for inspe		•••		700	
Commission to age	ents other than ne		t officers	8,000	
Cost-of-living bon	us to annuitants.	Public	Service	,	
Superannuation	Fund, and increa	sed be	nsions to		
midema and shill		-coa po		110	

	197,000
Other Charges for and incidental to—	
Additions, improvements, repairs, maintenance, in-	
surance of premises, plant, and motor-vehicles	5,000
Advertising, photographs, books, newspapers, and	
other publications	5,000
Audit fees for inspection of accounts	700
Commission to agents other than permanent officers	8,000
Cost-of-living bonus to annuitants, Public Service	3,300
Superannuation Fund, and increased pensions to	
widows and children	110
Department of Internal Affairs on account of—	110
	5 750
Wages of custodian, messengers, charwomen, &c.	5,750
Proportion of salaries of officers in High Com-	1 000
missioner's office and proportion of rent	1,300
Proportion of salary of Lady Medical Referee	30
Honorarium of member of Investment Board	110
Legal expenses	275
Membership subscriptions to Chambers of Commerce	35
Overtime and meal allowances	400
Post and Telegraph Department for services of officers	750
Postage, telegrams, rent of boxes, freight, and cartage	3,900
Printing and stationery	6,000
Public Service Superannuation Fund contribution	2,953
m Rates	1,200
Rent	1,400
Stamp duty on receipts and cheques	950
Stores for cleaning, lighting, &c	4,000
Telephone services (including installation, extensions,	-,
maintenance, rent, and calls)	1,400
Transfer and removal expenses	1,200
Travelling allowances and expenses	3,500
Contingencies, including petty expenses, fidelity in-	0,000
surance, and sundries	500
surance, and sundries	300
	54 400
Gross Total	54,463
GRUSS LUTAL	
Charles in Air	
Credits-in-aid	**
	l

NET TOTAL—VOTE No. 80

252,113

252,113

NATIVE TRUSTEE'S ACCOUNT.

				1014 1000 10 10 1000 1000				199	28 -2 9.	
						Salari	es.	Othe	r Charges.	Total.
Vote No. 8	1.—N	ative Trus	t Office—			j	3		£	£
GR	oss T	OTAL				9.	975		3,596	13,571
Cer	מאנתים	-IN-AID					!			,
			. •	• •	•••		· 			
NE	ET TO	DTAL -	•	• •		9,	975		3,596	13,571
Number of Persons.	Item.			·					1928-	-29.
1928–29.	-	For Serv	vices charge	able on the	Native T	rustee's	Accou	nt.		
1920-29.		VOT	E No. 81.	-NATIVE	TRUS'	r off	ICE.	-	£	£
	1	*Salarie								
		OADAMI	213 * *	Unclassifi	ED.					
1		1 a.t. 4	2950 (Nativ	e Trustee) .				ļ	950	
1		Lata	5555 (14a01V	e inusicej.	••	•••		••	. 300	
			p_{RO}	- FESSIONAL I	Division					
		Class	B—		71 1 15101	•				
1		$1~{ m as} \ Class$	t £590 (Acc	ountant) .	••	• • •		•••	590	
1		1 a	t £490 (Sol:	icitor) .	••				490	
1		Class		istant Accou	intant)				425	
		7.00	0 33 120 (1100	1502110 110000		•••		•••	120	
			Cr	LERICAL DIV	ISION					
	:		Special—							
1	1	$1 \mathrm{\ a} \ Class$		outy Native	Trustee)			765	
1	!		t £380	•		•••			380	
_			VI—					£		
_			t £335			•••	1,8			
5			t £320 VII—	•	••	•••	č	320	1,660	
			t £295					395	1,000	
			t £275					275		
			t £250				2	250		
		2 a	t £190			•••		380	!	
			t £155		•	• • • •		310	l	
	!		t £135	•	••	• • • •		L35	İ	
10			t £115	•	••	•••		15	1	
10		1 a	t £80	•	••	•••		80	1,840	
			~						_,	
		0 -4 /		eneral Divi			C	300 ·		
		2 at 4 1 at 4			••	• • • •		300 380		
		1 at s		•	• • 	•••		295		
		1 at s		•				265		
		1 at £			••			225		
7		1 at £				•••		60	i	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

2,125

Appropriations for Native Trustee's Account.

NATIVE TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item.	For Services chargeable on the Native Trustee's Account	1928-2	29.
1928–29.		VOTE No. 81.—NATIVE TRUST OFFICE— continued.	£	£
			į	
	1	Salaries—continued.	i	
5		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$		
33 			750	
			9,975	
	2	OTHER CHARGES FOR AND INCIDENTAL TO-	 '	
	2	Additions, improvements, repairs, maintenance, insurance of premises, plant, and vehicles	500	
	3	Agent's Commission	25	
	4	Audit fees for inspection of accounts	5 0	
	5	Cleaning, lighting, firing, &c	150	
	6	Legal expenses	30	
	7	Maori Ethnological Research Fund, subsidy to	250	
	8	Motor-cars, purchase of	350	
	9	Native Trust Board, fees to members	30	
	10	Office equipment	100	
	11	Overtime and meal allowances	10	
	12 13	Postage, telegrams, freight, cartage, and rent of boxes Post and Telegraph Department: Payment for ser-	200	
	1	vices	125	
	14	Printing and stationery	300	
	15	Public Service Superannuation Fund contribution	166	
	16 17	Rent Telephone services (including installation, exten-	550	
	10	sions, maintenance, rent, and calls)	1305	
	18	Travelling allowances and expenses	600	
,	19	Contingencies, including unforeseen expenditure incidental to the other items of the vote	30	
	1		3,596	
		Gross Total		13,571
		CREDITS-IN-AID	•••	
	!	NET TOTAL—VOTE No. 81		13,571

GOVERNMENT INSURANCE ACCOUNT.

								1928–29.	
						Salari	es. O	ther Charges.	Total.
Vote No. 8	32.—Go	vernment	Insurance				E	£	£
G_1	Ross To	O'F A I				917	coo	TC 440	114 07
Q1	1000	JIAL	• •	• •	. •	37	,628	76,449	114,07
Cr	REDITS-	I N-A ID					100	77 5	87
N.	ет то	TAL				37	,528	75,674	113,20
Number of Persons.	Item.				.en			192	28–29.
		Charges	ble on the	Governm	ont Incu	iranga A	accunt		
1928–29.		Onargoa	inie on the	GOAGIHII	5116 1115G	II and M	.ccount.	£	£
		VOTE	No. 82.—	GOVERNI	MENT	INSUR	NCE.		æ
	1	*Salarie	78						•
	•	Onnann		NISTRATIVE	Divisio	ON.			
1		1 at	£1,100					. 1,100	0
			PRO	FESSIONAL	Division	N		İ	
		1 at	£900 (also					!	
			y to 31st						
1			num, £11)	,	•••	••••		. 91	1
			C	LERICAL D	THETON				İ
		Class	Special-	LEKICAL D	IVISION.		£		
			t £815				81	5	
		2 a	t £715		• • • •	•••	1,430)	į
4			t £665		• • •	• • •	66		
		Class					-	- 2,910)
_			t £590	.1 \ 084		•••	59		
2		l a	t £590 (4 m	ionths), £50	55 (8 mo	nths)	573	1	
		Class						- 1,163	
1	1 1		t £515 : <i>III-</i> —		•••	•••	••	. 518)
			t £470				47	n	
			t £470 (1 m	onth)	•••	•••	3		+
			t £470 (4 m		 45 (8 mc	onths)	45		
		1 a	t £470 (1 m	1000000000000000000000000000000000000	5 (11 mg)	onths)	44		
	1		t £460),		•••	92		
8	1 1		t £445				89		
	1	Class	IV—					- 3,219	3
		1 a	t £425				42	5	ĺ
			t £425 (1 n	nonth), £40	0 (11 m)	onths)	40:		1
7			t £400		• • •	•••	2,000		
		Class						- 2,827	7
			t £380	.1\ 00*	···		2,280		
7			t £380 (1 m	ionth), £35	o (11 mo	nths)	35'		,
	į l		VI—				5 00	2,637	
		15	at £335	anth) 690	 1/11	ntha)	5,026		
10			t £335 (1 m	юнын), ±320	э (тт що		$\frac{643}{320}$		
18		ıа	t £320		• • •	• • •	920	J	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

5,988

Appropriations for Government Insurance Account.

${\tt GOVERNMENT\ INSURANCE\ ACCOUNT-} {\it continued}.$

f Persons.	Item.				1	1928-9	29.
928–29.	. 	VOTE No. 82.	.—GOVERNMENT : continued.	INSURAN	CE-		
	1	SALARIES—con	ıtinued.		i.	£	£
		CLE	erical Division—cont	inued.	1		
		1 at £275 (1 at £230 (2 at £230 (3 at £210 (1 at £210 (1 at £210 (1 at £190 (2 at £190 (4 at £190 (4 at £155 (2 at £155 (2 at £155 (2 at £135 (2 at £135 (4 at £115 (4 at £115 (4 at £155 (5 at £135 (6 at £	(3 months), £275 (9 m (11 months), £250 (1 m (11 months), £210 (1 m (9 months), £210 (3 m (5 months), £210 (7 m (10 months), £190 (2 m (11 months), £155 (1 m (2 months), £155 (10 m (1 month), £155 (11 m (2 months), £135 (4 m (7 months), £135 (5 m (2 months), £135 (10 m (2 months), £135 (10 m (2 months), £135 (10 m (2 months), £135 (10 m (2 months), £135 (10 m (2 months), £135 (2 m (7 months), £95 (2 m (7 months), £95 (2 m	month) months) 50 218 630 207 190 748 170 322 632 155 296 294 414 270 236 112 107			
61		1 at £115 2 at £115 1 at £95 (1 1 at £95 (1 1 at £95 (1 3 at £80	(6 months), £95 (6 months), £95 (8 months), £95 (8 months), £95 (11 months), £80 (1 months), £80 (2 months), £80 (3 months), £80 (11 months),	onths) onths) onth) onths) onths)	210 102 194 94 93 91 81 240	11,172 200	
			GENERAL DIVISION				
7		1 at £255 1 at £205 5 at £185	··· ···	•••	255 205 925	1,385	
			Non-permanents.		į		
19		2 at £182 1 at £143 6 at £130 2 at £117 1 at £91 4 at £78 3 at £65			364 143 780 234 91 312 195	0.110	
137	-	duties (Pu	al Officer to officers temporarily ablic Service Regulation			2,119 450	
••		work perf	of Internal Affairs on ormed in office of H			325	
	1	${f London}$				450	

$Appropriations \ for \ Government \ Insurance \ Account.$

${\tt GOVERNMENT\ INSURANCE\ ACCOUNT-} continued.$

Number of Persons.	Item.		1928-	-2 9.
	_	VOTE No. 82.—GOVERNMENT INSURANCE		
1928–29		continued.		0
	!		£	£
	0	OTHER CHARGES FOR AND INCIDENTAL TO—		
	2	Advertising, photographs, books, newspapers, and	1 000	
	9	other publications	1,000	
	3	Bank exchange and agency fees	150	
	4	Capital expenditure on sites and offices	75	
	5	Commission (including canvassers' allowances)	42,000	
	6	Compassionate allowance to the widow of the late	84	
		M. G. Carmody, Clerk, Wellington	04	
	7	Cost-of-living bonus to annuitants, Public Service		
		Superannuation Fund, and increased pensions to	ee i	
	0	widows and children	66	
	8	Fees for certificates of death, &c	60	
	9	Fuel, light, power, and water	850	
	10	Insurance premiums	400	
	11	Law-costs	5 500	
	12	Medical fees	5,500	
	13	Office-cleaning	$\frac{200}{500}$	
	14	Office fittings and requisites	900	
	15	Office premises: Capital expenditure on alterations	11 200	
	1.0	and additions to	11,300	
	16	Overtime and meal allowances	1,000	
	17	Postage, telegrams, and rent of boxes	2,000	
	18	Printing and stationery	2,500	
	$\frac{19}{20}$	Public Service Superannuation Fund contribution	644	
		Remuneration of member of Investment Board	70	
	21	Rent	2,000	
	22	Repairs of buildings, &c	750	
	00	Services rendered by—	9 000	
	23	Department of Internal Affairs	3,000	
	24 25	Post and Telegraph Department	200	
	20	Telephone services (including installation, extensions,	550	
	0.6	maintenance, rent, and calls)	550 300	
	26	Transfer and removal expenses Travelling allowances and expenses		
	27	Travelling allowances and expenses	600	
	00	Typewriters—	150	
	28	Purchase of	$\begin{array}{c c} 150 \\ 50 \end{array}$	
	29	Maintenance of	100	
	$\frac{30}{31}$	Valuation fees	100	
	51		100	
		cidental to the other items of the vote	100	
		Totion and another in all mades Continue 51 of the		
		Estimated credits-in-aid under Section 51 of the		
		Public Revenues Act, 1926 (see end of vote)		
		National Provident and Friendly £ Societies Department 125	j	
		Societies Department 125 Miscellaneous 750		
		Miscenaneous 100		
•		875		
		019		
		` <u> </u> -	76,449	
	Ì	GROSS TOTAL	10,449	114,07
		GRUDO LUTAII		114,0
		Credits-in-aid (a)		87
	:			
	1	NET TOTAL—VOTE No. 82		113,20

(a)	Credits-in-aid—			1928-29.
	Salaries		 	100
	Other Charges	• •	 • •	7 75
	Total		 	875

$Appropriations \ for \ Public \ Service \ Superannuation \ Fund \ Account.$

PUBLIC SERVICE SUPERANNUATION FUND ACCOUNT.

					1928–29.	
	,			Salaries.	Other Charges.	Total.
Vote No. 83. — Public Offic		annuation	Fund	£	£	£
GROSS TOTAL	• •	• •		2,822	5,147	7,969
CREDITS-IN-AID		• •			•••	•••
NET TOTAL	••			2,822	5,147	7,969

Number of Persons.	Item.	Chargeable on the Public Service Superannuation F	und	1928-	29.
1928–29.		VOTE No. 83.—PUBLIC SERVICE SUPER ANNUATION FUND OFFICE.	j.	£	£
	1	*Salaries—			
		CLERICAL DIVISION.	į.		
	1	Class Special—			
1	1	1 at £665		665	
		Class III—	1		
1		1 at £470		470	
		Class VI—	£		
	1	1 at £335	335		
2	1		320	255	
	1	Class VII—	450	65 5	
	1		470	!	
4	1		130		
4	1	1 at £80 (1 month), £95 (11 months)	94		
		Lodging-allowances -		694	
	1	1 at £10 (3 months)	3		
		1 at £35 (1 month), £25 (11 months)	26	20	
		- D		29	
		GENERAL DIVISION.	i	007	
1		1 at £205 \dots	•••	205	
		Non-permanent.			
1		1 at £104		104	
		1 40 20101		104	
10				2,822	
		OTHER CHARGES FOR AND INCIDENTAL TO	1	2,022	
	2	Audit fees		50	
	3	Heating, lighting, and cleaning		65	
	4	Medical fees	•••	60	
	5	Messenger service		50	
	6	Office fittings and requisites		25	
	7	Postages, telegrams, and services	[180	
	8	Post and Telegraph charges		750	
	9	Printing and stationery		150	
	10	Public Trustee's commission		3,500	
	11	Rent		197	
	12	Typewriters, addressograph, and other machi			
	ŀ	(upkeep)		20	
	13	Contingencies including unforeseen expenditure in	nci-		
		dental to the other items of the vote		100	
			-	5,147	
		Gross Total	-		7,96
					•
		Credits-in-aid			
				-	
	l	NET TOTAL—VOTE No. 83	-		7,96

^{*}For particulars of salaries see "Public Service Classification List."
Note.--Scale salaries or wages include cost-of-living increase.

STATE FIRE INSURANCE ACCOUNT.

		_						192	28-29.	
						Salari	es.	Other	Charges.	Total.
Vote No. 8	84.—8	tate Fire	Insurance-	-			£ ;		£	£
Gı	oss T	COTAL	• •	• •		38	,540		10,854	49,39
~										
Cr	EDITS	-IN-AID	••	• •	••	8 _:	,500		50	8,556
N	ET TO	OTAL	••	••	••	30	,040		10,804	40,844
Number of Persons.	Item.								1928	3–29.
1928–29.		Charge	able on th	ie State Fi	re Insura	ance Ac	count.	-		
1340-43.		VOTE	No. 84	-STATE	FIRE IN	ISURAI	NCE.		£	£
	1	*Salaries	S	NISTRATIVE						
1		1 (Gen as m	eral Mana nember, Pu	ger) at £1, ablic Servic	100 (also e Appeal	£100 pe Board)	e r a nnu	m 	1,100	
				LERICAL DI	vision.					
			Special—					٤		
4			£765 £715		•••		2,14	55 15		
		Class 1							2,910	
2			£590 £540		•••	•••	59 54	- 1	į	
4		Class			•••	•••			1,130	
2			£515		•••	•••			1,030	
3		Class I	£470		•••				1,410	
J		Class 1	IV		***	•••			.	
=			£425		•••	•••	1,70			
5		Class	£400 V		•••	•••	40		2,100	
		3 at	£380				1,14		-,100	
11			£355		•••	• • •	2,84	0	0.000	
		Class	<i>V1</i> — t £335				3,35	<u></u>	3,980	
14		4 at	£320		•••		1,28			
		Class	VII						4,630	
			t £295		•••	• • •	4,18			
			£275		• • •	•••	2,20			
			£250 £230		•••	•••	2,25			
			£210				$\frac{03}{21}$			
		11 a	t £190				2,09			
		9 at	£155		•••		1,39	5		
			t £135		•••	•••	2,70			
89		10 a: 4 at	t £115 £95		•••	•••	$\frac{1,15}{38}$			
09		3.8 ±	ಪ್ರಕರ		•••	•••		١ ا	17.195	

^{*}For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Appropriations for State Fire Insurance Account.

STATE FIRE INSURANCE ACCOUNT—continued.

Number of Persons.	Item.	WOME N. O. OWARD MIDE INCLUDANCE	1928-	29.
1928–29.		VOTE No. 84.—STATE FIRE INSURANCE—continued.		
			£	£
	1	Salaries—continued.		
		GENERAL DIVISION.		
		1 at £250 250		
		1 at £225 225		
		2 at £215 430		
		4 at £205 820		
		1 at £195 195		
		5 at £185 925		
15		1 at £175 175	0.000	
1.10	1		3,020	
146		Allowances to officers temporarily performing special	25	
	- :	or higher duties	20	
		Allowances to married officers to provide a minimum	10	
		of salary of £209 15s. per annum	10	
	•	Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Accident Insurance Branch under Section 24 of the Government Accident Insurance Act, 1908 (see end of vote) 8,500		
		•	38,540	
	$\begin{bmatrix} 2 \\ 3 \\ 4 \end{bmatrix}$	OTHER CHARGES FOR AND INCIDENTAL TO— Fees for unofficial members of Board Lodging-allowances Office premises: Capital expenditure—Land, build-	50 95	
		ings, alterations, additions, repayment of mort-	10.000	
		gages, and incidental expenses	10,000	
	5 6	Public Service Superannuation Fund contribution Contingencies, including unforeseen expenditure in-	609	
	0	cidental to the other items of the vote	100	
		cidental to the other flems of the vote	100	
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—		
	1	Miscellaneous 50	1	
			10.07	
		O	10,854	40.0
		Gross Total		49,3
		Credits-in-aid		8,5
		NET TOTAL—VOTE No. 84		40,8

18,645

18,645

Appropriations for Government Accident Insurance Account.

GOVERNMENT ACCIDENT INSURANCE ACCOUNT.

			, 				19:	2 8–29.	
					-	Salaries.	Othe	r Charges.	Total.
Vote No. 8	5Go	vernment	Accident I	nsurance—	-	£		£	£
Gı	ross T	OTAL		• •		•••		18,645	18,645
Сь	EDITS-	IN-AID	••						
N	ет то	TAL					-	18,645	18,645
	JI 10	1111		••	••	•••	İ.,	10,010	10,010
Number of Persons.	Item.							1928	3–29.
1928-29		_		Accour	nt.	dent Insura	ince	£	£
		,011		-GOVERI INSURA		ACCIDEN	T	,	

GROSS TOTAL

CREDITS-IN-AID

NET TOTAL—VOTE No. 85

STATE ADVANCES ACCOUNT.

		1928–29.	
	Salaries.	Other Charges.	Total.
Vote No. 86. State Advances -	£	£	£
Subdivision I.—Advances to Settlers Branch	24,667	33,467	58,134
,, IIAdvances to Workers Branch	4,071	10,518	14,589
,, III. Advances to Local Authorities Branch	798	1,015	1,813
" IV.—Miscellaneous Business Branch	1,284	11,875	13,159
,, V.—Rural Advances Branch	620	21,595	22,215
Gross Total	31,440	78,470	109,910
('REDITS-IN-AID		16,970	16,970
NET TOTAL	31,440	61,500	92,940

	i i		··· · · · · · · · · · · · · · · · · ·		7	
Number of Persons.	Item.	VOTE No. 86.—STAT	E ADVAN	ICES.	1928-	-29.
1928 - 29.	1	Subdivision No. I.—Advar	nces to Settl	lers Branch.		
					£	£
	1	*Salaries— Administrative	Division.			
1		1 at £1,204 (Superintendent £46)), (also Wor	kers Branch,	1,204	
	. !	Professional	Division.	** ***		
1		Class A— 1 at £715 (also Workers E	Franch, £25)	715	
		CLERICAL D	IVISION			
	ļ ,	Class Special—	A A ISTON			
1		$1 ext{ at } \widehat{\mathfrak{L}}665$.		••	665	
0	İ	Class II—			1 000	
2		$2 \text{ at } \pounds 515 \ Class \ III$	•		1,030	
2	:	2 at £470	., .		940	
		Class IV		£		
		1 at £425		425		
4	1	2 at £425 (2 months), £400	(10 month)			
4		1 at £400 Class V—		400	1,633	
4		4 at £380			1,520	
•		Class VI—			2,020	
		3 at £335		1,005	į.	
		1 at £335 (11 months), £32				
		1 at £335 (4 months), £320				
6		1 at £335 (2 months), £320	(10 month	s) 323	1 000	
	İ	Class VII—	5 (1 month	007	1,990	
i		1 at £295 (11 months), £27 1 at £275 (11 months), £25				
	i	1 at £275 (7 months), £250			ļ	
	,	1 at £275 (3 months), £250				
		1 at £250 (11 months), £23				
	:	1 at £250 (10 months), £25			1	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

STATE ADVANCES ACCOUNT—continued.

umber Persons.	Item.	Month M. Co. Co.			1928-	29.
28-29.	 	VOTE No. 86.—STATE		•	 -	
		Subdivision No. I.—Advandontino	ces to Settlers . aed.	Branch-	£	£
	1	Salaries -continued.				
		CLERICAL DIVISIO	N - continued.	:	;	
28		Class VII—continued 1 at £230 1 at £230 (10 months), £ 1 at £230 (3 months), £ 1 at £210 (9 months), £ 1 at £210 (5 months), £ 1 at £210 (1 month), £ 1 at £210 (1 month), £ 1 at £190 (3 months), £ 1 at £190 (6 months), £ 1 at £155 1 at £155 1 at £155 (4 months), £ 1 at £155 (3 months), £ 1 at £135 (8 months), £ 1 at £135 (9 months), £ 1 at £135 (10 months), £ 1 at £13	210 (9 months) 190 (3 months) 190 (7 months) 90 (11 months) 155 (9 months) 155 (6 months) 155 (8 months) 135 (8 months) 135 (9 months) 135 (9 months) 115 (4 months) 115 (10 months) 15 (7 months) 15 (6 months) 15 (6 months) 10 (4 months) 10 (4 months) 10 (4 months) 10 (8 months)	211 201 197 198 165 173 324 155 140 138 124 118	4 075	
		General I		- 3	4,875	
		1 at £255		255		
		2 at £205 3 at £185	•••	$\begin{array}{c}410\\555\end{array}$		
7		1 at £175		175	1 005	
		Non-perma	ANENTS.		1,395	•
	1	1 at £400		400		
		$\begin{array}{c} 1 \text{ at } \pounds 320 \\ 1 \text{ at } \pounds 280 \end{array}$	•••	320 ± 280		
	!	1 at £275		275		
		2 at £260		520	ļ	
		3 at £247 11 at £234	* * *	$\begin{array}{c} 741 \\ 2,574 \end{array}$		
		11 at £234 1 at £218	•••	218		
		2 at £208		416	1	
	1	2 at £185	•••	370		
		4 at £182		728		
		3 at £169	****	507	i	
		1 at £156	•••	$\begin{array}{c} 156 \\ 260 \end{array}$. !	
		2 at £130 2 at £117		234	İ	
		1 at £104		104		
-	1	1 at £91	4	91		
41		2 at £78		156		
	-	Cadets' lodging-allowances			8,350	
97	-	Oaders lodging-anowances	· · · · · · · · · · · · · · · · · · ·			
		OTHER CHARGES FOR AND IN	CIDENTAL TO-		24,667	
	2	Advertising, photographs,				
	-	other publications			20	
	3	Audit fees, proportion of			390	
		Claning lighting hosting	· la		575	
÷	4	Cleaning, lighting, heating	, &c		010	
	$\begin{bmatrix} 4 \\ 5 \end{bmatrix}$	Cost-of-living bonus to a Superannuation Fund,	nnuitants, Pub	lic Service	010	

STATE ADVANCES ACCOUNT—continued.

Number f Persons.	Item.		1928-	29.
928–29.	-	VOTE No. 86.—STATE ADVANCES—continued.		
.920-29.		Subdivision No. I.—Advances to Settlers Branch—continued.	£	£
	6	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Exchange on and costs of remittances Fees paid for special services rendered in respect of	500	
	'	securities securities	75	
	8	Honorarium to member of the Advances Board	90	
	9	Income-tax	10,000	
	10 11	Meal allowances and overtime New Zealand stock and bonds, management charges payable to Bank of England	500 4,000	
	12	Office fittings	100	
	13	Office maintenance	500	
	14	Postage, telegrams, and rent of boxes	1,250	
	15 16	Printing and stationery	1,000 324	
	17	Refund valuation fees on loans not entertained	2,000	
	18	Rent	2,740	
		Services rendered by—		
	19 20	Post and Telegraph Department Valuation Department for—	2,000	
	20	Contribution in respect of Valuation fees Valuation fees	$\begin{bmatrix} 650 \\ 5,300 \end{bmatrix}$	
	$\begin{vmatrix} 21\\22\end{vmatrix}$	Solicitors' costs and Court costs	30	
	23	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	110	
	24	Travelling allowances and expenses	1,100	
	$\begin{bmatrix} 25 \\ 26 \end{bmatrix}$	Typewriters and adding machines: Maintenance of Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	175 25	
		Waringstad and lite in aid and an Castian E1 of the		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)— Printing and stationery £550		
		Repatriation administration expenses 3,600 Valuation fees 7,300		
		11,450		
		Total—Subdivision No. I	33,467	£0 16
		10tat—Statitusion 110. 1		58,18
		Subdivision No. 11.—Advances to Workers Branch.		
	27	Salaries—		
		Administrative Division.		
		1 at £46 (also Settlers Branch, £1,104)	46	
		Professional Division.		
2		Class A 1 at £25 (also Settlers Branch, £715)	25	
		CLERICAL DIVISION.		
		Class VI		
O		2 at £335	670	
2				
2		$Class\ VII$ — $\qquad \qquad \pounds \qquad \qquad \qquad 3 \text{ at } \pounds 295 \qquad \qquad \dots \qquad \qquad 885$		

STATE ADVANCES ACCOUNT—continued.

Number of Persons.	Item.	Home V	1928-29.		
928–29.	- <u>-</u>	VOTE No. 86.—STATE ADVANCES—continued.			
		Subdivision No. II.—Advances to Workers Branch—continued.	£	£	
	27	Salaries—continued.			
		CLERICAL DIVISION—continued.	:		
		Class VII—continued. £ 1 at £295 (6 months), £275 (6 months) 284 1 at £275 (10 months), £250 (2 months) 272 1 at £275 (9 months), £250 (3 months) 270 1 at £250 (3 months), £230 (9 months) 234 1 at £135 (5 months), £115 (7 months) 118 1 at £135 (2 months), £115 (10 months) 116 1 at £115 (8 months), £95 (4 months) 104 1 at £115 (2 months), £95 (10 months) 98 1 at £95 (7 months), £80 (5 months) 91 1 at £95 (3 months), £80 (9 months) 87			
15		1 at £95 (1 month), £80 (11 months) 85	2,924		
1		GENERAL DIVISION. 1 at £185	185		
		Non-permanents.			
		2 at £78 156			
3		1 at £65 65	221		
23		-	4,071		
		OTHER CHARGES FOR AND INCIDENTAL TO-	4.50		
	$\begin{bmatrix} 28 \\ 29 \end{bmatrix}$	Audit fees, proportion of Cleaning, lighting, heating, &c	$\begin{array}{c c} 150 \\ 150 \end{array}$		
	30	Exchange on and costs of remittances	250		
	31	Fees paid for special services rendered in respect of			
		securities	10		
	32 33	Income tax New Zealand stock and bonds, management charges	1,500		
	. 56	payable to Bank of England	2,000		
	34	Postage, telegrams, and rent of boxes	250		
	35	Printing and stationery	325		
	36	Public Service Superannuation Fund contribution	38		
	37 38	Refund of valuation fees on loans not entertained	350 600		
	30	Services rendered by—	000		
	39	Post and Telegraph Department Valuation Department for—	525		
	40	Contribution in respect of Valuation fees	350		
	41	Valuation fees	4,000		
		Solicitors' costs and court costs	10		
	42	CONTINUODADO INCIDIO INTOVACACIO OVICIO IN I	1		
	42	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10		
		Estimated credits-in-aid under Section 51 of the Public Revenues Act, 1926 (see end of vote)—	10		
		cidental to the other items of this subdivision Estimated credits-in-aid under Section 51 of the	10 10,518		

${\tt STATE\ ADVANCES\ ACCOUNT--} continued.$

Number f Persons.	Item.		1928–29.		
928-29.		VOTE No. 86.—STATE ADVANCES—continued.		 	
		Subdivision No. III.—Advances to Local Authorities Branch.	£	£	
	44	Salaries-	i		
		CLERICAL DIVISION.			
1		Class IV— 1 at £425	425		
•		Class VII—			
1		1 at £295	295		
		Non-permanent.			
1		1 at £78	78		
3	-		798		
	-				
	45	OTHER CHARGES FOR AND INCIDENTAL TO— Audit fees, proportion of	50		
	46	Cleaning, lighting, heating, &c.	30		
	47	Exchange on and costs of remittances	100		
	48	New Zealand stock and bonds, management charges	500		
	40	payable to Bank of England	$\begin{bmatrix} 500 \\ 35 \end{bmatrix}$		
	49 50	Postage, telegrams, and rent of boxes Printing and stationery	150		
	51	Public Service Superannuation Fund contribution	20		
	52	Rent	100		
	53	Services rendered by Post and Telegraph Department	30		
			1,015		
		TotalSubdivision No. III		1,8	
		100	1		
		Subdivision No. IV.—Miscellaneous Business Branch.			
		Housing—	İ		
	54	Salaries			
	01	CLERICAL DIVISION.			
	1	Class VI—			
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	335		
1	1 !	Utass VII—			
1					
		1 at £275 (9 months), £250 (3 months) 270			
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260			
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division.	5 30		
		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260	2 1		
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division.	5 30		
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91	5 30		
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents.	530		
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91	5 30		
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91 1 at £78 78	530		
2		1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91 1 at £78 78 Other Charges for and incidental to—	530 250 169		
2	55	1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91 1 at £78 78 Other Charges for and incidental to— Audit fees, proportion of	530 250 169 1,284		
2	55 56	1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91 1 at £78 78 Other Charges for and incidental to— Audit fees, proportion of Cleaning, lighting, heating, and messenger-services	530 250 169 1,284 175 30		
2	55 56 57	1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91	530 250 169 1,284 175 30 150		
2	55 56	1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91 1 at £78 78 Other Charges for and incidental to— Audit fees, proportion of Cleaning, lighting, heating, and messenger-services	530 250 169 1,284 175 30		
2	55 56 57 58	1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91 1 at £78 78 Other Charges for and incidental to— Audit fees, proportion of Cleaning, lighting, heating, and messenger-services Commission Insurance Postage, telegrams, and rent of boxes Printing and stationery	169 1,284 175 30 150 1,170 25 75		
2	55 56 57 58 59 60 61	1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91	169 1,284 175 30 150 1,170 25 75 30		
2	55 56 57 58 59 60	1 at £275 (9 months), £250 (3 months) 270 1 at £275 (4 months), £250 (8 months) 260 General Division. 1 at £250 Non-permanents. 1 at £91 91 1 at £78 78 Other Charges for and incidental to— Audit fees, proportion of Cleaning, lighting, heating, and messenger-services Commission Insurance Postage, telegrams, and rent of boxes Printing and stationery	169 1,284 175 30 150 1,170 25 75		

${\bf STATE\ ADVANCES\ ACCOUNT-} continued.$

Number of Persons.	Item.	VOTE No. 86.—STATE ADVANCES	ied.	1928–29.		
1928–29.		Subdivision No. IV.—Miscellaneous Bu —continued.	siness Br	anch	£	£
	64	Other Charges for and incidental to—cor Repairs, renovations, &c., to dwelling	gs, and re			
	65	&c. (including maintenance), to dra Roading, draining, surveying, and val			500 $8,500$	
	66	Services rendered by— Post and Telegraph Department	•••		200	
	67 68 69	Valuation Department: Agency we Solicitors' costs and court costs Contingencies, including unforeseen cidental to the other items of this s	 expenditu	re in-	$\begin{array}{c c} 250 \\ 20 \\ \\ 15 \end{array}$	
		Estimated credits-in-aid under Se Public Revenues Act, 192 vote)—				
		Insurance	••• ÷.	1,170		
*					11,440	
		FISHING INDUSTRY PROMOTION-		! "	'	
	70 71	Administration expenses Marine Department: Survey fees			15 5	
					20	
		FRUIT-PRESERVING INDUSTRY—		-	100	
	72	Administration expenses	•••	•••	100	
		COLD STORAGE ADVANCES—				
	73	Administration expenses	•••		115	
		LOANS TO EMPLOYERS FOR WORKERS'	Dwelling	ls	!	
	74 75	Administration expenses Interest on loans	•••	•••	10 190	
				i	200	
		Total—Subdivision No.	IV		11,875	13,15
	į	Subdivision No. V.—Rural Advance	es Branch			
	76	Salaries— Clerical Division.				
		Class VII—		£	i i	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	•••	$\begin{vmatrix} 295 \\ 155 \end{vmatrix}$		
3		1 at £95 (8 months), £80 (4 months	s)	92	542	
		Non-permanent.				
1	-	1 at £78	•••		78	
4		OTHER CHARGES FOR AND INCIDENTAL TO) —		620	
	77	Audit fees, proportion of	•••		25	
	78	Cleaning, lighting, heating, &c.	• • •		20	
	79	Exchange on and costs of remittances Expenses on issue of bonds			$\frac{100}{21,000}$	

${\bf STATE\ ADVANCES\ ACCOUNT-} continued.$

Number f Persons.	Item.					1928-	-29.
		VOTE No. 86.—STATE A	ADVAN	CES-contin	wed.		and the second s
1928-29.		Subdivision No. V.—Rural	Advanc	es Branch	contd.	£	£
		OTHER CHARGES FOR AND II				ļ	
	81	Fees paid for special servi	ces ren	dered in res	pect of		
	1	securities				10	
	82	Postage and telegrams		•••		40	
	83	Printing and stationery	• • •	•••	;	130	
	84	Rent				25	
	85	Services rendered by post-				25	
	86	Solicitors' costs and Court	costs			10	
	87	Travelling-expenses				200	
	88	Contingencies		***		10	
						21,595	
		Total— $Subd$	ivision	N o. V		<u></u> -	22,215
		GROSS TOTAL	•••				109,910
		CREDITS-IN-AID (a	r)	•••			16,970
		NET TOTAL—	VOTE	No. 86	-		92,940

(a) Credits in aid-

				1928-29.
				£
Subdivision I			 	 11,450
**	П		 	 4,350
,,	fV		 	 1,170
		Total	 	 16,970

Approximate Cost of Paper.—Preparation, not given; printing (590 copies), £380.

By Authority: W. A. G. SKINNER, Government Printer, Wellington,—1928.

Price 4s. 9d.]